
∆ήλωση συµµόρφωσης
Í„=ÚÂÎ=ÓflÔÌÛÒfl=Â=pÜ~êé=qÉäÉÅçããìåáÅ~íáçåë=çÑ=bìêçéÉ=iíÇ=
‚ÂÈ˜Î„Á=ÌÚÁ=ÚÌ=VMOpe=ÒÛÍÍÌÔÙ˜Î„ÚflÁ=ÓÔÌÒ=ÚÁÒ=ÌÛÒÁ˜‚„ÁÒ=
flÓflÁÚÂÒ„ÁÒ=ËflÁ=ÚÁÒ=ÈÌÁÓ„Ò=Òı„ÚÁË„Ò=‚ÁflÚflÏ„ÁÒ=ÚÂÒ=Ì‚Â·ÁflÒ=
NVVVLRL„ËK
Ò½žÞ=×ˇ¹ˇð˙½ğ=ŠÐšĆ¦¼Þ³ž=fåíÉêåÉí=ý×−¹š˝½š=Þˇ=Ł¹š˝½š=˚Þˇ=
ˇÞ½˝ł¹ˇ¾−=½ž²=ˇ¼¦šÞ½Ðð¸²=Š¸Ýğ³ž²=³¼ýýş¹¾ğ³ž²W
ÜííéWLLïïïKëÜ~êéJãçÄáäÉKÅçã
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„Ð³ˇłğł¸

Ò¼ł₣ˇ¹ž½¸¹Ðˇ=łÐˇ=½−=Þ˚−=³ˇ²=PdLrjqp=½žÝ˚¾ğÞ−I=VMOpeK

ı¹¸³Ðýš²=ÈšÐ½−¼¹ł˝š²=ðˇÐ=Û×ž¹š³˝š²
Ú−=½žÝ˚¾ğÞ−=³ˇ²=×¹−³¾˚¹šÐ=½ˇ=×ˇ¹ˇð˙½ğ=₣ˇ¹ˇð½ž¹Ð³½Ðð˙W

≥ ËÝ¸³šÐ²=sáÇÉçK=Í×−¹š˝½š=Þˇ=³¼Þ−ýÐÝš˝½š=ðˇÐ=½ˇ¼½ş₣¹−Þˇ=Þˇ=ŁÝ˚×š½š=−=˚Þˇ²=½−Þ=
˙ÝÝ−=³½Ð²=−¦şÞš²=³ˇ²K

≥ Í˝ˇ=šÞ³ğýˇ½ğý˚ÞžJĞž¾Ðˇð¸=ŁÐÞ½š−ð˙ýš¹ˇ=łÐˇ=½ž=Ý¸Ğž=¾ğ½−ł¹ˇ¾ÐćÞ=ðˇÐ=îáÇÉç=
ÅäáéëK

≥ Í˝ˇ=ÝšÐ½−¼¹ł˝ˇ=łÐˇ=½žÞ=ˇÞ˙łÞğ³ž=ðˇÐ=½ž=ŠžýÐ−¼¹ł˝ˇ=ýžÞ¼ý˙½ğÞ=pjpK
≥ ÍžÞĆýˇ½ˇ=jjp=EjìäíáãÉÇá~=jÉëë~ÖáåÖ=pÉêîáÅÉëF=łÐˇ=½žÞ=×¹−³ˇ¹ý−ł¸=½−¼=

½žÝš¾ćÞ−¼=³ˇ²=ýš=×−ÝÝ−Ć²=½¹ş×−¼²K
≥ ÷ÞˇÞ=t^m=ÄêçïëÉê=łÐˇ=×¹ş³Łˇ³ž=³½Ð²=×Ýž¹−¾−¹˝š²=½−¼=ãçÄáäÉ=fåíÉêåÉíK
≥ „¾ˇ¹ý−ł˚²=g~î~∑K=Í×−¹š˝½š=ˇðşýž=Þˇ=?ðˇ½šŁ˙³š½š?=ŠÐ˙¾−¹š²=š¾ˇ¹ý−ł˚²=½ž²=

sçÇ~ÑçåÉ=ý˚³ğ=½−¼=ãçÄáäÉ=fåíÉêåÉíK
≥ Í˝ˇ=ÝšÐ½−¼¹ł˝ˇ=ž₣−ł¹˙¾ž³ž²=¾ğÞ¸²=łÐˇ=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=ðˇÐ=½žÞ=ž₣−ł¹˙¾ž³ž=

¾ğÞž½ÐðćÞ=ˇ×−³×ˇ³ý˙½ğÞK
≥ Í˝ˇ=¦Ć¹ˇ=ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=_äìÉíççíÜÃ=łÐˇ=½žÞ=š×Ðð−ÐÞğÞ˝ˇ=ðˇÐ=½ž=ýš½ˇ¾−¹˙=

ŠšŠ−ý˚ÞğÞ=ýš=ŠÐ˙¾−¹š²=³¼³ðš¼˚²K=Í×−¹š˝½š=Þˇ=ýš½ˇ¾˚¹š½š=¾ğ½−ł¹ˇ¾˝š²I=
¸₣−¼²=ðˇÐ=îáÇÉç=Åäáéë=³š=½žÝ˚¾ğÞˇ=ýš=₣ˇ¹ˇð½ž¹Ð³½Ðð˙Jl_buK

≥ Í˝ˇ=¦Ć¹ˇ=¼×˚¹¼¦¹ğÞ=łÐˇ=½žÞ=š×Ðð−ÐÞğÞ˝ˇ=ŠšŠ−ý˚ÞğÞK=Í×−¹š˝½š=Þˇ=ýš½ˇ¾˚¹š½š=
¾ğ½−ł¹ˇ¾˝š²I=¸₣−¼²=ðˇÐ=îáÇÉç=Åäáéë=³š=½žÝ˚¾ğÞˇ=ýš=₣ˇ¹ˇð½ž¹Ð³½Ðð˙Jl_buK
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≥ Í˝ˇ=ÝšÐ½−¼¹ł˝ˇ=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=łÐˇ=½ž=ŠžýÐ−¼¹ł˝ˇ=ðˇÐ=½žÞ=ˇ×−³½−Ý¸=
ðˇ½ˇ₣ğ¹¸³šğÞ=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=ýš=¹¼¦ý˝³šÐ²=šÐŠ−×−˝ž³ž²K

≥ ÷þ−Š−²=sáÇÉçK=Í×−¹š˝½š=Þˇ=³¼ÞŠ˚³š½š=½−=½žÝ˚¾ğÞş=³ˇ²=³š=ý˝ˇ=˙ÝÝž=³¼³ðš¼¸I=
ş×ğ²=½žÝšş¹ˇ³ž=¸=îáÇÉçI=ðˇÐ=Þˇ=×¹−Ł˙ÝÝš½š=ŠšŠ−ý˚Þˇ=g~î~∑I=¾ğ½−ł¹ˇ¾˝š²=¸=
îáÇÉç=ÅäáéëK=

≥ _~êÅçÇÉ=ëÅ~ååÉê=E³ˇ¹ğ½¸²=ł¹ˇýýÐðćÞ=ðğŠÐðćÞFK=Íš=½žÞ=šÞ³ğýˇ½ğý˚Þž=
¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=ý×−¹š˝½š=Þˇ=³ˇ¹ć³š½š=ðš˝ýšÞˇ=ðˇÐ=Ä~êÅçÇÉë=ˇÝÝ˙=ðˇÐ=Þˇ=
ŠžýÐ−¼¹ł¸³š½š=ðğŠÐð−Ć²=noK

≥ flÞˇ×ˇ¹ˇłğł¸=½ğÞ=ˇ¹₣š˝ğÞ=¸₣−¼=ðˇÐ=îáÇÉç=Åäáé=×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?
≥ Û×−Š−₣¸=ð˙¹½ˇ²=ýÞ¸ýž²=paI=ž=−×−˝ˇ=š×šð½š˝ÞšÐ=½Ð²=Š¼Þˇ½ş½ž½š²=³ĆÞŠš³ž²=ýš=

˚ÞˇÞ=¼×−Ý−łÐ³½¸I=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K
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Ò₣š½Ðð˙=ýš=fl¼½ş=½−Þ=ÌŠžłş=ı¹¸³ž²
fl¼½ş²=−=ÌŠžłş²=ı¹¸³ž²=³₣šŠÐ˙³½žðš=×¹−³šð½Ðð˙=łÐˇ=Þˇ=³ˇ²=Ł−ž¦¸³šÐ=Þˇ=łÞğ¹˝³š½š=
½Ð²=Š¼Þˇ½ş½ž½š²=ðˇÐ=½Ð²=ÝšÐ½−¼¹ł˝š²=½−¼=½žÝš¾ćÞ−¼=³ˇ²I=ł¹¸ł−¹ˇ=ðˇÐ=
ˇ×−½šÝš³ýˇ½Ðð˙K

ÒÂÍ„Á˜ÒÂ
≥ Òˇ²=³¼ÞÐ³½−Ćýš=Þˇ=ð¹ˇ½¸³š½š=₣ğ¹Ð³½˙=ˇÞ½˝ł¹ˇ¾ˇ=ˇ×ş=şÝˇ=½ˇ=³žýˇÞ½Ðð˙=

ŠšŠ−ý˚Þˇ=×−¼=×š¹Ð˚₣−Þ½ˇÐ=³½ž=³¼³ðš¼¸=³ˇ²K=Û×ş=−¹Ð³ý˚Þš²=³¼Þ¦¸ðš²I=ý×−¹š˝=Þˇ=
₣ˇ¦−ĆÞ=¸=Þˇ=½¹−×−×−Ðž¦−ĆÞ=ŠšŠ−ý˚Þˇ=³š=−×−ÐˇŠ¸×−½š=žÝšð½¹−ÞÐð¸=³¼³ðš¼¸=
ˇ×−¦¸ðš¼³ž²K=·Ðˇ=½−=Ýşł−=̌ ¼½şI=ŠšÞ=̌ ÞˇÝˇýŁ˙Þ−¼ýš=ðˇý˝ˇ=š¼¦ĆÞž=łÐˇ=̌ ×ćÝšÐˇ=̧ =
ˇ₣¹¸³½š¼³ž=ŠšŠ−ý˚ÞğÞI=ğ²=³¼Þ˚×šÐˇ=š˝½š=ýž=×¹−ŁÝš×şýšÞž²=₣¹¸³ž²I=
š×Ð³ðš¼¸²I=ŁÝˇŁćÞI=ˇÞ½Ððˇ½˙³½ˇ³ž²=ý×ˇ½ˇ¹˝ˇ²I=₣¹¸³ž²=ýš½˙=½ž=Ý¸þž=½ž²=
ðˇ¦−¹Ð³ý˚Þž²=ŠÐ˙¹ðšÐˇ²=Žğ¸²=½ž²=ý×ˇ½ˇ¹˝ˇ²=š˝½š=−×−Ðˇ³Š¸×−½š=˙ÝÝž²=ˇÐ½˝ˇ²K

≥ ‚šÞ=ˇÞˇÝˇýŁ˙Þ−¼ýš=ðˇý˝ˇ=š¼¦ĆÞžI=˚ýýš³ˇ=¸=˙ýš³ˇI=łÐˇ=−Ðð−Þ−ýÐð˚²=ˇ×ćÝšÐš²=¸=
ŠÐšðŠÐð¸³šÐ²=½¹˝½ğÞ=ˇ×ş=½ž=₣¹¸³ž=ˇ¼½−Ć=½−¼=×¹−İşÞ½−²=ðˇÐ=½ğÞ=ÝšÐ½−¼¹łÐćÞ=½−¼I=
ş×ğ²=ðÝ−×¸=ˇ¹Ð¦ýćÞ=×Ð³½ğ½ÐðćÞ=ðˇ¹½ćÞI=ˇ×ćÝšÐˇ=¸=½¹−×−×−˝ž³ž=
ˇ×−¦žðš¼ý˚ÞğÞ=ŠšŠ−ý˚ÞğÞI=ðÝ×K

≥ ⁄Ýš²=−Ð=š×ğÞ¼ý˝š²=š½ˇÐ¹šÐćÞ=ðˇÐL¸=×¹−İşÞ½ğÞ=ˇ×−½šÝ−ĆÞ=šý×−¹Ðð˙=³¸ýˇ½ˇ=ðˇÐL¸=
ðˇ½ˇ½š¦˚Þ½ˇ=³¸ýˇ½ˇ=½ğÞ=ˇÞ½˝³½−Ð₣ğÞ=ðˇ½ş₣ğÞK

≥ ÌÐ=ˇ×šÐð−Þ˝³šÐ²=½ž²=−¦şÞž²=šÞŠ˚₣š½ˇÐ=Þˇ=ŠÐˇ¾˚¹−¼Þ=ˇ×ş=ˇ¼½˚²=×−¼=
×ˇ¹−¼³Ð˙Ž−Þ½ˇÐ=³½Ð²=−Šžł˝š²=₣¹¸³ž²K
ÌÐ=×Ýž¹−¾−¹˝š²=×−¼=×š¹Ðł¹˙¾−Þ½ˇÐ=³š=ˇ¼½ş=½−Þ=ÌŠžłş=ı¹¸³ž²=šÞŠ˚₣š½ˇÐ=Þˇ=
ˇÝÝ˙þ−¼Þ=₣ğ¹˝²=×¹−šÐŠ−×−˝ž³žK
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≥ Ì¹Ð³ý˚Þš²=ˇ×ş=½Ð²=ÝšÐ½−¼¹ł˝š²=×−¼=×š¹Ðł¹˙¾−Þ½ˇÐ=³š=ˇ¼½ş=½−Þ=ÌŠžłş=ı¹¸³ž²=
šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=¼×−³½ž¹˝Ž−Þ½ˇÐ=ˇ×ş=şÝˇ=½ˇ=Š˝ð½¼ˇK

≥ ‚šÞ=ˇÞˇÝˇýŁ˙Þ−¼ýš=ðˇý˝ˇ=š¼¦ĆÞž=łÐˇ=×š¹Ðš₣şýšÞ−I=×Ýž¹−¾−¹˝š²I=ðÝ×K=×−¼=
˚₣−¼Þ=Ýž¾¦š˝=ˇ×ş=½−=Š˝ð½¼−K

≥ „˝ÞˇÐ=×Ð¦ˇÞşI=×š¹Ð³½ˇ³Ðˇð˙I=Þˇ=×ˇ¹−¼³Ðˇ³½−ĆÞ=³½žÞ=−¦şÞž=ýš¹Ðð˙=ýˇĆ¹ˇ=¸=
¾ğ½šÐÞ˙=éáñÉäëK=Óˇ¹ˇðˇÝ−ĆýšI=³žýšÐć³½š=ş½Ð=ˇ¼½ş=ŠšÞ=š×ž¹š˙ŽšÐ=ðˇý˝ˇ=ˇ×ş=½Ð²=
ÝšÐ½−¼¹ł˝š²=¸=½žÞ=ˇ×şŠ−³žK

ÓÞš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ
ÒĆý¾ğÞˇ=ýš=½žÞ=Ð³₣Ć−¼³ˇ=Þ−ý−¦š³˝ˇ=×š¹˝=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞI=ž=
ˇÞˇ×ˇ¹ˇłğł¸I=½¹−×−×−˝ž³ž=ðˇÐ=₣¹¸³ž=¼ÝÐð−Ć=×−¼=×¹−³½ˇ½šĆš½ˇÐ=̌ ×ş=½ž=Þ−ý−¦š³˝ˇ=
×š¹˝=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=Eý−¼³Ðð¸I=¾ğ½−ł¹ˇ¾˝š²I=ðÝ×KF=š×Ð½¹˚×š½ˇÐ=ýşÞ−Þ=łÐˇ=
×¹−³ğ×Ðð¸=¸=ÐŠÐğ½Ðð¸=₣¹¸³žK=„˙Þ=−=₣¹¸³½ž²=ŠšÞ=š˝ÞˇÐ=ð˙½−₣−²=šð½š½ˇý˚ÞğÞ=
×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=¸=Šš=ŠÐˇ¦˚½šÐ=¹ž½¸=˚łð¹Ð³ž=ˇ×ş=½−Þ=ð˙½−₣−=½ğÞ=
×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=łÐˇ=ˇÞˇ×ˇ¹ˇłğł¸I=½¹−×−×−˝ž³ž=¸=₣¹¸³ž=ˇÞ½Ðł¹˙¾ğÞ=
×−¼=ŠžýÐ−¼¹ł¸¦žðˇÞ=̧ =½¹−×−×−Ð¸¦žðˇÞ=ðˇ½D=̌ ¼½ş=½−Þ=½¹ş×−I=½ş½š=ž=̌ Þˇ×ˇ¹ˇłğł¸I=
½¹−×−×−˝ž³ž=ðˇÐ=₣¹¸³ž=½−¼=¼ÝÐð−Ć=¦šğ¹š˝½ˇÐ=ş½Ð=ˇÞ½Ð½˝¦š½ˇÐ=³½ž=Þ−ý−¦š³˝ˇ=×š¹˝=
×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=ðˇÐ=×ˇ¹˚₣š½ˇÐ=³½−Þ=ÐŠÐ−ð½¸½ž=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=
½−=ŠÐðˇ˝ğýˇ=˚łš¹³ž²=ˇ×ˇÐ½¸³šğÞ=ˇ×−Žžý˝ğ³ž²K=·Ðˇ=½−=Ýşł−=ˇ¼½şI=³¼ÞÐ³½˙½ˇÐ=ž=
ˇ×−¾¼ł¸=×ˇ¹˙Þ−ýž²=₣¹¸³ž²=½−¼=¼ÝÐð−Ć=×−¼=×¹−³½ˇ½šĆš½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=
ŠÐðˇÐćýˇ½ˇK

Úˇ=táåÇçïë=ˇ×−½šÝ−ĆÞ=³¸ýˇ=ðˇ½ˇ½š¦˚Þ=½ž²=jáÅêçëçÑí=`çêéçê~íáçå=³½Ð²=ÂÓfl=ðˇÐL¸=
³š=˙ÝÝš²=₣ć¹š²K
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Powered by JBlend™ Copyright 1997-2004 Aplix 
Corporation. All rights reserved.
JBlend and all JBlend-based trademarks and logos 
are trademarks or registered trademarks of Aplix 
Corporation in Japan and other countries. 

Powered by Mascot Capsule®/Micro3D Edition™

Mascot Capsule® is a registered trademark of HI Corporation
©2002-2004 HI Corporation. All Rights Reserved.

Licensed by Inter Digital Technology Corporation under one or more of the 
following United States Patents and/or their domestic or foreign 
counterparts and otÅher patents pending, including U.S. Patents: 
4,675,863: 4,779,262: 4,785,450: 4,811,420: 5,228,056: 5,420,896: 
5,799,010: 5,166,951: 5,179,571 & 5,345,467
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T9 Text Input is licensed under one or more of the following: U.S. Pat. Nos. 
5,818,437, 5,953,541, 5,187,480, 5,945,928, and 6,011,554; 
Australian Pat. No. 727539; Canadian Pat. No. 1,331,057; United 
Kingdom Pat. No. 2238414B; Hong Kong Standard Pat. No. HK0940329; 
Republic of Singapore Pat. No. 51383; Euro. Pat. No. 0 842 463 
(96927260.8) DE/DK, FI, FR, IT, NL,PT.ES,SE,GB; Republic of Korea Pat. 
Nos. KR201211B1 and KR226206B1; and additional patents are pending 
worldwide.

SD logo  is a trademark.

Bluetooth is a trademark of the Bluetooth SIG, Inc.

The Bluetooth word mark and logos are owned by the Bluetooth SIG, Inc. 
and any use of such marks by Sharp is under license. Other trademarks 
and trade names are those of their respective owners.
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Contains Macromedia® Flash™ technology by Macromedia, Inc.
Copyright © 1995-2004 Macromedia, Inc. All rights reserved.
Macromedia, Flash, Macromedia Flash, and Macromedia Flash Lite are 
trademarks or registered trademarks of Macromedia, Inc. in the United 
States and other countries.

Licensed by QUALCOMM Incorporated under one or more of the following 
United States Patents and/or their counterparts in other nations ;
4,901,307 5,490,165 5,056,109 5,504,773 5,101,501
5,506,865 5,109,390 5,511,073 5,228,054 5,535,239
5,267,261 5,544,196 5,267,262 5,568,483 5,337,338
5,600,754 5,414,796 5,657,420 5,416,797 5,659,569
5,710,784 5,778,338
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CP8 PATENT
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Ú−=×¹−İşÞ=̌ ¼½ş=˚₣šÐ=̌ ŠšÐ−Š−½ž¦š˝=̌ ×ş=½žÞ=jmbdJQ=sáëì~ä=m~íÉåí=mçêíÑçäáç=iáÅÉåëÉ=łÐˇ=×¹−³ğ×Ðð¸=ðˇÐ=ýž=
šý×−¹Ðð¸=₣¹¸³ž=ˇ×ş=½−Þ=ðˇ½ˇÞˇÝğ½¸=łÐˇ=EˇF=ðğŠÐð−×−˝ž³ž=Ł˝Þ½š−=³Ćý¾ğÞˇ=ýš=½−=jmbdJQ=sáÇÉç=
pí~åÇ~êÇ=E?jmbdJQ=sáÇÉç?F=ðˇÐL¸=EŁF=ˇ×−ðğŠÐð−×−˝ž³ž=jmbdJQ=sáÇÉç=½−=−×−˝−=˚₣šÐ=ðğŠÐð−×−Ðž¦š˝=ˇ×ş=
½−Þ=ðˇ½ˇÞˇÝğ½¸=³½ˇ=×Ýˇ˝³Ðˇ=×¹−³ğ×Ðð¸²=ðˇÐ=ýž=šý×−¹Ðð¸²=Š¹ˇ³½ž¹Ðş½ž½ˇ²=ðˇÐL¸=ˇ×−ð½¸¦žðš=ˇ×ş=
˚ÞˇÞ=ˇŠšÐ−Š−½žý˚Þ−=×ˇ¹−₣˚ˇ=Ł˝Þ½š−K=‚šÞ=×ˇ¹˚₣š½ˇÐ=−Ć½š=¼×−Þ−š˝½ˇÐ=ðˇý˝ˇ=˙ŠšÐˇ=łÐˇ=ðˇý˝ˇ=˙ÝÝž=
₣¹¸³žK=Ó¹ş³¦š½š²=×Ýž¹−¾−¹˝š²=ý×−¹−ĆÞ=Þˇ=Š−¦−ĆÞ=ˇ×ş=½žÞ=jmbd=i^K=„×Ð³ðš¾¦š˝½š=½žÞ=Ð³½−³šÝ˝Šˇ=
ÜííéWLLïïïKãéÉÖä~KÅçãK

Ú−=×¹−İşÞ=˚₣šÐ=ˇŠšÐ−Š−½ž¦š˝=ˇ×ş=½žÞ=jmbdJQ=póëíÉãë=m~íÉåí=mçêíÑçäáç=iáÅÉåëÉ=łÐˇ=ðğŠÐð−×−˝ž³ž=
Ł˝Þ½š−=³Ćý¾ğÞˇ=ýš=½−=jmbdJQ=póëíÉãë=pí~åÇ~êÇI=šð½ş²=š˙Þ=ˇ×ˇÐ½š˝½ˇÐ=×¹ş³¦š½ž=˙ŠšÐˇ=ðˇÐ=ðˇ½ˇŁ−Ý¸=
ŠÐðˇÐğý˙½ğÞ=łÐˇ=½žÞ=ðğŠÐð−×−˝ž³ž=³₣š½Ðð˙=ýš=EˇF=ŠšŠ−ý˚Þˇ=ˇ×−¦žðš¼ý˚Þˇ=¸=ˇÞ½Ðł¹ˇýý˚Þˇ=³š=¾¼³Ðð˙=
ý˚³ˇ=½ˇ=−×−˝ˇ=š˝ÞˇÐ=×Ýž¹ğý˚Þˇ=³š=ý˝ˇ=Ł˙³ž=½˝½Ý−=×¹−²=½˝½Ý−=ðˇÐL¸=EŁF=ŠšŠ−ý˚Þˇ=½ˇ=−×−˝ˇ=ˇ×−½šÝ−ĆÞ=
Ł−¸¦šÐˇ=³š=ý˝ˇ=Ł˙³ž=½˝½Ý−=×¹−²=½˝½Ý−=ðˇÐ=ýš½ˇŠ˝Š−Þ½ˇÐ=³½−Þ=½šÝÐðş=₣¹¸³½ž=łÐˇ=ýşÞÐýž=ˇ×−¦¸ðš¼³ž=
ðˇÐL¸=₣¹¸³žK=Ú˚½−Ðš²=×¹ş³¦š½š²=˙ŠšÐš²=ý×−¹−ĆÞ=Þˇ=Š−¦−ĆÞ=ˇ×ş=½žÞ=jmbd=i^I=ii`K=„×Ð³ðš¾¦š˝½š=½žÞ=
Ð³½−³šÝ˝Šˇ=ÜííéWLLïïïKãéÉÖä~KÅçã=łÐˇ=×¹ş³¦š½š²=×Ýž¹−¾−¹˝š²K=
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„Ð³ˇłğł¸= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK N
Ú−=ÚžÝ˚¾ğÞş=³ˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NP
ÏšðÐÞćÞ½ˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NQ

Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=
Í×ˇ½ˇ¹˝ˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OM
fl¾ˇ˝¹š³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=
Í×ˇ½ˇ¹˝ˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ON
Ùş¹½Ð³ž=½ž²=Í×ˇ½ˇ¹˝ˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OO
Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=ÍÞ¸ýž²=KKKKKKKKKKKKKKKKKKKK OR
fl¾ˇ˝¹š³ž=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²=KKKKKKKKKKKKKKKKKKKKKKKKKK OS
„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½−¼=
ÚžÝš¾ćÞ−¼=³ˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OS
ËÝš˝Šğýˇ=ÓÝžð½¹−Ý−ł˝−¼= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OU
„ÞŠš˝þšÐ²=−¦şÞž²=EËĆ¹Ðˇ=Ì¦şÞžF= KKKKKKKKKKKKKKKKKKKK OV
„ÞŠš˝þšÐ²=−¦şÞž²=E„þğ½š¹Ðð¸=Ì¦şÞžF= KKKKKKKKKKKK PO
¿Þ−Ðłýˇ=Ú−¼=ÚžÝš¾ćÞ−¼=Òˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKK PP

ÈšÐ½−¼¹ł˝š²=ÓÝ−¸łž³ž²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PQ
ı¹¸³ž=ýš=½žÞ=Ì¦şÞž=³½žÞ=ËˇÞ−ÞÐð¸=Ê˚³ž= KKKK PQ

ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç= KKKKKKK PS
Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž²= KKKKK PS
Úˇ₣š˝ˇ=ËÝ¸³ž= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PT
„×ˇÞ˙ðÝž³ž= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PU
fl×˙Þ½ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž²= KKKKKKKKKKKKKKKKK PU
ÍšÞ−Ć=ËÝ¸³šğÞ=EÙğÞž½Ðð¸=ËÝ¸³žF= KKKKKKKKKKKKKKKK QM
Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=sáÇÉç= KKKKKKKKKKKKKK QR

fl×˙Þ½ž³ž=³š=ý˝ˇ=ËÝ¸³ž=sáÇÉç=KKKKKKKKKKKKKKKKKKKKKKKKK QS
ÍšÞ−Ć=ËÝ¸³šğÞ=EËÝ¸³ž=sáÇÉçF= KKKKKKKKKKKKKKKKKKKKKKK QT

ı¹¸³ž=½−¼=ÍšÞ−Ć= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK RN
ËĆ¹Ð−=ÍšÞ−Ć=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK RN

„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK RP
flÝÝˇł¸=½ğÞ=·Ýğ³³ćÞ=„Ð³ˇłğł¸²= KKKKKKKKKKKKKKKKKKK RR
flÝÝˇł¸=½ž²=Íš¦şŠ−¼=„Ð³ˇłğł¸²=KKKKKKKKKKKKKKKKKKKK RR
ı¹¸³ž=Ó¹−½Ć×ğÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK RT

È˝³½ˇ=„×ˇ¾ćÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK RV
flÝÝˇł¸=Ëˇ½˙½ˇþž²=ÌÞ−ý˙½ğÞ= KKKKKKKKKKKKKKKKKKKKKKKKK SM
flÝÝˇł¸=½ž²=È˝³½ˇ²=×−¼=„ý¾ˇÞ˝Žš½ˇÐ= KKKKKKKKKKKKKK SM
„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²=KKKKKKKKKKKKKKKK SN
flÝÝˇł¸=Ëˇ½˙½ˇþž²=È˝³½ˇ²=„×ˇ¾ćÞ= KKKKKKKKKKKKKKKK SN
Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK SN
Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=³½Ð²=„×ˇ¾˚²=ý−¼= KKKKK SO
flÞ½Ðł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=
ýš½ˇþĆ=Ë˙¹½ˇ²=pfj=ðˇÐ=Ò¼³ðš¼¸²=KKKKKKKKKKKKKKKKKKK SP
„Ć¹š³ž=ÌÞşýˇ½−²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK SP
ËÝ¸³ž=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKK SP
„×šþš¹łˇ³˝ˇ=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=
„×ˇ¾ćÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK SQ
‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=
„×ˇ¾ćÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK SQ
‚Ðˇ₣š˝¹Ð³ž=Ìý˙Šˇ²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK SR
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flÞ½Ð³½−˝₣ž³ž=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²=¸=sáÇÉç=
`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²=³š=ð˙¦š=Ëˇ½ˇ₣ć¹ž³ž=
½ž²=È˝³½ˇ²=„×ˇ¾ćÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSS
Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKST
È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKST
fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=
„×ˇ¾ćÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSU
È¸Ğž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ= KKKKKKSV

Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTM
È¸Ğž=Ùğ½−ł¹ˇ¾ÐćÞ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTM
„łł¹ˇ¾¸=sáÇÉç=`äáéë= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUM

ÍžÞĆýˇ½ˇ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUT
jjp= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUT
pjp= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUT
bã~áä= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUT
„ð×−ý×¸=Ë¼Ğ˚Ýž²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKVU
ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNMM
ÔĆ¦ýÐ³ž=½ğÞ=jjpLpjpLbã~áä=KKKKKKKKKKKKKKKKKKKKKKKKNMN

sçÇ~ÑçåÉ=äáîÉ>= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNMR
„ðð˝Þž³ž=½−¼=t^m=_êçïëÉê= KKKKKKKKKKKKKKKKKKKKKKKKKKKNMS
Óš¹Ð¸łž³ž=³š=ý˝ˇ=³šÝ˝Šˇ=t^m= KKKKKKKKKKKKKKKKKKKKKKKNMS

jÉÇá~=mä~óÉê=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNNM
„ÞˇÝÝˇł¸=ýš½ˇþĆ=½−¼=jìëáÅ=mä~óÉê=ðˇÐ=½−¼=
sáÇÉç=mä~óÉê=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNNM
jìëáÅ=mä~óÉê= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNNM

sáÇÉç=mä~óÉê= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNNP
Ú−=¼ÝÐðş=ý−¼= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNNT

Ùğ½−ł¹ˇ¾˝š²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNNU
sáÇÉçë= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNOQ
◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýˇ½ˇ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNOV
È¸ĞšÐ²=g~î~∑= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNPQ
ÒšÝÐŠ−Šš˝ð½š²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNPU
ÌÐ=fl×−¦žðš¼ý˚Þš²=ÒšÝ˝Šš²=ý−¼= KKKKKKKKKKKKKKKKKKKKNPU
Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNPV
¿ÝÝˇ=÷łł¹ˇ¾ˇ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQM

È¸ĞšÐ²=g~î~∑= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQP
d~ãÉë= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQP
pÅêÉÉåë~îÉêë= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQR
Ô¼¦ý˝³šÐ²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQS
ÓÝž¹−¾−¹˝ˇ=g~î~∑= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQU

„¾ˇ¹ý−ł˚²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQV
Âýš¹−ÝşłÐ−= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNQV
Ï¼×Þž½¸¹Ðˇ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNRP
fl¹Ð¦ý−ýž₣ˇÞ¸=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNRR
Â₣−ł¹˙¾ž³ž=ÙğÞ¸²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNRT
Òˇ¹ğ½¸²=EpÅ~ååÉêF= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNRU
ı¹−Þşýš½¹−= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNSO
„¹łˇ³˝š²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNSP
Óˇłðş³ýÐ−=Ô−ÝşÐ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKNSS
ı¹−Þşýš½¹−=flÞ½˝³½¹−¾ž²=Í˚½¹ž³ž²= KKKKKKKKKKKNST
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Òžýš˝ğ³ž=„þşŠğÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NSU
‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NSV

„¾ˇ¹ý−ł˚²=pfj=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NTM
Ô¼¦ý˝³šÐ²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NTN

Ó¹−¾˝Ý= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NTN
ÔĆ¦ýÐ³ž=½ž²=Ì¦şÞž²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NTU
Ô¼¦ý˝³šÐ²=◊₣−¼=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NUR
›¹ˇ=C=Âýš¹−ýžÞ˝ˇ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NUR
ÔĆ¦ýÐ³ž=·Ýć³³ˇ²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NUT
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NUU
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NVR
fl³¾˙ÝšÐˇ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NVT
Ô¼¦ý˝³šÐ²=ÍÞ¸ýž²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMM
„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMN

fl¹₣š˝−=ËÝ¸³šğÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMO
Íš½¹ž½˚²=ËÝ¸³šğÞ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMP
Ëş³½−²=ËÝ¸³šğÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMQ

Ò¼ÞŠš³Ðýş½ž½ˇ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMS
_äìÉíççíÜ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMS
Û×˚¹¼¦¹š²= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ONO
Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ONP
Ô¼¦ý˝³šÐ²=fåíÉêåÉí= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ONS
_~ÅâìéLflÞ˙ð½ž³ž= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOM

ÒĆÞŠš³ž=½−¼=VMOpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ²= KKKKKKKKKK OOP
fl×ˇÐ½¸³šÐ²=Ò¼³½¸ýˇ½−²=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOP

ÍşÞ½šý=dmop=PdLdpj=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOQ
e~åÇëÉí=j~å~ÖÉê= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOR
„łðˇ½˙³½ˇ³ž=È−łÐ³ýÐð−Ć=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOR

flÞ½Ðýš½ć×Ð³ž=Ó¹−ŁÝžý˙½ğÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOT
Û×−Šš˝þšÐ²=fl³¾ˇÝš˝ˇ²=ðˇÐ=⁄¹−Ð=ı¹¸³ž²= KKKKKKKKKKKKKKKK OOV

ÌÔÌÁ=ıÔÂÒÂÒ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOV
Ó„ÔÁ‡flÈÈÌÎ=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OPR
ÓÔÌÙÛÈflÏ„ÁÒ=Òı„ÚÁËfl=Í„=ÚÂ=ıÔÂÒÂ=Ò„=
ÌıÂÍflÚfl= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OPS
p^o= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OPT
ÓÔÌÙÛÈflÏ„ÁÒ=·Áfl=ıÔÂÒÂ=ÒÚÁÒ=ÂÓfl= KKKKKKKKKKKK OPU

Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙=ðˇÐ=Ó¹−ˇÐ¹š½Ðð˙=
ˇþš³−¼˙¹=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQO

Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQO
Ó¹−ˇÐ¹š½Ðð˙=ˇþš³−¼˙¹= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQO

„¼¹š½¸¹Ð−=KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQP
È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQU
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Ú−=ÚžÝ˚¾ğÞş=³ˇ²

Óˇ¹ˇðˇÝ−ĆýšI=šÝ˚łþ½š=×¹−³šð½Ðð˙=½ˇ=×ˇ¹ˇð˙½ğK=Ú−=×Ý¸¹š²=ˇÞ½Ððš˝ýšÞ−=
×ˇ¹˙Š−³ž²=½−¼=½žÝš¾ćÞ−¼=³ˇ²=×¹˚×šÐ=Þˇ=×š¹Ð˚₣šÐ=½ˇ=šþ¸²W

≥ ÚžÝ˚¾ğÞ−=Pd=ErjqpFLdpjVMMLNUMMNVMMLdomp
≥ Í×ˇ½ˇ¹˝ˇ=ÁşÞ½ğÞ=ÈÐ¦˝−¼
≥ Ë˙Ý¼””ˇ=Í×ˇ½ˇ¹˝ˇ²
≥ Ù−¹½Ð³½¸=šÞˇÝÝˇ³³şýšÞ−¼=¹šĆýˇ½−²=E^`F
≥ Ò½š¹š−¾ğÞÐðş=flð−¼³½Ððş
≥ Í−Þ˙Šˇ=ÍÐð¹−¾ćÞ−¼=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞ
≥ `aJolj
≥ Ë˙¹½ˇ=ÍÞ¸ýž²=pa
≥ ËˇÝćŠÐ−=sáÇÉç
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ÏšðÐÞćÞ½ˇ²

NK flð−¼³½Ððş
OK ÓÝ¸ð½¹ˇ=ÓÝ−¸łž³ž²=EÓÝ¸ð½¹ˇ=‡˚Ý−¼²FW

a=b=c=d Íš½ˇðÐÞ−ĆÞ=½−=Š¹−ý˚ˇ=łÐˇ=½−=ýˇ¹ð˙¹Ð³ýˇ=šÞş²=³½−Ð₣š˝−¼=½−¼=ýšÞ−Ć=
ðÝ×K

ÓÝ¸ð½¹ˇ=Ł˚Ý−¼²=„×˙ÞğL
Ë˙½ğW

„ý¾ˇÞ˝ŽšÐ=½ž=È˝³½ˇ=„×ˇ¾ćÞ=ş½ˇÞ=×ˇ½ž¦š˝=³½žÞ=
ðˇ½˙³½ˇ³ž=JˇÞˇý−Þ¸²K

fl¹Ð³½š¹ş=×Ý¸ð½¹−=
Ł˚Ý−¼²W

„ý¾ˇÞ˝ŽšÐ=½ˇ=šÐ³š¹₣şýšÞˇ=ýžÞĆýˇ½ˇ=ş½ˇÞ=×ˇ½ž¦š˝=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

‚šþ˝=×Ý¸ð½¹−=Ł˚Ý−¼²W „ý¾ˇÞ˝ŽšÐ=½−=ýžÞÐˇ˝−=žýš¹−ÝşłÐ−=ş½ˇÞ=×ˇ½ž¦š˝=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

PK ËšÞ½¹Ððş=×Ý¸ð½¹−W „ý¾ˇÞ˝Žš½ˇÐ=½−=ËĆ¹Ð−=ýšÞ−Ć=ş½ˇÞ=×ˇ½ž¦š˝=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²I=³½ž=³¼Þ˚₣šÐˇ=šð½šÝš˝½ˇÐ=ž=
ýˇ¹ðˇ¹Ð³ý˚Þž=ÝšÐ½−¼¹ł˝ˇK

QK fl¹Ð³½š¹ş=×Ý¸ð½¹−=
šÝ˚ł₣−¼W
A

„ð½šÝš˝=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=ð˙½ğ=̌ ¹Ð³½š¹˙=
³½žÞ=−¦şÞžK
ÓÐ˚³½š=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=łÐˇ=Þˇ=šý¾ˇÞ˝³š½š=
½žÞ=−¦şÞž=ÍžÞ¼ý˙½ğÞK

RK ÓÝ¸ð½¹−=fl×−³½−Ý¸²L
„×ˇÞ˙ðÝž³ž²W
D

Ó¹ˇłýˇ½−×−Ðš˝=¸=Š˚₣š½ˇÐ=ðÝ¸³šÐ²I=šý¾ˇÞ˝ŽšÐ=½žÞ=
−¦şÞž=?⁄Ýš²=−Ð=ðÝ¸³šÐ²?=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

SK ÓÝ¸ð½¹−=Ò¼Þ½şýš¼³ž²W
S

ÓÐ˚³½š=łÐˇ=Þˇ=ˇÞ−˝þš½š=½−=ýšÞ−Ć=³¼Þ½−ýšĆ³šğÞ=ć³½š=
Þˇ=ˇ×−ð½¸³š½š=×¹ş³Łˇ³ž=³½Ð²=š¾ˇ¹ý−ł˚²=×−¼=
š×Ð¦¼ýš˝½šK

TK ÓÝ¸ð½¹−=ÚžÝš¾ğÞž½¸W
G

ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=̌ ¼½ş=½−=×Ý¸ð½¹−=łÐˇ=Þˇ=
³¼ÞŠš¦š˝½š=ˇ¼½şýˇ½ˇ=ýš=½−=Ë˚Þ½¹−=½žÝš¾ğÞž½¸K=
E„þˇ¹½˙½ˇÐ=ˇ×ş=½žÞ=ð˙¹½ˇ=pfjKF

UK ÓÝ¸ð½¹−L*=„ÞˇÝÝˇł¸²W
P

„ÞˇÝÝ˙³³šÐ=½−Þ=½Ć×−=½ğÞ=₣ˇ¹ˇð½¸¹ğÞ=ýš½ˇþĆ=
½š³³˙¹ğÞ=š×ÐÝ−łćÞW=^ÄÅI=^_`I=NOP=ðˇÐ=~ÄÅ=³½žÞ=
−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
ÓÐ˚³½š=łÐˇ=Þˇ=šÐ³ˇł˙łš½š=mI=\I=–=¸=*=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K

1

2

3

4

5

6

7

8

9

11

10

12

13

14

15
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ÏšðÐÞćÞ½ˇ²

VK ÍÐð¹ş¾ğÞ−
NMK ‡−ž¦ž½Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=E„³ğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸F
NNK ËĆ¹Ðˇ=Ì¦şÞž
NOK ÍÐð¹ş¾ğÞ−=EłÐˇ=½ž=₣¹¸³ž=½ž²=−¦şÞž²=ğ²=−¦şÞž²=×¹−Ł−Ý¸²FK
NPK ‚šþ˝=ÓÝ¸ð½¹−=„Ý˚ł₣−¼W

C
„ð½šÝš˝=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=ð˙½ğ=ŠšþÐ˙=
³½žÞ=−¦şÞžK
ı¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½ž=³ĆÞŠš³ž=ýš=½−=?sçÇ~ÑçåÉ=äáîÉ>?=
ˇÞ−˝ł−Þ½ˇ²=½−Þ=ÄêçïëÉêK=ÓÐ˚³½š=³½žÞ=ðˇ½˙³½ˇ³ž==
ˇÞˇý−Þ¸²K

NQK ÓÝ¸ð½¹−=Úš¹ýˇ½Ð³ý−Ć=ðˇÐ=
„Þš¹ł−×−˝ž³ž²L
fl×šÞš¹ł−×−˝ž³ž²W
F

Úš¹ýˇ½˝ŽšÐ=ý˝ˇ=ðÝ¸³ž=ðˇÐ=šÞš¹ł−×−Ðš˝Lˇ×šÞš¹ł−×−Ðš˝=
½−=½žÝ˚¾ğÞ−K

NRK ÓÝ¸ð½¹−=‚Ðˇł¹ˇ¾¸²L
„×Ð³½¹−¾¸²W
U

‚Ðˇł¹˙¾šÐ=½−=₣ˇ¹ˇð½¸¹ˇ=×¹ÐÞ=ˇ×ş=½−=Š¹−ý˚ˇI=
š×Ð³½¹˚¾šÐ=³½žÞ=×¹−žł−ĆýšÞž=−¦şÞž=ðÝ×K

NSK ÓÝ¸ð½¹−=Ó−Ý¼ý˚³ğÞW
E

flÞ−˝łšÐ=½žÞ=−¦şÞž=½−¼=jÉÇá~=mä~óÉêK
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ÏšðÐÞćÞ½ˇ²

NTK ÓÝžð½¹−ÝşłÐ−W
ÓÝ¸ð½¹−=NW= Ò¼Þ½şýš¼³ž=łÐˇ=½−=Ë˚Þ½¹−=½žÝš¾ğÞž½¸K=E„þˇ¹½˙½ˇÐ=

ˇ×ş=½žÞ=ð˙¹½ˇ=pfjKF=ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K=

ÓÝ¸ð½¹ˇ=OJVW ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þˇ=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²=łÐˇ=Þˇ=šý¾ˇÞ˝³š½š=ð˙¦š=ˇ¹Ð¦ýş=½ˇ₣š˝ˇ²=
ðÝ¸³ž²K=

ÓÝ¸ð½¹−=MW ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=šÐ³ˇł˙łš½š=HK
NUK @LÓÝ¸ð½¹−=ÙÝˇ²W

R
„ÞˇÝÝ˙³³šÐ=½ˇ=³ĆýŁ−Ýˇ=−¦şÞž²=³½žÞ=−¦şÞž=
šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=šÞˇÝÝˇł¸=½ğÞ=
łÝğ³³ćÞ=³½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
„Þš¹ł−×−Ðš˝=ðˇÐ=ˇ×šÞš¹ł−×−Ðš˝=½−=¾Ýˇ²Lšþğ½š¹Ððş=
¾ğ½Ð³ýş=³½ž=ÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²=łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=½ğÞ=¹¼¦ý˝³šğÞ=½−¼=
Ó¹−¾˝Ý=×−¼=šÞš¹ł−×−Ð¸¦žðš==×Ð−=×¹ş³¾ˇ½ˇ=ðˇÐ=½−¼=
Ó¹−¾˝Ý=ÒÐğ×žÝşK

17

18
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ÏšðÐÞćÞ½ˇ²

NVK Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=E„þğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸F
OMK ‡−ž¦ž½Ðð¸=Ì¦şÞž
ONK „Þ³ğýˇ½ğý˚ÞžJËš¹ˇ˝ˇW Ó¹−šÐŠ−×−˝ž³žW=ÍžÞ=ðˇÝĆ×½š½š=½−=š×˙Þğ=ý˚¹−²=½−¼=

½žÝš¾ćÞ−¼=ýš=½−=₣˚¹Ð=³ˇ²=ş½ˇÞ=½−=₣¹ž³Ðý−×−Ðš˝½š=łÐˇ½˝=
ý×−¹š˝=Þˇ=š×ž¹š˙³šÐ=½žÞ=ˇ×şŠ−³ž=½ž²=šÞ³ğýˇ½ğý˚Þž²=
ðš¹ˇ˝ˇ²K

OOK È¼₣Þ˝ˇ=ËÐÞž½−ĆW ı¹ž³Ðý−×−Ðš˝½ˇÐ=ğ²=¾Ýˇ²=¸=ğ²=šþğ½š¹Ððş²=¾ğ½Ð³ýş²=
³½ž=ÝšÐ½−¼¹ł˝ˇ=Ğž¾Ðˇð¸²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K

OPK Ë˙Ý¼ýýˇ=Í×ˇ½ˇ¹˝ˇ²
OQK Û×−Š−₣¸=sfabl=lrq=E÷þ−Š−²=¸₣−¼FLÒĆÞŠš³ž²=ÍÐð¹−¾ćÞ−¼=Ù−¹ž½ćÞ=

flð−¼³½ÐðćÞ
ORK „þğ½š¹Ðð¸=Û×−Š−₣¸W ı¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½ž=³ĆÞŠš³ž=½−¼=¾−¹½Ð³½¸=¸=½−¼=

ðˇÝğŠ˝−¼=ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=rp_K
OSK Ò½š¹š−¾ğÞÐð˙=ž₣š˝ˇ

19

20 22

23

21

24

25

26
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ÏšðÐÞćÞ½ˇ²

OTK ÊĆ¹ˇ=¼×˚¹¼¦¹ğÞW Ò½˚ÝÞšÐ=ðˇÐ=ÝˇýŁ˙ÞšÐ=ŠšŠ−ý˚Þˇ=ý˚³ğ=¼×˚¹¼¦¹ğÞK
OUK Ë˙Ý¼ýýˇ=¼×−Š−₣¸²=ð˙¹½ˇ²=ýÞ¸ýž²
OVK ÍÐð¹¸=È¼₣Þ˝ˇW= ı¹ž³Ðý−×−Ðš˝½ˇÐ=ğ²=˚ÞŠšÐþž=¾ş¹½Ð³ž²=½ž²=ý×ˇ½ˇ¹˝ˇ²K

PMK ÓÝš¼¹Ðð˙=×Ý¸ð½¹ˇ=E„×˙ÞğLË˙½ğLÙğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸LflðĆ¹ğ³žFW
ÓÝš¼¹Ðð˙=ÓÝ¸ð½¹ˇ=
J„×˙ÞğJLË˙½ğW

Efl¼½˙=½ˇ=ŠĆ−=×Ý¸ð½¹ˇ=ÝšÐ½−¼¹ł−ĆÞ=ˇÞ˙×−Šˇ=ş½ˇÞ=ž=
−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²KF
Íš½ˇðÐÞš˝=½−=ýˇ¹ðˇ¹Ð³ý˚Þ−=³½−Ð₣š˝−=š×˙Þğ=¸=ð˙½ğK
ÓÐ˚³½š=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=¸=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=
ý˝ˇ²=ðÝ¸³ž²=łÐˇ=ˇ¼þ¸³š½š=¸=Þˇ=ýšÐć³š½š=½žÞ=˚Þ½ˇ³ž=
½−¼=ˇð−¼³½Ðð−ĆK
ÓÐ˚³½š=³½ž=ÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=łÐˇ=Þˇ=
ˇ¼þ¸³š½š=¸=Þˇ=ýšÐć³š½š=½−=š×˝×šŠ−=òççãK

ÓÝ¸ð½¹−=Ùğ½−ł¹ˇ¾Ðð¸²=
ýž₣ˇÞ¸²W=

„ý¾ˇÞ˝Žš½ˇÐ=½−=ËĆ¹Ð−=ýšÞ−Ć=ş½ˇÞ=×Ðš³½š˝=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=ðˇÐI=³½ž=³¼Þ˚₣šÐˇI=šð½šÝš˝½ˇÐ=ž=
ýˇ¹ðˇ¹Ð³ý˚Þž=ÝšÐ½−¼¹ł˝ˇK=
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=
½ž=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=šý¾ˇÞ˝³š½š=½−=
ýšÞ−Ć=„×ÐÝ−ł˚²K
ÓÐ˚³½š=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=šÐ³š¹₣şýšÞž²=ðÝ¸³ž²=
łÐˇ=Þˇ=ˇ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³žK
ÓÐ˚³½š=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=łÐˇ=Þˇ=
šý¾ˇÞ˝³š½š=½Ð²=„×ÐÝ−ł˚²=ðÝ¸³ž²K
ÓÐ˚³½š=³½ÐłýÐˇ˝ˇ=łÐˇ=Þˇ=?ðÝšÐŠć³š½š?=½žÞ=š³½˝ˇ³ž=³½ž=
ÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K
ÓÐ˚³½š=EðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−F=łÐˇ=Þˇ=½¹ˇŁ¸þš½š=ý˝ˇ=
¾ğ½−ł¹ˇ¾˝ˇ=ýš=½ž=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸K

27

28

29

30
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ÏšðÐÞćÞ½ˇ²

ÓÝ¸ð½¹−=flðĆ¹ğ³ž²W= ÓÐ˚³½š=łÐˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=×¹−žł−ĆýšÞž=−¦şÞžK
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=ˇ×−¹¹˝Ğš½š=ý˝ˇ=
šÐ³š¹₣şýšÞž=ðÝ¸³žK
ÓÐ˚³½š=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=šÐ³š¹₣şýšÞž²=ðÝ¸³ž²=łÐˇ=Þˇ=
³½š˝Ýš½š=½−Þ=½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=³½−Þ=ðˇÝ−ĆÞ½ˇK
ÓÐ˚³½š=łÐˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=ðÝ¸³žK
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ÏšðÐÞćÞ½ˇ²

Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=Í×ˇ½ˇ¹˝ˇ²
NK ÒĆ¹š½š=ðˇÐ=ˇ¾ˇÐ¹˚³½š=½−=ð˙Ý¼ýýˇ=½ž²=ý×ˇ½ˇ¹˝ˇ²=E FK

OK ÒĆ¹š½š=ðˇÐ=½−×−¦š½¸³½š=½žÞ=ð˙¹½ˇ=pfj=³½žÞ=¼×−Š−₣¸=ð˙¹½ˇ²=pfjK

PK Ë¹ˇ½¸³½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=˚½³ÐI=ć³½š=−Ð=ýš½ˇÝÝÐð−˝=ˇð¹−Š˚ð½š²=½ž²=ý×ˇ½ˇ¹˝ˇ²=Þˇ=
?ð−Ð½˙Ž−¼Þ?=×¹−²=½ˇ=ð˙½ğI=³Ć¹š½š=½−¼²=−Šžł−Ć²=×−¼=Ł¹˝³ð−Þ½ˇÐ=³½−=š×˙Þğ=
ý˚¹−²=½ž²=ý×ˇ½ˇ¹˝ˇ²=³½Ð²=̌ Þ½˝³½−Ð₣š²=¼×−Š−₣˚²= I=³½ž=³¼Þ˚₣šÐˇ=½−×−¦š½¸³½š=
½žÞ= K

QK Ú−×−¦š½¸³½š=×˙ÝÐ=½−=ð˙Ý¼ýýˇ=½ž²=ý×ˇ½ˇ¹˝ˇ²K

Òžýš˝ğ³ž
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=₣¹ž³Ðý−×−Ðš˝½š=ýşÞ−Þ=ð˙¹½š²=pfj=½ğÞ=PsK
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=₣¹ž³Ð”−×−Ðš˝½š=½ž=”×ˇ½ˇ¹˝ˇ=½−¼=Łˇ³Ðð−Ć=šþ−×ÝÐ³”−Ć=

EukJN_qVMFK

4

3

2

1

Ë˙¹½ˇ=pfj
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ÏšðÐÞćÞ½ˇ²

fl¾ˇ˝¹š³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=Í×ˇ½ˇ¹˝ˇ²
NK ‡šŁˇÐğ¦š˝½š=ş½Ð=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þ−=ðˇÐ=ş½Ð=−=¾−¹½Ð³½¸²=ðˇÐ=½ˇ=

˙ÝÝˇ=ˇþš³−¼˙¹=˚₣−¼Þ=ˇ×−³¼ÞŠš¦š˝K=ÒĆ¹š½š=ðˇÐ=ˇ¾ˇÐ¹˚³½š=½−=ð˙Ý¼ýýˇ=½ž²=
ý×ˇ½ˇ¹˝ˇ²=E FK

OK flÞˇ³žðć³½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=ˇ×ş=½žÞ=×¹−šþ−₣¸=ðˇÐ=ˇ¾ˇÐ¹˚³½š=½žÞ=ˇ×ş=½−=
½žÝ˚¾ğÞ−K

PK ÓÐ˚³½š=×¹−²=½ˇ=ð˙½ğ=×¹−³šð½Ðð˙= =šÞć=³¼ł₣¹şÞğ²=³×¹ć₣Þš½š=½žÞ=ð˙¹½ˇ=pfj=
˚þğ=ˇ×ş=½žÞ=¼×−Š−₣¸=½ž²=ð˙¹½ˇ²=pfj=E FK

fl×ş¹¹ÐĞž=½ž²=Í×ˇ½ˇ¹˝ˇ²
Â=³¼³ðš¼¸=½¹−¾−Š−½š˝½ˇÐ=ˇ×ş=½ž=ý×ˇ½ˇ¹˝ˇK=Óˇ¹ˇðˇÝ−ĆýšI=ŠÐˇŁ˙³½š=½ˇ=×ˇ¹ˇð˙½ğ=
³½−Ð₣š˝ˇ=×−¼=ˇ¾−¹−ĆÞ=³½žÞ=ˇ×ş¹¹ÐĞž=½ž²=ý×ˇ½ˇ¹˝ˇ²=×¹−ðšÐý˚Þ−¼=Þˇ=
×¹−³½ˇ½˚Ğš½š=½−=×š¹ÐŁ˙ÝÝ−ÞW

≥ Óˇ¹ˇŠć³½š=łÐˇ=̌ ÞˇðĆðÝğ³ž=½ž=ýš½ˇ₣šÐ¹Ð³ý˚Þž=ý×ˇ½ˇ¹˝ˇ=³½−=ð˚Þ½¹−=̌ ×−ð−ýÐŠ¸²=
ˇ×−¹¹Ðýý˙½ğÞ=½ž²=×š¹Ð−₣¸²=³ˇ²I=³½−=ðˇ½˙³½žýˇ=ˇł−¹˙²=¸=³½−=ð˚Þ½¹−=
šþ¼×ž¹˚½ž³ž²=×šÝˇ½ćÞK

≥ ÍžÞ=šð¦˚½š½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=³š=̌ Þ−Ðð½˚²=¾Ýşłš²I=ýžÞ=½žÞ=×š½˙½š=ý˚³ˇ=³š=Þš¹ş=ðˇÐ=
ýžÞ=½žÞ=ˇ×−¹¹˝×½š½š=³½ˇ=ð−ÐÞ˙=−ÐðÐˇð˙=ˇ×−¹¹˝ýýˇ½ˇK

2

1

3

4
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ÏšðÐÞćÞ½ˇ²

Ùş¹½Ð³ž=½ž²=Í×ˇ½ˇ¹˝ˇ²
Êˇ=×¹˚×šÐ=Þˇ=¾−¹½˝³š½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=½−¼Ý˙₣Ð³½−Þ=łÐˇ=NPR=Ýš×½˙=×¹ÐÞ=
₣¹ž³Ðý−×−Ð¸³š½š=łÐˇ=×¹ć½ž=¾−¹˙=½−=½žÝ˚¾ğÞş=³ˇ²K

ı¹¸³ž=½−¼=Ù−¹½Ð³½¸
NK flÞ−˝þ½š=½−=ð˙Ý¼ýýˇ=½ž²=šþğ½š¹Ðð¸²=¼×−Š−₣¸²=ðˇÐ=³¼ÞŠ˚³½š=½−=¾−¹½Ð³½¸=³½žÞ=

šþğ½š¹Ðð¸=š×ˇ¾¸=×−¼=Ł¹˝³ðš½ˇÐ=³½−=ð˙½ğ=ý˚¹−²=½−¼=½žÝš¾ćÞ−¼=×Ð˚Ž−Þ½ˇ²=½ˇ=
ŠĆ−=˙ð¹ˇ=×−¼=š×Ð³žýˇ˝Þ−Þ½ˇÐ=ýš=½ˇ=Ł˚ÝžK
Â=ýÐð¹¸=Ý¼₣Þ˝ˇ=ł˝Þš½ˇÐ=ðşððÐÞžK
Ú¼×Ððş²=₣¹şÞ−²=¾ş¹½Ð³ž²W=Óš¹˝×−¼=NPR=Ýš×½˙

Òžýš˝ğ³ž
≥ Ì=₣¹şÞ−²=¾ş¹½Ð³ž²=šÞŠ˚₣š½ˇÐ=Þˇ=ŠÐˇ¾˚¹šÐI=ˇÞ˙Ý−łˇ=ýš=½žÞ=ðˇ½˙³½ˇ³ž=½ž²=

ý×ˇ½ˇ¹˝ˇ²=¸=ˇÞ˙Ý−łˇ=ýš=½Ð²=ŠÐ˙¾−¹š²=³¼Þ¦¸ðš²K=E‚š˝½š=?Í×ˇ½ˇ¹˝ˇ?=³½ž=
³šÝ˝Šˇ OPNKF

ÍÐð¹¸=È¼₣Þ˝ˇ
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ÏšðÐÞćÞ½ˇ²

fl×−³ĆÞŠš³ž=½−¼=Ù−¹½Ð³½¸
⁄½ˇÞ=−Ý−ðÝž¹ğ¦š˝=ž=¾ş¹½Ð³žI=ž=ýÐð¹¸=Ý¼₣Þ˝ˇ=³Ł¸ÞšÐK

NK fl×−³¼ÞŠ˚³½š=½−=¾−¹½Ð³½¸=ˇ×ş=½žÞ=×¹˝Žˇ=ðˇÐI=³½ž=³¼Þ˚₣šÐˇI=ˇ×−³¼ÞŠ˚³½š=½−Þ=
ˇð¹−Š˚ð½ž=½−¼=¾−¹½Ð³½¸=ˇ×ş=½−=½žÝ˚¾ğÞ−K

OK ËÝš˝³½š=½−=ð˙Ý¼ýýˇK

Òžýš˝ğ³ž
≥ Íž=₣¹ž³Ðý−×−Ðš˝½š=ýž=šłðšð¹Ðý˚Þ−¼²=¾−¹½Ð³½˚²I=ðˇ¦ć²=ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³−¼Þ=
ŁÝ˙Łš²=³½−=½žÝ˚¾ğÞ−=ýš=ˇ×−½˚Ýš³ýˇ=Þˇ=ˇð¼¹ğ¦š˝=ž=šłłĆž³žK=Óˇ¹ˇðˇÝ−ĆýšI=
Šš˝½š=?Í×ˇ½ˇ¹˝ˇ?=³½ž=³šÝ˝Šˇ OPN=łÐˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²K

≥ Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=½ž²=¾ş¹½Ð³ž²=½−¼=½žÝš¾ćÞ−¼I=ž=ýÐð¹¸=Ý¼₣Þ˝ˇ=ˇÞˇŁ−³Ł¸ÞšÐ=ðˇÐ=
ž=ðÐÞ−ĆýšÞž=˚ÞŠšÐþž=ðˇ½˙³½ˇ³ž²=½ž²=ý×ˇ½ˇ¹˝ˇ²=E F=³½žÞ=š×˙Þğ=ŠšþÐ˙=×Ýš¼¹˙=
½ž²=−¦şÞž²=Šš˝₣ÞšÐ=½žÞ=½¹˚₣−¼³ˇ=ðˇ½˙³½ˇ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²K

Ùş¹½Ð³ž=ýš=ı¹¸³ž=½−¼=Ù−¹½Ð³½¸=fl¼½−ðÐÞ¸½−¼
Ì=×¹−ˇÐ¹š½Ððş²=¾−¹½Ð³½¸²=̌ ¼½−ðÐÞ¸½−¼=½¹−¾−Š−½š˝=½−=½žÝ˚¾ğÞ−=ýš=¹šĆýˇ=̌ ×ş=½−Þ=
ˇÞˇ×½¸¹ˇ=½−¼=ˇ¼½−ðÐÞ¸½−¼K

÷ÞŠšÐþž=Ò½˙¦ýž²=Ùş¹½Ð³ž²=Í×ˇ½ˇ¹˝ˇ²
Â=½¹˚₣−¼³ˇ=³½˙¦ýž=¾ş¹½Ð³ž²=½ž²=ý×ˇ½ˇ¹˝ˇ²=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=š×˙Þğ=ŠšþÐ˙=×Ýš¼¹˙=
½ž²=ðĆ¹Ðˇ²=ðˇÐ=½ž²=šþğ½š¹Ðð¸²=−¦şÞž²K
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ÏšðÐÞćÞ½ˇ²

ıˇýžÝ¸=Í×ˇ½ˇ¹˝ˇ=ðˇ½˙=½ž=ı¹¸³ž
⁄½ˇÞ=ž=ý×ˇ½ˇ¹˝ˇ=ˇ¹₣˝³šÐ=Þˇ=šþˇÞ½Ýš˝½ˇÐI=ˇð−Ćłš½ˇÐ=˚Þˇ=ž₣ž½Ððş=³¸ýˇ=ðˇÐ=
šý¾ˇÞ˝Žš½ˇÐ=½−=šÐð−Þ˝ŠÐ−=? ?=³½žÞ=ðĆ¹Ðˇ=ðˇÐ=½žÞ=šþğ½š¹Ðð¸=−¦şÞžK

⁄½ˇÞI=šÞć=₣¹ž³Ðý−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−I=ˇð−Ć³š½š=½žÞ=ž₣ž½Ðð¸=×¹−šÐŠ−×−˝ž³ž=
?₣ˇýžÝ¸²=ý×ˇ½ˇ¹˝ˇ²?I=³¼ÞŠ˚³½š=½−=¾−¹½Ð³½¸=³ˇ²=½−=³¼Þ½−ýş½š¹−=Š¼Þˇ½şK=„˙Þ=
³¼Þš₣˝³š½š=Þˇ=₣¹ž³Ðý−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−I=šÞŠš₣−ý˚Þğ²=Þˇ=ýž=ÝšÐ½−¼¹ł¸³šÐ=
³ğ³½˙K

„ÞŠš˝þšÐ²=
Í×ˇ½ˇ¹˝ˇ² Ò½˙¦ýž=Ùş¹½Ð³ž²

ÓÝ¸¹ž²=¾ş¹½Ð³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²

Ò¼ÞÐ³½˙½ˇÐ=¾ş¹½Ð³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²

fl×ˇÐ½š˝½ˇÐ=¾ş¹½Ð³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²

¿ŠšÐˇ
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ÏšðÐÞćÞ½ˇ²

Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=ÍÞ¸ýž²
NK fl×šÞš¹ł−×−Ð¸³½š=½−=½žÝ˚¾ğÞ−K

OK flÞ−˝þ½š=½−=ð˙Ý¼ýýˇ=½ž²=¼×−Š−₣¸²=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²K

PK Ú−×−¦š½¸³½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=½šÝš˝ğ²=ý˚³ˇ=³½žÞ=¼×−Š−₣¸K

QK ËÝš˝³½š=½−=ð˙Ý¼ýýˇK

Òžýš˝ğ³ž
≥ Ò½−=½žÝ˚¾ğÞş=³ˇ²=ŠšÞ=ý×−¹š˝=Þˇ=₣¹ž³Ðý−×−Ðž¦š˝=ž=ð˙¹½ˇ=ýÞ¸ýž²=ãáåápaK
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=ˇ×šÞš¹ł−×−Ðžý˚Þ−=×¹ÐÞ=½−×−¦š½¸³š½š=½žÞ=

ð˙¹½ˇ=ýÞ¸ýž²K
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=˚₣š½š=šÐ³˙łšÐ=½žÞ=ð˙¹½ˇ=³½ž=³ğ³½¸=ðˇ½šĆ¦¼Þ³ž=ðˇÐ=×Ýš¼¹˙K
≥ Â=ð˙¹½ˇ=ýÞ¸ýž²=pa=ŠÐˇ¦˚½šÐ=×¹−³½ˇ³˝ˇ=šłł¹ˇ¾¸²=ž=−×−˝ˇ=̌ ×−½¹˚×šÐ=½žÞ=̌ ð−Ć³Ðˇ=

ŠÐˇł¹ˇ¾¸=½ğÞ=ŠšŠ−ý˚ÞğÞ=³ˇ²K=„˙Þ=³×¹ćþš½š=½−=ŠÐˇðş×½ž=³½ž=¦˚³ž=ðÝšÐŠćýˇ½−²I=
ŠšÞ=ý×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=¸=Þˇ=ŠÐˇł¹˙Ğš½š=½ˇ=ˇ¹₣š˝ˇK

≥ ÍžÞ=ˇÞ−˝łš½š=½−=ð˙Ý¼ýýˇ=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²=ş½ˇÞ=ˇ¼½¸=ŠÐˇý−¹¾ćÞš½ˇÐ=¸=ş½ˇÞ=
šłł¹˙¾−Þ½ˇÐ=³D=ˇ¼½¸=ŠšŠ−ý˚ÞˇK=Â=ð˙¹½ˇ=ý×−¹š˝=Þˇ=¼×−³½š˝=ˇÞš×ˇÞş¹¦ğ½š²=
ŁÝ˙Łš²K

≥ Ù¼Ý˙³³š½š=½Ð²=ð˙¹½š²=ýÞ¸ýž²=ýˇð¹Ð˙=ˇ×ş=ýÐð¹˙=×ˇÐŠÐ˙K
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ÏšðÐÞćÞ½ˇ²

Ò¼ýŁ−¼Ý¸
≥ Êˇ=Šš˝½š=½Ð²=×ˇ¹ˇð˙½ğ=šÞŠš˝þšÐ²=ş½ˇÞ=₣¹ž³Ðý−×−Ðš˝½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²W

W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=½−×−¦š½ž¦š˝=ž=ð˙¹½ˇK

W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=½−×−¦š½ž¦š˝=ðˇÐ=ðÝšÐŠğ¦š˝=ž=ð˙¹½ˇK

W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=ž=ð˙¹½ˇ=˚₣šÐ=¼×−³½š˝=ŁÝ˙Łž=¸=ŠšÞ=ý×−¹š˝=Þˇ=
₣¹ž³Ðý−×−Ðž¦š˝K

W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=ž=ð˙¹½ˇ=š˝ÞˇÐ=ðÝšÐŠğý˚Þž=ðˇÐ=˚₣šÐ=¼×−³½š˝=ŁÝ˙Łž=¸=ŠšÞ=
ý×−¹š˝=Þˇ=₣¹ž³Ðý−×−Ðž¦š˝K

W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=×¹ˇłýˇ½−×−Ðš˝½ˇÐ=šłł¹ˇ¾¸=¸=ˇÞ˙łÞğ³ž=ŠšŠ−ý˚ÞğÞ=ˇ×ş=
½žÞ=ð˙¹½ˇK

W „ý¾ˇÞ˝Žš½ˇÐ=ðˇ½˙=½ž=ŠÐˇýş¹¾ğ³ž=½ž²=ð˙¹½ˇ²K

fl¾ˇ˝¹š³ž=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²
NK flÞ−˝þ½š=½−=ð˙Ý¼ýýˇ=½ž²=¼×−Š−₣¸²=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²I=̌ ¾ˇÐ¹˚³½š=½žÞ=ð˙¹½ˇ=ðˇÐ=

ðÝš˝³½š=½−=ð˙Ý¼ýýˇK

Òžýš˝ğ³ž
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=ˇ×šÞš¹ł−×−Ðžý˚Þ−=×¹ÐÞ=ˇ¾ˇÐ¹˚³š½š=½žÞ=

ð˙¹½ˇ=ýÞ¸ýž²K
≥ ÍžÞ=ˇ¾ˇÐ¹š˝½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=ş½ˇÞ=ˇ¼½¸=ŠÐˇý−¹¾ćÞš½ˇÐ=¸=ş½ˇÞ=šłł¹˙¾−Þ½ˇÐ=

³D=ˇ¼½¸=ŠšŠ−ý˚ÞˇK

„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½−¼=ÚžÝš¾ćÞ−¼=³ˇ²
·Ðˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½−=½žÝ˚¾ğÞ−I=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=F=łÐˇ=O=
×š¹˝×−¼=Šš¼½š¹şÝš×½ˇK

„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=ˇÞˇý−Þ¸²K
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ÏšðÐÞćÞ½ˇ²

„Ð³ˇłğł¸=½−¼=ËğŠÐð−Ć=mfk
ÍşÝÐ²=¦˚³š½š=½−=½žÝ˚¾ğÞ−=³š=ÝšÐ½−¼¹ł˝ˇ=¦ˇ=³ˇ²=Žž½ž¦š˝=Þˇ=šÐ³˙łš½š=½−Þ=ðğŠÐðş=
mfk=EmÉêëçå~ä=fÇÉåíáÑáÅ~íáçå=kìãÄÉêF=ðˇÐ=½−Þ=ðğŠÐðş=ðÝšÐŠćýˇ½−²=½ž²=³¼³ðš¼¸²I=
š¾ş³−Þ=˚₣š½š=šÞš¹ł−×−Ð¸³šÐ=½Ð²=³₣š½Ðð˚²=¹¼¦ý˝³šÐ²K

NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=ÔÁÎK
Ì=ðğŠÐðş²=mfk=ˇ×−½šÝš˝½ˇÐ=ˇ×ş=Q=˚ğ²=U=Ğž¾˝ˇK

OK ÓÐ˚³½š= K
·Ðˇ=Þˇ=̌ ×šÞš¹ł−×−Ð¸³š½š=½−=½žÝ˚¾ğÞ−I=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=F=łÐˇ=
O=×š¹˝×−¼=Šš¼½š¹şÝš×½ˇK

Òžýš˝ğ³ž
≥ „˙Þ=×Ýžð½¹−Ý−ł¸³š½š=ÝˇÞ¦ˇ³ý˚Þˇ=½−Þ=ðğŠÐðş=mfk=³ˇ²=½¹šÐ²=¾−¹˚²=ŠÐˇŠ−₣Ðð˙I=ž=

ð˙¹½ˇ=pfj=ðÝšÐŠćÞš½ˇÐK=‚š˝½š=?„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=½−¼=ËğŠÐð−Ć=mfk?=
³½ž=³šÝ˝Šˇ NVTK

≥ „˙Þ=ŠšÞ=˚₣−¼Þ=×¹ˇłýˇ½−×−Ðž¦š˝=−Ð=¹¼¦ý˝³šÐ²=½−¼=¹−Ý−łÐ−ĆI=¦ˇ=šý¾ˇÞÐ³½š˝=ž=
−¦şÞž=šÐ³ˇłğł¸²=½ž²=ć¹ˇ²=ðˇÐ=½ž²=žýš¹−ýžÞ˝ˇ²=E³šÝK NURFK=

flÞ½Ðł¹ˇ¾¸=⁄ÝğÞ=½ğÞ=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=ˇ×ş=½žÞ=Ë˙¹½ˇ=pfj
⁄½ˇÞ=½−×−¦š½¸³š½š=½žÞ=ð˙¹½ˇ=pfj=³½−=½žÝ˚¾ğÞş=³ˇ²=łÐˇ=×¹ć½ž=¾−¹˙=ðˇÐ=
þšðÐÞ¸³š½š=½žÞ=š¾ˇ¹ý−ł¸=½ž²=È˝³½ˇ²=„×ˇ¾ćÞI=¦ˇ=š¹ğ½ž¦š˝½š=š˙Þ=¦˚Ýš½š=Þˇ=
ˇÞ½Ðł¹˙Ğš½š=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=×−¼=×š¹Ð˚₣−Þ½ˇÐ=³½žÞ=ð˙¹½ˇ=
pfjK=flð−Ý−¼¦¸³½š=½Ð²=−Šžł˝š²=½ž²=−¦şÞž²=¸=×¹ˇłýˇ½−×−Ð¸³½š=½žÞ=ˇÞ½Ðł¹ˇ¾¸=
ˇ¹łş½š¹ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=ýšÞ−Ć=È˝³½ˇ²=„×ˇ¾ćÞ=ğ²=šþ¸²W

?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?flÞ½Ðł¹ˇ¾¸=⁄ÝğÞ?
NK „×ÐÝ˚þ½š=?fl×ş=pfj=³š=Ò¼³ðš¼¸?K
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ÏšðÐÞćÞ½ˇ²

ËÝš˝Šğýˇ=ÓÝžð½¹−Ý−ł˝−¼
Í×−¹š˝½š=Þˇ=ðÝšÐŠć³š½š=½−=×Ýžð½¹−ÝşłÐ−=łÐˇ=Þˇ=̌ ×−½¹˚Ğš½š=½−=ðˇ½˙=Ý˙¦−²=×˙½žýˇ=
½ğÞ=×Ý¸ð½¹ğÞK

ËÝš˝Šğýˇ=½−¼=ÓÝžð½¹−Ý−ł˝−¼
NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=P=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

·Ðˇ=Þˇ=þšðÝšÐŠć³š½šI=×Ð˚³½š=PK

Ò¼ýŁ−¼Ý¸
≥ ÌÐ=ˇ¹Ð¦ý−˝=˚ð½ˇð½ž²=ˇÞ˙łðž²=ENNOI=ðÝ×KF=ý×−¹−ĆÞ=Þˇ=šÐ³ˇ₣¦−ĆÞ=ðˇÐ=Þˇ=ðÝž¦−ĆÞ=

ˇÞšþ˙¹½ž½ˇ=ˇ×ş=½−=ðÝš˝Šğýˇ=½−¼=×Ýžð½¹−Ý−ł˝−¼K
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ÏšðÐÞćÞ½ˇ²

„ÞŠš˝þšÐ²=−¦şÞž²=EËĆ¹Ðˇ=Ì¦şÞžF
NK L W Á³₣Ć²=ÝˇýŁˇÞşýšÞ−¼=³¸ýˇ½−²L„ð½ş²=šýŁ˚ÝšÐˇ²=½−¼=ŠÐð½Ć−¼

W PdErjqpFLdmop

W dpjLdmop

W Óš¹Ðˇłğł¸=šð½ş²=½−¼=ŠÐð½Ć−¼

OK W ÈšÐ½−¼¹ł˝ˇ=šð½ş²=³ĆÞŠš³ž²=xšÞš¹ł−×−˝ž³žz
PK W flÞ½ˇÝÝˇł¸=ŠšŠ−ý˚ÞğÞ=ýš=šþğ½š¹Ðð¸=³¼³ðš¼¸

QK L W ÒĆÞŠš³ž=ýš=½−=ŠÐˇð−ýÐ³½¸=x×¹ˇłýˇ½−×−˝ž³žLš×Ðð−ÐÞğÞ˝ˇz

RK W Ë˙¹½ˇ=ýÞ¸ýž²=½−×−¦š½žý˚Þž
SK L W ÙğÞž½Ðð¸=ðÝ¸³ž=xšÐ³š¹₣şýšÞžL³š=šþ˚ÝÐþžz

TK L L W
ÈšÐ½−¼¹ł˝ˇ=š×Ðð−ÐÞğÞ˝ˇ²=ðÝ¸³ž²=îáÇÉç=šÞš¹ł¸

UK W ÌÐ=šð½¹−×˚²=˚₣−¼Þ=¹¼¦ýÐ³½š˝=³š=?ÙğÞ¸½K=ËÝ¸³šÐ²?=ˇ×ş=?⁄Ýš²=−Ð=
ðÝ¸³šÐ²?

VK W „ý¾ˇÞ˝Žš½ˇÐ=ý˝ˇ=ˇ³¾ˇÝ¸²=³šÝ˝Šˇ=t^m

NMK L L W „ÐŠ−×−Ð¸³šÐ²=xł¹ˇ×½ş=ý¸Þ¼ýˇLý¸Þ¼ýˇ=×−Ý¼ý˚³ğÞLÉJã~áäz

01.01.05 12:00

Óš¹Ð−₣¸=šÞŠš˝þšğÞ

‚šþ˝=×Ý¸ð½¹−=
šÝ˚ł₣−¼

fl¹Ð³½š¹ş=
×Ý¸ð½¹−=
šÝ˚ł₣−¼

ËšÞ½¹Ððş=
×Ý¸ð½¹−

Óš¹Ð−₣¸=šÞŠš˝þšğÞ
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NNK L L L L L W
Ëˇ½˙³½ˇ³ž=³ĆÞŠš³ž²
xðˇÝćŠÐ−=rp_LÛ×˚¹¼¦¹š²=„Þš¹ł˚²LˇÞ½ˇÝÝˇł¸=×Ýž¹−¾−¹ÐćÞ=ý˚³ğ=
¼×˚¹¼¦¹ğÞL¹Ć¦ýÐ³ž=_äìÉíççíÜ=xšÞš¹ł−×−˝ž³ž=E³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²=¸=šð½ş²=½ž²=ðˇ½˙³½ˇ³ž²=ˇÞˇý−Þ¸²FLˇÞ½ˇÝÝˇł¸=
×Ýž¹−¾−¹ÐćÞLš×Ðð−ÐÞğÞ˝ˇ=ýš=½−=ˇð−¼³½Ððş=_äìÉíççíÜzz

NOK L W „¾ˇ¹ý−ł¸=g~î~∑=xş½ˇÞ=šð½šÝš˝½ˇÐ=E˚ł₣¹ğý−FL³š=ˇÞˇ³½−Ý¸=Ełð¹ÐFz

NPK Ehˇý˝ˇ=˚ÞŠšÐþžFL L L L L W
Ú¹˚₣−Þ=×¹−¾˝Ý=xËˇÞ−ÞÐðşLÒ¼Þ˙Þ½ž³žL‚¹ˇ³½ž¹Ðş½ž½ˇLfl¼½−ð˝Þž½−L
flð−¼³½ÐðşLÒÐğ×žÝşz

NQK L L L L W
ÔĆ¦ýÐ³ž=³Ðğ×žÝ−ĆLŠşÞž³ž²=x³Ðğ×žÝşLˇĆþž³ž=˚Þ½ˇ³ž²LŠşÞž³ž=
šÞš¹ł−×−Ðžý˚ÞžL³Ðğ×žÝş=ðˇÐ=ŠşÞž³ž=šÞš¹ł−×−Ðžý˚Þž=LˇĆþž³ž=
˚Þ½ˇ³ž²=ðˇÐ=ŠşÞž³ž=šÞš¹ł−×−Ðžý˚Þžz

NRK L L W ÈšÐ½−¼¹ł˝ˇ=ž₣š˝−¼=xˇÞ−Ðð½¸=³¼Þ−ýÐÝ˝ˇ=L=ýÐð¹ş¾ğÞ−=šÞš¹ł−×−Ðžý˚Þ−=
L=ýÐð¹ş¾ğÞ−=³š=³˝łˇ³žz

NSK L L L W=
Ò½˙¦ýž=¾ş¹½Ð³ž²=ý×ˇ½ˇ¹˝ˇ²=x×Ý¸¹ž²=¾ş¹½Ð³žL³¼ÞÐ³½˙½ˇÐ=¾ş¹½Ð³žL
ˇ×ˇÐ½š˝½ˇÐ=¾ş¹½Ð³žL˙ŠšÐˇ=ý×ˇ½ˇ¹˝ˇz

NTK W È¼₣Þ˝ˇ=ðÐÞž½−Ć=šÞš¹ł¸

NUK W Âýš¹¸³Ð−=þ¼×Þž½¸¹Ð=šÞš¹łş

NVK L W „Þš¹ł−×−˝ž³ž=ðˇ½ˇ₣ć¹ž³ž²=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=xýšL₣ğ¹˝²=
šÐŠ−×−˝ž³ž=¼×šÞ¦ĆýÐ³ž²z

OMK W Ò½ˇ=„þš¹₣şýšÞˇ=×š¹Ð˚₣−Þ½ˇÐ=ýž=³½ˇÝý˚Þˇ=ýžÞĆýˇ½ˇ=xł¹ˇ×½ş=
ý¸Þ¼ýˇL×−Ý¼ý˚³ˇLÉJã~áäz
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ÏšðÐÞćÞ½ˇ²

ONK L L W „ÐŠ−×−Ð¸³šÐ²=¹¼¦ý˝³šğÞ=t^mLlq^=x„ÐŠ−×−˝ž³ž=t^mL„ÐŠ−×−˝ž³ž=
Ý¸Ğž²=lq^L„ÐŠ−×−Ð¸³šÐ²=t^m=ðˇÐ=Ý¸Ğž²=lq^z

OOK W „ÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=½žÝš¾ğÞž½¸

OPK W Ëˇ½˙³½ˇ³ž=³ĆÞŠš³ž²=xÓ¹ć½žI=š×Ðð−ÐÞğÞ˝ˇ=ý˚³ğ=¼×˚¹¼¦¹ğÞ=
xšÞš¹ł¸=L=ˇÞ½ˇÝÝˇł¸=×Ýž¹−¾−¹ÐćÞzz

OQK W ËÝš˝Šğýˇ=ÚžÝš¾ćÞ−¼=šÞš¹łş

ORK W ËÝš˝Šğýˇ=ÓÝžð½¹−Ý−ł˝−¼=šÞš¹łş

OSK LEðšÞşFW ÔĆ¦ýÐ³ž=¼×˚¹¼¦¹ğÞ=xšÞš¹łşLýž=šÞš¹łşz
OTK NOWMMW Ô−ÝşÐ

OUK MNKMNKMRW Âýš¹−ýžÞ˝ˇ

OVK E⁄Þ−ýˇ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼F
PMK EÓÝž¹−¾−¹˝ˇ=„ð×−ý×¸²=Ë¼Ğ˚Ýž²F

„ÞŠš˝þšÐ²=ÓÝ¸ð½¹ğÞ=„Ý˚ł₣−¼
·Ðˇ=Þˇ=šð½šÝ˚³š½š=½žÞ=šÞ˚¹łšÐˇ=×−¼=š×Ð³žýˇ˝Þš½ˇÐI=×Ð˚³½š=½−=ˇÞ½˝³½−Ð₣−=×Ý¸ð½¹−K

PNK Óš¹Ð−₣¸=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=×Ýš¼¹˙=½ž²=−¦şÞž²W
„ý¾ˇÞ˝ŽšÐ=½žÞ=šÞ˚¹łšÐˇ=×−¼=šð½šÝš˝½ˇÐ=ýš=½−=ˇ¹Ð³½š¹ş=×Ý¸ð½¹−=
šÝ˚ł₣−¼K

POK Óš¹Ð−₣¸=³½žÞ=ð˙½ğ=ŠšþÐ˙=×Ýš¼¹˙=½ž²=−¦şÞž²W
„ý¾ˇÞ˝ŽšÐ=½žÞ=šÞ˚¹łšÐˇ=×−¼=šð½šÝš˝½ˇÐ=ýš=½−=Ššþ˝=×Ý¸ð½¹−=šÝ˚ł₣−¼K
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ÏšðÐÞćÞ½ˇ²

„ÞŠš˝þšÐ²=−¦şÞž²=E„þğ½š¹Ðð¸=Ì¦şÞžF
„ÞŠš˝þšÐ²=Ëˇ½˙³½ˇ³ž²
NK L L L W

Ò½˙¦ýž=¾ş¹½Ð³ž²=½ž²=ý×ˇ½ˇ¹˝ˇ²=x×Ý¸¹ž²=¾ş¹½Ð³žL³¼Þ˝³½ˇ½ˇÐ=
¾ş¹½Ð³žLˇ×ˇÐ½š˝½ˇÐ=¾ş¹½Ð³žL˙ŠšÐˇ=ý×ˇ½ˇ¹˝ˇz

OK W Ô−ÝşÐ

PK L W Á³₣Ć²=ÝˇýŁˇÞşýšÞ−¼=³¸ýˇ½−²L„ð½ş²=šýŁ˚ÝšÐˇ²=½−¼=ŠÐð½Ć−¼

QK L W ıˇý˚Þˇ=³¼ýŁ˙Þ½ˇ

RK W „Ð³š¹₣şýšÞž=¾ğÞž½Ðð¸=ðÝ¸³ž

SK W „Ð³š¹₣şýšÞž=ðÝ¸³ž=îáÇÉç

TK W ËÝ¸³ž=³š=šþ˚ÝÐþž

UK W „ÐŠ−×−Ð¸³šÐ²=xýžÞĆýˇ½ˇLflÞˇ¾−¹˙=Óˇ¹˙Š−³ž²z

VK= W Û×ž¹š³˝ˇ=t^m=mìëÜ

NMK= W Âýš¹¸³Ð−=þ¼×Þž½¸¹Ð=šÞš¹łş

NNK W fl¹₣š˝−=¸₣−¼=×−¼=ˇÞˇ×ˇ¹˙łš½ˇÐ

NOK W ÈšÐ½−¼¹ł˝ˇ=šð½ş²=³ĆÞŠš³ž²

NPK W ₣¹−Þşýš½¹−=L=₣¹−Þ−ŠÐˇðş×½ž²=ˇÞ½˝³½¹−¾ž²=ý˚½¹ž³ž²

NQK W „Ð³š¹₣şýšÞˇ=ŠšŠ−ý˚Þˇ=l_bu

NRK W Â₣−ł¹˙¾ž³ž=ÙğÞ¸²=šÞš¹ł−×−Ðžý˚Þž

Óš¹Ð−₣¸=ýžÞ¼ý˙½ğÞ

12:00

Óš¹Ð−₣¸=šÞŠš˝þšğÞ
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ÏšðÐÞćÞ½ˇ²

¿Þ−Ðłýˇ=Ú−¼=ÚžÝš¾ćÞ−¼=Òˇ²
Í×−¹š˝½š=Þˇ=ˇÞ−˝þš½š=½−=½žÝ˚¾ğÞş=³ˇ²=ýš=½−¼²=×ˇ¹ˇð˙½ğ=½¹šÐ²=½¹ş×−¼²W=³½žÞ=
ðˇÞ−ÞÐð¸=¦˚³žI=³½ž=¦˚³ž=ˇ¼½−¾ğ½−ł¹˙¾ž³ž²=ðˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²K

ËˇÞ−ÞÐð¸=Ê˚³ž
NK flÞ−˝þ½š=½−=½žÝ˚¾ğÞş=³ˇ²=ý˚₣¹Ð=½−=ðˇ×˙ðÐ=Þˇ=³½ˇýˇ½¸³šÐ=³½ž=¦˚³ž=×−¼=Šš˝₣ÞšÐ=

³½žÞ=šÐðşÞˇK

Ê˚³ž=fl¼½−¾ğ½−ł¹˙¾ž³ž²
OK Óš¹Ð³½¹˚Ğ½š=½žÞ=−¦şÞž=NUMŒ=ŠšþÐş³½¹−¾ˇK

ı¹ž³Ðý−×−Ð¸³½š=ˇ¼½¸=½ž=¦˚³ž=łÐˇ=Þˇ=Łł˙Ýš½š=¾ğ½−ł¹ˇ¾˝š²=½−¼=šˇ¼½−Ć=³ˇ²=ýš=
½žÞ=šþğ½š¹Ðð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸K
ÍžÞ=×š¹Ð³½¹˚Ğš½š=ˇ¹Ð³½š¹ş³½¹−¾ˇ=½žÞ=−¦şÞžI=ðˇ¦ć²=ˇ¼½ş=ý×−¹š˝=Þˇ=½ž²=
×¹−þšÞ¸³šÐ=ŽžýÐ˙K

Ê˚³ž=Ó¹−Ł−Ý¸²
PK ËÝš˝³½š=½žÞ=ðĆ¹Ðˇ=−¦şÞž=×¹−²=½−=×Ýžð½¹−ÝşłÐ−K

Òžýš˝ğ³ž
≥ ÌÐ=ÝšÐ½−¼¹ł˝š²=½ğÞ=×Ýš¼¹ÐðćÞ=×Ý¸ð½¹ğÞ=š×˙Þğ=ðˇÐ=ð˙½ğ=ˇÞ½Ð³½¹˚¾−Þ½ˇÐ=ş½ˇÞ=ž=
−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²K

≥ Ú−=×Ýžð½¹−ÝşłÐ−=Šš=ý×−¹š˝=Þˇ=₣¹ž³Ðý−×−Ðž¦š˝=ş½ˇÞ=ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=
×¹−Ł−Ý¸²K

≥ Íž=ýš½ˇ¾˚¹š½š=½−=½žÝ˚¾ğÞ−=ýš=½žÞ=−¦şÞž=½−×−¦š½žý˚Þž=³½ž=¦˚³ž=×¹−Ł−Ý¸²I=
ðˇ¦ć²=ð˙½Ð=½˚½−Ð−=ý×−¹š˝=Þˇ=×¹−þšÞ¸³šÐ=ŽžýÐ˙=³½žÞ=−¦şÞžK
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ÈšÐ½−¼¹ł˝š²=ÓÝ−¸łž³ž²

ı¹¸³ž=ýš=½žÞ=Ì¦şÞž=³½žÞ=ËˇÞ−ÞÐð¸=Ê˚³ž
Â=×¹ş³Łˇ³ž=³š=şÝš²=½Ð²=š¾ˇ¹ý−ł˚²=×¹ˇłýˇ½−×−Ðš˝½ˇÐ=ˇ×ş=½−=ËĆ¹Ð−=ýšÞ−ĆK=·Ðˇ=Þˇ=
ˇÞ−˝þš½š=½−=ËĆ¹Ð−=ýšÞ−Ć=×Ð˚³½š=½−=ðšÞ½¹Ððş=×Ý¸ð½¹−=E F=³½žÞ=
ðˇ½˙³½ˇ³žJˇÞˇý−Þ¸²K

·Ðˇ=Þˇ=šððÐÞ¸³š½š=½Ð²=š¾ˇ¹ý−ł˚²=¦ˇ=×¹˚×šÐ=Þˇ=ýˇ¹ð˙¹š½š=½ˇ=³½−Ð₣š˝ˇ=½−¼=ýšÞ−Ć=ðˇÐ=
Þˇ=š×ÐÝ˚þš½šK=·Ðˇ=Þˇ=š×ÐÝ˚þš½š=̊ Þˇ=³½−Ð₣š˝−=½−¼=ýšÞ−Ć=Ešý¾ˇÞ˝Žš½ˇÐ=³š=šÐ³ˇłğłÐð˙FI=
ýš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×Ý¸ð½¹ˇ=aI=bI=c=ðˇÐ=d=ðˇÐ=³½ž=
³¼Þ˚₣šÐˇ=×Ð˚³½š= =łÐˇ=Þˇ=š×ÐÝ˚þš½šK
Òš=−¹Ð³ý˚Þš²=ŠÐˇŠÐðˇ³˝š²=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=×Ð˚³š½š=˚Þˇ=ˇ×ş=½ˇ=×Ý¸ð½¹ˇ=šÝ˚ł₣−¼=
Ešý¾ˇÞ˝Ž−Þ½ˇÐ=³š=̌ łðĆÝš²FI=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ð˙½ğ=ŠšþÐ˙=̧ =̌ ¹Ð³½š¹¸=×Ýš¼¹˙=½ž²=
−¦şÞž²K=ÓÐ˚³½š=½−=ˇÞ½˝³½−Ð₣−=×Ý¸ð½¹−=šÝ˚ł₣−¼=EA=¸=CFK

·Ðˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=×¹−žł−ĆýšÞž=−¦şÞžI=×Ð˚³½š=½−=Ššþ˝=×Ý¸ð½¹−=šÝ˚ł₣−¼=š˙Þ=
ˇ¼½ş=šý¾ˇÞ˝ŽšÐ=½žÞ=˚ÞŠšÐþž=Ó˝³ğK=·Ðˇ=Þˇ=ðÝš˝³š½š=½−=ËĆ¹Ð−=ýšÞ−ĆI=×Ð˚³½š=½−=Ššþ˝=
×Ý¸ð½¹−=šÝ˚ł₣−¼=š˙Þ=ˇ¼½ş=šý¾ˇÞ˝ŽšÐ=½žÞ=˚ÞŠšÐþž=÷þ−Š−²K

Ë˙¦š=šÞş½ž½ˇ=³š=ˇ¼½ş=½−Þ=−Šžłş=₣¹¸³ž²=þšðÐÞ˙=ýš=ý˝ˇ=Ý˝³½ˇ=½ğÞ=³½−Ð₣š˝ğÞ=
Ešý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=×Ý˙łÐˇ=ł¹ˇ¾¸F=×−¼=×¹˚×šÐ=Þˇ=š×ÐÝ˚þš½š=×¹ÐÞ=šð½šÝ˚³š½š=½ž=
ŠÐˇŠÐðˇ³˝ˇ=×−¼=×š¹Ðł¹˙¾š½ˇÐK=„×ÐÝ˚þ½š=ð˙¦š=³½−Ð₣š˝−=łÐˇ=Þˇ=ˇ×−ðˇÝĆĞš½š=½žÞ=
š×şýšÞž=−ý˙Šˇ=³½−Ð₣š˝ğÞ=×−¼=×¹˚×šÐ=Þˇ=š×ÐÝ˚þš½šK=flÞ−˝þ½š=½ˇ=³½−Ð₣š˝ˇ=½ž²=
¼×−šÞş½ž½ˇ²=ˇ¾−Ć=×¹−žł−¼ý˚Þğ²=ˇÞ−˝þš½š=½ˇ=³½−Ð₣š˝ˇ=×−¼=×ˇ¹−¼³Ð˙Ž−Þ½ˇÐ=³½žÞ=
ðĆ¹Ðˇ=šÞş½ž½ˇK
Óˇ¹˙ŠšÐłýˇW

?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?=→=?Ó¹−³¦K=Î˚ˇ²=„×K?
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ÈšÐ½−¼¹ł˝š²=ÓÝ−¸łž³ž²

ı¹¸³ž=ýš=½žÞ=Ì¦şÞž=³½ž=Ê˚³ž=Ó¹−Ł−Ý¸²
Úˇ=ŠÐˇ¦˚³Ðýˇ=×Ý¸ð½¹ˇ=³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²=š˝ÞˇÐ=½ˇ=×Ýš¼¹Ðð˙=×Ý¸ð½¹ˇ=
š×˙Þğ=ðˇÐ=ð˙½ğI=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ðˇÐ=½−=×Ý¸ð½¹−=ˇðĆ¹ğ³ž²K

·Ðˇ=Þˇ=ˇÞ−˝þš½š=½−=ËĆ¹Ð−=ýšÞ−ĆI=×Ð˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

·Ðˇ=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=³½−Ð₣š˝−=ýšÞ−Ć=Ešý¾ˇÞ˝Žš½ˇÐ=³š=šÐ³ˇłğłÐð˙FI=×Ð˚³½š=½ˇ=
×Ýš¼¹Ðð˙=×Ý¸ð½¹ˇ=š×˙Þğ=ðˇÐ=ð˙½ğ=ðˇÐ=×Ð˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=
łÐˇ=Þˇ=š×ÐÝ˚þš½š=½−=³½−Ð₣š˝−=ýšÞ−ĆK
Òš=−¹Ð³ý˚Þš²=ŠÐˇŠÐðˇ³˝š²I=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=×Ð˚³š½š=˚Þˇ=ˇ×ş=½ˇ=×Ý¸ð½¹ˇ=šÝ˚ł₣−¼=
Ešý¾ˇÞ˝Ž−Þ½ˇÐ=ý˚³ˇ=³š=ˇłðĆÝš²FI=½ˇ=−×−˝ˇ=šý¾ˇÞ˝Ž−Þ½ˇÐ=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=ðˇÐ=
ŠšþÐ˙=łğÞ˝ˇ=½ž²=−¦şÞž²K=Ú−=ˇ¹Ð³½š¹ş=×Ý¸ð½¹−=šÝ˚ł₣−¼=š˝ÞˇÐ=½−=×Ý¸ð½¹−=
¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ðˇÐ=½−=Ššþ˝=×Ý¸ð½¹−=šÝ˚ł₣−¼=š˝ÞˇÐ=½−=×Ý¸ð½¹−=ˇðĆ¹ğ³ž²K

ÌÐ=ÝšÐ½−¼¹ł˝š²=½ğÞ=×Ýš¼¹ÐðćÞ=×Ý¸ð½¹ğÞ=³½ž=ÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=
š˝ÞˇÐ=−Ð=šþ¸²W
ÓÝš¼¹Ðð˙=ÓÝ¸ð½¹ˇ=š×˙ÞğLð˙½ğW wççã=ý˚³ˇLwççã=˚þğ
ÓÝ¸ð½¹−=Ùğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²W È¸Ğž

ÓÝ¸ð½¹−=flðĆ¹ğ³ž²W „×ÐÝ−ł˚²
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ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ýÐˇ=ðÝ¸³ž=¸=Þˇ=ˇ×ˇÞ½¸³š½š=³š=ý˝ˇ=ðÝ¸³ž=³½ž=

¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×Ýš¼¹Ðð˙=×Ý¸ð½¹ˇK

Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž²
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=×š¹Ð−₣¸²=ðˇÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=

ðˇÝ˚³š½š=ðˇÐ=×Ð˚³½š=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK
„˙Þ=×Ýžð½¹−Ý−ł¸³š½š=ÝˇÞ¦ˇ³ý˚Þ−=ˇ¹Ð¦ýşI=×Ð˚³½š=U=łÐˇ=Þˇ=ŠÐˇł¹˙Ğš½š=½−Þ=
ˇ¹Ð¦ýş=ˇ¹Ð³½š¹˙=ˇ×ş=½−=Š¹−ý˚ˇK

ËÝ¸³šÐ²=÷ð½ˇð½ž²=flÞ˙łðž²
NK „Ð³ˇł˙łš½š=½−Þ=ˇ¹Ð¦ýş=NNO=¸=VNN=EŠÐš¦Þ¸²=ˇ¹Ð¦ýş²=˚ð½ˇð½ž²=ˇÞ˙łðž²F=

₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=×Ýžð½¹−ÝşłÐ−=ðˇÐ=×Ð˚³½š=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK

Òžýš˝ğ³ž
≥ ÌÐ=ðÝ¸³šÐ²=˚ð½ˇð½ž²=ˇÞ˙łðž²=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=Š¼Þˇ½şÞ=Þˇ=

×¹ˇłýˇ½−×−Ðž¦−ĆÞ=³š=şÝˇ=½ˇ=Š˝ð½¼ˇ=ðÐÞž½¸²=½žÝš¾ğÞ˝ˇ²=ş½ˇÞ=₣¹ž³Ðý−×−Ð−ĆÞ½ˇÐ=
³¼łðšð¹Ðý˚Þš²=¼×ž¹š³˝š²=ŠÐð½Ć−¼=ðˇÐL¸=ÝšÐ½−¼¹ł˝š²=½−¼=½žÝš¾ćÞ−¼K=·Ðˇ=
×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

≥ Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½ş=½−Þ=ˇ¹Ð¦ýş=˚ð½ˇð½ž²=ˇÞ˙łðž²=łÐˇ=Þˇ=
×¹ˇłýˇ½−×−Ð¸³š½š=ýÐˇ=ðÝ¸³ž=˚ð½ˇð½ž²=ˇÞ˙łðž²=³š=−×−ÐˇŠ¸×−½š=₣ć¹ˇI=ýš=¸=
₣ğ¹˝²=ð˙¹½ˇ=pfj=½−×−¦š½žý˚Þž=³½−=½žÝ˚¾ğÞ−I=š¾D=ş³−Þ=Ł¹˝³ðš³½š=šÞ½ş²=
šýŁ˚ÝšÐˇ²=šÞş²=ŠÐð½Ć−¼=PdLdpjK

XXXXXXXXXXX

Åðéë. Ðßóù

 Åéóáã. Áñéèìïý

ÔÝëïò

ÊëÞóç ìå ÖùíÞ

XXXXXXXXXXX
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‚Ðš¦Þš˝²=ËÝ¸³šÐ²
NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=Q=ý˚₣¹Ð=Þˇ=šý¾ˇÞÐ³½š˝=½−=³ĆýŁ−Ý−=H=

E×¹ş¦šýˇ=ŠÐš¦ÞćÞ=ðÝ¸³šğÞFK

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=₣ć¹ˇ²I=̌ ð−Ý−¼¦−ĆýšÞ−=̌ ×ş=½−Þ=ðğŠÐðş=×š¹Ð−₣¸²=E₣ğ¹˝²=½−=
ˇ¹₣Ððş=ýžŠ˚ÞF=ðˇÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=ðˇÐ=×Ð˚³½š=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK

Ó¹−³¦¸ðž=„Þş²=Ëˇ½ˇ₣ğ¹žý˚Þ−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=³½ž=È˝³½ˇ=„×ˇ¾ćÞ
NK fl¾−Ć=×Ýžð½¹−Ý−ł¸³š½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?fl×−¦¸ðK=fl¹Ð¦ý−Ć?K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=ý˝ˇ²=Þ˚ˇ²=ðˇ½ˇ₣ć¹ž³ž²I=Šš˝½š=
?Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²?=³½ž=³šÝ˝Šˇ SNK

„ý¾˙ÞÐ³ž=¸=fl×şð¹¼Ğž=Ú−¼=fl¹Ð¦ý−Ć=Í−¼=³½žÞ=Ì¦şÞž=½−¼=ËˇÝ−ĆýšÞ−¼=Ò¼ÞŠ¹−ýž½¸
NK Íš½˙=½žÞ=×Ýžð½¹−Ýşłž³ž=šÞş²=ˇ¹Ð¦ý−Ć=½žÝš¾ćÞ−¼I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?fl×şð¹K=fl¹Ð¦ý−Ć?=¸=?„ý¾˙ÞÐ³ž=fl¹Ð¦ý−Ć?K=

Úˇ₣š˝ˇ=ËÝ¸³ž
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=łÐˇ=½ˇ₣š˝ˇ=ðÝ¸³ž=̊ ğ²=ðˇÐ=U=̌ ¹Ð¦ý−Ć²=½žÝš¾ćÞ−¼=̌ ×ş=½ž=
ýÞ¸ýž=È˝³½ˇ²=„×ˇ¾ćÞ=EýÞ¸ýž=Ò¼³ðš¼¸²=ðˇÐ=Ë˙¹½ˇ²=pfjFK=Í×−¹š˝½š=Þˇ=ðˇÝ˚³š½š=
½−¼²=̌ ¹Ð¦ý−Ć²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=̌ ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇ=EG=̊ ğ²=OFK=Ì=ˇ¹Ð¦ýş²=
½žÝš¾ćÞ−¼=½−¼=Ë˚Þ½¹−¼=½žÝš¾ğÞž½¸=š˝ÞˇÐ=ˇÞ½Ð³½−Ð₣Ð³ý˚Þ−²=³½−=×Ý¸ð½¹−=GK

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=¹Ć¦ýÐ³ž=½ž²=Ý˝³½ˇ²=½ˇ₣š˝ˇ²=ðÝ¸³ž²I=
Šš˝½š=?È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²?=³½ž=³šÝ˝Šˇ STK

NK ·Ðˇ=Þˇ=ðˇÝ˚³š½š=˚ÞˇÞ=ˇ¹Ð¦ýş=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ž=ÝšÐ½−¼¹ł˝ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²I=
×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=˚Þˇ=ˇ×ş=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇ=EG=˚ğ²=OFK
Ì=ˇ¹Ð¦ýş²=½žÝš¾ćÞ−¼=×−¼=š˝ÞˇÐ=ˇ×−¦žðš¼ý˚Þ−²=³½ž=Ý˝³½ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²=
ðˇÝš˝½ˇÐK
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„×ˇÞ˙ðÝž³ž
Í×−¹š˝½š=Þˇ=ð˙Þš½š=š×ˇÞ˙ðÝž³ž=̌ ¹Ð¦ýćÞ=̌ ×ş=½−=̌ ¹₣š˝−=ðÝ¸³šğÞK=„×ÐÝ˚þ½š=̌ ×ş=ý˝ˇ=
³¼łðšð¹Ðý˚Þž=ðˇ½žł−¹˝ˇ=̧ =?⁄Ýš²=−Ð=ËÝ¸³šÐ²?K=Ë˙¦š=ý˝ˇ=̌ ×ş=½Ð²=ðˇ½žł−¹˝š²=×š¹Ð˚₣šÐ=
˚ğ²=ðˇÐ=NM=ˇ¹Ð¦ý−Ć²I=³½ž=Ý˝³½ˇ=?⁄Ýš²=−Ð=ËÝ¸³šÐ²?=×š¹Ð˚₣−Þ½ˇÐ=˚ğ²=PM=ˇ¹Ð¦ý−˝K

NK ÓÐ˚³½š=D=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

OK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=ðˇ½žł−¹˝š²=?⁄Ýš²=−Ð=ËÝ¸³šÐ²?I=?ËÝž¦˚Þ½š²=fl¹Ð¦ý−˝?I=
?flÞˇ×˙Þ½K=ËÝ¸³šÐ²?=¸=?„Ð³š¹₣şýšÞš²?K
·Ðˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=½ğÞ=ˇ¹₣š˝ğÞI=×Ð˚³½š=c=¸=dK

PK Íˇ¹ð˙¹š½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½šK

QK ÓÐ˚³½š=D=łÐˇ=Þˇ=š×ˇÞˇðˇÝ˚³š½š=½−Þ=ˇ¹Ð¦ýşK

fl×˙Þ½ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž²
ÍşÝÐ²=ˇÞÐ₣ÞšĆ³šÐ=ý˝ˇ=šÐ³š¹₣şýšÞž=ðÝ¸³žI=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐK

NK ÓÐ˚³½š=D=¸=xÿ³−Þz=łÐˇ=Þˇ=ˇ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³žK
◊=×Ð˚³½š=−×−Ð−Š¸×−½š=×Ý¸ð½¹−=šð½ş²=½ğÞ=FI= I=U=ðˇÐ=xfl×ˇ³₣Kz=ş½ˇÞ=š˝ÞˇÐ=
šÞš¹ł−×−Ðžý˚Þž=ž=ÝšÐ½−¼¹ł˝ˇ=?fl×˙Þ½K=ð˙¦š=ÓÝ¸ð½K?K=„Þš¹ł−×−Ð¸³½š=½ž=
ÝšÐ½−¼¹ł˝ˇ=fl×˙Þ½ž³ž²=ýš=Ë˙¦š=ÓÝ¸ð½¹−=³½−=×¹−¾˝Ý=ð˙¦š=½¹ş×−¼=ÝšÐ½−¼¹ł˝ˇ²=
E³šÝK NTTFK
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Ò¼ýŁ−¼Ý¸
≥ „˙Þ=˚₣š½š=šłł¹ˇ¾š˝=³½žÞ=¼×ž¹š³˝ˇ=flÞˇłÞć¹Ð³ž²=ËÝ¸³ž²=E`ifF=ðˇÐ=½−=Š˝ð½¼−=½−¼=

ðˇÝ−ĆÞ½−²=ýš½ˇŠ˝ŠšÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼I=½ş½š=−=ˇ¹Ð¦ýş²=½−¼=ðˇÝ−ĆÞ½−²=¦ˇ=
šý¾ˇÞÐ³½š˝=³½žÞ=−¦şÞžK=„˙Þ=−=ˇ¹Ð¦ýş²=ðˇÐ=½−=şÞ−ýˇ=½−¼=ðˇÝ−ĆÞ½−²=š˝ÞˇÐ=
ˇ×−¦žðš¼ý˚Þˇ=³½ž=È˝³½ˇ=„×ˇ¾ćÞI=½ş½š=³½žÞ=−¦şÞž=½−¼=½žÝš¾ćÞ−¼=¦ˇ=šý¾ˇÞÐ³½š˝=
−=ˇ¹Ð¦ýş²=ˇÝÝ˙=ðˇÐ=½−=şÞ−ýˇ=½−¼=ðˇÝ−ĆÞ½−²K

≥ „˙Þ=×¹şðšÐ½ˇÐ=łÐˇ=˚ÞˇÞ=×š¹Ð−¹Ð³ý˚Þ−=ˇ¹Ð¦ýşI=³½žÞ=−¦şÞž=¦ˇ=šý¾ˇÞÐ³½š˝=½−=
ý¸Þ¼ýˇ=?fl×şð¹K=ˇ¹Ð¦ý−Ć?K

≥ ⁄½ˇÞ=Š˚₣š³½š=ýÐˇ=ðÝ¸³ž=ˇ×ş=˚Þˇ=˙½−ý−=½−¼=−×−˝−¼=½ž=¾ğ½−ł¹ˇ¾˝ˇ=˚₣š½š=
ðˇ½ˇ₣ğ¹¸³šÐ=³½ž=È˝³½ˇ=„×ˇ¾ćÞI=½ş½š=ž=¾ğ½−ł¹ˇ¾˝ˇI=½−=şÞ−ýˇ=ðˇÐ=−=ˇ¹Ð¦ýş²=
½žÝš¾ćÞ−¼=ˇ¼½−Ć=½−¼=ˇ½şý−¼=šý¾ˇÞ˝Ž−Þ½ˇÐ=³½žÞ=−¦şÞžK

fl×ş¹¹ÐĞž=ýÐˇ²=„Ð³š¹₣şýšÞž²=ËÝ¸³ž²
NK ÓÐ˚³½š=F=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=ˇ×−¹¹˝Ğš½š=ý˝ˇ=ðÝ¸³ž=½žÞ=

−×−˝ˇ=ŠšÞ=¦˚Ýš½š=Þˇ=ˇ×ˇÞ½¸³š½šK

„Þžý˚¹ğ³ž=½−¼=ËˇÝ−ĆÞ½−²=ş½Ð=š˝³½š=fl×ˇ³₣−Ýžý˚Þ−²
NK ÓÐ˚³½š=xfl×ˇ³₣−Ýžý˚Þ−z=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=³½š˝Ýš½š=˚ÞˇÞ=

½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=łÐˇ=Þˇ=šÞžýš¹ć³š½š=½−Þ=ðˇÝ−ĆÞ½ˇ=ş½Ð=ŠšÞ=ý×−¹š˝½š=Þˇ=
ˇ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³žK
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ÍšÞ−Ć=ËÝ¸³šğÞ=EÙğÞž½Ðð¸=ËÝ¸³žF
Ú−=½žÝ˚¾ğÞş=³ˇ²=ŠÐˇ¦˚½šÐ=×¹ş³¦š½š²=ÝšÐ½−¼¹ł˝š²=×−¼=ý×−¹−ĆÞ=Þˇ=
₣¹ž³Ðý−×−Ðž¦−ĆÞ=ş½ˇÞ=ýÐˇ=ðÝ¸³ž=š˝ÞˇÐ=³š=šþ˚ÝÐþžK

ÔĆ¦ýÐ³ž=½ž²=÷Þ½ˇ³ž²=½−¼=flð−¼³½Ðð−Ć
Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=ý×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=ˇð−¼³½Ðð−Ć=
EðˇÐ=½žÞ=˚Þ½ˇ³ž=½ğÞ=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞI=š¾ş³−Þ=š˝ÞˇÐ=³¼ÞŠšŠšý˚ÞˇFK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=½−=š×˙Þğ=̧ =ð˙½ğ=×Ýš¼¹Ððş=×Ý¸ð½¹−=łÐˇ=Þˇ=
šý¾ˇÞÐ³½š˝=ž=−¦şÞž=÷Þ½ˇ³ž²=flð−¼³½Ðð−ĆK

OK ÓÐ˚³½š=½−=š×˙Þğ=×Ýš¼¹Ððş=×Ý¸ð½¹−=E¸=aLdF=łÐˇ=Þˇ=ˇ¼þ¸³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=
¸₣−¼=ðˇ½˙=½žÞ=ðÝ¸³žI=¸=×Ð˚³½š=½−=ð˙½ğ=×Ýš¼¹Ððş=×Ý¸ð½¹−=E¸=bLcF=łÐˇ=Þˇ=
ýšÐć³š½š=½žÞ=˚Þ½ˇ³žK
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=̌ Þ˙ýš³ˇ=³š=×˚Þ½š=š×˝×šŠˇ=˚Þ½ˇ³ž²=̧ ₣−¼=Eš×˝×šŠ−=N=˚ğ²=
RFK

PK ÓÐ˚³½š= =š˙Þ=ž=˚Þ½ˇ³ž=˚₣šÐ=¹¼¦ýÐ³½š˝=³½−=š×˝×šŠ−=×−¼=š×Ð¦¼ýš˝½šK
Ú−=½žÝ˚¾ğÞ−=š×Ð³½¹˚¾šÐ=³½žÞ=−¦şÞž=ðÝ¸³ž²=ˇ¼½şýˇ½ˇ=š˙Þ=ŠšÞ=šð½šÝš³½š˝=
ð˙×−Ðˇ=¹Ć¦ýÐ³žK

„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½ğÞ=Íšłˇ¾ćÞğÞ
Í×−¹š˝½š=Þˇ=−ýÐÝš˝½š=ý˚³ğ=½ğÞ=ýšłˇ¾ćÞğÞI=×−¼=Ł¹˝³ð−Þ½ˇÐ=³½−=×˝³ğ=ý˚¹−²=½−¼=
½žÝš¾ćÞ−¼I=šÞš¹ł−×−ÐćÞ½ˇ²=½ˇK
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íšł˙¾ğÞ−=„Þš¹łş?K
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Ê˚³ž=ý˝ˇ²=ËÝ¸³ž²=³š=flÞˇý−Þ¸
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ŠÐˇ₣šÐ¹Ð³½š˝½š=½ˇ¼½ş₣¹−Þˇ=ŠĆ−=ðÝ¸³šÐ²K=„˙Þ=
¦˚Ýš½š=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ýÐˇ=ŠšĆ½š¹ž=ðÝ¸³ž=šÞć=³¼Þ−ýÐÝš˝½š=¸Šž=ýš=ð˙×−Ð−ÞI=
ý×−¹š˝½š=Þˇ=¦˚³š½š=½žÞ=½¹˚₣−¼³ˇ=³¼Þ−ýÐÝ˝ˇ=³š=̌ Þˇý−Þ¸=łÐˇ=Þˇ=ðˇÝ˚³š½š=̊ ÞˇÞ=̇ ÝÝ−=
ˇ¹Ð¦ýşK

Ó¹ˇłýˇ½−×−˝ž³ž=‚šĆ½š¹ž²=ËÝ¸³ž²=ðˇ½˙=½ž=‚Ð˙¹ðšÐˇ=ý˝ˇ²=ËÝ¸³ž²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇý−Þ¸?K

Â=½¹˚₣−¼³ˇ=ðÝ¸³ž=½˝¦š½ˇÐ=³š=ˇÞˇý−Þ¸K
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ËÝ¸³ž=Î˚−¼=fl¹Ð¦K?K

PK „Ð³ˇł˙łš½š=½−Þ=̌ ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½š=½ˇ¼½ş₣¹−Þˇ=ðˇÐI=³½ž=
³¼Þ˚₣šÐˇI=×Ð˚³½š=DK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½šI=š×˝³ž²I=ˇÞ½˝=Þˇ=šð½šÝ˚³š½š=½−=Ł¸ýˇ=NI=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ý˝ˇ=

ŠšĆ½š¹ž=ðÝ¸³ž=×Ýžð½¹−Ý−łćÞ½ˇ²=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=½ž²=
½¹˚₣−¼³ˇ²=ðÝ¸³ž²K=Â=½¹˚₣−¼³ˇ=ðÝ¸³ž=½˝¦š½ˇÐ=ˇ¼½şýˇ½ˇ=³š=ˇÞˇý−Þ¸K

Ó¹ş³Łˇ³ž=³½−=ÍšÞ−Ć=pjpLjjp=ðˇ½˙=½ž=‚Ð˙¹ðšÐˇ=ý˝ˇ²=ËÝ¸³ž²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½K=ÍžÞĆýK?K

Û×˙¹₣−¼Þ=−Ð=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W=?‚žýÐ−¼¹ł˝ˇ=jžÞĆý?=łÐˇ=Þˇ=ŠžýÐ−¼¹ł¸³š½š=
˚Þˇ=ý¸Þ¼ýˇ=pjp=¸=jjpI=¸=?„Ð³š¹₣şýšÞˇ?I=?Ò½ˇÝý˚Þˇ?I=¸=?Ó¹ş₣šÐ¹ˇ?=łÐˇ=
×¹ş³Łˇ³ž=³½−Þ=ˇÞ½˝³½−Ð₣−=¾˙ðšÝ−K=·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ˇ=pjpI=Šš˝½š=
?pjp?=ðˇÐ=?jjp?=³½ž=³šÝ˝Šˇ UTK
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flÞˇý−Þ¸=ËÝ¸³ž²
fl¼½¸=ž=¼×ž¹š³˝ˇ=³˙²=šÐŠ−×−Ðš˝=łÐˇ=ý˝ˇ=ŠšĆ½š¹ž=šÐ³š¹₣şýšÞž=ðÝ¸³ž=šÞć=˚₣š½š=¸Šž=
ý˝ˇ=ðÝ¸³ž=³š=šþ˚ÝÐþžK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇ”K=C=fl×˙Þ½K?=łÐˇ=Þˇ=
ˇ×ˇÞ½¸³š½š=³½ž=ŠšĆ½š¹ž=ðÝ¸³žK
Â=×¹ć½ž=ðÝ¸³ž=½˝¦š½ˇÐ=³š=ˇÞˇý−Þ¸=ðˇÐ=ý×−¹š˝½š=½ć¹ˇ=Þˇ=ˇ×ˇÞ½¸³š½š=³½ž=
ŠšĆ½š¹ž=ðÝ¸³žK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Úš¹ýˇ½K=C=fl×˙Þ½K?=łÐˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=½¹˚₣−¼³ˇ=
ðÝ¸³ž=ðˇÐ=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=ðÝ¸³ž=×−¼=˚₣šÐ=½š¦š˝=³š=ˇÞˇý−Þ¸K

Òžýš˝ğ³ž
≥ ·Ðˇ=Þˇ=ý×−¹˚³š½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½žÞ=¼×ž¹š³˝ˇ=flÞˇý−Þ¸²=ËÝ¸³ž²I=¦ˇ=
₣¹šÐˇ³½š˝=Þˇ=¹¼¦ý˝³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=?flÞˇý−Þ¸=ËÝ¸³K?=³½žÞ=š×ÐÝ−ł¸=?„Þš¹łş?=
E³šÝK NVMFK

≥ Â=¼×ž¹š³˝ˇ=flÞˇý−Þ¸²=ËÝ¸³ž²=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=Š˝ð½¼ˇK=
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

≥ „˙Þ=ŠšÞ=š×Ð¦¼ýš˝½š=Þˇ=̌ ×ˇÞ½¸³š½š=³½ž=ŠšĆ½š¹ž=ðÝ¸³ž=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?fl×ˇ³₣−Ýž”˚Þ−?=³½−=Ł¸ýˇ NK=„˙Þ=š×ÐÝ˚þš½š=?fl×ş¹¹ÐĞž?=ž=ŠšĆ½š¹ž=ðÝ¸³ž=
ˇ×−¦žðšĆš½ˇÐ=³½−=ˇ¹₣š˝−=ðÝ¸³šğÞ=ğ²=ˇÞˇ×˙Þ½ž½ž=ðÝ¸³žK

ËÝ¸³ž=Ò¼ÞŠÐ˙³ðšĞž²
Â=ËÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²=š˝ÞˇÐ=ý˝ˇ=ðÝ¸³ž=ýš=×š¹Ð³³ş½š¹−¼²=ˇ×ş=O=³¼ýýš½˚₣−Þ½š²K=
Í×−¹š˝½š=Þˇ=³¼ý×š¹ÐÝ˙Łš½š=˚ğ²=ðˇÐ=R=³¼ýýš½˚₣−Þ½š²=³š=ý˝ˇ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K

Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=Ò¼ÞŠÐ˙³ðšĞž²
Êˇ=×¹˚×šÐ=Þˇ=˚₣š½š=ý˝ˇ=šÞš¹ł¸=ðÝ¸³ž=ðˇÐ=ý˝ˇ=ŠšĆ½š¹ž=ðÝ¸³ž=³š=ˇÞˇý−Þ¸K

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó−ÝÝ−˝=³¼Þ−ýÐÝK?K
OK „×ÐÝ˚þ½š=?Ò¼ÞŠÐ˙³ðK=⁄Ý−Ð?=łÐˇ=Þˇ=³¼ýýš½˙³₣š½š=³½žÞ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K
PK ÓÐ˚³½š=F=łÐˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K
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Òžýš˝ğ³ž
≥ Â=¼×ž¹š³˝ˇ=ðÝ¸³ž²=³¼ÞŠÐ˙³ðšĞž²=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=

Š˝ð½¼ˇK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K
≥ Ò½−=Ł¸ýˇ=OI=˚₣š½š=½Ð²=×ˇ¹ˇð˙½ğ=šÞˇÝÝˇð½Ðð˚²=š×ÐÝ−ł˚²=łÐˇ=½žÞ=ËÝ¸³ž=

³¼ÞŠÐ˙³ðšĞž²W
≥ ·Ðˇ=Þˇ=¦˚³š½š=şÝ−¼²=½−¼²=³¼ýýš½˚₣−Þ½š²=³š=ˇÞˇý−Þ¸I=š×ÐÝ˚þ½š=?flÞˇý−Þ¸=

⁄ÝğÞ?K
≥ ·Ðˇ=Þˇ=¦˚³š½š=şÝ−¼²=½−¼²=³¼ýýš½˚₣−Þ½š²=³š=ˇÞˇý−Þ¸=šð½ş²=ˇ¼½−Ć=½ž²=

½¹˚₣−¼³ˇ²=ðÝ¸³ž²I=š×ÐÝ˚þ½š=?ÁŠÐğ½Ðð¸?K
≥ ·Ðˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=ðÝ¸³ž=ýš=şÝ−¼²=½−¼²=³¼ýýš½˚₣−Þ½š²I=š×ÐÝ˚þ½š=?Úš¹ýK=

„Þš¹łćÞ?=¸=?Úš¹ýK=flÞˇý−ÞćÞ?K
≥ ·Ðˇ=Þˇ=ˇ×−¹¹˝Ğš½š=½žÞ=×¹−³¦¸ðž=Þ˚ğÞ=³¼ýýš½š₣şÞ½ğÞ=³½žÞ=½¹˚₣−¼³ˇ=

³¼ÞŠÐ˙³ðšĞžI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×ş¹¹ÐĞž?I=¸=ý×−¹š˝½š=Þˇ=³½š˝Ýš½š=
½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=š×ÐÝ˚ł−Þ½ˇ²=?fl×ˇ³₣−Ýžý˚Þ−?K

Ó¹−³¦¸ðž=Î˚ğÞ=Ò¼ýýš½š₣şÞ½ğÞ=³š=ý˝ˇ=ËÝ¸³ž=Ò¼ÞŠÐ˙³ðšĞž²
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ËÝ¸³ž=Î˚−¼=fl¹Ð¦K?K

OK „Ð³ˇł˙łš½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=³¼ý×š¹ÐÝ˙Łš½š=³½žÞ=ðÝ¸³ž=
³¼ÞŠÐ˙³ðšĞž²=ðˇÐ=×Ð˚³½š=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó−ÝÝ−˝=³¼Þ−ýÐÝK?K

QK „×ÐÝ˚þ½š=?Ò¼ÞŠÐ˙³ðK=⁄Ý−Ð?=łÐˇ=Þˇ=³¼ýýš½˙³₣š½š=³½žÞ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K
„˙Þ=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=ðÐ=̇ ÝÝ−¼²=³¼ýýš½˚₣−Þ½š²I=š×ˇÞˇÝ˙Łš½š=½ˇ=Ł¸ýˇ½ˇ=N=
˚ğ²=QK

Úš¹ýˇ½Ð³ýş²=½ž²=ËÝ¸³ž²=ýš=˚Þˇ=Ò¼ýýš½˚₣−Þ½ˇ=³½žÞ=ËÝ¸³ž=Ò¼ÞŠÐ˙³ðšĞž²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=³¼ÞŠÐ˙³ðšĞž²I=ýˇ¹ð˙¹š½š=½−=˙½−ý−=×−¼=¦˚Ýš½š=

Þˇ=ˇ×−³¼ÞŠ˚³š½š=ˇ×ş=½žÞ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Úš¹ýK=„Þš¹łćÞ?=¸=?Úš¹ýK=flÞˇý−ÞćÞ?K
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Ó¹ˇłýˇ½−×−˝ž³ž=ÁŠÐğ½Ðð¸²=Ò¼Þ−ýÐÝ˝ˇ=ýš=÷ÞˇÞ=ˇ×ş=½−¼²=Ò¼ýýš½˚₣−Þ½š²
„˙Þ=¦˚Ýš½š=Þˇ=˚₣š½š=ýÐˇ=ÐŠÐğ½Ðð¸=³¼Þ−ýÐÝ˝ˇ=ýš=ð˙×−Ð−Þ=ˇ×ş=½−¼²=³¼ýýš½˚₣−Þ½š²I=
ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−=³¼ýýš½˚₣−Þ½ˇ=ˇ×ş=½ž=Ý˝³½ˇ=³¼ÞŠÐ˙³ðšĞž²=ðˇÐ=Þˇ=¦˚³š½š=
½−¼²=¼×şÝ−Ð×−¼²=³¼ýýš½˚₣−Þ½š²=³š=ˇÞˇý−Þ¸K

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=³¼ÞŠÐ˙³ðšĞž²=š×ÐÝ˚þ½š=½−=˙½−ý−=ýš=½−=−×−˝−=
¦˚Ýš½š=Þˇ=³¼Þ−ýÐÝ¸³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó−ÝÝ−˝=³¼Þ−ýÐÝK?K

PK „×ÐÝ˚þ½š=?ÁŠÐğ½Ðð¸?K

QK ⁄½ˇÞ=½šÝšÐć³š½š=½žÞ=ÐŠÐğ½Ðð¸=³¼Þ−ýÐÝ˝ˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=ýˇ¹ð˙¹š½š=?Ó−ÝÝ−˝=
³¼Þ−ýÐÝK?K

RK „×ÐÝ˚þ½š=?Ò¼ÞŠÐ˙³ðK=⁄Ý−Ð?=łÐˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K

Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=xÒÐğ×žÝşz=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½−=

ýÐð¹ş¾ğÞ−K
·Ðˇ=Þˇ=ðˇ½ˇ¹ł¸³š½š=½ž=³˝łˇ³ž=½−¼=ýÐð¹−¾ćÞ−¼I=×Ð˚³½š=xÍž=ÒÐğ×KzK
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Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=sáÇÉç
Òžýš˝ğ³ž
≥ ı¹ž³Ðý−×−Ð¸³½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=ýš=½žÝ˚¾ğÞˇ=×−¼=˚₣−¼Þ=šÞš¹ł−×−Ðžý˚Þž=½ž=

ÝšÐ½−¼¹ł˝ˇ=ðÝ¸³ž²=îáÇÉçK
≥ Ó¹ÐÞ=₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=ŁšŁˇÐğ¦š˝½š=ş½Ð=ž=ý×ˇ½ˇ¹˝ˇ=š˝ÞˇÐ=

×Ý¸¹ğ²=¾−¹½Ð³ý˚Þž=ðˇÐ=ş½Ð=¼×˙¹₣šÐ=Š¼Þˇ½ş=³¸ýˇ=Ý¸Ğž²K
≥ „Þš¹ł−×−Ð¸³½š=½ˇ=ýšł˙¾ğÞˇ=¸=₣¹ž³Ðý−×−Ð¸³½š=˚Þˇ=ýÐð¹ş¾ğÞ−=×−¼=ŠÐˇ¦˚½šÐ=

ŠÐˇðş×½ž=¸=˚Þˇ=ðÐ½=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞ=łÐˇ=Þˇ=ý×−¹š˝½š=Þˇ=ýÐÝ˙½š=šÞć=ð−Ð½˙½š=
³½žÞ=−¦şÞž=½ž²=ðÝ¸³ž²=îáÇÉç=½ž²=ðĆ¹Ðˇ²=−¦şÞž²K

„ÞŠš˝þšÐ²=Ëˇ½˙³½ˇ³ž²
NK ‡−ž¦ž½Ðð¸=−¦şÞž=łÐˇ=½žÞ=šÐðşÞˇ=³ˇ²
OK ı¹şÞ−²=×−¼=˚₣šÐ=×ˇ¹˚Ý¦šÐ=Eć¹š²WÝš×½˙WŠš¼½š¹şÝš×½ˇF

PK ËĆ¹Ðˇ=−¦şÞž=łÐˇ=½žÞ=−¦şÞž=½−¼=³¼Þ−ýÐÝ−ĆÞ½ˇK

QK fl¹Ð¦ýş²=ðˇÝ−ĆÞ½ˇ
RK ⁄Þ−ýˇ=ðˇÝ−ĆÞ½ˇ

Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=sáÇÉç
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=×š¹Ð−₣¸²=ðˇÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=

ðˇÝ˚³š½šI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ËÝ¸³ž=sáÇÉç?K
„˙Þ=×Ýžð½¹−Ý−ł¸³š½š=ÝˇÞ¦ˇ³ý˚Þ−=ˇ¹Ð¦ýşI=×Ð˚³½š=U=łÐˇ=Þˇ=ŠÐˇł¹˙Ğš½š=½−Þ=
ˇ¹Ð¦ýş=ˇ¹Ð³½š¹˙=ˇ×ş=½−=Š¹−ý˚ˇK
⁄½ˇÞ=ł˝ÞšÐ=ž=³ĆÞŠš³ž=½ž²=ł¹ˇýý¸²I=ž=šÐðşÞˇ=½−¼=ðˇÝ−ĆýšÞ−¼=³¼ÞŠ¹−ýž½¸=
šý¾ˇÞ˝Žš½ˇÐ=³½−=š×˙Þğ=ý˚¹−²=½ž²=−¦şÞž²=ðˇÐ=ž=ŠÐð¸=³ˇ²=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=
×Ýš¼¹˙K
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Ò¼ýŁ−¼Ý¸
≥ „˙Þ=−=ðˇÝ−ĆýšÞ−²=³¼ÞŠ¹−ýž½¸²=ŠšÞ=˚₣šÐ=šÞš¹ł−×−Ð¸³šÐ=³½−=½žÝ˚¾ğÞş=½−¼=½ž=

ÝšÐ½−¼¹ł˝ˇ=ðÝ¸³ž²=îáÇÉçI=ý×−¹š˝½š=Þˇ=×Ð˚³š½š=½−=F=ðˇÐ=Þˇ=šÐ³˙łš½š=×˙ÝÐ=½−Þ=
ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=łÐˇ=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ý˝ˇ=¾ğÞž½Ðð¸=ðÝ¸³žK

≥ ⁄½ˇÞ=½š¹ýˇ½Ð³½š˝=ž=ðÝ¸³ž=šý¾ˇÞ˝Žš½ˇÐ=½−=ðş³½−²=½ž²=½šÝš¼½ˇ˝ˇ²=ðÝ¸³ž²K

fl×˙Þ½ž³ž=³š=ý˝ˇ=ËÝ¸³ž=sáÇÉç
ÍşÝÐ²=ˇÞÐ₣ÞšĆ³šÐ=ý˝ˇ=šÐ³š¹₣şýšÞž=ðÝ¸³žI=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐK

NK ÓÐ˚³½š=D=łÐˇ=Þˇ=ˇ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³ž=ýš=Ł˝Þ½š−=¸=A=xfl×˙Þ½Kz=łÐˇ=Þˇ=
ˇ×ˇÞ½¸³š½š=ýşÞ−=½ž=¾ğÞž½Ðð¸=ðÝ¸³žK

Ò¼ýŁ−¼Ý¸
≥ ⁄½ˇÞ=½š¹ýˇ½Ð³½š˝=ž=ðÝ¸³ž=šý¾ˇÞ˝Žš½ˇÐ=½−=ðş³½−²=½ž²=ðÝ¸³ž²K
≥ „˙Þ=˚₣š½š=šłł¹ˇ¾š˝=³½žÞ=¼×ž¹š³˝ˇ=flÞˇłÞć¹Ð³ž²=ËÝ¸³ž²=E`ifF=ðˇÐ=½−=Š˝ð½¼−=½−¼=

ðˇÝ−ĆÞ½−²=ýš½ˇŠ˝ŠšÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼I=½ş½š=−=ˇ¹Ð¦ýş²=½−¼=ðˇÝ−ĆÞ½−²=¦ˇ=
šý¾ˇÞÐ³½š˝=³½žÞ=−¦şÞžK=„˙Þ=−=ˇ¹Ð¦ýş²=ðˇÐ=½−=şÞ−ýˇ=½−¼=ðˇÝ−ĆÞ½−²=š˝ÞˇÐ=
ˇ×−¦žðš¼ý˚Þˇ=³½ž=È˝³½ˇ=„×ˇ¾ćÞI=½ş½š=³½žÞ=−¦şÞž=½−¼=½žÝš¾ćÞ−¼=¦ˇ=šý¾ˇÞÐ³½š˝=
−=ˇ¹Ð¦ýş²=ˇÝÝ˙=ðˇÐ=½−=şÞ−ýˇ=½−¼=ðˇÝ−ĆÞ½−²K

fl×ş¹¹ÐĞž=ýÐˇ²=„Ð³š¹₣şýšÞž²=ËÝ¸³ž²
NK ÓÐ˚³½š=F=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=ˇ×−¹¹˝Ğš½š=ý˝ˇ=ðÝ¸³ž=½žÞ=

−×−˝ˇ=ŠšÞ=¦˚Ýš½š=Þˇ=ˇ×ˇÞ½¸³š½šK

„Þžý˚¹ğ³ž=½−¼=ËˇÝ−ĆÞ½−²=ş½Ð=š˝³½š=fl×ˇ³₣−Ýžý˚Þ−²
NK ÓÐ˚³½š=xfl×ˇ³₣−Ýžý˚Þ−z=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=³½š˝Ýš½š=˚ÞˇÞ=

½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=łÐˇ=Þˇ=šÞžýš¹ć³š½š=½−Þ=ðˇÝ−ĆÞ½ˇ=ş½Ð=ŠšÞ=ý×−¹š˝½š=Þˇ=
ˇ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³žK
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ÍšÞ−Ć=ËÝ¸³šğÞ=EËÝ¸³ž=sáÇÉçF
Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉçI=×Ð˚³½š=xÒÐğ×žÝşz=łÐˇ=Þˇ=̌ ×šÞš¹ł−×−Ð¸³š½š=

½−=ýÐð¹ş¾ğÞ−K
·Ðˇ=Þˇ=ðˇ½ˇ¹ł¸³š½š=½ž=³˝łˇ³ž=½−¼=ýÐð¹−¾ćÞ−¼I=×Ð˚³½š=xÍž=ÒÐğ×KzK

„ÞˇÝÝˇł¸=„ÐðşÞğÞ
Í×−¹š˝½š=Þˇ=šÞˇÝÝ˙³³š½š=½Ð²=šÐðşÞš²=ˇ×ş=½žÞ=ðĆ¹Ðˇ=ðˇÐ=½ž=Ł−ž¦ž½Ðð¸=−¦şÞžK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÞˇÝÝK=„ÐðşÞğÞ?K

flÝÝˇł¸=½ž²=„ÐðşÞˇ²=³ˇ²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ùğ½−ł¹ˇ¾˝ˇ?K

OK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=š×ÐÝ−ł˚²=?„³ğ½K=Ùğ½K=Íž₣K?I=?„þğ½K=Ùğ½K=Íž₣K?=¸=?„ý¾K=
„ÞˇÝÝK=„ÐðK?K
?„³ğ½K=Ùğ½K=Íž₣?W Â=šÐðşÞˇ=ˇ×ş=½žÞ=š³ğ½š¹Ðð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=

šý¾ˇÞ˝Žš½ˇÐ=ðˇÐ=³½˚ÝÞš½ˇÐ=³½−=³¼Þ−ýÐÝž½¸K
?„þğ½K=Ùğ½K=Íž₣?W Â=šÐðşÞˇ=ˇ×ş=½žÞ=šþğ½š¹Ðð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=

šý¾ˇÞ˝Žš½ˇÐ=ðˇÐ=³½˚ÝÞš½ˇÐ=³½−=³¼Þ−ýÐÝž½¸K
?„ý¾K=„ÞˇÝÝK=„ÐðK?W Â=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=ðˇÐ=

₣¹ž³Ðý−×−Ðš˝½ˇÐ=ž=šÐðşÞˇ=×−¼=š×ÐÝ˚þˇ½š=ýš=½žÞ=š×ÐÝ−ł¸=
?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?=¸=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=
E³šÝK NVRFK

ÅðéëïãÞ Ðßóù

 ÊëÞóç Video

Åðéë.

Åíáëë. Åéêüíùí
Öùôïã. Öùô. Ìç÷.
Åíåñã. Ïðô. Zoom
ÌåãÜö. Ìç Åíåñã
Åíåñãïð. DTMF
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ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=Ì×½Ðð−Ć=wççã
Ú−=−×½Ððş=òççã=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ýšłš¦ĆÞš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇI=šþˇ³¾ˇÝ˝Ž−Þ½ˇ²=
ýšłˇÝĆ½š¹ž=ðˇ¦ˇ¹ş½ž½ˇ=ˇ×ş=½ž=ÝšÐ½−¼¹ł˝ˇ=òççã=½−¼=−×½Ðð−Ć=¾ˇð−ĆK=Ú−=−×½Ððş=
òççã=₣¹ž³Ðý−×−Ðš˝½ˇÐ=ğ²=½−=š×˝×šŠ−=òççã=x×=OzK=„˙Þ=ˇ¼þ¸³š½š=½−=š×˝×šŠ−=òççã=
ˇðşýž=×š¹Ð³³ş½š¹−I=šÞš¹ł−×−Ðš˝½ˇÐ=½−=Ğž¾Ðˇðş=òççãK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„Þš¹ł−×−˝ž³ž=
Ì×½K=wççã?K
Â=šÐðşÞˇ=ýšłš¦ĆÞš½ˇÐK

„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½ğÞ=Íšłˇ¾ćÞğÞ
Í×−¹š˝½š=Þˇ=−ýÐÝš˝½š=ý˚³ğ=½ğÞ=ýšłˇ¾ćÞğÞI=×−¼=Ł¹˝³ð−Þ½ˇÐ=³½−=×˝³ğ=ý˚¹−²=½−¼=
½žÝš¾ćÞ−¼I=šÞš¹ł−×−ÐćÞ½ˇ²=½ˇK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íšł˙¾ğÞ−=
„Þš¹łş?K

Òžýš˝ğ³ž
≥ Òš=¦−¹¼ŁćŠš²=×š¹ÐŁ˙ÝÝ−ÞI=˝³ğ²=Þˇ=ýžÞ=ý×−¹˚³š½š=Þˇ=³¼Þš₣˝³š½š=ýÐˇ=ðÝ¸³ž=̧ =Þˇ=

×¹ˇłýˇ½−×−Ð¸³š½š=ýÐˇ=ðÝ¸³ž=ýš=ðˇÝ¸=̌ ð¹şˇ³žK=Ò¼ÞÐ³½−Ćýš=Þˇ=₣¹ž³Ðý−×−Ðš˝½š=½−=
³½š¹š−¾ğÞÐðş=flð−¼³½Ððş=ðˇÐ=½ž=Í−Þ˙Šˇ=ÍÐð¹−¾ćÞ−¼=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞK=

≥ Íš=ˇ¼½¸=½žÞ=š×ÐÝ−ł¸I=˝³ğ²=Þˇ=ýžÞ=ý×−¹˚³š½š=Þˇ=³¼Þš₣˝³š½š=ýÐˇ=ðÝ¸³ž=₣ğ¹˝²=
ŠÐˇð−×¸=š˙Þ=ˇ¼þ¸³š½š=½žÞ=˚Þ½ˇ³ž=³½−=ˇð−¼³½ÐðşK=Ò¼ÞÐ³½−Ćýš=Þˇ=ýšÐć³š½š=½žÞ=
˚Þ½ˇ³ž=³½−=ˇð−¼³½Ððş=¸=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½−=³½š¹š−¾ğÞÐðş=flð−¼³½Ððş=ðˇÐ=½ž=
Í−Þ˙Šˇ=ÍÐð¹−¾ćÞ−¼=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞK
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ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç
flÝÝˇł¸=Ó−Ðş½ž½ˇ²=½ž²=„Ð³š¹₣şýšÞž²=„ÐðşÞˇ²

Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=×−Ðş½ž½ˇ=½ž²=šÐðşÞˇ²=½−¼=ðˇÝ−ĆÞ½ˇK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=
sáÇÉç?K

OK „×ÐÝ˚þ½š=?Í−¹¾¸=„Ð³š¹₣şý?K

PK „×ÐÝ˚þ½š=?ËˇÞ−ÞÐð¸?I=?Ó−Ðş½ž½ˇ=„ÐðşÞK?=¸=?·¹¸ł−¹ˇ=Ëˇ¹˚?K
?ËˇÞ−ÞÐð¸?W ı¹ž³Ðý−×−Ðš˝½ˇÐ=ž=ðˇÞ−ÞÐð¸=×−Ðş½ž½ˇK
?Ó−Ðş½ž½ˇ=„ÐðşÞK?W Â=×−Ðş½ž½ˇ=½−¼=¾ˇð−Ć=˚₣šÐ=×¹−½š¹ˇÐş½ž½ˇ=˚ÞˇÞ½Ð=½−¼=

¹¼¦ý−Ć=ˇÞˇÞ˚ğ³ž²=½ğÞ=ðˇ¹˚K
?·¹¸ł−¹ˇ=Ëˇ¹˚?W Ì=¹¼¦ýş²=ˇÞˇÞ˚ğ³ž²=½ğÞ=ðˇ¹˚=˚₣šÐ=×¹−½š¹ˇÐş½ž½ˇ=

˚ÞˇÞ½Ð=½ž²=×−Ðş½ž½ˇ²K

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=Ùğ½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=šÞš¹ł−×−Ð¸³š½š=¸=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½−=¾ğ½Ð³ýş=½ž²=−¦şÞž²=³ˇ²K
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉçI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=

sáÇÉç?K

OK „×ÐÝ˚þ½š=?Ùğ½Ð³ýş²?K

PK „×ÐÝ˚þ½š=ˇ×ş=?„Þš¹łş?I=?˜²=ËˇÞ−ÞK=ÔĆ¦ýK?=¸=?Íž=šÞš¹łş?K
„˙Þ=š×ÐÝ˚þš½š=?„Þš¹łş?I=−=¾ğ½Ð³ýş²=½ž²=−¦şÞž²=¦ˇ=š˝ÞˇÐ=×˙Þ½ˇ=šÞš¹łş²=ðˇ½˙=
½ž=ŠÐ˙¹ðšÐˇ=ýÐˇ²=ðÝ¸³ž²=îáÇÉçK
„˙Þ=š×ÐÝ˚þš½š=?˜²=ËˇÞ−ÞK=ÔĆ¦ýK?I=½ş½š=−=¾ğ½Ð³ýş²=¦ˇ=³Ł¸³šÐ=ˇÞ˙Ý−łˇ=ýš=½Ð²=
¹¼¦ý˝³šÐ²=×−¼=˚₣−¼Þ=ł˝ÞšÐ=łÐˇ=½−=Ùğ½Ð³ýş=E³šÝK NUNFK
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ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

ÔĆ¦ýÐ³ž=½ž²=÷ð¦š³ž²=sáÇÉç
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=

sáÇÉç?K

OK „×ÐÝ˚þ½š=?÷ð¦š³ž?K

PK ÓÐ˚³½š=a=EÙğ½KF=¸=b=EÒð−Ć¹−FK=
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ı¹¸³ž=½−¼=ÍšÞ−Ć

ËĆ¹Ð−=ÍšÞ−Ć
NK ÓÐ˚³½š= =³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

„ý¾ˇÞ˝Žš½ˇÐ=½−=ËĆ¹Ð−=ýšÞ−ĆK

OK ÓÐ˚³½š=aI=bI=c=¸=d=łÐˇ=Þˇ=ýˇ¹ð˙¹š½š=½−=ýšÞ−Ć=×−¼=š×Ð¦¼ýš˝½š=ðˇÐI=³½ž=
³¼Þ˚₣šÐˇI=×Ð˚³½š= =łÐˇ=×¹ş³Łˇ³ž=³½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=³ˇ²=šÞŠÐˇ¾˚¹šÐK
„ý¾ˇÞ˝Žš½ˇÐ=½−=¼×−ýšÞ−ĆK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=š×ÐÝ−ł˚²=½−¼=ýšÞ−ĆI=Šš˝½š=½−Þ=×˝Þˇðˇ=³½Ð²=
³šÝ˝Šˇ OQU=ðˇÐ=OQVK

ı¹¸³ž=½−¼=ÍšÞ−Ć=ýš=½žÞ=Ì¦şÞž=³½ž=Ê˚³ž=Ó¹−Ł−Ý¸²
NK Ô¼¦ý˝³½š=½−=½žÝ˚¾ğÞ−=³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²K

OK ÓÐ˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=łÐˇ=Þˇ=šý¾ˇÞ˝³š½š=½−=ðĆ¹Ð−=ýšÞ−ĆK

PK ÓÐ˚³½š=½−=×Ýš¼¹Ððş=š×˙Þğ=̧ =½−=×Ýš¼¹Ððş=ð˙½ğ=×Ý¸ð½¹−=łÐˇ=Þˇ=ýš½ˇðÐÞ¸³š½š=½žÞ=
š³½˝ˇ³ž=š×˙Þğ=̧ =ð˙½ğI=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K
ÓÐ˚³½š=½−=×Ý¸ð½¹−=ˇðĆ¹ğ³ž²=łÐˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½−=ËĆ¹Ð−=ýšÞ−ĆK
Â=š³½˝ˇ³ž=³š=˚Þˇ=šÐð−Þ˝ŠÐ−=ýšÞ−Ć=ýš½ˇðÐÞš˝½ˇÐ=ýš=½−Þ=˝ŠÐ−=½¹ş×−=ş×ğ²=ðˇÐ=³½žÞ=
ðˇÞ−ÞÐð¸=¦˚³ž=½ž²=−¦şÞž²I=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×Ýš¼¹Ðð˙=×Ý¸ð½¹ˇ=š×˙Þğ=ðˇÐ=
ð˙½ğI=ş×ğ²=Šš˝₣Þ−¼Þ=½ˇ=Ł˚Ýž=³½žÞ=šÐðşÞˇK

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ÝšÐ½−¼¹ł˝ˇ=ˇ¼½ćÞ=½ğÞ=×Ý¸ð½¹ğÞI=
Šš˝½š=½ž=³šÝ˝Šˇ NUK

ÅðéëïãÞ ¸îïäïò

Öùôïãñáö. Ìç÷áíÞ

ÅðéëïãÞ ¸îïäïò

Öùôïãñáö. Ìç÷áíÞ
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ı¹¸³ž=½−¼=ÍšÞ−Ć

Ò¼Þ½−ýšĆ³šÐ²
Ú−=½žÝ˚¾ğÞş=³ˇ²=ŠÐˇ¦˚½šÐ=˚Þˇ=×Ý¸ð½¹−=³¼Þ½şýš¼³ž²=E×−¼=˚₣šÐ=ˇÞ½Ð³½−Ð₣Ð³½š˝=³½−=
×Ý¸ð½¹−=³¼Þ½şýš¼³ž²W=SFI=ýš=½−=−×−˝−=ý×−¹š˝½š=Þˇ=̊ ₣š½š=ł¹¸ł−¹ž=×¹ş³Łˇ³ž=³½−=
ýšÞ−Ć=×−¼=š×Ð¦¼ýš˝½šK=ÌÐ=×¹−š×ÐÝšłý˚Þš²=³¼Þ½−ýšĆ³šÐ²=š˝ÞˇÐ=−Ð=×ˇ¹ˇð˙½ğ=ðˇÐ=
ý×−¹š˝½š=Þˇ=½Ð²=×¹−³ˇ¹ýş³š½š=ˇ¹łş½š¹ˇW

≥ ËÝž¦˚Þ½š²=fl¹Ð¦ý−˝
≥ „Ð³š¹₣şýšÞš²=ËÝ¸³šÐ²
≥ Âýš¹−ÝşłÐ−
≥ fl¹Ð¦ý−ýž₣ˇÞ¸
≥ Â₣−ł¹˙¾ž³ž=ÙğÞ¸²

ı¹¸³ž=½ğÞ=Ò¼Þ½−ýšĆ³šğÞ
NK ÓÐ˚³½š=½−=×Ý¸ð½¹−=³¼Þ½şýš¼³ž²K

OK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

Ó¹−³ˇ¹ý−ł¸=½ğÞ=Ò¼Þ½−ýšĆ³šğÞ
NK ÓÐ˚³½š=½−=×Ý¸ð½¹−=³¼Þ½şýš¼³ž²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣ž³ž?K
„ý¾ˇÞ˝Žš½ˇÐ=ž=Ý˝³½ˇ=ýš=½ˇ=ŠÐˇ¦˚³Ðýˇ=³½−Ð₣š˝ˇK

PK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ ·Ðˇ=Þˇ=ýš½ˇðÐÞ¸³š½š=½−=³½−Ð₣š˝−=³½ž=Ý˝³½ˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½−=Ł¸ýˇ=NI=ýˇ¹ð˙¹š½š=

½−=³½−Ð₣š˝−I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½ˇð˝Þž³ž?K
Ò½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š=a=¸=b=×¹−²=½žÞ=ðˇ½šĆ¦¼Þ³ž=×−¼=¦˚Ýš½š=ðˇÐ=×Ð˚³½š= K
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„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ

·Ðˇ=Þˇ=šÐ³ˇł˙łš½š=₣ˇ¹ˇð½¸¹š²=ş½ˇÞ=ŠžýÐ−¼¹łš˝½š=ðˇ½ˇ₣ğ¹¸³šÐ²=È˝³½ˇ²=„×ˇ¾ćÞI=
ł¹ˇ×½˙=ýžÞĆýˇ½ˇ=¸=ýžÞĆýˇ½ˇ=×−Ý¼ý˚³ğÞ=ðÝ×KI=×Ð˚³½š=½ˇ=ˇÞ½˝³½−Ð₣ˇ=×Ý¸ð½¹ˇK

Ò½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=ýš=×−ÝÝˇ×Ý¸=×˝š³ž=×Ý¸ð½¹ğÞI=×Ð˚³½š=š×ˇÞšÐÝžýý˚Þˇ=ð˙¦š=
×Ý¸ð½¹−=ý˚₣¹Ð=Þˇ=šý¾ˇÞÐ³½š˝=−=₣ˇ¹ˇð½¸¹ˇ²=×−¼=¦˚Ýš½šK=·Ðˇ=×ˇ¹˙ŠšÐłýˇI=×Ð˚³½š=½−=
H=ý˝ˇ=¾−¹˙=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=½−=ł¹˙ýýˇ=^=¸=ŠĆ−=¾−¹˚²=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=½−=
ł¹˙ýýˇ=_K

Ó˝Þˇðˇ²=ıˇ¹ˇð½¸¹ğÞ
ÓÐ˚Ž−Þ½ˇ²=ð˙¦š=×Ý¸ð½¹−I=−Ð=₣ˇ¹ˇð½¸¹š²=ˇÝÝ˙Ž−¼Þ=ýš=½žÞ=×ˇ¹ˇð˙½ğ=³šÐ¹˙K=Â=³šÐ¹˙=
ŠÐˇ¾˚¹šÐ=ˇÞ˙Ý−łˇ=ýš=½žÞ=š×ÐÝšłý˚Þž=łÝć³³ˇK

„ÝÝžÞÐð˙

Πλήκτρο Κεφαλαίοι Χαρακτήρες  Πεζοί Χαρακτήρες Αριθµοί

G . E½šÝš˝ˇF , Eðş””ˇF - E×ˇĆÝˇF ; ! ’
 Eˇ×ş³½¹−¾−²F @ :1 N

H fl‡·¿^_`O ˇŁł˙~ÄÅO O

I ‚„‰÷abcP ŠšŽ˚ÇÉÑP P

J ÂÊÁ◊ÿ¯defQ ž¦Ð¸˝İfiÖÜáQ Q

K ËÈÍghiR ðÝýàâäR R

L ÎÏÌ⁄jklS Þþ−şãåçS S

M ÓÔÒmnopT ×¹³²éèêëT T
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„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ

N ÚÛÙ‹˘qrsU ½¼¾ĆŞ˛íìîU U

O ıˆ˜›tuvwV ₣ĞğćïñóòV V

Q EðšÞşFH=Z=Y=[ € ¡=A=√=B=CM M

P „ÞˇÝÝ˙³³šÐ=½−Þ=½Ć×−=½ğÞ=₣ˇ¹ˇð½¸¹ğÞ=ýš½ˇþĆ=
½š³³˙¹ğÞ=š×ÐÝ−łćÞW=^ÄÅI=^_`I=NOP=ðˇÐ=~ÄÅK

R

. , ? ! : ; - + # ∗
@ ' '' ( ) _ & € £ $
% / ˜ < > § = \ | ¥
¿ ¡ ^ [  ] {  } ¤ Å Ä
Æ å ä æ à Ç É è é ì
Ñ ñ Ö Ø ö ø ò ß Ü ü
ù ∆ Φ Γ Λ Ω Π Ψ Σ Θ
Ξ            (ðšÞş)  ↵

G-O:
Q

ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þˇ=½ˇ=×Ý¸ð½¹ˇ=łÐˇ=Þˇ=šÐ³˙łš½š=½−¼²=
ˇ¹Ð¦ý−Ć²=MJVK

P: ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=×Ý¸ð½¹−=łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=½ž²=
ýš¦şŠ−¼=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ýš=×−ÝÝˇ×Ý¸=×˝š³ž=×Ý¸ð½¹ğÞ=ðˇÐ=½ž²=
ýš¦şŠ−¼=šÐ³ˇłğł¸²=ÚVK

R: ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=ž=−¦şÞž=·Ýć³³ˇ²=
„Ð³ˇłğł¸²K

Πλήκτρο Κεφαλαίοι Χαρακτήρες  Πεζοί Χαρακτήρες Αριθµοί
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„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ

flÝÝˇł¸=½ğÞ=·Ýğ³³ćÞ=„Ð³ˇłğł¸²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½ž=łÝć³³ˇ=šÐ³ˇłğł¸²=³½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=×Ð˚³½š=x„×ÐÝKzK=ðˇÐ=š×ÐÝ˚þ½š=?·Ýć³³ˇ=„Ð³ˇłğłK?K

OK „×ÐÝ˚þ½š=½ž=łÝć³³ˇ=×−¼=š×Ð¦¼ýš˝½šK

flÝÝˇł¸=½ž²=Íš¦şŠ−¼=„Ð³ˇłğł¸²
Í˚¦−Š−²=„Ð³ˇłğł¸²=ËšÐý˚Þ−¼=qV
Â=ý˚¦−Š−²=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=qV=š×Ð½¹˚×šÐ=½ž=ł¹¸ł−¹ž=ðˇÐ=šĆð−Ýž=šÐ³ˇłğł¸=
ðšÐý˚Þ−¼K
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=P=łÐˇ=Þˇ=

šÞš¹ł−×−Ð¸³š½š=½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=qVK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Í˚¦K=„Ð³ˇłğł¸²?K

PK „×ÐÝ˚þ½š=½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=E^ÄÅI=^_`I=~ÄÅI=NOPFK

QK ÓÐ˚³½š=ð˙¦š=×Ý¸ð½¹−=ý˝ˇ=¾−¹˙=łÐˇ=½−=ł¹˙ýýˇ=×−¼=¦˚Ýš½š=Þˇ=šÐ³ˇł˙łš½š=ðˇÐ=½−=
−×−˝−=ˇÞ½Ð³½−Ð₣š˝=³½−=³¼łðšð¹Ðý˚Þ−=×Ý¸ð½¹−K
·Ðˇ=Þˇ=šÐ³ˇł˙łš½š=½ž=Ý˚þž=?Óć²?I=×Ð˚³½š=M=O=MK

RK „˙Þ=ž=Ý˚þž=×−¼=šý¾ˇÞ˝Žš½ˇÐ=ŠšÞ=š˝ÞˇÐ=ˇ¼½¸=×−¼=¦˚Ýš½šI=×Ð˚³½š=a=¸=b=ý˚₣¹Ð=Þˇ=
ýˇ¹ð˙¹š½š=½ž=³ğ³½¸=Ý˚þžK

SK ÓÐ˚³½š= =łÐˇ=Þˇ=š×ÐÝ˚þš½š=½ž=Ý˚þžK

Òžýš˝ğ³ž
≥ „˙Þ=ž=³ğ³½¸=Ý˚þž=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=³½−=Ł¸ýˇ=RI=šÐ³ˇł˙łš½š=½ž=³ğ³½¸=Ý˚þž=þˇÞ˙=

ˇ¾−Ć=×¹−žł−¼ý˚Þğ²=š×Ð³½¹˚Ğš½š=³½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ýš=×−ÝÝˇ×Ý¸=
×˝š³ž=×Ý¸ð½¹ğÞK
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Ò¼ýŁ−¼Ý¸
≥ „˙Þ=×Ð˚³š½š=Q=ˇÞ½˝=½−¼=Ł¸ýˇ½−²=SI=šÐ³˙łš½ˇÐ=ðšÞş=ŠÐ˙³½žýˇ=ýš½˙=½žÞ=

š×ÐÝšłý˚Þž=Ý˚þžK

ÒĆýŁ−Ýˇ=ðˇÐ=Òžýš˝ˇ=Ò½˝þž²
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Ò¼ýŁşÝ−¼?K

OK „×ÐÝ˚þ½š=½−=³ĆýŁ−Ý−=×−¼=š×Ð¦¼ýš˝½šK

Ú−=ÈšþÐðş=ý−¼
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=½ž=ŠÐð¸=³ˇ²=Ý˝³½ˇ=Ý˚þšğÞ=łÐˇ=½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=
ðšÐý˚Þ−¼=ÚVK
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼I=³½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ÚVI=×Ð˚³½š=

x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ú−=ÈšþÐðş=ý−¼?K

OK „×ÐÝ˚þ½š=?Ó¹−³¦¸ðž=Þ˚ˇ²=Ý˚þž²?=ðˇÐ=šÐ³˙łš½š=ý˝ˇ=Þ˚ˇ=Ý˚þžK
·Ðˇ=Þˇ=šÐ³˙łš½š=ý˝ˇ=Ý˚þž=³½ž=Ý˝³½ˇ

NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼I=³½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ÚVI=×Ð˚³½š=
x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ú−=ÈšþÐðş=ý−¼?K

OK Íˇ¹ð˙¹š½š=½ž=Ý˚þž=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

QK „×šþš¹łˇ³½š˝½š=½ž=Ý˚þžK
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ı¹¸³ž=Ó¹−½Ć×ğÞ
⁄½ˇÞ=šÐ³˙łš½š=₣ˇ¹ˇð½¸¹š²I=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=×¹−½˙³šÐ²=×−¼=˚₣−¼Þ=
ðˇ½ˇ₣ğ¹ž¦š˝=³½ˇ=Ó¹ş½¼×ˇ=Ëš˝ýšÞˇK

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=×¹ş½¼×ğÞ=ðšÐý˚ÞğÞI=
Šš˝½š=?Ó¹−³¦¸ðž=Ù¹˙³šğÞ=³š=Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?=³½ž=³šÝ˝Šˇ NPVK
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ýš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=³½ž=¦˚³ž=×−¼=¦˚Ýš½š=Þˇ=

šÐ³˙łš½š=½−=×¹ş½¼×−K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K

PK „×ÐÝ˚þ½š=?„Ð³ˇłK=Ó¹−½Ć×−¼?K

QK „×ÐÝ˚þ½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=š×Ð¦¼ýš˝½šK
Ú−=š×ÐÝšłý˚Þ−=×¹ş½¼×−=ðš˝ýšÞ−=šÐ³˙łš½ˇÐK

flÞ½Ðł¹ˇ¾¸I=fl×−ð−×¸=ðˇÐ=„×ÐðşÝÝž³ž=ËšÐý˚Þ−¼
ı¹ž³Ðý−×−ÐćÞ½ˇ²=ˇ¼½˚²=½Ð²=š×ÐÝ−ł˚²I=ý×−¹š˝½š=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=š×šþš¹łˇ³˝ˇ=
ðšÐý˚Þ−¼=šĆð−ÝˇK

flÞ½Ðł¹ˇ¾¸=ðˇÐ=fl×−ð−×¸=ËšÐý˚Þ−¼
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K

OK „×ÐÝ˚þ½š=?flÞ½Ðł¹ˇ¾¸?=¸=?fl×−ð−×¸?K

PK Íš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=³½−=×¹ć½−=ł¹˙ýýˇ=×−¼=¦ˇ=ˇÞ½Ðł¹ˇ¾š˝=¸=¦ˇ=ˇ×−ð−×š˝=
ðˇÐI=ðˇ½ş×ÐÞI=×Ð˚³½š= K

QK Íš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=³½−=½šÝš¼½ˇ˝−=ł¹˙ýýˇ=łÐˇ=Þˇ=ýˇ¹ð˙¹š½š=½žÞ=×š¹Ð−₣¸=
ðˇÐI=ðˇ½ş×ÐÞI=×Ð˚³½š= K
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„×ÐðşÝÝž³ž=ËšÐý˚Þ−¼
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼I=ýš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=³½ž=¦˚³ž=×−¼=¦˚Ýš½š=

Þˇ=š×Ðð−ÝÝ¸³š½š=½ˇ=ł¹˙ýýˇ½ˇK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K

PK „×ÐÝ˚þ½š=?„×ÐðşÝÝž³ž?K
Ú−=ˇ×−¦žðš¼ý˚Þ−=ðš˝ýšÞ−=š×Ðð−ÝÝ˙½ˇÐK
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È˝³½ˇ=„×ˇ¾ćÞ=Ej=UJNF

Ò½ž=È˝³½ˇ=„×ˇ¾ćÞ=”×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=½−¼²=ˇ¹Ð¦”−Ć²=½žÝš¾ćÞ−¼=ðˇÐ=½Ð²=
ŠÐš¼¦ĆÞ³šÐ²=ÉJã~áä=½ğÞ=¾˝ÝğÞ=³ˇ²I=½ğÞ=”šÝćÞ=½ž²=−Ðð−ł˚ÞšÐˇ²=ðˇÐ=½ğÞ=³¼Þš¹łˇ½ćÞ=
³ˇ²K

Ò½−=½žÝ˚¾ğÞş=³ˇ²=ý×−¹−ĆÞ=Þˇ=ˇ×−¦žðš¼½−ĆÞ=˚ğ²=ðˇÐ=RMM=ðˇ½ˇ₣ğ¹¸³šÐ²K=Òš=ý˝ˇ=
È˝³½ˇ=„×ˇ¾ćÞI=ý×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=½ˇ=×ˇ¹ˇð˙½ğ=³½−Ð₣š˝ˇW

Ò½−Ð₣š˝ˇ=×−¼=fl×−¦žðšĆ−Þ½ˇÐ=³½ž=ÍÞ¸ýž=½−¼=ÚžÝš¾ćÞ−¼
⁄Þ−ýˇW= ˚ğ²=ðˇÐ=NS=₣ˇ¹ˇð½¸¹š²
„×ćÞ¼ý−W= ˚ğ²=ðˇÐ=NS=₣ˇ¹ˇð½¸¹š²
ÚžÝK=NW= ˚ğ²=ðˇÐ=PO=Ğž¾˝ˇ
ÚžÝK=O=Ešý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=¼×˙¹₣šÐ=ðˇ½ˇ₣ć¹ž³ž=łÐˇ=½−=?ÚžÝK=N?FW=

˚ğ²=ðˇÐ=PO=Ğž¾˝ˇ
ÚžÝK=P=Ešý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=¼×˙¹₣šÐ=¸Šž=ðˇ½ˇ₣ć¹ž³ž=łÐˇ=½−=?ÚžÝK=O?FW=

˚ğ²=ðˇÐ=PO=Ğž¾˝ˇ
bã~áäNW= ˚ğ²=ðˇÐ=NOU=₣ˇ¹ˇð½¸¹š²
bã~áäO=Ešý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=¼×˙¹₣šÐ=ðˇ½ˇ₣ć¹ž³ž=łÐˇ=½−=?bã~áäN?FW=

˚ğ²=ðˇÐ=NOU=₣ˇ¹ˇð½¸¹š²
bã~áäP=Ešý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=¼×˙¹₣šÐ=¸Šž=ðˇ½ˇ₣ć¹ž³ž=łÐˇ=½−=?bã~áäO?FW=

˚ğ²=ðˇÐ=NOU=₣ˇ¹ˇð½¸¹š²
Ìý˙ŠˇW= NS=−ý˙Šš²=EÂ=š×šþš¹łˇ³˝ˇ=½ğÞ=

−Þ−ý˙½ğÞ=½ğÞ=−ý˙ŠğÞ=ł˝Þš½ˇÐ=̌ ×ş=½−=
ýšÞ−Ć=‚Ðˇ₣š˝¹Ð³ž=Ìý˙Šˇ²KF

⁄Þ−ýˇ=Š¹şý−¼W= ˚ğ²=ðˇÐ=SQ=₣ˇ¹ˇð½¸¹š²
⁄Þ−ýˇ=×şÝž²W= ˚ğ²=ðˇÐ=SQ=₣ˇ¹ˇð½¸¹š²
⁄Þ−ýˇ=Þ−ý−ĆW= ˚ğ²=ðˇÐ=SQ=₣ˇ¹ˇð½¸¹š²
Úˇ₣K=ËćŠKW= ˚ğ²=ðˇÐ=OM=₣ˇ¹ˇð½¸¹š²
⁄Þ−ýˇ=₣ć¹ˇ²W= ˚ğ²=ðˇÐ=PO=₣ˇ¹ˇð½¸¹š²
Òžýš˝ğ³žW= ˚ğ²=ðˇÐ=ORS=₣ˇ¹ˇð½¸¹š²

ÅðáöÝò

Ëßóôá Åðáöþí
Äéá÷åßñéóç ÏìÜäáò
Ëßóôá Ôá÷. ÊëÞó
Óôïé÷. Åðáö. Ìïõ
ÅéäéêÝò Ñõèì.

ÅðéëïãÞ Ðßóù
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Âýš¹K=·˚ÞÞž³ž²W

Ùğ½−ł¹ˇ¾˝ˇW
flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç=E·Ðˇ=ËÝ¸³ž=ÙğÞ¸²I=·Ðˇ=ËÝ¸³ž=sáÇÉçI=·Ðˇ=Î˚−=Í¸Þ¼ýˇFW

Í¼³½ÐðşW

Ò½−Ð₣š˝ˇ=×−¼=fl×−¦žðšĆ−Þ½ˇÐ=³½ž=ÍÞ¸ýž=pfj
⁄Þ−ýˇW ˚ğ²=ðˇÐ=NS=₣ˇ¹ˇð½¸¹š²
ÚžÝK=NW ˚ğ²=PO=Ğž¾˝ˇ

ÚžÝK=O=Ešý¾ˇÞ˝Žš½ˇÐ=š˙Þ=šÐ³ˇ₣¦š˝=?ÚžÝK=N?FW
˚ğ²=PO=Ğž¾˝ˇ

bã~áäNW ˚ğ²=ðˇÐ=UM=₣ˇ¹ˇð½¸¹š²
Ìý˙ŠˇW NN=−ý˙Šš²=EÂ=š×šþš¹łˇ³˝ˇ=½ğÞ=−Þ−ý˙½ğÞ=½ğÞ=−ý˙ŠğÞ=

ł˝Þš½ˇÐ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½žÞ=š×ÐÝ−ł¸=‚Ðˇ₣š˝¹Ð³ž=
Ìý˙Šˇ²KF

ı¹ž³Ðý−×−ÐćÞ½ˇ²=½ž=¦Ć¹ˇ=¼×˚¹¼¦¹ğÞ=¸=½ž=ÝšÐ½−¼¹ł˝ˇ=ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=
_äìÉíççíÜ=ý×−¹š˝½š=Þˇ=³½š˝Ýš½š=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=³š=˚ÞˇÞ=
žÝšð½¹−ÞÐðş=¼×−Ý−łÐ³½¸=łÐˇ=Þˇ=ŠÐˇý−Ð¹˙³š½š=½Ð²=˝ŠÐš²=ðˇ½ˇ₣ğ¹¸³šÐ²K

flÝÝˇł¸=Ëˇ½˙½ˇþž²=ÌÞ−ý˙½ğÞ
?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Í−¹¾¸=−Þşýˇ½−²?
NK „×ÐÝ˚þ½š=?⁄Þ−ýˇ=„×ćÞ¼ý−?=¸=?„×ćÞ¼ý−=⁄Þ−ýˇ?K

flÝÝˇł¸=½ž²=È˝³½ˇ²=×−¼=„ý¾ˇÞ˝Žš½ˇÐ
?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ê˚³ž=„×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=?Ò¼³ðš¼¸?=¸=?pfj?K
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„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²
?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?fl×K=Î˚ğÞ=„×ˇ¾K=³š?
NK „×ÐÝ˚þ½š=ý˝ˇ=¦˚³ž=„×ˇ¾ćÞ=ˇ×ş=?ÍÞ¸ýž=Ò¼³ðš¼¸²?I=?ÍÞ¸ýž=pfj?=¸=?„×ÐÝ−ł¸?K

Ò¼ýŁ−¼Ý¸
≥ Â=?„×ÐÝ−ł¸?=³ˇ²=×¹−½¹˚×šÐ=Þˇ=š×ÐÝ˚łš½š=½ž=ýÞ¸ýž=ð˙¦š=¾−¹˙=×−¼=ˇ×−¦žðšĆš½š=

ý˝ˇ=Þ˚ˇ=ðˇ½ˇ₣ć¹ž³žK

flÝÝˇł¸=Ëˇ½˙½ˇþž²=È˝³½ˇ²=„×ˇ¾ćÞ
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½žÞ=ðˇ½˙½ˇþž=½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=³š=
ˇÝ¾ˇŁž½Ðð¸=¸=ˇÞ˙=−ý˙ŠˇK

?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ó¹−Ł−Ý¸=„×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=?flÝ¾ˇŁž½Ðð¸=Ëˇ½˙½ˇþž?=¸=?Ëˇ½˙=Ìý˙Šˇ?K

Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=š˝½š=½ž=ýÞ¸ýž=½−¼=½žÝš¾ćÞ−¼=š˝½š=½ž=ýÞ¸ýž=½ž²=ð˙¹½ˇ²=pfj=
łÐˇ=Þˇ=̌ ×−¦žðšĆ³š½š=½ž=Þ˚ˇ=ðˇ½ˇ₣ć¹ž³žK=·Ðˇ=šÞˇÝÝˇł¸=½ğÞ=¦˚³šğÞI=Šš˝½š=?„×ÐÝ−ł¸=
½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²?K

Ú−=×Ý¸¦−²=½ğÞ=̌ ¹Ð¦ýćÞ=½žÝš¾ćÞ−¼=×−¼=ý×−¹š˝½š=Þˇ=̌ ×−¦žðšĆ³š½š=³½žÞ=ð˙¹½ˇ=pfj=
šþˇ¹½˙½ˇÐ=̌ ×ş=½ž=₣ğ¹ž½Ððş½ž½˙=½ž²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=
ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?=→=?Ó¹−³¦K=k˚ˇ²=„×K?
„˙Þ=š×ÐÝ˚þš½š=?„×ÐÝ−ł¸?=łÐˇ=½ž=ýÞ¸ýž=×−¼=¦ˇ=₣¹ž³Ðý−×−Ðž¦š˝I=½ş½š=ý×−¹š˝½š=Þˇ=
š×ÐÝ˚þš½š=ˇÞ˙ýš³ˇ=³½ž=?Ò½ž=ýÞ¸ýž=Ò¼³ðK?=ðˇÐ=½ž=?Ò½ž=ýÞ¸ýž=pfj?K
NK „×ÐÝ˚þ½š=½−=×šŠ˝−=×−¼=¦˚Ýš½š=Þˇ=³¼ý×Ýž¹ć³š½š=ðˇÐ=šÐ³˙łš½š=½ž=³₣š½Ðð¸=

×Ýž¹−¾−¹˝ˇK

OK ÓÐ˚³½š=xfl×−¦¸ðKz=ş½ˇÞ=½šÝšÐć³š½šK
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Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ýÐˇ=ðˇ½ˇ₣ć¹ž³žI=¦ˇ=×¹˚×šÐ=Þˇ=³¼ý×Ýž¹ć³š½š=½−¼Ý˙₣Ð³½−Þ=

˚Þˇ=ˇ×ş=½ˇ=×šŠ˝ˇ=E?⁄Þ−ýˇ?I=?„×ćÞ¼ý−?I=?ÚžÝK=N?=¸=?bã~áäN?=łÐˇ=½ž=ýÞ¸ýž=½ž²=
³¼³ðš¼¸²=ðˇÐ=?⁄Þ−ýˇ?I=?ÚžÝK=N?=¸=?bã~áäN?=łÐˇ=½ž=ýÞ¸ýž=½ž²=ð˙¹½ˇ²=pfjFK

Ó¹−³¦¸ðž=ýÐˇ²=ÍÐð¹−ł¹ˇ¾˝ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²=EÒĆÞ−ĞžF=³š=ýÐˇ=Ëˇ½ˇ₣ć¹ž³ž
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK „×ÐÝ˚þ½š=?Ùğ½−ł¹KW?K

QK „×ÐÝ˚þ½š=?flÞ½Ð³½K=Ùğ½−ł¹K?K

RK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

SK ÓÐ˚³½š=xfl×−¦¸ðKz=ş½ˇÞ=½šÝšÐć³š½šK

Òžýš˝ğ³ž
≥ „˙Þ=ŠÐˇł¹˙Ğš½š=̌ ×ş=½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇI=¦ˇ=ŠÐˇł¹ˇ¾š˝=ðˇÐ=ž=

ˇÞ½˝³½−Ð₣ž=ýÐð¹−ł¹ˇ¾˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ²K

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=³½Ð²=„×ˇ¾˚²=ý−¼
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=ðˇÐ=Þˇ=š×šþš¹łˇ³½š˝½š=½Ð²=ŠÐð˚²=³ˇ²=š×ˇ¾˚²=ş×ğ²=ðˇÐ=
½Ð²=˙ÝÝš²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞK
?„×ˇ¾˚²?=→=?Ò½−Ð₣K=„×ˇ¾K=Í−¼?

=Ej=UJQF
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flÞ½Ðł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=ýš½ˇþĆ=Ë˙¹½ˇ²=pfj=ðˇÐ=
Ò¼³ðš¼¸²
?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?flÞ½Ðł¹ˇ¾¸=⁄ÝğÞ?
NK „×ÐÝ˚þ½š=ˇ×ş=?fl×ş=pfj=³š=Ò¼³ðš¼¸?=¸=?fl×ş=Ò¼³ðš¼¸=³š=pfj?K

Òžýš˝ğ³ž
≥ ⁄½ˇÞ=½−×−¦š½¸³š½š=½žÞ=ð˙¹½ˇ=pfj=³½−=½žÝ˚¾ğÞş=³ˇ²=łÐˇ=×¹ć½ž=¾−¹˙=ðˇÐ=

þšðÐÞ¸³š½š=½žÞ=š¾ˇ¹ý−ł¸=½ž²=È˝³½ˇ²=„×ˇ¾ćÞI=¦ˇ=šý¾ˇÞÐ³½š˝=ˇ¼½şýˇ½ˇ=ž=−¦şÞž=
š×ÐŁšŁˇ˝ğ³ž²=ðˇÐ=¦ˇ=š¹ğ½ž¦š˝½š=š˙Þ=¦˚Ýš½š=Þˇ=×¹−₣ğ¹¸³š½š=¸=ş₣Ð=³½žÞ=
ˇÞ½Ðł¹ˇ¾¸K=Ì=ˇ¹Ð¦ýş²=½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=×−¼=ý×−¹−ĆÞ=Þˇ=
ˇÞ½Ðł¹ˇ¾−ĆÞ=šþˇ¹½˙½ˇÐ=ˇ×ş=½ž=₣ğ¹ž½Ððş½ž½ˇ=½ž²=ð˙¹½ˇ²=pfjK

≥ „˙Þ=−=ŠÐˇ¦˚³Ðý−²=₣ć¹−²=ýÞ¸ýž²=ŠšÞ=š×ˇ¹ðš˝=łÐˇ=½žÞ=ˇ×−¦¸ðš¼³ž=şÝğÞ=½ğÞ=
ðˇ½ˇ₣ğ¹¸³šğÞI=ž=ˇÞ½Ðł¹ˇ¾¸=Šš=ý×−¹š˝=Þˇ=−Ý−ðÝž¹ğ¦š˝K

„Ć¹š³ž=ÌÞşýˇ½−²
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK „Ð³˙łš½š=½ˇ=×¹ć½ˇ=ł¹˙ýýˇ½ˇ=½−¼=−Þşýˇ½−²K

Úˇ=ˇ×−½šÝ˚³ýˇ½ˇ=½ž²=ˇÞˇŽ¸½ž³ž²=šý¾ˇÞ˝Ž−Þ½ˇÐ=³š=ˇÝ¾ˇŁž½Ðð¸=³šÐ¹˙K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½ž=¦˚³ž=½ğÞ=„×ˇ¾ćÞI=?Ò¼³ðš¼¸?=¸=?pfj?I=×¹ÐÞ=ˇ×ş=½žÞ=

ˇÞˇŽ¸½ž³žK

ËÝ¸³ž=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½š=ðˇÐ=×Ð˚³½š=DK
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Ò¼ýŁ−¼Ý¸
≥ „˙Þ=˚₣−¼Þ=ðˇ½ˇ₣ğ¹ž¦š˝=×š¹Ð³³ş½š¹−Ð=ˇ¹Ð¦ý−˝I=ýˇ¹ð˙¹š½š=½−Þ=ˇ¹Ð¦ýş=

½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=ýš½˙=½−=Ł¸ýˇ=N=ðˇÐ=×Ð˚³½š=DK
≥ Í×−¹š˝½š=ˇðşýž=Þˇ=ðˇÝ˚³š½š=ˇ×ş=½žÞ=−¦şÞž=Ýš×½−ýš¹šÐćÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞK=

Ò½žÞ=−¦şÞž=Ýš×½−ýš¹šÐćÞI=š×ÐÝ˚þ½š=½−Þ=̌ ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=ðˇÐ=×Ð˚³½š=
DK

„×šþš¹łˇ³˝ˇ=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK flÝÝ˙þ½š=½Ð²=×Ýž¹−¾−¹˝š²K

QK ÓÐ˚³½š=xfl×−¦¸ðKz=ş½ˇÞ=½šÝšÐć³š½šK

‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ
‚Ðˇł¹ˇ¾¸=⁄ÝğÞ=½ğÞ=Ëˇ½ˇ₣ğ¹¸³šğÞ=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?‚Ðˇł¹K=Ëˇ½ˇ₣ğ¹¸³K?
NK „×ÐÝ˚þ½š=?Ëˇ½ˇ₣ğ¹K=Ò¼³ðš¼¸²?=¸=?Ëˇ½ˇ₣ğ¹¸³šÐ²=pfj?K

OK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K
Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK
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‚Ðˇł¹ˇ¾¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=„×ˇ¾¸²
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

‚Ðˇ₣š˝¹Ð³ž=Ìý˙Šˇ²
·Ðˇ=ð˙¦š=−ý˙Šˇ=ý×−¹š˝½š=Þˇ=−¹˝³š½š=ŠÐˇ¾−¹š½Ðð−Ć²=¸₣−¼²=ð−¼Š−¼Þ˝³ýˇ½−²K=
ı¹ž³Ðý−×−Ðš˝½ˇÐ=−=¸₣−²=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=˚₣š½š=ˇÞ½Ð³½−Ð₣¸³šÐ=³½−=ýšÞ−Ć=
Ô¼¦ý˝³šÐ²I=šð½ş²=ðˇÐ=š˙Þ=½−=ˇÝÝ˙þš½š=₣¹ž³Ðý−×−ÐćÞ½ˇ²=ˇ¼½ş=½−=ýšÞ−ĆK

?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹Ð³ž=Ìý˙Šˇ²?
NK Íˇ¹ð˙¹š½š=½žÞ=−ý˙Šˇ=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K

PK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?I=?·Ðˇ=ËÝ¸³ž=sáÇÉç?=¸=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?K

QK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=¸=?flÞ½Ð³½−˝₣K=sáÇÉç?K
⁄½ˇÞ=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=sáÇÉç?I=ýš½ˇŁš˝½š=³½−=Ł¸ýˇ=SK

RK „×ÐÝ˚þ½š=?Ó¹−¹¼¦”Ð³”K=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=j−¼?K

SK „×ÐÝ˚þ½š=½−Þ=¸₣−=¸=½−=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=¦˚Ýš½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼=
ð−¼Š−¼Þ˝³ýˇ½−²=̧ =šÞş²==îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=³½−=ýšÞ−Ć=Ô¼¦ý˝³šğÞI=Šš˝½š=
½žÞ=šÞş½ž½ˇ=?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ NTP=¸=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ NTQK

Òžýš˝ğ³ž
≥ Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=ýşÞ−=½ˇ=−Þşýˇ½ˇ=½ğÞ=−ý˙ŠğÞ=×−¼=š˝ÞˇÐ=

ˇ×−¦žðš¼ý˚Þˇ=³½žÞ=ð˙¹½ˇ=pfjK=‚š=ý×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=½Ð²=¹¼¦ý˝³šÐ²=
¸₣−¼=ð−¼Š−¼Þ˝³ýˇ½−²=¸=îáÇÉç=ð−¼Š−¼Þ˝³ýˇ½−²K

=Ej=UJOF
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„×šþš¹łˇ³˝ˇ=ÌÞşýˇ½−²=Ìý˙Šˇ²K
Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=½ˇ=−Þşýˇ½ˇ=½ğÞ=−ý˙ŠğÞ=×−¼=¦ˇ=ˇÞ½Ð³½−Ð₣¸³š½š=³½Ð²=
ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞK=Ëˇ½D=ˇ¹₣¸ÞI=ˇÝÝ˙þ½š=½ž=È˝³½ˇ=„×ˇ¾ćÞ=×−¼=
šý¾ˇÞ˝Žš½ˇÐ=E³šÝK SMFK
?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹Ð³ž=Ìý˙Šˇ²?
NK Íˇ¹ð˙¹š½š=½−=şÞ−ýˇ=−ý˙Šˇ²=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþK=ÌÞşýˇ½−²?K

PK flÝÝ˙þ½š=½−=şÞ−ýˇK

flÞ½Ð³½−˝₣ž³ž=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²=̧ =sáÇÉç=̀ äáé=Ë−¼Š−¼Þ˝³ýˇ½−²=
³š=ð˙¦š=Ëˇ½ˇ₣ć¹ž³ž=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ
Í×−¹š˝½š=Þˇ=ˇÞ½Ð³½−Ð₣¸³š½š=˚ÞˇÞ=þš₣ğ¹Ð³½ş=¸₣−=ð−¼Š−¼ÞÐ−Ć=¸=ŠşÞž³ž=³š=ýÐˇ=
ðˇ½ˇ₣ć¹ž³ž=×−¼=˚₣š½š=¸Šž=ˇ×−¦žðšĆ³šÐK

?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K
PK „×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K
QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?I=?·Ðˇ=ËÝ¸³ž=sáÇÉç?=¸=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?K
RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=¸=?flÞ½Ð³½−˝₣K=sáÇÉç?K

⁄½ˇÞ=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=sáÇÉç?I=ýš½ˇŁš˝½š=³½−=Ł¸ýˇ=TK

SK „×ÐÝ˚þ½š=?Ó¹−¹¼¦”Ð³”K=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=Í−¼?K
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TK „×ÐÝ˚þ½š=½−Þ=¸₣−=¸=½−=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=¦˚Ýš½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼=
ð−¼Š−¼Þ˝³ýˇ½−²=¸=šÞş²=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=³½−=ýšÞ−Ć=Ô¼¦ý˝³šÐ²I=Šš˝½š=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ NTP=¸=?flÞ½Ð³½−˝₣ž³ž=
šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ NTQK

UK ÓÐ˚³½š=xfl×−¦¸ðš¼³žz=ş½ˇÞ=½šÝšÐć³š½šK

Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=Ł−ž¦˙=Þˇ=šÝ˚ł₣š½š=½ž=ýÞ¸ýž=×−¼=₣¹ž³Ðý−×−Ðš˝½ˇÐ=ˇ×ş=½ž=
È˝³½ˇ=„×ˇ¾ćÞK

?„×ˇ¾˚²?=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²?

È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²
Ò½ž=Ý˝³½ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²I=ý×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=˚ğ²=ðˇÐ=U=ˇ¹Ð¦ý−Ć²=
½žÝš¾ćÞ−¼=E³šÝK PTFK

„Ð³ˇłğł¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=³½ž=È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK
OK „×ÐÝ˚þ½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=š×Ð¦¼ýš˝½šK
PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Úˇ₣K=ËÝ¸³K?K
QK „×ÐÝ˚þ½š=½ž=¦˚³ž=×−¼=š×Ð¦¼ýš˝½šK
Ò¼ýŁ−¼Ý¸
≥ Úˇ=šÞÞ˚ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇ=ˇÞ½Ð³½−Ð₣−ĆÞ=³½−¼²=ˇ¹Ð¦ý−Ć²=½ž²=Ý˝³½ˇ²K
≥ ·Ðˇ=Þˇ=šý¾ˇÞ˝³š½š=½ž=Ý˝³½ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²I=Šš˝½š=?Úˇ₣š˝ˇ=ËÝ¸³ž?=³½ž=³šÝ˝Šˇ PTK

=Ej=UJPF
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„×šþš¹łˇ³˝ˇ=È˝³½ˇ²=Úˇ₣š˝ˇ²=ËÝ¸³ž²
?„×ˇ¾˚²?=→=?È˝³½ˇ=Úˇ₣K=ËÝ¸³K?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šK

?„×ˇÞˇÞ½Ð³½−˝₣ž³ž?=Ešý¾ˇÞ˝Žš½ˇÐ=š˙Þ=˚Þˇ²=½žÝš¾ğÞÐðş²=ˇ¹Ð¦ýş²=˚₣šÐ=¸Šž=
ˇÞ½Ð³½−Ð₣Ð³¦š˝FW
„ý¾ˇÞ˝ŽšÐ=½Ð²=Ëˇ½ˇ₣ğ¹¸³šÐ²=È˝³½ˇ²=„×ˇ¾ćÞK=„×ÐÝ˚þ½š=
Eš×ˇÞˇÞ½Ð³½−Ð₣¸³½šF=˙ÝÝš²=ðˇ½ˇ₣ğ¹¸³šÐ²K

?flÞ½Ð³½−˝₣ž³ž?=Ešý¾ˇÞ˝Žš½ˇÐ=š˙Þ=ŠšÞ=˚₣šÐ=ˇÞ½Ð³½−Ð₣Ð³¦š˝=ðˇÞ˚Þˇ²=½žÝš¾ğÞÐðş²=
ˇ¹Ð¦ýş²FW
„ý¾ˇÞ˝ŽšÐ=½Ð²=Ëˇ½ˇ₣ğ¹¸³šÐ²=È˝³½ˇ²=„×ˇ¾ćÞK=„×ÐÝ˚þ½š=
EˇÞ½Ð³½−Ð₣¸³½šF=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

?Ó¹−Ł−Ý¸?W „ý¾ˇÞ˝ŽšÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=˚₣š½š=
ˇÞ½Ð³½−Ð₣¸³šÐK

?‚Ðˇł¹ˇ¾¸?W ‚Ðˇł¹˙¾šÐ=½−Þ=š×ÐÝšłý˚Þ−=½žÝš¾ğÞÐðş=ˇ¹Ð¦ýş=ˇ×ş=½ž=
Ý˝³½ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²

?‚Ðˇł¹ˇ¾¸=⁄ÝğÞ?W ‚Ðˇł¹˙¾šÐ=şÝ−¼²=½−¼²=½žÝš¾ğÞÐð−Ć²=ˇ¹Ð¦ý−Ć²=ˇ×ş=½ž=
Ý˝³½ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²

fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½K=„×ˇ¾¸²?K

PK „×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?I=?Íš=_äìÉíççíÜ?=¸=?Íš=Û×˚¹¼¦¹š²?K
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?˜²=Í¸Þ¼ýˇ?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=?jjp?=³½ž=³šÝ˝Šˇ UTK

·Ðˇ=?Íš=_äìÉíççíÜ?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ OMSK

·Ðˇ=?Íš=Û×˚¹¼¦¹š²?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ ONOK

È¸Ğž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=ÝˇýŁ˙ÞšÐ=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞI=šý¾ˇÞ˝Žš½ˇÐ=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²K
NK ÓÐ˚³½š=xÎˇÐzK

Â=Ýž¾¦š˝³ˇ=ðˇ½ˇ₣ć¹ž³ž=ˇ×−¦žðšĆš½ˇÐ=³½ž=È˝³½ˇ=„×ˇ¾ćÞK=ÓÐ˚³½š=x⁄₣Ðz=łÐˇ=
ˇ×ş¹¹ÐĞžK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=½ž²=ˇ³Ć¹ýˇ½ž²=

³ĆÞŠš³ž²=ý˚³ğ=¼×˚¹¼¦¹ğÞ=¸=_äìÉíççíÜI=ˇÞˇ½¹˚þ½š=³½ž=?Ò¼ÞŠš³Ðýş½ž½ˇ?=³½ž=
³šÝ˝Šˇ OMSK

≥ ·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=jjpI=Šš˝½š=?Ô¼¦ý˝³šÐ²=jjp?=³½ž=
³šÝ˝Šˇ NMPK
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Ú−=½žÝ˚¾ğÞş=³ˇ²=ŠÐˇ¦˚½šÐ=ý˝ˇ=šÞ³ğýˇ½ğý˚Þž=Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸K

Â=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=Łł˙Žš½š=ðˇÐ=Þˇ=³½˚ÝÞš½š=¾ğ½−ł¹ˇ¾˝š²=ðˇÐ=
Þˇ=ł¹˙¾š½š=îáÇÉç=ÅäáéëI=−×−¼Š¸×−½š=ðˇÐ=š˙Þ=Ł¹˝³ðš³½šK

È¸Ğž=Ùğ½−ł¹ˇ¾ÐćÞ
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=½¹ˇŁ¸þš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇK

flð−Ćłš½ˇÐ=−=̧ ₣−²=½−¼=ðÝš˝³½¹−¼=ðˇÐ=³½žÞ=−¦şÞž=×¹−Ł˙ÝÝš½ˇÐ=ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=
½¹ˇŁ¸þˇ½šK

OK ÓÐ˚³½š=xfl×−¦¸ðš¼³žzK
·Ðˇ=Þˇ=ˇð¼¹ć³š½šI=×Ð˚³½š=xflðĆ¹ğ³žzK
ÌÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=˚₣š½š=½¹ˇŁ¸þšÐ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=ÛÝÐðş=ý−¼K

Òžýš˝ğ³ž
≥ ÓÐ˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ˇÞ½˝=½−= =³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=
−¦şÞž²K

≥ ⁄½ˇÞ=ž=Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=ŠšÞ=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚ÞžI=×Ð˚³½š=x„×ÐÝKzK=
ËˇÐ=š×ÐÝ˚þ½š=?Ùğ½−ł¹K=Íž₣ˇÞ¸?=¸=×Ð˚³½š=cK

fl¼½−¾ğ½−ł¹˙¾ž³ž
Í×−¹š˝½š=Þˇ=Łł˙Ýš½š=¾ğ½−ł¹ˇ¾˝š²=½−¼=šˇ¼½−Ć=³ˇ²I=ð−Ð½˙Ž−Þ½ˇ²=½žÞ=ðĆ¹Ðˇ=−¦şÞžK

NK Óš¹Ð³½¹˚Ğš½š=½žÞ=ðĆ¹Ðˇ=−¦şÞž=NUMŒ=ŠšþÐş³½¹−¾ˇ=ˇ×ş=½žÞ=ðˇÞ−ÞÐð¸=¦˚³žK

OK ÓÐ˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=×−¼=Ł¹˝³ðš½ˇÐ=³½−=×Ý˙Ð=½−¼=
½žÝš¾ćÞ−¼K

ÁðïèÞêÁðïèÞê. ÁêýñùóçÁêýñùóçÁðïèÞê. Áêýñùóç
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Òžýš˝ğ³ž
≥ ÍžÞ=×š¹Ð³½¹˚Ğš½š=½žÞ=ðĆ¹Ðˇ=−¦şÞž=ˇ¹Ð³½š¹ş³½¹−¾ˇK=„˙Þ=ð˙Þš½š=ð˙½Ð=½˚½−Ð−I=½−=

½žÝ˚¾ğÞ−=ý×−¹š˝=Þˇ=×ˇ¹−¼³Ð˙³šÐ=Š¼³ÝšÐ½−¼¹ł˝ˇK

fl×−³½−Ý¸=Ùğ½−ł¹ˇ¾ÐćÞ
Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=˚₣š½š=½¹ˇŁ¸þšÐ=ýš=½žÞ=š×ÐÝ−ł¸=?Íš=
Í¸Þ¼ýˇ?K
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=½¹ˇŁ¸þš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇK

OK ÓÐ˚³½š= K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=ˇ×−³½−Ý¸²K
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ UTK=Íš½˙=½žÞ=ˇ×−³½−Ý¸=½−¼=ýžÞĆýˇ½−²I=ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=˚₣š½š=
½¹ˇŁ¸þšÐ=ˇ×−¦žðšĆš½ˇÐ=³½−=¾˙ðšÝ−=?Ú−=¼ÝÐðş=ý−¼?K=EÙğ½−ł¹ˇ¾˝š²=½ğÞ=−×−˝ğÞ=
˚₣š½š=ˇÝÝ˙þšÐ=½−=ý˚łš¦−²I=ŠšÞ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=?ÛÝÐðş=ý−¼?FK

Òžýš˝ğ³ž
≥ „˙Þ=×¹−³×ˇ¦¸³š½š=Þˇ=³½š˝Ýš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ=ýš=×−ÝĆ=ýšł˙Ý−=ý˚łš¦−²=

ˇ¹₣š˝−¼I=½−=ý˚łš¦−²=½ž²=¾ğ½−ł¹ˇ¾˝ˇ²=¦ˇ=×¹−³ˇ¹ý−³½š˝=ć³½š=Þˇ=š˝ÞˇÐ=Š¼Þˇ½¸=ž=
ˇ×−³½−Ý¸=½ž²=ýš=ý¸Þ¼ýˇK=Â=¾ğ½−ł¹ˇ¾˝ˇ=ýš=½−=ˇ¹₣Ððş=ý˚łš¦−²=̌ ×−¦žðšĆš½ˇÐ=³½−=
?ÛÝÐðş=ý−¼?K
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„×ÐÝ−ł¸=½−¼=Íšł˚¦−¼²=Ùğ½−ł¹ˇ¾˝ˇ²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−=ý˚łš¦−²=½ğÞ=¾ğ½−ł¹ˇ¾ÐćÞK=⁄Ýš²=−Ð=¾ğ½−ł¹ˇ¾˝š²=×−¼=
Ý¸¾¦žðˇÞ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=¾−¹ý˙=gmbdK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→?Ô¼¦ýK=Ùğ½−ł¹K?=→=?Í˚łš¦−²=Ùğ½−ł¹K?
NK „×ÐÝ˚þ½š=½−=ý˚łš¦−²=×−¼=š×Ð¦¼ýš˝½šK

Íšł˚¦ž=¾ğ½−ł¹ˇ¾˝ˇ²W NOOQ × NSPO ð−¼ð˝Šš²
VSM × NOUM ð−¼ð˝Šš²
TSU × NMOQ ð−¼ð˝Šš²
QUM × SQM ð−¼ð˝Šš²
OQM × POM ð−¼ð˝Šš²
NOM × NSM ð−¼ð˝Šš²
NOM × NOU ð−¼ð˝Šš²

ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=ˆž¾Ðˇð−Ć=wççã

ÔĆ¦ýÐ³ž=„×Ð×˚Š−¼=wççã
NK Ò½ž=ÝšÐ½−¼¹ł˝ˇ=šÐð−Þ−³ð−×˝−¼I=×Ð˚³½š=a=¸=bK
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„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=Ì×½Ðð−Ć=wççã
Ú−=−×½Ððş=òççã=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ýšłš¦ĆÞš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇI=šþˇ³¾ˇÝ˝Ž−Þ½ˇ²=
ýšłˇÝĆ½š¹ž=ðˇ¦ˇ¹ş½ž½ˇ=ˇ×ş=½ž=ÝšÐ½−¼¹ł˝ˇ=òççã=½−¼=−×½Ðð−Ć=¾ˇð−ĆK=Ú−=−×½Ððş=
òççã=₣¹ž³Ðý−×−Ðš˝½ˇÐ=ğ²=½−=š×˝×šŠ−=òççã=x×OzK=„˙Þ=ˇ¼þ¸³š½š=½−=š×˝×šŠ−=òççã=
ˇðşýž=×š¹Ð³³ş½š¹−I=šÞš¹ł−×−Ðš˝½ˇÐ=½−=Ğž¾Ðˇðş=òççãK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?
NK „×ÐÝ˚þ½š=?„Þš¹łK=Ì×½K=wççã?K

„×ÐÝ˚þ½š=?fl×šÞK=Ì×½K=wççã?=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½šK
„˙Þ=š×ÐÝ˚þš½š=?fl×šÞK=Ì×½K=wççã?I=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ýşÞ−Þ=½ž=
ÝšÐ½−¼¹ł˝ˇ=Ğž¾Ðˇð−Ć=òççãK

OK ÓÐ˚³½š=a=¸=bK
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=š×Ð³½¹˚ĞšÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²I=−Ð=¹¼¦ý˝³šÐ²=òççã=
š×ˇÞ˚¹₣−Þ½ˇÐ=³½žÞ=×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³žK

Ó¹−³ˇ¹ý−ł¸=½ž²=÷ð¦š³ž²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ýK=Ùğ½−ł¹K?=→=?÷ð¦š³ž?
NK ÓÐ˚³½š=a=EÙğ½šÐÞşF=¸=b=EÒð−Ć¹−FK

„ÞŠš˝þšÐ²=¾ğ½šÐÞş½ž½ˇ²=Eš×Ð×˚ŠğÞ=˚ð¦š³ž²F=¾ğ½−ł¹ˇ¾˝ˇ²

W=EÙğ½šÐÞ¸=→=ËˇÞ−ÞÐð¸=→=Òð−Ć¹ˇF
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=š×Ð³½¹˚ĞšÐ=³½žÞ=ðˇ½˙³½ˇ³žJˇÞˇý−Þ¸²I=ž=¾ğ½šÐÞş½ž½ˇ=
š×ˇÞ˚¹₣š½ˇÐ=³½žÞ=×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³žK
Ùğ²=ËÐÞž½−Ć
flÝÝˇł¸=ı¹ćýˇ½−²=Ùğ½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=½¹ˇŁ¸þš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ=³š=ŠÐ˙¾−¹š²=ÝšÐ½−¼¹ł˝š²=₣¹ćýˇ½−²K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ýK=Ùğ½−ł¹K?=→=?Ùğ²=ËÐÞž½−Ć?=→=?ı¹ćýˇ=
Ùğ½Ð³ý−Ć?
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NK „×ÐÝ˚þ½š=½−=₣¹ćýˇ=¾Ýˇ²=×−¼=š×Ð¦¼ýš˝½šK
ı¹ćýˇ½ˇ=¾Ýˇ²W Èš¼ðşLËşððÐÞ−LË˝½¹ÐÞ−LÓ¹˙³ÐÞ−LÍ×ÝšL‡Ð−Ýš½˝LflÞ−Ð₣½ş=ý×ÝšLaáëÅç

flÝÝˇł¸=Ëˇ½˙³½ˇ³ž²=ÈšÐ½−¼¹ł˝ˇ²=È¼₣Þ˝ˇ²=ËÐÞž½−Ć
Ô¼¦ý˝³½š=½ž=Ý¼₣Þ˝ˇ=¾ğ½Ð³ý−Ć=ˇÞ˙Ý−łˇ=ýš=½Ð²=ˇÞ˙łðš²=³ˇ²K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ýK=Ùğ½−ł¹K?=→=?Ùğ²=ËÐÞž½−Ć?=→=
?ÈšÐ½−¼¹ł˝ˇ?
NK „×ÐÝ˚þ½š=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

?„Þš¹łş?=E FW= Ú−=¾ğ²=š˝ÞˇÐ=ˇÞˇýý˚Þ−=ŠÐˇ¹ðć²K
?fl¼½şýˇ½−?=E FW= Ú−=¾ğ²=ˇÞ˙ŁšÐ=š˙Þ=½−=½žÝ˚¾ğÞ−=ˇÞÐ₣ÞšĆ³šÐ=ş½Ð=

Ł¹˝³ðš³½š=³š=³ð−½šÐÞş=×š¹ÐŁ˙ÝÝ−ÞK
?ıˇýžÝş²=Ùğ½Ð³ýK?=E FW= „×ÐÝ˚þ½š=̌ ¼½şÞ=½−Þ=½¹ş×−=ÝšÐ½−¼¹ł˝ˇ²=łÐˇ=ð−Þ½ÐÞ¸=Ý¸ĞžK
?Íž=šÞš¹łş?W= Ú−=¾ğ²=š˝ÞˇÐ=³Łž³½ş=ŠÐˇ¹ðć²K
Â=šð˙³½−½š=˚ÞŠšÐþž=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK=„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=½žÞ=
ˇ×šÞš¹ł−×−Ð¸³š½šK

ı¹¸³ž=½−¼=ı¹−Þ−ŠÐˇðş×½ž=Eı¹−Þ−ŠÐˇðş×½ž²F
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?ÈšÐ½K=Ùğ½K=Íž₣ˇÞ¸²?=→=?ı¹−Þ−ŠÐˇðş×½ž²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ò½žÞ=−¦şÞž=šý¾ˇÞ˝Žš½ˇÐ=? ?=š˙Þ=š×ÐÝ˚þš½š=?„Þš¹łş?K

„×ÐÝ−ł¸=½ž²=ÒðžÞ¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=ðˇ½˙ÝÝžÝž=³ðžÞ¸=ş½ˇÞ=½¹ˇŁ˙½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇK
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ýK=Ùğ½−ł¹K?=→=?ÒðžÞ¸?
NK „×ÐÝ˚þ½š=½ž=³ðžÞ¸=×−¼=š×Ð¦¼ýš˝½šK
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Ò¼Þš₣¸²=È¸Ğž
Í×−¹š˝½š=Þˇ=½¹ˇŁ¸þš½š=³¼Þš₣şýšÞš²=¾ğ½−ł¹ˇ¾˝š²=ýš=ŠÐ˙¾−¹š²=š×ÐÝ−ł˚²K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?ÈšÐK=Ùğ½K=Íž₣ˇÞ¸²?=→=?Ò¼Þš₣¸²=È¸Ğž?
NK „×ÐÝ˚þ½š=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

‚Ðˇ½˝¦šÞ½ˇÐ=−Ð=×ˇ¹ˇð˙½ğ=ÝšÐ½−¼¹ł˝š²=³¼Þš₣−Ć²=Ý¸Ğž²W
?Íž=šÞš¹łş?W ÌÐ=³¼Þš₣şýšÞš²=Ý¸ĞšÐ²=ˇð¼¹ćÞ−Þ½ˇÐK
?Q=Ùğ½−ł¹ˇ¾˝š²?L?V=Ùğ½−ł¹ˇ¾˝š²?W

Ò¼Þš₣şýšÞž=¾ğ½−ł¹˙¾ž³ž=Q=¸=V=
¾ğ½−ł¹ˇ¾ÐćÞK
Íš½˙=½žÞ=š×ÐÝ−ł¸=ˇ¼½¸²=½ž²=ÝšÐ½−¼¹ł˝ˇ²I=
š×ÐÝ˚þ½š=½žÞ=½ˇ₣Ć½ž½ˇ=×−¼=¦˚Ýš½š=ˇ×ş=½Ð²=
šþ¸²W
?Ó−ÝĆ=·¹¸ł−¹ž?
?·¹¸ł−¹ž?
?ËˇÞ−ÞÐð¸?
?fl¹ł¸?
?Ó−ÝĆ=fl¹ł¸?
?ıšÐ¹−ð˝Þž½ž?

?Ò¼Þš₣¸²?W Ú¹ˇŁ˙=V=³¼Þš₣şýšÞš²=¾ğ½−ł¹ˇ¾˝š²=³š=
ŠÐ˙¾−¹ˇ=š×˝×šŠˇ=₣¹ćýˇ½−²=ðˇÐ=¾ğ½šÐÞş½ž½ˇ²K
Íš½˙=½žÞ=š×ÐÝ−ł¸=̌ ¼½¸²=½ž²=ÝšÐ½−¼¹ł˝ˇ²I=×Ð˚³½š=

=³½ž=³¼Þ˚₣šÐˇ=š×ÐÝ˚þ½š=?·¹¸ł−¹ž?=¸=
?ËˇÞ−ÞÐð¸?K

?Û×˚¹¦š³ž?W Ò¼¹¹˙×½šÐ=½Ð²=³¼Þš₣şýšÞš²=¾ğ½−ł¹ˇ¾˝š²=³š=
ý˝ˇ=šÞÐˇ˝ˇ=ŠžýÐ−¼¹łćÞ½ˇ²=ý˝ˇ=³¼ÞŠ¼ˇ³ý˚Þž=
¾ğ½−ł¹ˇ¾˝ˇK
Íš½˙=½žÞ=š×ÐÝ−ł¸=ˇ¼½¸²=½ž²=ÝšÐ½−¼¹ł˝ˇ²I=
×Ð˚³½š= =ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=š×ÐÝ˚þ½š=
?·¹¸ł−¹ž?=¸=?ËˇÞ−ÞÐð¸?K
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Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?ıšÐ¹−ð˝Þž½−?=łÐˇ=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=³¼Þš₣¸=Ý¸Ğž=

¾ğ½−ł¹ˇ¾ÐćÞI=×Ð˚³½š= =¸=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=Eş½ˇÞ=ž=−¦şÞž=
Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²F=ðˇÐ=¹¼¦ý˝³½š=₣šÐ¹−ð˝Þž½ˇ=½žÞ=½ˇ₣Ć½ž½ˇ=×−¼=
¦˚Ýš½šK

≥ ⁄½ˇÞ=−Ð=ÝšÐ½−¼¹ł˝š²=ı¹−Þ−ŠÐˇðş×½ž²=ðˇÐ=Ò¼Þš₣¸²=È¸Ğž=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þš²=
½ˇ¼½ş₣¹−ÞˇI=³½žÞ=−¦şÞž=šý¾ˇÞ˝Žš½ˇÐ=ž=˚ÞŠšÐþž=? ?=EłÐˇ=?Q=Ùğ½−ł¹ˇ¾˝š²?LłÐˇ=
×ˇ¹˙ŠšÐłýˇFK

„×ÐÝ−ł¸=šÞş²=ÓÝˇÐ³˝−¼
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=×Ýˇ˝³Ð−=ˇ×ş=×¹−¹¼¦ýÐ³ý˚Þˇ=³₣˚ŠÐˇK=Í×−¹š˝½šI=š×˝³ž²I=
Þˇ=š×ÐÝ˚þš½š=˚Þˇ=×Ýˇ˝³Ð−=ˇ×ş=½Ð²=fl×−¦žðš¼ý˚Þš²=Ùğ½−ł¹ˇ¾˝š²K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?ÈšÐ½K=Ùğ½K=Íž₣ˇÞ¸²?=→=?ÓÝˇ˝³Ð−=Ùğ½−ł¹K?
NK „×ÐÝ˚þ½š=?Ó¹−¹¼¦ýK=ÓÝˇ˝³Ðˇ?=¸=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

OK „×ÐÝ˚þ½š=½−=×Ýˇ˝³Ð−=×−¼=š×Ð¦¼ýš˝½šK
Ú−=š×ÐÝšłý˚Þ−=×Ýˇ˝³Ð−=š×ÐŁšŁˇÐćÞš½ˇÐ=³½žÞ=−¦şÞžK

PK ÓÐ˚³½š= K

Òžýš˝ğ³ž
≥ ‚šÞ=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=¾ğ½−ł¹ˇ¾˝š²=ýšłˇÝĆ½š¹š²=ˇ×ş=OQM=ð−¼ð˝Šš²=

xÓz=× POM=ð−¼ð˝Šš²=xÛzK

„ÞˇÝÝˇł¸=³½ž=ÈšÐ½−¼¹ł˝ˇ=‡ÐÞ½š−ð˙ýš¹ˇ²
Í×−¹š˝½š=Þˇ=ýš½ˇŁš˝½š=ˇ×ş=½ž=ÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=³½ž=ÝšÐ½−¼¹ł˝ˇ=
ŁÐÞ½š−ð˙ýš¹ˇ²K=Í×−¹š˝½šI=š×˝³ž²I=Þˇ=šÞˇÝÝ˙³³š³½š=ýš½ˇþĆ=ˇ¼½ćÞ=½ğÞ=ŠĆ−=
ÝšÐ½−¼¹łÐćÞ=×Ð˚Ž−Þ½ˇ²=dK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?‡ÐÞ½š−ð˙ýš¹ˇ?
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ı¹¸³ž=½ž²=ÓÝ¸¹−¼²=Ì¦şÞž²
Í×−¹š˝½š=Þˇ=šý¾ˇÞ˝³š½š=½žÞ=×¹−š×Ð³ðş×ž³ž=³š=×Ý¸¹ž=−¦şÞž=₣ğ¹˝²=Þˇ=šý¾ˇÞ˝Žš½ˇÐ=
ž=×š¹Ð−₣¸=½ğÞ=×Ý¸ð½¹ğÞ=šÝ˚ł₣−¼=ðˇÐ=½ğÞ=šÞŠš˝þšğÞK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?
NK „×ÐÝ˚þ½š=?ÓÝ¸¹š²=„Ðð−Þ−³ðK?K

·Ðˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½−=ðˇÞ−ÞÐðş=šÐð−Þ−³ðş×Ð−I=š×ÐÝ˚þ½š=?ËˇÞ−ÞK=„Ðð−Þ−³ðK?K

„×ÐÝ−ł¸=½ž²=Ó−Ðş½ž½ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ýK=Ùğ½−ł¹K?=→=?Ó−Ðş½K=Ùğ½−ł¹K?
NK „×ÐÝ˚þ½š=½žÞ=×−Ðş½ž½ˇ=¾ğ½−ł¹ˇ¾˝ˇ²=×−¼=š×Ð¦¼ýš˝½šK

„ÞŠš˝þšÐ²=×−Ðş½ž½ˇ²=¾ğ½−ł¹ˇ¾˝ˇ²

W Ó−ÝĆ=ÛĞžÝ¸

W ÛĞžÝ¸

W ËˇÞ−ÞÐð¸

„×ÐÝ−ł¸=½−¼=◊₣−¼=ËÝš˝³½¹−¼
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−Þ=¸₣−=ðÝš˝³½¹−¼=ˇ×ş=P=×¹−¹¼¦ýÐ³ý˚Þˇ=ý−½˝ŁˇK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?◊₣−²=ËÝš˝³½¹−¼?
NK „×ÐÝ˚þ½š=½−Þ=¸₣−=ðÝš˝³½¹−¼=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ ·Ðˇ=½ž=Ò¼Þš₣¸=È¸Ğž=₣¹ž³Ðý−×−Ðš˝½ˇÐ=˚Þˇ²=þš₣ğ¹Ð³½ş²=¸₣−²=ðÝš˝³½¹−¼I=−=−×−˝−²=

ŠšÞ=ý×−¹š˝=Þˇ=ˇÝÝˇ₣¦š˝=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½Ð²=×¹−ˇÞˇ¾š¹şýšÞš²=¹¼¦ý˝³šÐ²K
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„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½ž=¦˚³ž=łÐˇ=Þˇ=ˇ×−¦žðšĆ³š½š=½Ð²=¾ğ½−ł¹ˇ¾˝š²=×−¼=˚₣š½š=
½¹ˇŁ¸þšÐK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?fl×−¦K=Î˚ğÞ=Ùğ½K=³š?
NK „×ÐÝ˚þ½š=½ž=¦˚³ž=×−¼=¦˚Ýš½šI=?ÍÞ¸ýž=Ò¼³ðš¼¸²?I=?Ë˙¹½ˇ=ÍÞ¸ýž²?=¸=?„×ÐÝ−ł¸?K

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?„×ÐÝ−ł¸?I=¦ˇ=š×ÐÝ˚łš½š=½žÞ=š×Ð¦¼ýž½¸=¦˚³ž=ð˙¦š=¾−¹˙=×−¼=¦ˇ=

ˇ×−¦žðšĆš½šK

Ô¼¦ý˝³šÐ²=„³½˝ˇ³ž²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=¹¼¦ý˝³š½š=½žÞ=š³½˝ˇ³ž=ˇÞ˙Ý−łˇ=ýš=½Ð²=
³¼Þ¦¸ðš²I=łÐˇ=Þˇ=½¹ˇŁ¸þš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?fl¼½şýˇ½ž=„³½˝ˇ³ž?
NK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

„ÞŠš˝þšÐ²=ðˇ½˙³½ˇ³ž²=š³½˝ˇ³ž²

W ËˇÞ−ÞÐð¸

W j~Åêç

W ıšÐ¹−ð˝Þž½ž=š³½˝ˇ³ž
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fl¼½şýˇ½ž=fl×−¦¸ðš¼³ž
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=ˇ¼½şýˇ½ž=ˇ×−¦¸ðš¼³ž=½ğÞ=¾ğ½−ł¹ˇ¾ÐćÞK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?fl¼½şýK=fl×−¦¸ðš¼³ž?
NK „×ÐÝ˚þ½š=?„Þš¹łş?K

„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½šK

ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=‡−ž¦š˝ˇ²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?‡−¸¦šÐˇ?

÷þ−Š−²=ˇ×ş=½ž=Ê˚³ž=Ó¹−Ł−Ý¸²=½ž²=Ì¦şÞž²
flð−Ý−¼¦¸³½š=½žÞ=×ˇ¹ˇð˙½ğ=ŠÐˇŠÐðˇ³˝ˇ=ş½ˇÞ=¦˚Ýš½š=Þˇ=š×Ð³½¹˚Ğš½š=ˇ×ş=½ž=¦˚³ž=
×¹−Ł−Ý¸²=½ž²=−¦şÞž²=³½žÞ=ðˇÞ−ÞÐð¸=¦˚³žK
NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=×Ý¸ð½¹−=ˇðĆ¹ğ³ž²=³½ž=¦˚³ž=šÐð−Þ−³ð−×˝−¼K
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„łł¹ˇ¾¸=sáÇÉç=`äáéë
Í×−¹š˝½š=Þˇ=ł¹˙Ğš½š=îáÇÉç=Åäáéë=ýš=½−=½žÝ˚¾ğÞş=³ˇ²K=Í×−¹š˝½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=ˇðşýž=ðˇÐ=ş½ˇÞ=ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=
×¹−Ł−Ý¸²K

„łł¹ˇ¾¸=sáÇÉç=`äáéë
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?
Â=×¹−š×Ð³ðş×ž³ž=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK
NK ÓÐ˚³½š= K

ÓÐ˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ş½ˇÞ=ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=
×¹−Ł−Ý¸²K

OK ·Ðˇ=Þˇ=ŠÐˇðşĞš½š=½žÞ=šłł¹ˇ¾¸I=×Ð˚³½š= K
„˙Þ=¦˚Ýš½š=Þˇ=ð˙Þš½š=×¹−š×Ð³ðş×ž³ž=×¹ÐÞ=½žÞ=ˇ×−¦¸ðš¼³žI=š×ÐÝ˚þ½š=
?Ó¹−š×Ð³ðş×ž³ž?K

PK „×ÐÝ˚þ½š=?fl×−¦¸ðš¼³ž=sáÇÉç?K
Ú−=îáÇÉç=Åäáé=ˇ×−¦žðšĆš½ˇÐ=³½ž=¦˚³ž=?Ú−=¼ÝÐðş=ý−¼?K

Òžýš˝ğ³ž
≥ „˙Þ=¦˚Ýš½š=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉç=Åäáé=³š=×¹−³ˇÞˇ½−ÝÐ³ýş=½−×˝−¼I=½−×−¦š½¸³½š=

½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²=šÞć=Ł¹˝³ðš³½š=³½ž=ÝšÐ½−¼¹ł˝ˇ=šÐð−Þ−³ð−×˝−¼K=Â=
−¦şÞž=ˇÝÝ˙ŽšÐ=ˇ¼½şýˇ½ˇ=³š=×¹−³ˇÞˇ½−ÝÐ³ýş=½−×˝−¼K

≥ Ê˚³½š=½−=½žÝ˚¾ğÞ−=³š=ÝšÐ½−¼¹ł˝ˇ=ŁÐÞ½š−ð˙ýš¹ˇ²=łÐˇ=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉçK=Úˇ=
îáÇÉç=Åäáéë=ˇ×−¦žðšĆ−Þ½ˇÐ=³š=¾−¹ý˙=?KPÖé?=³½−¼²=ŠĆ−=ˇðşÝ−¼¦−¼²=½Ć×−¼²W

=·Ðˇ=fl×−³½K=ÍžÞW=n`fc=¸=pìÄn`fc

=Íšł˙Ý−=sáÇÉçW=n`fcI=pìÄn`fc=¸=nsd^=EjmbdQF
Ú−=¾−¹ý˙=nsd^=EjmbdQF=š˝ÞˇÐ=ŠÐˇ¦˚³Ðý−=ş½ˇÞ=š×ÐÝ˚þš½š=?Íšł˙Ý−=sáÇÉç?=łÐˇ=½ž=
‚Ð˙¹ðšÐˇ=„łł¹ˇ¾¸²=E³šÝK UPF=ðˇÐ=š×ÐÝ˚þš½š=nsd^=EjmbdQFK=Úˇ=îáÇÉç=Åäáéë=
ˇ×−¦žðšĆ−Þ½ˇÐ=³š=¾−¹ý˙=?^pc?K

00:00:00  000KB/095KB

Åðéë. Ðßóù
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≥ ÍˇŽ˝=ýš=½−=îáÇÉç=Åäáé=ý×−¹š˝=Þˇ=ž₣−ł¹ˇ¾ž¦š˝=ðˇÐ=−=¸₣−²=š˙Þ=˚₣šÐ=šÞš¹ł−×−Ðž¦š˝=
ðˇÐ=½−=ýÐð¹ş¾ğÞ−K=Â=×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³ž=½−¼=ýÐð¹−¾ćÞ−¼=š˝ÞˇÐ=?„Þš¹łş?K=·Ðˇ=
½žÞ=šłł¹ˇ¾¸=šÞş²=îáÇÉç=Åäáé=₣ğ¹˝²=¸₣−I=ˇ×šÞš¹ł−×−Ð¸³½š=½−=ýÐð¹ş¾ğÞ−K=·Ðˇ=
×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=?„łł¹ˇ¾¸=sáÇÉç=`äáéë=ýš=◊₣−?=³½ž=³šÝ˝Šˇ URK

fl×−³½−Ý¸=sáÇÉç=`äáéë
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?
NK ÓÐ˚³½š= K

ÓÐ˚³½š=½−=×Ý¸ð½¹−=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ş½ˇÞ=ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=
×¹−Ł−Ý¸²K

OK ·Ðˇ=Þˇ=ŠÐˇðşĞš½š=½žÞ=šłł¹ˇ¾¸I=×Ð˚³½š= K
„˙Þ=¦˚Ýš½š=Þˇ=ð˙Þš½š=×¹−š×Ð³ðş×ž³ž=×¹ÐÞ=½žÞ=ˇ×−¦¸ðš¼³žI=š×ÐÝ˚þ½š=
?Ó¹−š×Ð³ðş×ž³ž?K

PK „×ÐÝ˚þ½š=?fl×−¦¸ðK=C=fl×−³½−Ý¸?K
„×ÐÝ˚þ½š=½−Þ=½¹ş×−=ˇ×−³½−Ý¸²=×−¼=¦˚Ýš½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ UTK

Òžýš˝ğ³ž
≥ Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=½ˇ=îáÇÉç=Åäáéë=ýşÞ−Þ=š˙Þ=˚₣š½š=š×ÐÝ˚þšÐ=?·Ðˇ=fl×−³½K=ÍžÞK?=
łÐˇ=½ž=ŠÐ˙¹ðšÐˇ=šłł¹ˇ¾¸²K=·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=?„×ÐÝ−ł¸=½ž²=
‚Ð˙¹ðšÐˇ²=„łł¹ˇ¾¸²?=³½ž=³šÝ˝Šˇ UPK

ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=wççã

ÔĆ¦ýÐ³ž=„×Ð×˚Š−¼=wççã
NK Ò½ž=ÝšÐ½−¼¹ł˝ˇ=šÐð−Þ−³ð−×˝−¼I=×Ð˚³½š=a=¸=bK
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„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=Ì×½Ðð−Ć=wççã
Ú−=−×½Ððş=òççã=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ýšłš¦ĆÞš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇI=šþˇ³¾ˇÝ˝Ž−Þ½ˇ²=
ýšłˇÝĆ½š¹ž=ðˇ¦ˇ¹ş½ž½ˇ=ˇ×ş=½ž=ÝšÐ½−¼¹ł˝ˇ=òççã=½−¼=−×½Ðð−Ć=¾ˇð−ĆK=Ú−=−×½Ððş=
òççã=₣¹ž³Ðý−×−Ðš˝½ˇÐ=ğ²=½−=š×˝×šŠ−=òççã=x×OzK=„˙Þ=ˇ¼þ¸³š½š=½−=š×˝×šŠ−=òççã=
ˇðşýž=×š¹Ð³³ş½š¹−I=šÞš¹ł−×−Ðš˝½ˇÐ=½−=Ğž¾Ðˇðş=òççãK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?
NK „×ÐÝ˚þ½š=?„Þš¹łK=Ì×½K=wççã?K

„×ÐÝ˚þ½š=?fl×šÞK=Ì×½K=wççã?=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½šK
OK ÓÐ˚³½š=a=¸=bK

Òžýš˝ğ³ž
≥ Â=×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³ž=š˝ÞˇÐ=?„Þš¹łK=Ì×½K=wççã?K=„˙Þ=š×ÐÝ˚þš½š=?fl×šÞK=Ì×½K=

wççã?I=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ýşÞ−Þ=½ž=ÝšÐ½−¼¹ł˝ˇ=Ğž¾Ðˇð−Ć=òççãK

Ó¹−³ˇ¹ý−ł¸=½ž²=÷ð¦š³ž²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²=sáÇÉç?=→=?÷ð¦š³ž?
NK ÓÐ˚³½š=a=EÙğ½šÐÞşF=¸=b=EÒð−Ć¹−FK

„ÞŠš˝þšÐ²=¾ğ½šÐÞş½ž½ˇ²=Eš×Ð×˚ŠğÞ=˚ð¦š³ž²F=¾ğ½−ł¹ˇ¾˝ˇ²
=W=EÙğ½šÐÞ¸=→=ËˇÞ−ÞÐð¸=→=Òð−Ć¹ˇF

⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=š×Ð³½¹˚ĞšÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²I=ž=¾ğ½šÐÞş½ž½ˇ=
š×ˇÞ˚¹₣š½ˇÐ=³½žÞ=×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³žK
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Ùğ²=ËÐÞž½−Ć
Í×−¹š˝½š=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉç=Åäáé=³š=ŠÐ˙¾−¹š²=ÝšÐ½−¼¹ł˝š²=₣¹ćýˇ½−²K
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²=sáÇÉç?=→=?Ùğ²=Ùğ½K=Íž₣ˇÞK?
NK „×ÐÝ˚þ½š=½−=₣¹ćýˇ=¾Ýˇ²=×−¼=š×Ð¦¼ýš˝½šK

ı¹ćýˇ½ˇ=¾Ýˇ²W Èš¼ðşLËşððÐÞ−LË˝½¹ÐÞ−LÓ¹˙³ÐÞ−LÍ×ÝšL‡Ð−Ýš½˝LflÞ−Ð₣½ş=ý×ÝšL
aáëÅç

flÝÝˇł¸=Ëˇ½˙³½ˇ³ž²=ÈšÐ½−¼¹ł˝ˇ²=È¼₣Þ˝ˇ²=ËÐÞž½−Ć
Ô¼¦ý˝³½š=½ž=Ý¼₣Þ˝ˇ=¾ğ½Ð³ý−Ć=ˇÞ˙Ý−łˇ=ýš=½Ð²=ˇÞ˙łðš²=³ˇ²K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ýK=Ùğ½−ł¹K?=→=?Ùğ²=ËÐÞž½−Ć?=→=
?ÈšÐ½−¼¹ł˝ˇ?
NK „×ÐÝ˚þ½š=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

?„Þš¹łş?=E FW= Ú−=¾ğ²=š˝ÞˇÐ=ˇÞˇýý˚Þ−=ŠÐˇ¹ðć²K
?fl¼½şýˇ½−?=E FW= Ú−=¾ğ²=ˇÞ˙ŁšÐ=š˙Þ=½−=½žÝ˚¾ğÞ−=ˇÞÐ₣ÞšĆ³šÐ=ş½Ð=

Ł¹˝³ðš³½š=³š=³ð−½šÐÞş=×š¹ÐŁ˙ÝÝ−ÞK
?Íž=šÞš¹łş?W= Ú−=¾ğ²=š˝ÞˇÐ=³Łž³½ş=ŠÐˇ¹ðć²K
Â=šð˙³½−½š=˚ÞŠšÐþž=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK=„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=½žÞ=
ˇ×šÞš¹ł−×−Ð¸³š½šK

„×ÐÝ−ł¸=½ž²=‚Ð˙¹ðšÐˇ²=„łł¹ˇ¾¸²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²=sáÇÉç?=→=?ı¹şÞ−²=„łł¹ˇ¾¸²?
NK „×ÐÝ˚þ½š=?Íšł˙Ý−=sáÇÉç?=¸=?·Ðˇ=fl×−³½K=ÍžÞK?K

·Ðˇ=fl×−³½K=ÍžÞKW Óš¹Ð−¹˝ŽšÐ=½−=ý˚łš¦−²=łÐˇ=½žÞ=ˇ×−³½−Ý¸=ýžÞĆýˇ½−²=
ˇÞ˙Ý−łˇ=ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

Íšł˙Ý−=sáÇÉçW ÈÐłş½š¹−=ˇ×ş=PM=Ýš×½˙K=Ešþˇ¹½˙½ˇÐ=ˇ×ş=½ž=
₣ğ¹ž½Ððş½ž½ˇ=½ž²=ýÞ¸ýž²FK
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Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?·Ðˇ=fl×−³½K=ÍžÞK?=łÐˇ=½ž=ŠÐ˙¹ðšÐˇ=šłł¹ˇ¾¸²I=½−=ý˚łš¦−²=½−¼=

ˇ¹₣š˝−¼=×š¹Ð−¹˝Žš½ˇÐ=ˇÞ˙Ý−łˇ=ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K=„×−ý˚Þğ²I=×š¹Ð−¹˝Žš½ˇÐ=
ðˇÐ=ž=×−Ðş½ž½ˇ=łÐˇ=ˇ¼½¸=½ž=¹Ć¦ýÐ³žK

≥ Ú−=ý¸Þ¼ýˇ=?fl×−¦¸ðK=C=fl×−³½−Ý¸?=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=ýš½˙=½žÞ=šłł¹ˇ¾¸=³½ž=
ÝšÐ½−¼¹ł˝ˇ=Íšł˙Ý−¼=sáÇÉçK

≥ „˙Þ=š×ÐÝ˚þš½š=?Íšł˙Ý−=sáÇÉç?I=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−=¾−¹ý˙=îáÇÉç=ˇ×ş=?n`fc=
¸==pìÄn`fc?=¸=?nsd^EjmbdQF?K

„ÞˇÝÝˇł¸=³½ž=ÈšÐ½−¼¹ł˝ˇ=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=³½žÞ=ðˇ½˙³½ˇ³ž=ÝšÐ½−¼¹ł˝ˇ²=Ğž¾Ðˇð¸²=ýž₣ˇÞ¸²K=Í×−¹š˝½šI=
š×˝³ž²I=Þˇ=×š¹˙³š½š=³½ž=ÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=×Ð˚Ž−Þ½ˇ²=cK
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ùğ½−ł¹K=Íž₣ˇÞ¸?

„×ÐÝ−ł¸=Ó−Ðş½ž½ˇ²=sáÇÉç
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²=sáÇÉç?=→=?Ó−Ðş½ž½ˇ=qˇÐÞ˝ˇ²?
NK „×ÐÝ˚þ½š=½žÞ=×−Ðş½ž½ˇ=îáÇÉç=×−¼=š×Ð¦¼ýš˝½šK

„ÞŠš˝þšÐ²=×−Ðş½ž½ˇ²=½ˇÐÞ˝ˇ²

W Ó−ÝĆ=ÛĞžÝ¸

W ÛĞžÝ¸

W ËˇÞ−ÞÐðş

Òžýš˝ğ³ž
≥ ⁄³−=ðˇÝĆ½š¹ž=×−Ðş½ž½ˇ=š×ÐÝ˚þš½šI=½ş³−=ýšłˇÝĆ½š¹−=¦ˇ=š˝ÞˇÐ=½−=ý˚łš¦−²=

ˇ¹₣š˝−¼K
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„łł¹ˇ¾¸=sáÇÉç=`äáéë=ýš=◊₣−
·Ðˇ=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉç=Åäáé=ýš=¸₣−=¦ˇ=×¹˚×šÐ=Þˇ=˚₣š½š=šÞš¹ł−×−Ð¸³šÐ=½−=
ýÐð¹ş¾ğÞ−K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²=sáÇÉç?=→=?ÍÐð¹ş¾ğÞ−?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Òžýš˝ğ³ž
≥ Ú−=ýÐð¹ş¾ğÞ−=š˝ÞˇÐ=̧ Šž=šÞš¹ł−×−Ðžý˚Þ−=³½žÞ=×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³žK=„×ÐÝ˚þ½š=

?Íž=šÞš¹łş?=łÐˇ=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉç=Åäáé=₣ğ¹˝²=¸₣−K

Ò¼ýŁ−¼Ý¸
≥ Ú−=ý˚łš¦−²=ˇ¹₣š˝−¼=łÐˇ=½−=îáÇÉç=Åäáé=ý×−¹š˝=Þˇ=ýšÐğ¦š˝=š˙Þ=ŠšÞ=šłł¹ˇ¾š˝=

½ˇ¼½ş₣¹−Þˇ=ðˇÐ=−=¸₣−²K
flÝÝˇł¸=½−¼=Íšł˚¦−¼²=Ùğ½−ł¹ˇ¾˝ˇ²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½−=ý˚łš¦−²=¾ğ½−ł¹ˇ¾˝ˇ²=ðˇ½˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸Lšłł¹ˇ¾¸K
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Í˚łš¦−²=Ùğ½−ł¹K?
NK „×ÐÝ˚þ½š=?Íšł˙Ý−En`fcF?=¸=?ÍÐð¹şEpìÄn`fcF?K

„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½ž=¦˚³ž=ˇ×−¦¸ðš¼³ž²=½ğÞ=îáÇÉç=Åäáéë=×−¼=˚₣š½š=ł¹˙ĞšÐK
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?fl×−¦K=Î˚ğÞ=sáÇÉç=³š?
NK „×ÐÝ˚þ½š=½ž=¦˚³ž=×−¼=¦˚Ýš½šI=?ÍÞ¸ýž=Ò¼³ðš¼¸²?I=?Ë˙¹½ˇ=ÍÞ¸ýž²?=¸=?„×ÐÝ−ł¸?K

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?„×ÐÝ−ł¸?I=¦ˇ=š×ÐÝ˚łš½š=½žÞ=š×Ð¦¼ýž½¸=¦˚³ž=ð˙¦š=¾−¹˙=×−¼=¦ˇ=

ˇ×−¦žðšĆš½šK
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Ô¼¦ý˝³šÐ²=„³½˝ˇ³ž²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=¹¼¦ý˝³š½š=̌ ¼½şýˇ½ˇ=½žÞ=š³½˝ˇ³ž=̌ Þ˙Ý−łˇ=ýš=½Ð²=
³¼Þ¦¸ðš²I=łÐˇ=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉç=ÅäáéK
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→ x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ô¼¦ý˝³K=„³½˝ˇ³ž²?
NK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

„ÞŠš˝þšÐ²=Ëˇ½˙³½ˇ³ž²=„³½˝ˇ³ž²
W ËˇÞ−ÞÐð¸

W j~Åêç

W ıšÐ¹−ð˝Þž½ž=š³½˝ˇ³ž

ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=‡−ž¦š˝ˇ²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?‡−¸¦šÐˇ?

ËğŠÐð−×−˝ž³ž=sáÇÉç
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?„ÐŠÐð˚²=Ô¼¦ýK?=→=?ËğŠÐð−×K=sáÇÉç?
NK „×ÐÝ˚þ½š=½−=ðˇ½˙ÝÝžÝ−=¾−¹ý˙K

÷þ−Š−²=ˇ×ş=½ž=Ê˚³ž=Ó¹−Ł−Ý¸²=½ž²=Ì¦şÞž²
flð−Ý−¼¦¸³½š=½žÞ=×ˇ¹ˇð˙½ğ=ŠÐˇŠÐðˇ³˝ˇ=ş½ˇÞ=¦˚Ýš½š=Þˇ=š×Ð³½¹˚Ğš½š=ˇ×ş=½ž=¦˚³ž=
×¹−Ł−Ý¸²=½ž²=−¦şÞž²=³½žÞ=ðˇÞ−ÞÐð¸=¦˚³žK

NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=×Ý¸ð½¹−=ˇðĆ¹ğ³ž²=³½ž=¦˚³ž=šÐð−Þ−³ð−×˝−¼K



87

ÍžÞĆýˇ½ˇ=Ej=QF

Ú−=½žÝ˚¾ğÞ−=³˙²=š×Ð½¹˚×šÐ=Þˇ=³½˚ÝÞš½š=ðˇÐ=Þˇ=ÝˇýŁ˙Þš½š=ł¹ˇ×½˙=ýžÞĆýˇ½ˇI=
ýžÞĆýˇ½ˇ=×−Ý¼ý˚³ğÞ=¸=ýžÞĆýˇ½ˇ=ÉJã~áäI=̌ ÝÝ˙=ðˇÐ=Þˇ=ÝˇýŁ˙Þš½š=šÐŠ−×−Ð¸³šÐ²=t^mK

jjp
Â=ÝšÐ½−¼¹ł˝ˇ=jjp=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ÝˇýŁ˙Þš½š=ðˇÐ=Þˇ=³½˚ÝÞš½š=ýžÞĆýˇ½ˇ=
×−Ý¼ý˚³ğÞ=₣ğ¹ž½Ððş½ž½ˇ²=˚ğ²=ðˇÐ=PMM h_=ýš=³¼Þžýý˚Þš²=¾ğ½−ł¹ˇ¾˝š²I=¸₣−¼²=¸=
îáÇÉç=ÅäáéëK

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=ÝšÐ½−¼¹ł˝š²=jjp=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýš²=×˙Þ½−½šI=×¹˙łýˇ=

×−¼=šþˇ¹½˙½ˇÐ=̌ ×ş=½−=Š˝ð½¼ş=³ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=
ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

≥ Ú−=ý˚łÐ³½−=ý˚łš¦−²=½−¼=ýžÞĆýˇ½−²=šþˇ¹½˙½ˇÐ=ˇ×ş=½Ð²=¹¼¦ý˝³šÐ²=×−¼=˚₣šÐ=
×¹ˇłýˇ½−×−Ð¸³šÐ=−=×ˇ¹−₣˚ˇ²=ŠÐð½Ć−¼K

pjp
Â=ÝšÐ½−¼¹ł˝ˇ=pjp=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=³½˚ÝÞš½š=ł¹ˇ×½˙=ýžÞĆýˇ½ˇ=ýšł˚¦−¼²=˚ğ²=ðˇÐ=
TSR=₣ˇ¹ˇð½¸¹š²K=„˙Þ=³½š˝Ýš½š=˚Þˇ=ý¸Þ¼ýˇ=ýšłˇÝĆ½š¹−=ˇ×ş=NSM=₣ˇ¹ˇð½¸¹š²I=ˇ¼½ş=
ý−Ð¹˙Žš½ˇÐ=³š=×š¹Ð³³ş½š¹ˇ=½ý¸ýˇ½ˇK

bã~áä
Â=ÝšÐ½−¼¹ł˝ˇ=bã~áä=³˙²=š×Ð½¹˚×šÐ=Þˇ=³½š˝Ýš½š=ýžÞĆýˇ½ˇ=ýšł˚¦−¼²=˚ğ²=ðˇÐ=PMM=h_K

‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²
Ebã~áäF
A=→=?‚žýÐ−¼¹ł˝ˇ=jžÞĆý?=→=?bã~áä?
EjjpLpjpF
A=→=?‚žýÐ−¼¹ł˝ˇ=jžÞĆý?=→=?Í¸Þ¼ýˇ?
NK „Ð³˙łš½š=½−=ý¸Þ¼ýˇK

Ìçíýìáôá

Äçìéïõñãßá Mçíýì
Åéóåñ÷üìåíá
Ðñü÷åéñá
Ðñüôõðá
ÓôáëìÝíá
Åîåñ÷üìåíá
Messenger

ÅðéëïãÞ Ðßóù

Ìçíýìáôá

Messenger
ÔçëåöùíçôÞò
ÅêðïìðÞ ÊõøÝëçò
Ðëçñ. ÊõøÝëçò
Ñõèìßóåéò
ÊáôÜóô. ÌíÞìçò

ÅðéëïãÞ Ðßóù
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OK Ebã~áäLjjpF
ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?„Ð³ˇłğł¸=³½−Ð₣š˝−¼?I=š˙Þ=¦˚Ýš½š=Þˇ=
š×Ð³¼Þ˙Ğš½š=ˇ¹₣š˝ˇK

PK Ebã~áäLjjpF
„×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK=Èš×½−ý˚¹šÐš²=̌ Þˇ¾˚¹−Þ½ˇÐ=³½Ð²=×ˇ¹ˇð˙½ğ=
šÞş½ž½š²K
?„ÐðşÞˇ?W „×Ð³¼Þ˙×½šÐ=ˇ¹₣š˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ²K
?◊₣−²?W „×Ð³¼Þ˙×½šÐ=ˇ¹₣š˝ˇ=¸₣−¼K
?‡˝Þ½š−?W „×Ð³¼Þ˙×½šÐ=ˇ¹₣š˝ˇ=îáÇÉç=ÅäáéK
?„×Ð³ĆÞˇĞž=š×ˇ¾¸²?W „×Ð³¼Þ˙×½šÐ=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞK
?„×Ð³ĆÞˇĞž=³¼Þ˙Þ½ž³ž²?W „×Ð³¼Þ˙×½šÐ=ðˇ½ˇ₣ğ¹¸³šÐ²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²K

QK „×ÐÝ˚þ½š=?fl×−³½−Ý¸?K
RK EjjpF

„Ð³˙łš½š=¸=š×ÐÝ˚þ½š=½ž=ŠÐšĆ¦¼Þ³ž=ÉJã~áä=¸=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=ˇ×ş=½ž=È˝³½ˇ=
„×ˇ¾ćÞK
EpjpF
„Ð³˙łš½š=¸=š×ÐÝ˚þ½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞK
Ebã~áäF
„Ð³˙łš½š=½ž=ŠÐšĆ¦¼Þ³ž=Éã~áä=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞK
·Ðˇ=Þˇ=×¹−³¦˚³½š=×−ÝÝˇ×Ý˚²=ŠÐš¼¦ĆÞ³šÐ²=ÉJã~áä=̧ =½žÝš¾ğÞÐð−Ć²=̌ ¹Ð¦ý−Ć²=E˚ğ²=
ðˇÐ=OMFI=ýˇ¹ð˙¹š½š=½−=×šŠ˝−=½−¼=×ˇ¹ˇÝ¸×½žI=×Ð˚³½š=x„×ÐÝKzI=š×ÐÝ˚þ½š=?„×šþK=C=
Ó¹−³¦K=fl×−³½−Ý˚ˇ?I=³½ž=³¼Þ˚₣šÐˇ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Óˇ¹ˇÝ¸×½K?K
„Ð³˙łš½š=¸=š×ÐÝ˚þ½š=½ž=ŠÐšĆ¦¼Þ³ž=ÉJã~áä=¸=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=¸=š×ÐÝ˚þ½š=
ˇ×ş=½žÞ=¼×˙¹₣−¼³ˇ=È˝³½ˇ=„×ˇ¾ćÞK
Í×−¹š˝½š=Þˇ=šÐ³˙łš½š=˚ğ²=ðˇÐ=OM=Ğž¾˝ˇ=EjjpLpjpF=¸=NOU=₣ˇ¹ˇð½¸¹š²=Ebã~áäL
jjpF=³š=ð˙¦š=ŠÐšĆ¦¼Þ³ž=Éã~áä=~ÇÇêÉëë=¸=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼K
·Ðˇ=Þˇ=ˇÝÝ˙þš½š=½−Þ=½Ć×−=×ˇ¹ˇÝž×½ćÞ=×Ð˚³½š=x„×ÐÝKzI=š×ÐÝ˚þ½š=?„×šþš¹łK=
fl×−Ššð½ćÞ?=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=³š=ÓÔÌÒ?I=?flÝÝˇł¸=³š=``?=çê=?flÝÝˇł¸=³š=
_``?=Ebã~áäLjjpFK
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SK Ebã~áäLjjpF
„×ÐÝ˚þ½š=½−=×šŠ˝−=½−¼=¦˚ýˇ½−²=ðˇÐ=šÐ³˙łš½š=½−=¦˚ýˇK

TK EjjpLpjpF
Ì=½Ć×−²=ýš½ˇ¾−¹˙²=Epjp=¸=jjpF=šý¾ˇÞ˝Žš½ˇÐ=³½−=×šŠ˝−=?ÚĆ×−²=ýžÞĆýˇ½−²?K=
„×ÐÝ˚þ½š=½−=×šŠ˝−=ðˇÐ=š×ÐÝ˚þ½š=½−Þ=½Ć×−=ýš½ˇ¾−¹˙²=×−¼=š×Ð¦¼ýš˝½šK

UK „×ÐÝ˚þ½š=?„ÐŠÐð˚²?=łÐˇ=Þˇ=¹¼¦ý˝³š½š=½Ð²=×¹−žłý˚Þš²=š×ÐÝ−ł˚²=ˇ×−³½−Ý¸²=
ýžÞĆýˇ½−²K
≥ ?Ëˇ¦¼³½˚¹ž³ž=×ˇ¹˙Š−³ž²?=E?ığ¹˝²=ðˇ¦¼³½˚¹ž³ž?I=?PM=Ýš×½˙?I=?N=ć¹ˇ?I=?S=

ć¹š²?I=?N=žý˚¹ˇ?I=?N=šŁŠ−ý˙Šˇ?=EłÐˇ=jjpFW
Ì¹˝ŽšÐ=½−=₣¹şÞ−=³½−Þ=−×−˝−=¦ˇ=×ˇ¹ˇŠ−¦š˝=½−=ý¸Þ¼ýˇ=ýš½˙=½žÞ=×˝š³ž=½−¼=
×Ý¸ð½¹−¼=fl×−³½−Ý¸²K

≥ ?flÞˇ¾−¹˙=×ˇ¹˙Š−³ž²?=E?ÎˇÐ?I=?⁄₣Ð?F=EłÐˇ=jjpLpjpFW
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=flÞˇ¾−¹˙=Óˇ¹˙Š−³ž²=łÐˇ=½žÞ=š×Ð½¼₣¸=
ˇ×−³½−Ý¸=½−¼=ýžÞĆýˇ½−²=³½−Þ=×ˇ¹ˇÝ¸×½žK

≥ ?›¹ˇ=È¸þž²?=E?‚Ðˇł¹ˇ¾¸=×−½˚?I=?PM=Ýš×½˙?I=?N=ć¹ˇ?I=?S=ć¹š²?I=?N=žý˚¹ˇ?I=?N=
šŁŠ−ý˙Šˇ?=EłÐˇ=pjpLjjpFW
Ì¹˝ŽšÐ=½−=ı¹şÞ−=È¸þž²=ý˚₣¹Ð=½−Þ=−×−˝−=˚Þˇ=ý¸Þ¼ýˇ=¦ˇ=×ˇ¹ˇý˚ÞšÐ=
ˇ×−¦žðš¼ý˚Þ−=³½−=ŠÐˇð−ýÐ³½¸K

≥ Ó¹−½š¹ˇÐş½ž½ˇ=E?ÛĞžÝ¸?I=?ËˇÞ−ÞÐð¸?I=?ıˇýžÝ¸?FW
„ð₣ğ¹š˝=×¹−½š¹ˇÐş½ž½š²=³½ˇ=ýžÞĆýˇ½ˇ=×−¼=ŠžýÐ−¼¹łš˝½šK

≥ ?flÞˇ¾−¹˙=flÞ˙łÞğ³ž²?=E?ÎˇÐ?I=?⁄₣Ð?F=EłÐˇ=jjpLpjpFW
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=flÞˇ¾−¹˙=flÞ˙łÞğ³ž²=ş½ˇÞ=ˇ×ˇÐ½ž¦š˝=ˇ×ş=
½−Þ=×ˇ¹ˇÝ¸×½ž=Þˇ=šÞžýš¹ć³šÐ=½−Þ=ˇ×−³½−Ý¸=łÐˇ=½žÞ=ˇÞ˙łÞğ³ž=½−¼=
ýžÞĆýˇ½−²K

VK Íˇ¹ð˙¹š½š=½žÞ=?fl×−³½−Ý¸?I=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= =łÐˇ=Þˇ=³½š˝Ýš½šK
Íš½˙=½žÞ=ˇ×−³½−Ý¸=½−¼I=½−=ý¸Þ¼ýˇ=ýš½ˇ¾˚¹š½ˇÐ=³½−=¾˙ðšÝ−=?Ò½ˇÝý˚Þˇ?K
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Òžýš˝ğ³ž
≥ Ú−=½¹˚₣−Þ=ý˚łš¦−²=ýžÞĆýˇ½−²=×−¼=šý¾ˇÞ˝Žš½ˇÐ=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ŠžýÐ−¼¹ł˝ˇ²=

½−¼=ýžÞĆýˇ½−²=š˝ÞˇÐ=×¹−³šłłÐ³½ÐðşK
≥ „˙Þ=˚Þˇ=ý¸Þ¼ýˇ=ŠšÞ=ý×−¹š˝=Þˇ=ˇ×−³½ˇÝš˝=łÐˇ=ð˙×−Ð−=Ýşł−I=½ş½š=ˇ¼½ş=×ˇ¹ˇý˚ÞšÐ=

³½ˇ=„þš¹₣şýšÞˇ=ðˇÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=šý¾ˇÞ˝Žš½ˇÐ=½−=šÐð−Þ˝ŠÐ−=? ?K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ˇ×−¦žðšĆ³š½š=½−=ý¸Þ¼ýˇ=₣ğ¹˝²=Þˇ=½−=³½š˝Ýš½šI=š×ÐÝ˚þ½š=x„×ÐÝ−ł˚²z=ðˇÐ=

š×ÐÝ˚þ½š=?fl×−¦¸ðš¼³ž=³½−=¾˙ðšÝ−=Ó¹ş₣šÐ¹ˇ?=³½−=Ł¸ýˇ=OK
≥ Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=½ˇ=×ˇ¹ˇð˙½ğ=³½−Ð₣š˝ˇ=ğ²=³¼Þžýý˚Þˇ=³½ˇ=ýžÞĆýˇ½ˇ=

×−Ý¼ý˚³ğÞK=Èš×½−ý˚¹šÐš²=ˇÞˇ¾˚¹−Þ½ˇÐ=³½Ð²=×ˇ¹ˇð˙½ğ=šÞş½ž½š²K
≥ ‚šŠ−ý˚Þˇ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
≥ Ëˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=„×ˇ¾ćÞ
≥ fl¹₣š˝−=Eðˇ½ˇ₣ć¹ž³ž=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=×−¼=˚₣šÐ=ŠžýÐ−¼¹łž¦š˝=³½−=

Âýš¹−ÝşłÐ−I=ðˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=š×ˇ¾ćÞF=ðÝ×K
≥ Í×−¹š˝½š=ˇðşýž=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½žÞ=š×ÐÝ−ł¸=×¹−½Ć×ğÞ=łÐˇ=Þˇ=³¼Þ¦˚³š½š=

˚Þˇ=ý¸Þ¼ýˇK=·Ðˇ=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=₣¹¸³ž=½ž²=š×ÐÝ−ł¸²I=Šš˝½š=?ı¹¸³ž=
Ó¹−½Ć×ğÞ?=³½ž=³šÝ˝Šˇ RTK

„×Ð³ĆÞˇĞž=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
NK Ò½−=Ł¸ýˇ=P=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTI=š×ÐÝ˚þ½š=ˇ×ş=

?„ÐðşÞˇ?I=?◊₣−²?=¸=?‡˝Þ½š−?K
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OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
„˙Þ=¦˚Ýš½š=Þˇ=½¹ˇŁ¸þš½š=Þ˚š²=¾ğ½−ł¹ˇ¾˝š²I=Þˇ=ž₣−ł¹ˇ¾¸³š½š=¸₣−¼²=¸=Þˇ=
ł¹˙Ğš½š=îáÇÉç=ÅäáéëI=š×ÐÝ˚þ½š=?È¸Ğž=Ùğ½−ł¹ˇ¾˝ˇ²?I=?Â₣−ł¹˙¾ž³ž?=̧ =?„łł¹ˇ¾¸=
sáÇÉç?K
≥ E·Ðˇ=¾ğ½−ł¹ˇ¾˝š²F

·Ðˇ=½žÞ=š×Ð³ĆÞˇĞž=¾ğ½−ł¹ˇ¾ÐćÞI=š×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸=ˇÝÝˇł¸²=
ýšł˚¦−¼²I=ˇ¾−Ć=½−=ý˚łÐ³½−=ý˚łš¦−²=šÞş²=ýžÞĆýˇ½−²=šþˇ¹½˙½ˇÐ=ˇ×ş=½−Þ=
×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

≥ E·Ðˇ=¸₣−¼²F
·Ðˇ=½žÞ=š×Ð³ĆÞˇĞž=¸₣ğÞI=š×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸=¾−¹ý˙I=ˇ¾−Ć=½−=
ý˚łÐ³½−=ý˚łš¦−²=šÞş²=ýžÞĆýˇ½−²=šþˇ¹½˙½ˇÐ=ˇ×ş=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

„×Ð³ĆÞˇĞž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
NK Ò½−=Ł¸ýˇ=P=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTI=š×ÐÝ˚þ½š=

?„×Ð³ĆÞˇĞž=³¼Þ˙Þ½ž³ž²?K
OK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=×−¼=×š¹ÐÝˇýŁ˙ÞšÐ=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=

×−¼=¦˚Ýš½š=Þˇ=š×Ð³¼Þ˙Ğš½šK
PK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=×−¼=š×Ð¦¼ýš˝½šK
Ó¹−³¦¸ðž=ÓÝž¹−¾−¹ÐćÞ=ˇ×ş=ý˝ˇ=Ëˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=„×ˇ¾ćÞ
NK Ò½−=Ł¸ýˇ=P=½ž²=×ˇ¹ˇł¹˙¾−¼=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTI=

š×ÐÝ˚þ½š=?„×Ð³ĆÞˇĞž=š×ˇ¾¸²?K
OK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

„˙Þ=¦˚Ýš½š=Þˇ=š×ÐÝ˚þš½š=½ž=ŠÐð¸=³ˇ²=ðˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=„×ˇ¾ćÞI=š×ÐÝ˚þ½š=
?Ò½−Ð₣K=„×ˇ¾K=Í−¼?K

PK „×ÐÝ˚þ½š=½−=×šŠ˝−=×−¼=š×Ð¦¼ýš˝½šK
„Ð³˙łš½ˇÐ=ž=š×ÐÝšłý˚Þž=×Ýž¹−¾−¹˝ˇK
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Ó¹−³¦¸ðž=šÞş²=päáÇÉ=pÜçï
NK Ò½−=Ł¸ýˇ=O=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTI=š×ÐÝ˚þ½š=

?„×ÐÝ−ł˚²?=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦¸ðž=‚Ðˇ¾˙ÞšÐˇ²?K
„˙Þ=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=×š¹Ð³³ş½š¹ˇ=ëäáÇÉëI=š×ÐÝ˚þ½š=?Ó¹−³¦¸ðž=ŠÐˇ¾˙ÞšÐˇ²=
×¹ÐÞ?=¸=?Ó¹−³¦¸ðž=ŠÐˇ¾˙ÞšÐˇ²=ýš½˙?K

OK „Ð³˙łš½š=½−=ý¸Þ¼ýˇK
„˙Þ=¦˚Ýš½š=Þˇ=−¹˝³½š=½ž=ŠÐ˙¹ðšÐˇ=ð˙¦š=ëäáÇÉI=×Ð˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=
?‚Ð˙¹ðšÐˇ=päáÇÉ?I=³½ž=³¼Þ˚₣šÐˇ=š×ÐÝ˚þ½š=½ž=ŠÐ˙¹ðšÐˇ=×−¼=š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ýžÞĆýˇ½ˇ=ýšł˚¦−¼²=˚ğ²=ðˇÐ=PMM=h_K=Ë˙¦š=ëäáÇÉ=

ý×−¹š˝=Þˇ=×š¹Ð˚₣šÐ=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ=¸LðˇÐ=˚Þˇ=ˇ¹₣š˝−=¸₣−¼=¸=îáÇÉç=ÅäáéK

Íš½ˇð˝Þž³ž=¸=fl¾ˇ˝¹š³ž=Ò¼Þžýý˚ÞğÞ
NK Ò½−=Ł¸ýˇ=P=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTI=×Ð˚³½š=x„×ÐÝ−ł˚²z=

ðˇÐ=š×ÐÝ˚þ½š=½žÞ=ˇÞ½˝³½−Ð₣ž=š×ÐÝ−ł¸=ˇ¾ˇ˝¹š³ž²=łÐˇ=ð˙¦š=³¼Þžýý˚Þ−K

fl×−³½−Ý¸=ÍžÞĆýˇ½−²=ˇ×ş=½ˇ=Ó¹ş₣šÐ¹ˇ
A=→=?Ó¹ş₣šÐ¹ˇ?
NK „×ÐÝ˚þ½š=½žÞ=ðˇ¹½˚Ýˇ=×−¼=¦˚Ýš½šI=pjpLjjp=¸=bJã~áäK

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ=C=fl×−³½−Ý¸?K

PK Ú¹−×−×−Ð¸³½š=½−=ý¸Þ¼ýˇI=š˙Þ=₣¹šÐ˙Žš½ˇÐK

QK „×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

RK Íˇ¹ð˙¹š½š=½žÞ=?fl×−³½−Ý¸?I=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= =łÐˇ=Þˇ=³½š˝Ýš½šK
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flÞ˙łÞğ³ž=jjp
Úˇ=ýžÞĆýˇ½ˇ=×−¼=ÝˇýŁ˙Þš½š=ˇ×−¦žðšĆ−Þ½ˇÐ=³½ˇ=„Ð³š¹₣şýšÞˇK

Ó¹−Ł−Ý¸=ÍžÞ¼ý˙½ğÞ=×¹ÐÞ=½ž=È¸Ğž
⁄½ˇÞ=ÝˇýŁ˙Þš½š=̊ Þˇ=šÐ³š¹₣şýšÞ−=ý¸Þ¼ýˇI=³½žÞ=−¦şÞž=½−¼=½žÝš¾ćÞ−¼=šý¾ˇÞ˝Žš½ˇÐ=
ž=˚ÞŠšÐþž=jjp=E FK
A=→=?„Ð³š¹₣şýšÞˇ?
NK „×ÐÝ˚þ½š=½žÞ=šÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=Šš˝½šK

Ò¼ýŁ−¼Ý¸
≥ Â=̊ Þ½ˇ³ž=šþˇ¹½˙½ˇÐ=̌ ×ş=½Ð²=¹¼¦ý˝³šÐ²=½ž²=÷Þ½ˇ³ž²=„¾ˇ¹ý−ł¸²=E³šÝK NQSFK=Ì=̧ ₣−²=

ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=ş½ˇÞ=ž=?÷Þ½ˇ³ž=„¾ˇ¹ý−ł¸²?=¹¼¦ýÐ³½š˝=³š=?ÒÐğ×žÝş?K

fl×−¦¸ðš¼³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=šÞş²=fl×−³½−Ý˚ˇ=³½ž=È˝³½ˇ=„×ˇ¾ćÞ
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=ˇ×ş=½−=−×−˝−=¦˚Ýš½š=Þˇ=ˇ×−¦žðšĆ³š½š=½−Þ=ˇ¹Ð¦ýş=

½žÝš¾ćÞ−¼=¸=½ž=ŠÐšĆ¦¼Þ³ž=ÉJã~áäK

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?fl×−¦¸ðK=ŠÐšĆ¦¼Þ³ž²?K
„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=Þ˚ˇ²=ðˇ½ˇ₣ć¹ž³ž²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=×−¼=×š¹ÐÝˇýŁ˙ÞšÐ=
½−Þ=½žÝš¾ğÞÐðş=ˇ¹Ð¦ýşK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=ýÐˇ=Þ˚ˇ=
ðˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=„×ˇ¾ćÞI=Šš˝½š=?Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²?=³½ž=³šÝ˝Šˇ SNK

ËÝ¸³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=šÞş²=fl×−³½−Ý˚ˇ=×−¼=Óš¹Ð˚₣š½ˇÐ=³š=˚Þˇ=Í¸Þ¼ýˇ
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=×−¼=×š¹ÐÝˇýŁ˙ÞšÐ=½−Þ=½žÝš¾ğÞÐðş=̌ ¹Ð¦ýş=×−¼=¦˚Ýš½š=Þˇ=

ðˇÝ˚³š½šK

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?ËÝ¸³ž=š×ˇ¾ćÞ?K
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È¸Ğž=šÞş²=Í−ÞˇŠÐð−Ć=jjp
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½žÞ=šÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=E F=×−¼=¦˚Ýš½š=Þˇ=?ðˇ½šŁ˙³š½š?K

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?Ùş¹½ğ³ž?K
Â=Ý¸Ğž=þšðÐÞ˙=ðˇÐ=ž=˚ÞŠšÐþž=ýš½ˇ½¹˚×š½ˇÐ=³š= K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=?ðˇ½šŁ˙³š½š?=×š¹Ð³³ş½š¹ˇ=ýžÞĆýˇ½ˇ=½ˇ¼½ş₣¹−ÞˇK=‚š˝½š=½žÞ=

š×şýšÞž=šÞş½ž½ˇK

È¸Ğž=Ó−ÝÝˇ×ÝćÞ=jjp
A=→=?„Ð³š¹₣şýšÞˇ?
NK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²?K

OK „×ÐÝ˚þ½š=?Ó−ÝÝˇ×Ý¸=š×ÐÝ−ł¸?K

PK „×ÐÝ˚þ½š=½žÞ=šÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=×−¼=š×Ð¦¼ýš˝½š=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½žÞ=
š×ÐÝ−ł¸=?„×ÐÝ−ł¸Lfl×−š×ÐÝ−ł¸?=¸=?„×ÐÝ−ł¸=⁄ÝğÞ?K

QK „×ÐÝ˚þ½š=?Ùş¹½ğ³ž?K
Úˇ=š×ÐÝšłý˚Þˇ=ýžÞĆýˇ½ˇ=ÝˇýŁ˙Þ−Þ½ˇÐ=½ˇ¼½ş₣¹−ÞˇK

fl×˙Þ½ž³ž=³š=˚Þˇ=Í¸Þ¼ýˇ=¸=³š=⁄Ýš²=½Ð²=‚Ðš¼¦ĆÞ³šÐ²
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=½−¼=ˇ×−³½−Ý˚ˇ=³½−Þ=−×−˝−=¦˚Ýš½š=Þˇ=ˇ×ˇÞ½¸³š½šK

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?fl×˙Þ½ž³ž?=¸=?fl×˙Þ½ž³ž=⁄ÝğÞ?K

PK „Ð³˙łš½š=½−=ý¸Þ¼ýˇK

QK ÓÐ˚³½š=?fl×−³½−Ý¸?K

RK Íˇ¹ð˙¹š½š=½žÞ=?fl×−³½−Ý¸?I=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= =łÐˇ=Þˇ=³½š˝Ýš½šK
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Ó¹−ć¦ž³ž=šÞş²=ÍžÞĆýˇ½−²
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=×−¼=¦˚Ýš½š=Þˇ=×¹−ğ¦¸³š½šK

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−ć¦ž³ž?K

PK flð−Ý−¼¦¸³½š=½ˇ=Ł¸ýˇ½ˇ=O=˚ğ²=V=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ UTK

fl×−ýˇð¹¼³ý˚Þž=Ó¹−ć¦ž³ž
Í×−¹š˝½š=Þˇ=ýš½ˇ¾˚¹š½š=½ˇ=ýžÞĆýˇ½ˇ=ÉJã~áä=×−¼=š˝ÞˇÐ=ˇ×−¦žðš¼ý˚Þˇ=³½−=
ŠÐˇð−ýÐ³½¸=ÉJã~áä=×¹−²=˙ÝÝ−¼²=×ˇ¹ˇÝ¸×½š²K

A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½žÞ=šÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=E F=×−¼=¦˚Ýš½š=Þˇ=ýš½ˇ¾˚¹š½šK

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−ć¦ž³ž?K

PK flð−Ý−¼¦¸³½š=½ˇ=Ł¸ýˇ½ˇ=O=˚ğ²=R=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ UTK
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ÚˇþÐÞşýž³ž=ÍžÞ¼ý˙½ğÞ=³½ž=È˝³½ˇ
A=→=?„Ð³š¹₣şýšÞˇ?
NK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²?K

OK „×ÐÝ˚þ½š=?ÚˇþÐÞşýž³ž?K

PK „×ÐÝ˚þ½š=½−Þ=½Ć×−=½ˇþÐÞşýž³ž²=×−¼=š×Ð¦¼ýš˝½šK

ËÝš˝Šğýˇ=ðˇÐ=ÏšðÝš˝Šğýˇ=½ğÞ=ÍžÞ¼ý˙½ğÞ
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=×−¼=¦˚Ýš½š=Þˇ=ðÝšÐŠć³š½š=¸=Þˇ=þšðÝšÐŠć³š½šK

OK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²?K

PK „×ÐÝ˚þ½š=?ËÝš˝ŠğýˇLÏšðÝš˝Šğýˇ?K
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„ð×−ý×¸=Ë¼Ğ˚Ýž²
Í×−¹š˝½š=Þˇ=Ý˙Łš½š=ýžÞĆýˇ½ˇ=šð×−ý×¸²=ð¼Ğ˚Ýž²=¸=łšÞÐð˙=ýžÞĆýˇ½ˇ=ş×ğ²=ŠšÝ½˝ˇ=
×¹şłÞğ³ž²=ðˇÐ¹−Ć=¸=ŠšÝ½˝ˇ=ð¼ðÝ−¾−¹˝ˇ²K=fl¼½˚²=−Ð=×Ýž¹−¾−¹˝š²=ýš½ˇŠ˝Š−Þ½ˇÐ=³š=
³¼ÞŠ¹−ýž½˚²=³¼łðšð¹Ðý˚ÞğÞ=×š¹Ð−₣ćÞ=½−¼=ŠÐð½Ć−¼K

Â=ÝšÐ½−¼¹ł˝ˇ=ˇ¼½¸=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=Š˝ð½¼ˇ=ðÐÞž½¸²=
½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
ŠÐð½Ć−¼K

„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=„ð×−ý×¸²=Ë¼Ğ˚Ýž²
?ÍžÞĆýˇ½ˇ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²? →=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

flÞ˙łÞğ³ž=ÍžÞ¼ý˙½ğÞ=„ð×−ý×¸²=Ë¼Ğ˚Ýž²
?ÍžÞĆýˇ½ˇ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²? →=?flÞ˙łÞğ³ž=ÍžÞ¼ýK?
NK „×ÐÝ˚þ½š=½−=ˇÞ½Ððš˝ýšÞ−=×−¼=š×Ð¦¼ýš˝½šK

OK Íš½ˇðÐÞž¦š˝½š=³½žÞ=−¦şÞž=łÐˇ=Þˇ=ŠÐˇŁ˙³š½š=½−=ý¸Þ¼ýˇK

PK ÓÐ˚³½š=xÓ˝³ğzK

Ô¼¦ý˝³šÐ²=·Ýğ³³ćÞ
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½ž=łÝć³³ˇ=³½žÞ=−×−˝ˇ=×¹−½Ðý˙½š=Þˇ=šý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=
ýžÞĆýˇ½ˇ=šð×−ý×¸²=ð¼Ğ˚Ýž²K

?ÍžÞĆýˇ½ˇ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²? →=?Ô¼¦ý˝³šÐ²?=→=?·Ýć³³ˇ?
„ý¾ˇÞ˝Žš½ˇÐ=ž=½¹˚₣−¼³ˇ=łÝć³³ˇK

NK ÓÐ˚³½š= K
„ý¾ˇÞ˝Žš½ˇÐ=ž=Ý˝³½ˇ=łÝğ³³ćÞK

=Ej=QJNMF
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OK „×ÐÝ˚þ½š=½ž=łÝć³³ˇ=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=xfl×−¦¸ðKzK

„łł¹ˇ¾¸=³½žÞ=Û×ž¹š³˝ˇ=„ð×−ý×¸²=Ë¼Ğ˚Ýž²
„×ÐÝ˚þ½š=½ž=³šÝ˝Šˇ=ˇ×ş=½−=ý¸Þ¼ýˇ=šð×−ý×¸²=ð¼Ğ˚Ýž²=×−¼=¦˚Ýš½šK

?ÍžÞĆýˇ½ˇ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²? →=?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ÊšýK=ÓÝž¹K? → 
x„×ÐÝ−ł˚²z
NK „×ÐÝ˚þ½š=?Ó¹−³¦KLfl¾ˇ˝¹š³ž?K
OK „×ÐÝ˚þ½š=½ž=³šÝ˝Šˇ=×−¼=š×Ð¦¼ýš˝½šK
PK ÓÐ˚³½š=xÓ˝³ğzK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=ž=³šÝ˝Šˇ=×−¼=š×Ð¦¼ýš˝½š=ŠšÞ=×š¹ÐÝˇýŁ˙Þš½ˇÐ=³½ž=Ý˝³½ˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½−=
Ł¸ýˇ=OI=š×ÐÝ˚þ½š=?‚žýÐ−¼¹łK=Ê˚ýK?=³½−=Ł¸ýˇ=N=ðˇÐI=³½ž=³¼Þ˚₣šÐˇI=šÐ³ˇł˙łš½š=½−Þ=
ðğŠÐðş=¦˚ýˇ½−²=łÐˇ=Þˇ=×¹−³½š¦š˝=ž=³šÝ˝ŠˇK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=
³₣š½Ðð˙=ýš=½−Þ=ðğŠÐðş=¦˚ýˇ½−²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK
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ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²
Â=ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²=š˝ÞˇÐ=˚Þˇ=ý¸Þ¼ýˇ=×−¼=³½˚ÝÞ−¼Þ=−Ð=¾−¹š˝²=ŠÐð½ĆğÞ=³½−¼²=
³¼ÞŠ¹−ýž½˚²=ý˝ˇ²=³¼łðšð¹Ðý˚Þž²=×š¹Ð−₣¸²K
⁄½ˇÞ=ÝˇýŁ˙Þš½š=ý˝ˇ=ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²I=½−=ý¸Þ¼ýˇ=EðğŠÐðş²=×š¹Ð−₣¸²F=
šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

Òžýš˝ğ³ž
≥ Â=ÝšÐ½−¼¹ł˝ˇ=ˇ¼½¸=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=Š˝ð½¼ˇ=ðÐÞž½¸²=

½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
ŠÐð½Ć−¼K

„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=ÓÝž¹−¾−¹˝ˇ²=Ë¼Ğ˚Ýž²
?ÍžÞĆýˇ½ˇ?=→=?ÓÝž¹K=Ë¼Ğ˚Ýž²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K
Òžýš˝ğ³ž
≥ „˙Þ=ž=ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²=˚₣šÐ=¹¼¦ýÐ³½š˝=³½−=?„Þš¹łş?I=¦ˇ=ýšÐğ¦š˝=−=₣¹şÞ−²=

ˇÞˇý−Þ¸²=½ž²=ý×ˇ½ˇ¹˝ˇ²K

=Ej=QJNNF
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ÔĆ¦ýÐ³ž=½ğÞ=jjpLpjpLbã~áä
·šÞÐð˚²=Ô¼¦ý˝³šÐ²
?ÍžÞĆýˇ½ˇ?=→=?Ô¼¦ý˝³šÐ²?=→=?·šÞÐð˚²=Ô¼¦ý˝³šÐ²?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?È¸Ğž=ˇ×ş=½−=³×˝½Ð?=E?Ó˙Þ½−½š=Ý¸Ğž?I=?Ó˙Þ½ˇ=ˇÞˇŁ−Ý¸?FW
Ô¼¦ý˝ŽšÐ=½−=₣¹şÞ−=Ý¸Ğž²=½ğÞ=ýžÞ¼ý˙½ğÞ=³½žÞ=×š¹Ð−₣¸=½−¼=−Ððš˝−¼=³ˇ²=
ŠÐð½Ć−¼K
?Ó˙Þ½−½š=Ý¸Ğž?W= ¿ýš³ž=Ý¸Ğž=ýžÞ¼ý˙½ğÞ=ˇ×ş=½−=ŠÐˇð−ýÐ³½¸K

?Ó˙Þ½ˇ=ˇÞˇŁ−Ý¸?W flÞˇŁ˙ÝÝšÐ=½ž=Ý¸Ğž=½ğÞ=ýžÞ¼ý˙½ğÞK

≥ ?È¸Ğž=×š¹Ðˇłğł¸²K?=E?Ó˙Þ½−½š=Ý¸Ğž?I=?Ó˙Þ½ˇ=ˇÞˇŁ−Ý¸?FW
Ô¼¦ý˝ŽšÐ=½−=₣¹şÞ−=Ý¸Ğž²=½ğÞ=ýžÞ¼ý˙½ğÞ=ş½ˇÞ=Ł¹˝³ðš³½š=³š=×š¹Ðˇłğł¸=šð½ş²=
½−¼=−Ððš˝−¼=ŠÐð½Ć−¼=³ˇ²K
?Ó˙Þ½−½š=Ý¸Ğž?W= ¿ýš³ž=Ý¸Ğž=ýžÞ¼ý˙½ğÞ=ˇ×ş=½−=ŠÐˇð−ýÐ³½¸K

?„×ˇÞ˙ÝžĞž=ˇÞˇ¾−¹˙²=š×Ð½¹˚×š½ˇÐ?W
flÞˇŁ˙ÝÝšÐ=½ž=Ý¸Ğž=½ğÞ=ýžÞ¼ý˙½ğÞK

≥ ?flÞˇ¾−¹˙=×ˇ¹˙Š−³ž²?W
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=flÞˇ¾−¹˙=Óˇ¹˙Š−³ž²K

≥ ?flÞˇ¾−¹˙=flÞ˙łÞğ³ž²?W
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=flÞˇ¾−¹˙=flÞ˙łÞğ³ž²K

≥ ?›¹ˇ=È¸þž²?W
Û×−ŠžÝćÞšÐ=½Ð²=žý˚¹š²=ðˇÐ=ć¹š²=×−¼=ý×−¹š˝=Þˇ=×ˇ¹ˇýš˝ÞšÐ=˚Þˇ=ý¸Þ¼ýˇ=×−¼=
³½˚ÝÞš½š=³½−=ð˚Þ½¹−=ýžÞ¼ý˙½ğÞ=₣ğ¹˝²=Þˇ=×ˇ¹ˇŠ−¦š˝=³½−Þ=×ˇ¹ˇÝ¸×½žK=Ëˇ½˙=
½ž=ŠÐ˙¹ðšÐˇ=ˇ¼½¸²=½ž²=×š¹ÐşŠ−¼I=½−=ð˚Þ½¹−=ýžÞ¼ý˙½ğÞ=¦ˇ=×¹−³×ˇ¦š˝=
³¼Þš₣ć²=Þˇ=×ˇ¹ˇŠć³šÐ=³½−Þ=×ˇ¹ˇÝ¸×½ž=½−=ý¸Þ¼ýˇK

„×ÐÝ˚þ½š=½žÞ=×š¹˝−Š−=Ð³₣Ć−²K

=Ej=QJNOF
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≥ ?„×ˇÞ˙ÝžĞž=ˇÞˇ¾−¹˙²=š×Ð½¹˚×š½ˇÐ?W
„Þš¹ł−×−Ðš˝=̧ =̌ ×šÞš¹ł−×−Ðš˝=½žÞ=„×ˇÞ˙ÝžĞž=̌ Þˇ¾−¹˙²K=„×Ð½¹˚×š½ˇÐ=ðˇ½˙=½ž=
Ý¸Ğž=šÞş²=ýžÞĆýˇ½−²I=½−=−×−˝−=ˇ¾−¹˙=³½ž=ÝšÐ½−¼¹ł˝ˇ=flÞˇ¾−¹˙²=
Óˇ¹˙Š−³ž²K=

≥ ?fl¼½şýˇ½ž=‚Ðˇł¹ˇ¾¸?=E?ËˇÞ˚Þˇ?I=?„Ð³š¹₣şýšÞˇ?I=?Ò½ˇÝý˚Þˇ?I=?ËˇÐ=½ˇ=ŠĆ−?FW
‚Ðˇł¹˙¾šÐ=ˇ¼½şýˇ½ˇ=½ˇ=×Ð−=×ˇÝÐ˙=ýžÞĆýˇ½ˇ=ˇ×ş=½−¼²=¾ˇð˚Ý−¼²=
?„Ð³š¹₣şýšÞˇ?I=?Ò½ˇÝý˚Þˇ?=̧ =?ËˇÐ=½ˇ=ŠĆ−?=E„Ð³š¹₣şýšÞˇ=ðˇÐ=Ò½ˇÝý˚ÞˇFI=ş½ˇÞ=
ˇ¼½−˝=łšý˝³−¼ÞK

≥ ?Û×−ł¹ˇ¾¸?W
flÞ−˝łšÐ=½žÞ=−¦şÞž=šÐ³ˇłğł¸²=½ž²=¼×−ł¹ˇ¾¸²K

≥ ?Á³½−¹Ððş=fl×˙Þ½ž³ž²?=E?ÎˇÐ?I=?⁄₣Ð?FW
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½−=š˙Þ=½−=ý¸Þ¼ýˇ=¦ˇ=×¹−³½š¦š˝=³½−=ý¸Þ¼ýˇ=
ˇ×˙Þ½ž³¸²=³ˇ²=¸=ş₣ÐK

Ô¼¦ý˝³šÐ²=pjp
?ÍžÞĆýˇ½ˇ?=→=?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=pjp?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?Ë˚Þ½¹−=ýžÞ¼ý˙½ğÞ?W
„Ð³ˇł˙łš½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=½−¼=ð˚Þ½¹−¼K
„˙Þ=¦˚Ýš½š=Þˇ=šÐ³ˇł˙łš½š=˚ÞˇÞ=ðğŠÐðş=₣ć¹ˇ²=łÐˇ=½žÞ=ˇ×−³½−Ý¸=šÞş²=
ýžÞĆýˇ½−²=³š=̊ ÞˇÞ=ŠÐš¦Þ¸=̌ ¹Ð¦ýş=½žÝš¾ćÞ−¼I=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=
½−=Q=ý˚₣¹Ð=Þˇ=šý¾ˇÞÐ³½š˝=½−=³ĆýŁ−Ý−=HK

≥ ?‚ÐˇŠ¹−ý¸=ˇ×˙Þ½ž³ž²?W
fl×−Š˚₣š½ˇÐ=¸=ˇ×−¹¹˝×½šÐ=½žÞ=š×ÐÝ−ł¸=ž=ŠÐˇŠ¹−ý¸=ˇ×˙Þ½ž³ž²=Þˇ=š˝ÞˇÐ=˝ŠÐˇ=ýš=
½ž=ŠÐˇŠ¹−ý¸=ˇ×−³½−Ý¸²I=ş½ˇÞ=ÝˇýŁ˙Þš½š=½−=ý¸Þ¼ýˇ=ˇ×˙Þ½ž³ž²=łÐˇ=½−=
ý¸Þ¼ý˙=³ˇ²K
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≥ ?Í−¹¾¸?W
„×ÐÝ˚þ½š=½ž=ý−¹¾¸=ýžÞĆýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ş½ˇÞ=
ŠžýÐ−¼¹łš˝½š=˚Þˇ=Þ˚−=ý¸Þ¼ýˇK

≥ ?‡šÝ½Ð³½−×−˝ž³ž?W
⁄½ˇÞ=¹¼¦ýÐ³½š˝=³š=?„Þš¹łş?=E×¹−š×ÐÝ−ł¸FI=−Ð=₣ˇ¹ˇð½¸¹š²=ŠÐ×Ý−Ć=ÄóíÉI=ş×ğ²=
š˝ÞˇÐ=−Ð=š¼¹ğ×ˇİð−˝=₣ˇ¹ˇð½¸¹š²=ýš=½şÞ−I=ýš½ˇ½¹˚×−Þ½ˇÐ=³š=₣ˇ¹ˇð½¸¹š²=
ý−Þ−Ć=ÄóíÉ=ðˇÐ=ˇ×−³½˚ÝÝ−Þ½ˇÐK
⁄½ˇÞ=¹¼¦ýÐ³½š˝=³š=?Íž=šÞš¹łş?I=−Ð=₣ˇ¹ˇð½¸¹š²=ŠÐ×Ý−Ć=ÄóíÉ=ˇ×−³½˚ÝÝ−Þ½ˇÐ=
³½ž=ý−¹¾¸=×−¼=šý¾ˇÞ˝Ž−Þ½ˇÐK
Óˇ¹ˇðˇÝ−ĆýšI=³žýšÐć³½š=ş½Ð=šÞŠ˚₣š½ˇÐ=Þˇ=₣¹šğ¦š˝½š=ŠÐ×Ý˙=łÐˇ=½−¼²=
₣ˇ¹ˇð½¸¹š²=ŠÐ×Ý−Ć=ÄóíÉ=³š=˚Þˇ=pjp=ş½ˇÞ=˚₣š½š=¹¼¦ý˝³šÐ=½ž=‡šÝ½Ð³½−×−˝ž³ž=
³š=?Íž=šÞš¹łş?K
„×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ô¼¦ý˝³šÐ²=jjp
?ÍžÞĆýˇ½ˇ?=→=?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=jjp?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?‚Ð˙¹ðšÐˇ=ëäáÇÉ?W
Ì¹˝ŽšÐ=½ž=ŠÐ˙¹ðšÐˇ=½−¼=ëäáÇÉK

≥ ?Í˚łÐ³½−=ý˚łš¦−²=ýžÞĆýK?W
Ì¹˝ŽšÐ=½−=ý˚łÐ³½−=ý˚łš¦−²=ýžÞ¼ý˙½ğÞ=×−¼=¦ˇ=Ýž¾¦−ĆÞK

≥ ?ÈšÐ½−¼¹ł˝ˇ=ŠžýÐ−¼¹ł˝ˇ²?=E?„ÝšĆ¦K?I=?Óš¹Ð−¹Ð³ý˚Þ−?FW
⁄½ˇÞ=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þ−=³š=?„ÝšĆ¦K?I=ý×−¹š˝½š=Þˇ=š×Ð³¼Þ˙Ğš½š=³½−=ý¸Þ¼ýˇ=
ˇ¹₣š˝ˇ=−×−Ð−¼Š¸×−½š=¾−¹ý˙K=⁄½ˇÞ=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þ−=³š=?Óš¹Ð−¹Ð³ý˚Þ−?I=
ý×−¹š˝½š=Þˇ=š×Ð³¼Þ˙Ğš½š=ˇ¹₣š˝ˇ=ýşÞ−=³¼łðšð¹Ðý˚ÞğÞ=¾−¹ý˙K
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ÍžÞĆýˇ½ˇ

Ô¼¦ý˝³šÐ²=bã~áä
?ÍžÞĆýˇ½ˇ?=→=?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=bã~áä?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?‚Ð˙³½žýˇ=Ý¸Ğž²?W
Ô¼¦ý˝ŽšÐ=½−=ŠÐ˙³½žýˇ=ýš½ˇþĆ=½ğÞ=éçääáåÖ=E×¹ş³ðÝž³ž=łÐˇ=ýš½˙Š−³žFK

≥ ?Í˚łÐ³½−=ý˚łš¦−²=ýžÞĆýK?W
Ì¹˝ŽšÐ=½−=ý˚łÐ³½−=ý˚łš¦−²=ýžÞ¼ý˙½ğÞ=×−¼=¦ˇ=Ýž¾¦−ĆÞK
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sçÇ~ÑçåÉ=äáîÉ>=Ej=OF

Ú−=½žÝ˚¾ğÞş=³ˇ²=˚₣šÐ=¸Šž=×¹−³ˇ¹ý−³½š˝=ðˇ½˙ÝÝžÝˇ=łÐˇ=½žÞ=×¹ş³Łˇ³ž=³½žÞ=
¼×ž¹š³˝ˇ=sçÇ~ÑçåÉ=äáîÉ>=ðˇÐ=½−=ãçÄáäÉ=áåíÉêåÉíGK

Ú−=sçÇ~ÑçåÉ=äáîÉ>=š˝ÞˇÐ=ý˝ˇ=Þ˚ˇ=×ĆÝž=½−¼=ãçÄáäÉ=áåíÉêåÉí=×−¼=³ˇ²=šÐ³˙łšÐ=³š=̊ ÞˇÞ=Þ˚−=
ðş³ý−=½ž²=×Ýž¹−¾−¹˝ˇ²I=½ğÞ=×ˇÐ₣ÞÐŠÐćÞI=½ž²=ý−¼³Ðð¸²=ðˇÐ=½ğÞ=¼×ž¹š³ÐćÞK

„×šÐŠ¸=½−=½žÝ˚¾ğÞş=³ˇ²=₣¹ž³Ðý−×−Ðš˝=½−=PdI=˚₣šÐ=˚Þˇ=³Ć³½žýˇ=½−=−×−˝−=š˝ÞˇÐ=×−ÝĆ=
×Ð−=ł¹¸ł−¹−=ˇ×ş=×¹−žł−ĆýšÞ−¼²=½¹ş×−¼²=Ý¸Ğž²=×Ýž¹−¾−¹ÐćÞ=ý˚³ğ=ðÐÞž½−ĆK=
„×˝³ž²I=ž=³ĆÞŠš³ž=š˝ÞˇÐ=D×˙Þ½−½š=šÞš¹ł¸D=łšł−Þş²=×−¼=³žýˇ˝ÞšÐ=ş½Ð=ŠšÞ=₣¹šÐ˙Žš½ˇÐ=
×Ý˚−Þ=Þˇ=×š¹Ðý˚Þš½š=łÐˇ=½žÞ=ðÝ¸³ž=³ĆÞŠš³ž²K=ı¹šćÞš³½š=ýşÞ−Þ=łÐˇ=½ˇ=ŠšŠ−ý˚Þˇ=
×−¼=ÝˇýŁ˙Þš½š=¸=³½˚ÝÞš½š=ðˇÐ=ş₣Ð=łÐˇ=ş³ž=ć¹ˇ=×ˇ¹ˇý˚Þš½š=³¼ÞŠšŠšý˚Þ−ÐK

G „˙Þ=̌ Þ½Ðýš½ğ×˝Žš½š=×¹−ŁÝ¸ýˇ½ˇ=ýš=½ž=³ĆÞŠš³¸=³ˇ²=×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=
ýš=½žÞ=Û×−³½¸¹Ðþž=ÓšÝˇ½ćÞ=½ž²=sçÇ~ÑçåÉK

Ú−=½žÝ˚¾ğÞş=³ˇ²=ŠÐˇ¦˚½šÐ=˚ÞˇÞ=t^m=ÄêçïëÉê=×−¼=₣¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½−=
³š¹¾˙¹Ð³ýˇ=³½−=jçÄáäÉ=fåíÉêåÉíI=ˇ×ş=ş×−¼=ý×−¹š˝½š=Þˇ=ˇ×−ð½¸³š½š=₣¹¸³Ðýš²=
×Ýž¹−¾−¹˝š²K=ÌÐ=³šÝ˝Šš²=̊ ₣−¼Þ=³₣šŠÐˇ³½š˝=Þˇ=×¹−Ł˙ÝÝ−Þ½ˇÐ=ðˇÞ−ÞÐð˙=³š=̊ Þˇ=ðÐÞž½ş=
½žÝ˚¾ğÞ−K

Ú−=½žÝ˚¾ğÞş=³ˇ²=˚₣šÐ=¸Šž=¹¼¦ýÐ³½š˝=łÐˇ=½ž=³šÝ˝Šˇ=½ž²=sçÇ~ÑçåÉ=ýš=½Ð²=¹¼¦ý˝³šÐ²=
t^mLjjpK

Ó¹−³ˇ¹ý−ł¸=łÐˇ=½−
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sçÇ~ÑçåÉ=äáîÉ>

„ðð˝Þž³ž=½−¼=t^m=_êçïëÉê
NK ÓÐ˚³½š=C=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

÷þ−Š−²=ˇ×ş=½−Þ=t^m=_êçïëÉê
NK ÓÐ˚³½š=F=łÐˇ=Þˇ=½š¹ýˇ½˝³š½š=½−Þ=ÄêçïëÉêK

Óš¹Ð¸łž³ž=³š=ý˝ˇ=³šÝ˝Šˇ=t^m
≥ a=b=c=dW

Íš½ˇð˝Þž³ž=½ğÞ=ýˇ¹ðˇ¹Ð³ý˚ÞğÞ=³½−Ð₣š˝ğÞ=³½žÞ=−¦şÞžK

≥ W „ð½šÝš˝=½žÞ=š×ÐÝ−ł¸=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½ž=ý˚³ž=½ž²=ð˙½ğ=×Ýš¼¹˙²=½ž²=
−¦şÞž²K

≥ AW ÏšðÐÞ˙=½−=ýšÞ−Ć=š×ÐÝ−łćÞ=½−¼=ÄêçïëÉêK

≥ CW „×ÐÝ˚łšÐ=ý˝ˇ=šÞ˚¹łšÐˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ð˙½ğ=ŠšþÐ˙=×Ýš¼¹˙=½ž²=
−¦şÞž²K
ı¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½ž=³ĆÞŠš³ž=ýš=½−=?sçÇ~ÑçåÉ=äáîÉ>?=̌ Þ−˝ł−Þ½ˇ²=½−Þ=
ÄêçïëÉêK

≥ F E³½ÐłýÐˇ˝−=×˙½žýˇFW
÷þ−Š−²=ˇ×ş=½−Þ=ÄêçïëÉêK

E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW
fl×šÞš¹ł−×−Ðš˝=½−=½žÝ˚¾ğÞ−K
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sçÇ~ÑçåÉ=äáîÉ>

ÍšÞ−Ć=_êçïëÉê

·Ðˇ=Þˇ=„×šþš¹łˇ³½š˝½š=½ˇ=flłˇ×žý˚Þˇ
C →=x„×ÐÝ−ł˚²z=→=?ÒšÝÐŠ−Šš˝ð½š²?
NK „×ÐÝ˚þ½š=½žÞ=roi=×−¼=š×Ð¦¼ýš˝½š=ðˇÐ=×Ð˚³½š=x„×ÐÝ−ł˚²zK

Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=½ž=Ý˝³½ˇ=ýš=½−¼²=ÒšÝÐŠ−Šš˝ð½š²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=
½Ð²=šþ¸²=š×ÐÝ−ł˚²W
?„×ÐÝ−ł¸?W= „×ÐÝ˚þ½š=˚Þˇ=³šÝÐŠ−Šš˝ð½žK
?Èš×½−ý˚¹šÐš²?W „ý¾ˇÞ˝ŽšÐ=ˇÞˇÝ¼½Ðð˚²=×Ýž¹−¾−¹˝š²=łÐˇ=½ž=³šÝ˝Šˇ=

t^mK
?fl×−³½K=ÒšÝ˝Šˇ²?W Ò½˚ÝÞšÐ=½ž=ŠÐšĆ¦¼Þ³ž=roi=³½−¼²=×ˇ¹ˇÝ¸×½š²K
?Î˚−?W ‚žýÐ−¼¹łš˝=Þ˚−¼²=¾ˇð˚Ý−¼²=¸=³šÝÐŠ−Šš˝ð½š²K
?Íš½−Þ−ýˇ³˝ˇ?W Íš½−Þ−ý˙ŽšÐ=³šÝÐŠ−Šš˝ð½š²K
?„×šþš¹łˇ³˝ˇ=roi?W „×šþš¹ł˙Žš½ˇÐ=½ž=ŠÐšĆ¦¼Þ³ž=roi=½−¼=³šÝÐŠ−Šš˝ð½žK
?Íš½ˇð˝Þž³ž?W Íš½ˇðÐÞš˝=½−¼²=ÒšÝÐŠ−Šš˝ð½š²=³š=ý˝ˇ=˙ÝÝž=

½−×−¦š³˝ˇK
?‚Ðˇł¹ˇ¾¸?W ‚Ðˇł¹˙¾šÐ=³šÝÐŠ−Šš˝ð½š²K
?‚Ðˇł¹ˇ¾¸=⁄ÝğÞ?W ‚Ðˇł¹˙¾šÐ=şÝ−¼²=½−¼²=³šÝÐŠ−Šš˝ð½š²K
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sçÇ~ÑçåÉ=äáîÉ>

ÌÐ=„×ÐÝ−ł˚²=½−¼=_êçïëÉê
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ŠÐ˙¾−¹š²=š×ÐÝ−ł˚²=łÐˇ=½−Þ=t^m=ÄêçïëÉêK

C=→=x„×ÐÝ−ł˚²z
?„×ÐÝ−ł¸?W= „×ÐÝ˚łšÐ=ý˝ˇ=³šÝ˝Šˇ=t^mK
?fl¹₣Ðð¸=ÒšÝ˝Šˇ?W Íš½˙Łˇ³ž=³½žÞ=ˇ¹₣Ðð¸=³šÝ˝ŠˇK
?ÒšÝÐŠ−Šš˝ð½š²?W =E‚š˝½š=³šÝ˝Šˇ NMTKF
?Ò¸ýˇÞ³ž=³šÝ˝Šˇ²?W Íˇ¹ð˙¹šÐ=½žÞ=š×ÐÝšłý˚Þž=³šÝ˝Šˇ=t^mK
?fl×−¦¸ðK=flÞ½ÐðšÐý˚ÞğÞ?W fl×−¦žðšĆšÐ=³½−Ð₣š˝ˇ=ˇ×ş=½Ð²=³šÝ˝Šš²=t^mK
?Íš½˙Łˇ³ž=³½ž=ŠÐšĆ¦¼Þ³ž=roi?W

Íš½ˇŁˇ˝ÞšÐ=³½ž=³šÝ˝Šˇ=t^m=łÐˇ=½žÞ=−×−˝ˇ=šÐ³˙łˇ½š=
½ž=ŠÐšĆ¦¼Þ³ž=roiK

?Ó¹ş³Łˇ³ž=³½−=Á³½−¹Ððş?W „ý¾ˇÞ˝ŽšÐ=½−=Ð³½−¹Ððş=½ğÞ=×š¹Ðžł¸³šğÞ=³ˇ²K
?Ó¹−ć¦ž³ž?W= Íš½ˇŁˇ˝ÞšÐ=³½žÞ=š×şýšÞž=³šÝ˝Šˇ=̌ ×ş=½Ð²=³šÝ˝Šš²=×−¼=

šý¾ˇÞ˝³½žðˇÞ=¸ŠžK
?Î˚ˇ=¾ş¹½ğ³ž=³šÝ˝Šˇ²?W flÞˇÞšćÞšÐ=½ž=³šÝ˝Šˇ=t^m=łÐˇ=½ž=Ý¸Ğž=Þ˚ğÞ=

×Ýž¹−¾−¹ÐćÞK
?„ÐŠÐð˚²?W „ý¾ˇÞ˝ŽšÐ=½ˇ=×¹−žłý˚Þˇ=ýšÞ−ĆK
?÷þ−Š−²?W ÷þ−Š−²=ˇ×ş=½−Þ=ÄêçïëÉêK

ÌÐ=Ó¹−žłý˚Þš²=„×ÐÝ−ł˚²
C=→=x„×ÐÝ−ł˚²z=→=?„ÐŠÐð˚²?

?Â=fl×−¦K=ÒšÝ˝Šˇ=Í−¼?W= „ý¾ˇÞ˝ŽšÐ=½Ð²=³šÝ˝Šš²=½ğÞ=³šÝÐŠ−ŠšÐð½ćÞK
?fl×−¦¸ðK=ÒšÝ˝Šˇ²?W fl×−¦žðšĆšÐ=½ž=³šÝ˝Šˇ=t^m=ğ²=½−×Ððş=ˇ¹₣š˝−K
?fl×−³½K=ÒšÝ˝Šˇ²W fl×−³½˚ÝÝšÐ=½ˇ=ŠšŠ−ý˚Þˇ=½ž²=³šÝ˝Šˇ²=t^mK
?Èš×½−ý˚¹šÐš²?W „ý¾ˇÞ˝ŽšÐ=ˇÞˇÝ¼½Ðð˚²=×Ýž¹−¾−¹˝š²=łÐˇ=½ž=³šÝ˝Šˇ=

t^mK
?‚šŠ−ý˚Þˇ=×¹−ł¹˙ýýˇ½−²=×š¹Ð¸łž³ž²?W

„×šþš¹łˇ³˝ˇ=½ğÞ=ŠšŠ−ý˚ÞğÞ=½−¼=ÄêçïëÉêK=Í×−¹š˝½š=
Þˇ=ŠÐˇł¹˙Ğš½š=½ž=ýÞ¸ýž=Å~ÅÜÉLÅççâáÉëLÐ³½−¹ÐðşK
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sçÇ~ÑçåÉ=äáîÉ>

?flÞˇŽ¸½K=½ž²=ÒšÝ˝Šˇ²?W flÞˇŽž½˙=³¼łðšð¹Ðý˚Þš²=Ý˚þšÐ²=³½ž=³šÝ˝Šˇ=t^mK
?„Ð³š¹₣şýK„ÐŠ−×−Ð¸³K?W „ý¾ˇÞ˝ŽšÐ=½Ð²=šÐŠ−×−Ð¸³šÐ²=t^m=mìëÜK
?flÞ½Ðł¹ˇ¾¸=ËšÐý˚Þ−¼?W flÞ½Ðł¹˙¾šÐ=½−=ðš˝ýšÞ−=½ž²=Ð³½−³šÝ˝Šˇ²K
?Ô¼¦ý˝³šÐ²?W „ý¾ˇÞ˝ŽšÐ=½ˇ=ýšÞ−Ć=¹¼¦ý˝³šğÞK
?„×ˇÞšð˝ÞK=Óš¹Ðžłž½¸?W „×ˇÞšððÐÞš˝=½−Þ=ÄêçïëÉêK
?Óš¹˝?W „ý¾ˇÞ˝ŽšÐ=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½−Þ=ÄêçïëÉêK

Ô¼¦ý˝³šÐ²=_êçïëÉê
C=→=x„×ÐÝ−ł˚²z=→=?„ÐŠÐð˚²?=→=?Ô¼¦ý˝³šÐ²?

?Óˇ¹ˇ×−ý×¸=³ĆÞŠš³ž²?W „Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=šÐŠ−×−˝ž³ž=½−¼=
ˇ×−³½−Ý˚ˇK

?`ççâáÉë?W Ô¼¦ý˝ŽšÐ=½Ð²=š×ÐÝ−ł˚²=½ğÞ=ÅççâáÉëK
?È¸ĞšÐ²?W ÚˇþÐÞ−ýš˝=½ˇ=Ýž¾¦˚Þ½ˇ=ŠšŠ−ý˚Þˇ=³š=¾ğ½−ł¹ˇ¾˝š²L

¸₣−¼²LˇÞ½Ððš˝ýšÞˇK
?fl³¾˙ÝšÐˇ?W Ô¼¦ý˝ŽšÐ=½−=š×˝×šŠ−=×¹−½¹−×¸²=ˇ³¾ˇÝš˝ˇ²K
?„ÐŠ−×−˝ž³ž=fjbf?W „Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=šÐŠ−×−˝ž³ž=

ˇÞˇłÞć¹Ð³ž²=ðÐÞž½−Ć=½žÝš¾ćÞ−¼K
?‡¸ýˇ=ðĆÝÐ³ž²?W Ô¼¦ý˝ŽšÐ=½žÞ=½ˇ₣Ć½ž½ˇ=ðĆÝÐ³ž²K
?Í˚łš¦−²=ł¹ˇýý˙½K?W Ì¹˝ŽšÐ=½−=ý˚łš¦−²=ł¹ˇýýˇ½−³šÐ¹˙²=½−¼=ÄêçïëÉêK
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jÉÇá~=mä~óÉê=Ej=PF

Íš=½−=jÉÇá~=mä~óÉê=ý×−¹−ĆÞ=Þˇ=ˇÞˇ×ˇ¹ˇ₣¦−ĆÞ=̌ ¹₣š˝ˇ=̧ ₣−¼=ðˇÐ=ˇ¹₣š˝ˇ=îáÇÉç=ýš=½žÞ=
šÞˇÝÝˇł¸=ýš½ˇþĆ=ŠĆ−=š¾ˇ¹ý−łćÞW=½−=jìëáÅ=mä~óÉê=ðˇÐ=½−=sáÇÉç=mä~óÉêK=fl¼½˚²=−Ð=
š¾ˇ¹ý−ł˚²=ý×−¹−ĆÞ=Þˇ=ŠÐˇ₣šÐ¹Ð³½−ĆÞ=ˇ¹₣š˝ˇ=³š=¾−¹ý˙=jmQ=ðˇÐ=PÖé=EîáÇÉç=ÅäáéI=
¸₣−²FK=Ëˇ½˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=ˇ¹₣š˝ğÞ=¸₣−¼=³½−=×ˇ¹ˇ³ð¸ÞÐ−I=ý×−¹š˝½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=ðˇÐ=˙ÝÝˇ=ýšÞ−ĆK

„ÞˇÝÝˇł¸=ýš½ˇþĆ=½−¼=jìëáÅ=mä~óÉê=ðˇÐ=½−¼=sáÇÉç=mä~óÉê
⁄½ˇÞ=þšðÐÞ¸³š½š=½−=jÉÇá~=mä~óÉê=łÐˇ=×¹ć½ž=¾−¹˙I=½˝¦š½ˇÐ=³š=ÝšÐ½−¼¹ł˝ˇ=½−=jìëáÅ=
mä~óÉêK
?jÉÇá~=mä~óÉê?
„ý¾ˇÞ˝Žš½ˇÐ=ž=Ý˝³½ˇ=½−¼=×¹−ł¹˙ýýˇ½−²=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=šððÐÞ¸¦žðš=½šÝš¼½ˇ˝ˇ=
E⁄Ýˇ=½ˇ=sáÇÉç=¸=⁄Ýž=ž=Í−¼³Ðð¸FK
NK „˙Þ=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=ž=š×Ð¦¼ýž½¸=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?È˝³½ˇ=flÞˇ×K=sfÇÉç?=¸=?È˝³½ˇ=flÞˇ×K=Í−¼³?K
OK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?

jìëáÅ=mä~óÉê
flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=◊₣−¼
?jÉÇá~=mä~óÉê?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

·Ðˇ=Þˇ=ŠÐˇðşĞš½š=×¹−³ğ¹ÐÞ˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K

Òžýš˝ğ³ž
≥ Êˇ=š¹ğ½ž¦š˝½š=š˙Þ=¦˚Ýš½š=Þˇ=ˇÞˇ×ˇ¹˙ł−Þ½ˇÐ=−Ð=̧ ₣−Ð=̧ =ş₣ÐI=ş½ˇÞ=šÞš¹ł−×−Ð¸³š½š=

½−=×¹−¾˝Ý=ÒÐğ×žÝşK
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Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=−¦şÞž=½−¼=ËĆ¹Ð−¼=ýšÞ−Ć=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=

ˇÞˇ×ˇ¹ˇłğł¸²=šÞş²=ˇ¹₣š˝−¼=³½−=×ˇ¹ˇ³ð¸ÞÐ−K
≥ Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=½žÞ=×¹−³ğ×Ðð¸=³ˇ²=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=¦ˇ=

×š¹Ð˚₣šÐ=ýşÞ−Þ=½ˇ=ˇ¹₣š˝ˇ=×−¼=š×Ð¦¼ýš˝½š=E³šÝK NNPFK
≥ Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½−Þ=¸₣−=³½−=Ł¸ýˇ=NK=ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?÷Ýšł₣−²=

ÚşÞ−¼?K=
„×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=š×ÐÝ−ł˚²=?ËˇÞ−ÞÐðş?I=?_~ëë?I=?pìêêçìåÇ?=¸=?pìêêçìåÇ=_~ëë?K

≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−=ý−½˝Ł−=ˇÞˇ×ˇ¹ˇłğł¸²=³½−=Ł¸ýˇ=NK=ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=
š×ÐÝ˚þ½š=?Í−½˝Ł−=flÞˇ×ˇ¹K?K
?ËˇÞ−ÞÐðş?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=şÝˇ=½ˇ=ˇ¹₣š˝ˇ=šÞş²=š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼=

ý˝ˇ=¾−¹˙=ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=ž=ˇÞˇ×ˇ¹ˇłğł¸=³½ˇýˇ½˙K
?„×ˇÞ˙ÝžĞž?W Ò¼Þš₣˝Žš½ˇÐ=ž=ˇÞˇ×ˇ¹ˇłğł¸=½−¼=š×ÐÝšłý˚Þ−¼=ˇ¹₣š˝−¼K
?„×ˇÞ˙ÝžĞž=⁄Ýˇ?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=şÝˇ=½ˇ=ˇ¹₣š˝ˇ=šÞş²=š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼K
?Ú¼₣ˇ˝−?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=½ˇ=ˇ¹₣š˝ˇ=šÞş²=š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼=ýš=

½¼₣ˇ˝ˇ=³šÐ¹˙K

flÞˇŽ¸½ž³ž=šÞş²=fl¹₣š˝−¼=·Ðˇ=flÞˇ×ˇ¹ˇłğł¸
?jÉÇá~=mä~óÉê?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇŽ¸½ž³ž?K

OK „Ð³˙łš½š=½ˇ=×¹ć½ˇ=ł¹˙ýýˇ½ˇ=½−¼=½˝½Ý−¼K
Úˇ=ˇ×−½šÝ˚³ýˇ½ˇ=½ž²=ˇÞˇŽ¸½ž³ž²=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=ˇÝ¾ˇŁž½Ðð¸=³šÐ¹˙=ðˇÐ=½−=
ˇ¹₣š˝−=×−¼=³¼ý×˝×½šÐ=ýˇ¹ð˙¹š½ˇÐK

Ó¹−³¦¸ðž=fl¹₣š˝−¼=³½ž=È˝³½ˇ=flÞˇ×ˇ¹ˇłğł¸²
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ý˝ˇ=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=ðˇ½ˇ₣ğ¹ćÞ½ˇ²=³D=ˇ¼½¸=½ˇ=
ˇ¹₣š˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

?jÉÇá~=mä~óÉê?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=³½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²K
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OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=È˝³½K=flÞˇ×K?K
„ý¾ˇÞ˝Ž−Þ½ˇÐ=−Ð=Ý˝³½š²=ˇÞˇ×ˇ¹ˇłğł¸²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=
ýš=½žÞ=×¹−³¦¸ðž=Ý˝³½ˇ²=ˇÞˇ×ˇ¹ˇłğł¸²I=Šš˝½š=?Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=
flÞˇ×ˇ¹ˇłğł¸²?=³½ž=³šÝ˝Šˇ NNPK

PK „×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=š×Ð¦¼ýš˝½šK

QK ÓÐ˚³½š= K
Ú−=ˇ¹₣š˝−=×−¼=˚₣š½š=ýˇ¹ð˙¹šÐ=³½−=Ł¸ýˇ=N=ˇ×−¦žðšĆš½ˇÐK
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=ýˇ¹ð˙¹š½š=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=
ðˇÐ=×Ð˚³½š=x„×ÐÝKzK=Ò½ž=³¼Þ˚₣šÐˇI=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸=È˝³½ˇ²?K

Ô−¸
Í×−¹š˝½š=Þˇ=ˇÞˇ×ˇ¹˙łš½š=ˇ¹₣š˝ˇ=¸₣−¼=šÞć=½ˇ=ðˇ½šŁ˙Žš½š=ˇ×ş=½−=Š˝ð½¼−K

Í×−¹š˝½š=š×˝³ž²=Þˇ=ˇ×−¦žðšĆ³š½š=½ž=ŠÐšĆ¦¼Þ³ž=½ž²=Ð³½−³šÝ˝Šˇ²=ğ²=³šÝÐŠ−Šš˝ð½žK
?jÉÇá~=mä~óÉê?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?píêÉ~ãáåÖ?K

OK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=š×ÐÝ−ł˚²=?„Ð³˙łš½š=rof?I=?flłˇ×žý˚Þ−?=¸=?fl¹₣š˝−=
Ó¹ş³Łˇ³ž²?K
?„Ð³˙łš½š=rof?W „Ð³˙łš½š=½ž=ŠÐšĆ¦¼Þ³ž=½ž²=Ð³½−³šÝ˝Šˇ²=×−¼=š×Ð¦¼ýš˝½šK=Ì=

ÄêçïëÉê=ˇÞ−˝łšÐ=ðˇÐ=þšðÐÞ˙=½ˇ¼½ş₣¹−Þˇ=½ž=Ý¸Ğž=ðˇÐ=½žÞ=
ˇÞˇ×ˇ¹ˇłğł¸K

?flłˇ×žý˚Þ−?W= Ëˇ½ˇ₣ğ¹š˝½ˇÐ=ž=ŠÐšĆ¦¼Þ³ž=½ž²=Ð³½−³šÝ˝Šˇ²K
?fl¹₣š˝−=Ó¹ş³Łˇ³ž²?W

„ý¾ˇÞ˝ŽšÐ=½ˇ=ˇ¹₣š˝ˇ=ðˇ½ˇł¹ˇ¾¸²=½ğÞ=Ð³½−³šÝ˝ŠğÞ=×−¼=
×¹−³×šÝ˙³ˇ½šK=fl×ş=½−=ˇ¹₣š˝−=ý×−¹š˝½š=Þˇ=þšðÐÞ¸³š½š=½ž=
¹−¸K
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Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=flÞˇ×ˇ¹ˇłğł¸²
?jÉÇá~=mä~óÉê?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?¿Þ−Ðłýˇ=Í−¼³Ðð¸²?K

OK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Î˚ˇ²=È˝³½K?K

QK „Ð³ˇł˙łš½š=½−=şÞ−ýˇ=×−¼=š×Ð¦¼ýš˝½š=łÐˇ=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²K

RK ÓÐ˚³½š= K

sáÇÉç=mä~óÉê
flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=sáÇÉç=`äáé
?jÉÇá~=mä~óÉê?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

·Ðˇ=Þˇ=ŠÐˇðşĞš½š=×¹−³ğ¹ÐÞ˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K
·Ðˇ=Þˇ=ŠÐˇðşĞš½š=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š=CK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=½žÞ=×¹−³ğ×Ðð¸=³ˇ²=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=¦ˇ=

×š¹Ð˚₣šÐ=ýşÞ−Þ=½ˇ=ˇ¹₣š˝ˇ=×−¼=š×Ð¦¼ýš˝½š=E³šÝK NNRFK
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flÞˇŽ¸½ž³ž=šÞş²=fl¹₣š˝−¼=·Ðˇ=flÞˇ×ˇ¹ˇłğł¸
?jÉÇá~=mä~óÉê?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇŽ¸½ž³ž?K

OK „Ð³˙łš½š=½ˇ=×¹ć½ˇ=ł¹˙ýýˇ½ˇ=½−¼=½˝½Ý−¼K
Úˇ=ˇ×−½šÝ˚³ýˇ½ˇ=½ž²=ˇÞˇŽ¸½ž³ž²=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=ˇÝ¾ˇŁž½Ðð¸=³šÐ¹˙=ðˇÐ=½−=
ˇ¹₣š˝−=×−¼=³¼ý×˝×½šÐ=ýˇ¹ð˙¹š½ˇÐK

Ó¹−³¦¸ðž=fl¹₣š˝−¼=³½ž=È˝³½ˇ=flÞˇ×ˇ¹ˇłğł¸²
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ý˝ˇ=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=ðˇ½ˇ₣ğ¹ćÞ½ˇ²=³D=ˇ¼½¸=½ˇ=
ˇ¹₣š˝ˇ=×−¼=š×Ð¦¼ýš˝½šK
?jÉÇá~=mä~óÉê?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=³½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=È˝³½K=flÞˇ×?K
„ý¾ˇÞ˝Ž−Þ½ˇÐ=−Ð=Ý˝³½š²=ˇÞˇ×ˇ¹ˇłğł¸²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=
ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=ý˝ˇ²=Ý˝³½ˇ²=̌ Þˇ×ˇ¹ˇłğł¸²I=Šš˝½š=?Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=
flÞˇ×ˇ¹ˇłğł¸²?=³½ž=³šÝ˝Šˇ NNRK

PK „×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=š×Ð¦¼ýš˝½šK
QK ÓÐ˚³½š= K

Ú−=ˇ¹₣š˝−=×−¼=˚₣š½š=ýˇ¹ð˙¹šÐ=³½−=Ł¸ýˇ=N=ˇ×−¦žðšĆš½ˇÐK
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=ˇ¹₣š˝ˇ=ˇ×ş=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=ýˇ¹ð˙¹š½š=½ž=Ý˝³½ˇ=
ˇÞˇ×ˇ¹ˇłğł¸²=ðˇÐ=×Ð˚³½š=x„×ÐÝKzK=Ò½ž=³¼Þ˚₣šÐˇI=š×ÐÝ˚þ½š=?‚Ðˇł¹K=ˇ×ş=È˝³½ˇ?K
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Ô−¸
Í×−¹š˝½š=Þˇ=ˇÞˇ×ˇ¹˙łš½š=ˇ¹₣š˝ˇ=îáÇÉç=Åäáé=šÞć=½ˇ=ðˇ½šŁ˙Žš½š=ˇ×ş=½−=Š˝ð½¼−K

Í×−¹š˝½š=š×˝³ž²=Þˇ=ˇ×−¦žðšĆ³š½š=½ž=ŠÐšĆ¦¼Þ³ž=½ž²=Ð³½−³šÝ˝Šˇ²=ğ²=³šÝÐŠ−Šš˝ð½žK

?jÉÇá~=mä~óÉê?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?píêÉ~ãáåÖ?K

OK „×ÐÝ˚þ½š=ý˝ˇ=̌ ×ş=½Ð²=š×ÐÝ−ł˚²=?„Ð³˙łš½š=rof?I=?flłˇ×žý˚Þ−?I=?fl¹₣š˝−=Ó¹ş³Łˇ³ž²?=
¸=?Í˚łš¦−²=Ì¦şÞž²?K
?„Ð³˙łš½š=rof?W „Ð³˙łš½š=½ž=ŠÐšĆ¦¼Þ³ž=½ž²=Ð³½−³šÝ˝Šˇ²=×−¼=š×Ð¦¼ýš˝½šK=Ì=

ÄêçïëÉê=ˇÞ−˝łšÐ=ðˇÐ=þšðÐÞ˙=½ˇ¼½ş₣¹−Þˇ=½ž=Ý¸Ğž=ðˇÐ=½žÞ=
ˇÞˇ×ˇ¹ˇłğł¸K

?flłˇ×žý˚Þ−?W= Ëˇ½ˇ₣ğ¹š˝½ˇÐ=ž=ŠÐšĆ¦¼Þ³ž=½ž²=Ð³½−³šÝ˝Šˇ²K
?fl¹₣š˝−=Ó¹ş³Łˇ³ž²?W

„ý¾ˇÞ˝ŽšÐ=½ˇ=ˇ¹₣š˝ˇ=ðˇ½ˇł¹ˇ¾¸²=½ğÞ=Ð³½−³šÝ˝ŠğÞ=×−¼=
×¹−³×šÝ˙³ˇ½šK=fl×ş=½−=ˇ¹₣š˝−=ý×−¹š˝½š=Þˇ=þšðÐÞ¸³š½š=½ž=
¹−¸K

?Í˚łš¦−²=Ì¦şÞž²?W
„×ÐÝ˚łš½š=½−=ý˚łš¦−²=½ž²=−¦şÞž²=ðˇ½˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=
ˇ¹₣š˝ğÞ=îáÇÉç=ÅäáéK

Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=flÞˇ×ˇ¹ˇłğł¸²
?jÉÇá~=mä~óÉê?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?¿Þ−Ðłýˇ=sáÇÉç?K
OK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K
PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Î˚ˇ²=È˝³½K?K
QK „Ð³ˇł˙łš½š=½−=şÞ−ýˇ=×−¼=š×Ð¦¼ýš˝½š=łÐˇ=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²K
RK ÓÐ˚³½š= K
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„×šþš¹łˇ³˝ˇ=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé
?jÉÇá~=mä~óÉê?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
?ËşĞÐý−?W „×ÐÝ˚þ½š=½žÞ=×š¹Ð−₣¸=×−¼=¦˚Ýš½š=Þˇ=ˇ×−ðşĞš½šK
?Û×ş½Ð½Ý−²?W ‚žýÐ−¼¹ł¸³½š=˚ÞˇÞ=¼×ş½Ð½Ý−=łÐˇ=Þˇ=½−Þ=×¹−³¦˚³š½š=³½−=ˇ¹₣š˝−K

Ùğ½Ð³ýş²
?jÉÇá~=mä~óÉê?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=½−¼=−×−˝−¼=½−=¾ğ½Ð³ýş=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²?K

PK „×ÐÝ˚þ½š=?Ùğ½Ð³ýş²W?K

QK „×ÐÝ˚þ½š=?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?I=?Ó˙Þ½ˇ=ðÝšÐ³½ş²?=¸=?ËˇÞ−ÞK=Ô¼¦ýK?K
?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?W= Íš=¾ğ½Ð³ýş²=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ˇÞˇ×ˇ¹ˇłğł¸²=½−¼=ˇ¹₣š˝−¼K
?Ó˙Þ½ˇ=ðÝšÐ³½ş²?W= ığ¹˝²=¾ğ½Ð³ýş=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ˇÞˇ×ˇ¹ˇłğł¸²=½−¼=

ˇ¹₣š˝−¼I=ˇðşýž=ðˇÐ=š˙Þ=×Ðš³½š˝=ð˙×−Ð−=×Ý¸ð½¹−K
?ËˇÞ−ÞK=Ô¼¦ýK?W= ÈšÐ½−¼¹ł˝ˇ=ýš=½žÞ=ðĆ¹Ðˇ=¹Ć¦ýÐ³ž=¾ğ½Ð³ý−Ć=E³šÝK NUNFK
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Ú−=¼ÝÐðş=ý−¼=Ej=SF

Ò½−=¼ÝÐðş=ý−¼=×š¹Ð˚₣−Þ½ˇÐ=ŠÐ˙¾−¹ˇ=ŠšŠ−ý˚Þˇ=¾ğ½−ł¹ˇ¾ÐćÞI=¸₣ğÞ=ðˇÐ=îáÇÉç=ÅäáéK=
flðşýžI=³½−=ýšÞ−Ć=?Ú−=¼ÝÐðş=ý−¼?=×š¹ÐÝˇýŁ˙Þ−Þ½ˇÐ=ðˇÐ=¾¹˙³šÐ²=ðšÐý˚Þ−¼=×−¼=
₣¹ž³Ðý−×−Ð−ĆÞ½ˇÐ=³¼₣Þ˙=³š=ýžÞĆýˇ½ˇ=ðˇ¦ć²=ðˇÐ=³šÝ˝Šš²=EŠÐš¼¦ĆÞ³šÐ²F=t^m=×−¼=
š×Ð³ð˚×½š³½š=³¼₣Þ˙=ðˇÐ=½Ð²=−×−˝š²=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½šK=Í×−¹š˝½š=ˇðşýž=
Þˇ=³½š˝Ýš½š=¾ğ½−ł¹ˇ¾˝š²I=¸₣−¼²=¸=îáÇÉç=Åäáé=ý˚³ğ=¼×˚¹¼¦¹ğÞ=¸=ˇ³Ć¹ýˇ½ž²=
½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=×¹−²=˙ÝÝˇ=½žÝ˚¾ğÞˇ=ýš=₣ˇ¹ˇð½ž¹Ð³½Ðð˙=l_buK

Ôï õëéêü ìïõ

Öùôïãñáößåò
Videos
¹÷ïé & Êïõäïõíßóì.
ËÞøåéò Java™
Óåëéäïäåßêôåò
Ç Áðïè. Óåëßäá Ìïõ
Ðñüôõðá Êåßìåíá

ÅðéëïãÞ Ðßóù

Ôï õëéêü ìïõ

¢ëëá ¸ããñáöá

Videos
¹÷ïé & Êïõäïõíßóì.
ËÞøåéò Java™
Óåëéäïäåßêôåò
Ç Áðïè. Óåëßäá Ìïõ
Ðñüôõðá Êåßìåíá

ÅðéëïãÞ Ðßóù
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Ú−=¼ÝÐðş=ý−¼

Ùğ½−ł¹ˇ¾˝š²
Í×−¹š˝½š=Þˇ=ŠÐˇ₣šÐ¹Ð³½š˝½š=½Ð²=¾ğ½−ł¹ˇ¾˝š²=×−¼=Łł˙Žš½š=ýš=½žÞ=Ğž¾Ðˇð¸=
¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=¸=½Ð²=šÐðşÞš²=×−¼=?ðˇ½šŁ˙Žš½š?=ˇ×ş=ŠÐ˙¾−¹š²=Ð³½−³šÝ˝Šš²=
½−¼=ãçÄáäÉ=fåíÉêåÉíK=Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=¾ğ½−ł¹ˇ¾˝š²=³½ˇ=šþ¸²=¾−¹ý˙W=
gmbdI=mkdI=t_jm=ðˇÐ=dfcK

Ó¹−Ł−Ý¸=Ùğ½−ł¹ˇ¾ÐćÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=Šš˝½šK

Â=š×ÐÝšłý˚Þž=¾ğ½−ł¹ˇ¾˝ˇ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK

„ÞˇÝÝˇł¸=½ž²=Óžł¸²=ÍÞ¸ýž²
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK ÓÐ˚³½šdK

Â=ðˇ¹½˚Ýˇ=ˇÝÝ˙ŽšÐ=ðˇÐ=šý¾ˇÞ˝Žš½ˇÐ=ý˝ˇ=Ý˝³½ˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K=·Ðˇ=Þˇ=
š×Ð³½¹˚Ğš½š=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²=×Ð˚³½š=cK

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=¾ğ½−ł¹ˇ¾˝ˇ²=×−¼=¦˚Ýš½š=Þˇ=Šš˝½šK

ı¹¸³ž=Ùğ½−ł¹ˇ¾ÐćÞ=ğ²=ÙşÞ½−
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ğ²=¾şÞ½−K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=ğ²=ÙşÞ½−?K

Ej=SJNF

ËÞøç íÝáò

20KB01/01/00 00:00

04-09-30_09…

5KB01/01/00 00:00

04-09-30_09…

8KB01/01/00 00:00

04-09-30_09…

Öùôïãñáößåò

Åðéë. Ðßóù
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Ú−=¼ÝÐðş=ý−¼

fl×−¦¸ðš¼³ž=Í˝ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²=³½Ð²X=Ëˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½¸=½žÞ=š×ÐÝ−ł¸=ýşÞ−Þ=łÐˇ=½Ð²=¾ğ½−ł¹ˇ¾˝š²=×−¼=
˚₣š½š=ˇ×−¦žðšĆ³šÐ=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=³½ž=È˝³½ˇ=„×ˇ¾ćÞK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=³š=„×ˇ¾˚²?K
·Ðˇ=Þˇ=ˇÞ½Ððˇ½ˇ³½¸³š½šI=š×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=ˇ×−¦žðšĆ³š½šK
·Ðˇ=ˇ×−¦¸ðš¼³ž=ğ²=Þ˚ˇ=ðˇ½ˇ₣ć¹ž³žI=š×ÐÝ˚þ½š=?˜²=Î˚ˇ=„×ˇ¾¸?K
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=šÐ³ˇłğł¸=šÞş²=−Þşýˇ½−²I=Šš˝½š=
?Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²?=³½ž=³šÝ˝Šˇ SNK

„×šþš¹łˇ³˝ˇ=Ùğ½−ł¹ˇ¾ÐćÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−Þ=ˇ¹Ð¦ýş=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łK=Ùğ½−ł¹K?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ Ú−=ý˚łš¦−²=½ğÞ=¾ğ½−ł¹ˇ¾ÐćÞ=½Ð²=−×−˝š²=ý×−¹š˝½š=Þˇ=¹š½−¼³˙¹š½š=š˝ÞˇÐ=

RO ð−¼ð˝Šš²=xÓz=× RO ð−¼ð˝Šš²=xÛz=½−=šÝ˙₣Ð³½−K
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Ú−=¼ÝÐðş=ý−¼

Ó¹−³ˇ¹ý−ł¸=½−¼=Íšł˚¦−¼²
Í×−¹š˝½š=Þˇ=×¹−³ˇ¹ýş³š½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=³½−=ðˇ½˙ÝÝžÝ−=ý˚łš¦−²I=̌ Þ˙Ý−łˇ=ýš=½ž=
³ðžÞ¸K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=³½−=−×−˝−=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½š=½−=ý˚łš¦−²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=Íšł˚¦−¼²?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
Ë˙¦š=š×ÐÝ−ł¸=½¹−×−×−Ðš˝=½−=ý˚łš¦−²=½ž²=¾ğ½−ł¹ˇ¾˝ˇ²=łÐˇ=−×−ÐˇŠ¸×−½š=₣¹¸³žK
?·Ðˇ=ÙşÞ½−?
?„Þš¹łKLfl×šÞš¹łK?
?·Ðˇ=„Ð³š¹₣şýK=ËÝ¸³ž?
?Ï¼×Þž½¸¹Ð?
?fl×−ð−×¸?

Òžýš˝ğ³ž
≥ Â=?flÝÝˇł¸=Íšł˚¦−¼²?=”×−¹š˝=Þˇ=”žÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ð”ž=ˇÞ˙Ý−łˇ=”š=½žÞ=×¹ğ½ş½¼×ž=

¾ğ½−ł¹ˇ¾˝ˇ=ðˇÐ=½žÞ=×¹−³½ˇ³˝ˇ=×Þš¼”ˇ½ÐðćÞ=ŠÐðˇÐğ”˙½ğÞ=×−¼=šÞŠš₣−”˚Þğ²=
ŠÐˇ¦˚½šÐK
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Ú−=¼ÝÐðş=ý−¼

fl×−³½−Ý¸=šÞş²=fl¹₣š˝−¼=Ùğ½−ł¹ˇ¾˝ˇ²
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=ýžÞĆýˇ½−²I=Šš˝½š=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTK

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=˝³ğ²=

Þˇ=ýž=ý×−¹−ĆÞ=Þˇ=ˇ×−³½ˇÝ−ĆÞ=ğ²=³¼Þžýý˚Þˇ=³š=˚Þˇ=ý¸Þ¼ýˇK

ı¹¸³ž=½ğÞ=fl¹₣š˝ğÞ
Í×−¹š˝½š=Þˇ=ˇÞ½Ðł¹˙Ğš½šI=Þˇ=ýš½ˇðÐÞ¸³š½šI=Þˇ=½ˇþÐÞ−ý¸³š½šI=Þˇ=ýš½−Þ−ý˙³š½š=ðˇÐ=
Þˇ=ŠÐˇł¹˙Ğš½š=½Ð²=ˇ×−¦žðš¼ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K
„×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šI=ˇÞ˙Ý−łˇ=ýš=½Ð²=ˇÞ˙łðš²=³ˇ²K
?Íš½ˇð˝Þž³ž?W Íš½ˇðÐÞš˝=½ˇ=ˇ¹₣š˝ˇ=³š=˚ÞˇÞ=˙ÝÝ−=¾˙ðšÝ−K=„×ÐÝ˚þ½š=½−=

¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=ýš½ˇðÐÞ¸³š½šK
?flÞ½Ðł¹ˇ¾¸?W Ú−=ˇ¹₣š˝−=ˇÞ½Ðł¹˙¾š½ˇÐK=„×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=

ˇÞ½Ðł¹˙Ğš½šK
?‚žýK=Ùˇð˚Ý−¼?W ‚žýÐ−¼¹łš˝=˚ÞˇÞ=Þ˚−=¾˙ðšÝ−K
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Ú−=¼ÝÐðş=ý−¼

ı¹¸³ž=Ó−ÝÝˇ×Ý¸²=„×ÐÝ−ł¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=×ˇ¹ˇ×˙Þğ=ˇ×ş=˚Þˇ=ˇ¹₣š˝−=łÐˇ=ýš½ˇð˝Þž³žI=ˇÞ½Ðł¹ˇ¾¸=¸=
ŠÐˇł¹ˇ¾¸K

Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=

šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=Þ˚ˇ²?K
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ó−ÝÝˇ×Ý¸=„×ÐÝK?
NK „×ÐÝ˚þ½š=½ˇ=−Þşýˇ½ˇ=ˇ¹₣š˝ğÞ=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK
„˙Þ=š×ÐÝ˚þš½š=?‚Ðˇł¹ˇ¾¸?I=šý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ˇ¾ˇÐ¹˚³š½š=½−=½³šð˙¹Ð³ýˇI=š×ÐÝ˚þ½š=þˇÞ˙=½−=ˇ¹₣š˝−=¸=š×ÐÝ˚þ½š=

?fl×−š×ÐÝ−ł¸?=³½−=Ł¸ýˇ=OK
≥ „˙Þ=¦˚Ýš½š=Þˇ=š×ÐÝ˚þš½š=şÝˇ=½ˇ=ˇ¹₣š˝ˇI=š×ÐÝ˚þ½š=?„×ÐÝ−ł¸=⁄ÝğÞ?=³½−=Ł¸ýˇ=OK=·Ðˇ=

Þˇ=ˇð¼¹ć³š½š=½žÞ=š×ÐÝ−ł¸=şÝğÞ=½ğÞ=ˇ¹₣š˝ğÞI=š×ÐÝ˚þ½š=?fl×−š×ÐÝ−ł¸=şÝğÞ?K=Ò½ž=
³¼Þ˚₣šÐˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK

ÚˇþÐÞşýž³ž=½ğÞ=fl¹₣š˝ğÞ

Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=

šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=Þ˚ˇ²?K
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ëˇ½˙½ˇþž?
NK „×ÐÝ˚þ½š=½ž=³šÐ¹˙=×−¼=š×Ð¦¼ýš˝½šK

Íš½−Þ−ýˇ³˝ˇ=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½−Þ−ýˇ³˝ˇ?K

5KB

10KB

01/01/00 00:00

04-09-30_09…

01/01/00 00:00

04-09-30_09…

8KB01/01/00 00:00

04-09-30_09…

10KB01/01/00 00:00

04-09-30_09…

Öùôïãñáößåò

Åðéë. Ðßóù
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Ú−=¼ÝÐðş=ý−¼

‚Ðˇł¹ˇ¾¸=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=Ùğ½−ł¹ˇ¾˝ˇ²
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=Šš˝½š=ˇÞˇÝ¼½Ðð˚²=×Ýž¹−¾−¹˝š²K
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Èš×½−ýK?K

Ùş¹½ğ³ž=fl¹₣š˝ğÞ=Ùğ½−ł¹ˇ¾˝ˇ²=Eréäç~ÇF
Í×−¹š˝½š=Þˇ=¾−¹½ć³š½š=½Ð²=¾ğ½−ł¹ˇ¾˝š²=³ˇ²=³½−=jjp=mÜçíç=^äÄìãK

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=ˇ×ş=−¹Ð³ý˚Þ−¼²=×ˇ¹−₣š˝²=ŠÐð½ĆğÞK=·Ðˇ=

×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
ŠÐð½Ć−¼=³ˇ²K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¾−¹½ć³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K
PK „×ÐÝ˚þ½š=?jjp=mÜçíç=^äÄìã?K

Òžýš˝ğ³ž
≥ ÌÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=

Þˇ=¾−¹½ğ¦−ĆÞI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=×ˇ¹˙Š−³ž²K
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Ú−=¼ÝÐðş=ý−¼

È¸Ğž=fl¹₣š˝ğÞ=Ùğ½−ł¹ˇ¾˝ˇ²=Eaçïåäç~ÇF
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?=→=?È¸Ğž=Þ˚ˇ²?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=Ý¸Ğž²=ˇ¹₣š˝ğÞ=¾ğ½−ł¹ˇ¾˝ˇ²K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ýš½ˇ¾−¹˙=ŠšŠ−ý˚ÞğÞ=̌ ×ş=Ú−=¼ÝÐðş=

ý−¼=Šš˝½š=?fl×−³½−Ý¸=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼?=³½ž=³šÝ˝Šˇ NPTK

sáÇÉçë
Í×−¹š˝½š=Þˇ=ŠÐˇ₣šÐ¹Ð³½š˝½š=½ˇ=îáÇÉç=Åäáéë=×−¼=˚₣š½š=ł¹˙ĞšÐ=ýš=ý˝ˇ=ŁÐÞ½š−ð˙ýš¹ˇ=¸=
½ˇ=îáÇÉç=Åäáéë=×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?=ˇ×ş=Ð³½−³šÝ˝Šš²=½−¼=ãçÄáäÉ=fåíÉêåÉíK

flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=sáÇÉç=`äáé
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=ˇÞˇ×ˇ¹˙łš½šK

OK ÓÐ˚³½š= K
·Ðˇ=Þˇ=³¼Þš₣˝³š½š=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š=þˇÞ˙= K
·Ðˇ=Þˇ=³½ˇýˇ½¸³š½š=šÞ½šÝć²=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š=xÓ˝³ğzK

„ÞˇÝÝˇł¸=½ž²=Óžł¸²=ÍÞ¸ýž²
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK ÓÐ˚³½š=dK

Â=ðˇ¹½˚Ýˇ=ˇÝÝ˙ŽšÐ=ðˇÐ=šý¾ˇÞ˝Žš½ˇÐ=ý˝ˇ=Ý˝³½ˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K=·Ðˇ=Þˇ=
š×Ð³½¹˚Ğš½š=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²=×Ð˚³½š=cK

OK „×ÐÝ˚þ½š=½−=îáÇÉç=Åäáé=×−¼=¦˚Ýš½š=Þˇ=Šš˝½šK

Ej=SJOF
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fl×−³½−Ý¸=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=ýžÞĆýˇ½−²I=Šš˝½š=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTK

Òžýš˝ğ³ž
≥ Úˇ=sáÇÉç=Åäáéë=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=

ˇ×−³½ˇÝ−ĆÞ=ğ²=³¼Þžýý˚Þˇ=³š=˚Þˇ=ý¸Þ¼ýˇI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=
×ˇ¹˙Š−³ž²K

„łł¹ˇ¾¸=šÞş²=sáÇÉç
Í×−¹š˝½š=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉç=ðˇÐ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼K

Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=

šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=Þ˚ˇ²?K
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?=→=x„×ÐÝKz=→=?„łł¹ˇ¾¸=sáÇÉç?
Â=š¾ˇ¹ý−ł¸=½ž²=ŁÐÞ½š−ð˙ýš¹ˇ²=þšðÐÞ˙K=·Ðˇ=½žÞ=šłł¹ˇ¾¸=šÞş²=îáÇÉçI=Šš˝½š=
?„łł¹ˇ¾¸=sáÇÉç=`äáéë?=³½ž=³šÝ˝Šˇ UMK

ı¹¸³ž=½ğÞ=fl¹₣š˝ğÞ
Í×−¹š˝½š=Þˇ=ˇÞ½Ðł¹˙Ğš½šI=Þˇ=ýš½ˇðÐÞ¸³š½šI=Þˇ=½ˇþÐÞ−ý¸³š½šI=Þˇ=ýš½−Þ−ý˙³š½š=ðˇÐ=
Þˇ=ŠÐˇł¹˙Ğš½š=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=îáÇÉç=ÅäáéëK

?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
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OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K
„×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šI=ˇÞ˙Ý−łˇ=ýš=½Ð²=ˇÞ˙łðš²=³ˇ²K
?Íš½ˇð˝Þž³ž?W Íš½ˇðÐÞš˝=½ˇ=ˇ¹₣š˝ˇ=³š=˚ÞˇÞ=˙ÝÝ−=¾˙ðšÝ−K=„×ÐÝ˚þ½š=½−=

¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=ýš½ˇðÐÞ¸³š½šK
?flÞ½Ðł¹ˇ¾¸?W Ú−=ˇ¹₣š˝−=ˇÞ½Ðł¹˙¾š½ˇÐK=„×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=

ˇÞ½Ðł¹˙Ğš½šK
?‚žýK=Ùˇð˚Ý−¼?W ‚žýÐ−¼¹łš˝=˚Þˇ=Þ˚−=¾˙ðšÝ−K

ı¹¸³ž=Ó−ÝÝˇ×Ý¸²=„×ÐÝ−ł¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=×ˇ¹ˇ×˙Þğ=ˇ×ş=˚Þˇ=ˇ¹₣š˝−=łÐˇ=ýš½ˇð˝Þž³žI=ˇÞ½Ðł¹ˇ¾¸=¸=
ŠÐˇł¹ˇ¾¸K

Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=

šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=Þ˚ˇ²?K
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ó−ÝÝˇ×Ý¸=„×ÐÝK?
NK „×ÐÝ˚þ½š=½ˇ=−Þşýˇ½ˇ=ˇ¹₣š˝ğÞ=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK
„˙Þ=š×ÐÝ˚þš½š=?‚Ðˇł¹ˇ¾¸?I=šý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ˇ¾ˇÐ¹˚³š½š=½−=½³šð˙¹Ð³ýˇI=š×ÐÝ˚þ½š=þˇÞ˙=½−=ˇ¹₣š˝−=¸=š×ÐÝ˚þ½š=

?fl×−š×ÐÝ−ł¸?=³½−=Ł¸ýˇ=OK
≥ „˙Þ=¦˚Ýš½š=Þˇ=š×ÐÝ˚þš½š=şÝˇ=½ˇ=ˇ¹₣š˝ˇI=š×ÐÝ˚þ½š=?„×ÐÝ−ł¸=⁄ÝğÞ?=³½−=Ł¸ýˇ=OK=·Ðˇ=

Þˇ=ˇð¼¹ć³š½š=½žÞ=š×ÐÝ−ł¸=şÝğÞ=½ğÞ=ˇ¹₣š˝ğÞI=š×ÐÝ˚þ½š=?fl×−š×ÐÝ−ł¸=⁄ÝğÞ?K=Ò½ž=
³¼Þ˚₣šÐˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK
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ÚˇþÐÞşýž³ž=½ğÞ=fl¹₣š˝ğÞ

Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=

šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=Þ˚ˇ²?K
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ëˇ½˙½ˇþž?
NK „×ÐÝ˚þ½š=½ž=³šÐ¹˙=×−¼=š×Ð¦¼ýš˝½šK

Íš½−Þ−ýˇ³˝ˇ=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½−Þ−ýˇ³˝ˇ?K

‚Ðˇł¹ˇ¾¸=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=šÞş²=sáÇÉç=`äáé
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=Šš˝½š=ˇÞˇÝ¼½Ðð˚²=×Ýž¹−¾−¹˝š²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Èš×½−ýK?K
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Ùş¹½ğ³ž=fl¹₣š˝ğÞ=sáÇÉç=`äáé
Í×−¹š˝½š=Þˇ=¾−¹½ć³š½š=½ˇ=îáÇÉç=Åäáé=³ˇ²=³½−=jjp=mÜçíç=^äÄìãK

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=ˇ×ş=−¹Ð³ý˚Þ−¼²=×ˇ¹−₣š˝²=ŠÐð½ĆğÞK=·Ðˇ=

×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
ŠÐð½Ć−¼=³ˇ²K

?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¾−¹½ć³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=?jjp=mÜçíç=^äÄìã?K

Òžýš˝ğ³ž
≥ Úˇ=sáÇÉç=Åäáéë=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=

¾−¹½ğ¦−ĆÞI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=×ˇ¹˙Š−³ž²K

Ùş¹½ğ³ž=fl¹₣š˝ğÞ=sáÇÉç=`äáé
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?=→=?È¸Ğž=Þ˚ˇ²?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=¾ş¹½ğ³ž²=ˇ¹₣š˝ğÞ=îáÇÉç=ÅäáéK

Ëˇ¦−¹Ð³ýş²=šÞş²=sáÇÉç=ð−¼Š−¼Þ˝³ýˇ½−²
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½−=îáÇÉç=Åäáé=³ˇ²=Þˇ=ˇÞˇ×ˇ¹˙łš½ˇÐ=ş½ˇÞ=ð−¼Š−¼Þ˝ŽšÐ=½−=
½žÝ˚¾ğÞ−K

?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=îáÇÉç=Åäáé=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=Ë−¼ŠK=sáÇÉç?K
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◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýˇ½ˇ
Â=ŠÐˇ₣š˝¹Ð³ž=½ğÞ=ˇ¹₣š˝ğÞ=¸₣−¼=×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?=ðˇÐ=½ğÞ=ˇ¹₣š˝ğÞ=^jo=×−¼=
˚₣š½š=ž₣−ł¹ˇ¾¸³šÐ=ýš=½ž=ÝšÐ½−¼¹ł˝ˇ=Â₣−ł¹˙¾ž³ž²=ÙğÞ¸²=ł˝Þš½ˇÐ=³½−=ýšÞ−Ć=?◊₣−²=
C=Ë−¼Š−¼ÞK?K=ÌÐ=×¹−š×ÐÝšłý˚Þ−Ð=¸₣−Ð=ð−¼Š−¼Þ˝³ýˇ½−²=ŠšÞ=×š¹Ð˚₣−Þ½ˇÐ=³½−=ýšÞ−Ć=
?◊₣−²=C=Ë−¼Š−¼ÞK?=ÍşÞ−=½ˇ=ˇ¹₣š˝ˇ=¸₣−¼=×−¼=ý×−¹š˝½š=Þˇ=ˇÞˇ×ˇ¹˙łš½š=ýš=½−=
½žÝ˚¾ğÞ−=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=ýšÞ−Ć=?◊₣−²=C=Ë−¼Š−¼ÞK?K

flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=◊₣−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=ˇÞˇ×ˇ¹˙łš½šK

·Ðˇ=Þˇ=ŠÐˇðşĞš½š=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K

Òžýš˝ğ³ž
≥ fl¼½¸=ž=š×ÐÝ−ł¸=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝš²=½Ð²=×š¹Ð−₣˚²K

„ÞˇÝÝˇł¸=½ž²=Óžł¸²=ÍÞ¸ýž²
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK ÓÐ˚³½š=dK

Â=ðˇ¹½˚Ýˇ=ˇÝÝ˙ŽšÐ=ðˇÐ=šý¾ˇÞ˝Žš½ˇÐ=ý˝ˇ=Ý˝³½ˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K=·Ðˇ=Þˇ=
š×Ð³½¹˚Ğš½š=³½ž=ýÞ¸ýž=³¼³ðš¼¸²I=×Ð˚³½š=cK

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=¸₣−¼=×−¼=¦˚Ýš½šK

=Ej=SJPF
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ı¹¸³ž=½ğÞ=◊₣ğÞ=ğ²=◊₣−¼²=Ë−¼Š−¼Þ˝³ýˇ½−²
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ğ²=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=ğ²=Ë−¼ŠK?K

Òžýš˝ğ³ž
≥ Úˇ=¾−¹ý˙=×−¼=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ğ²=¸₣−Ð=ð−¼Š−¼Þ˝³ýˇ½−²=š˝ÞˇÐ=pj^cI=

jfaf=EpjcI=pmJjfafFI=jmPI=jmQ=ðˇÐ=ujcK=‚šÞ=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=˙ÝÝˇ=
¾−¹ý˙K

fl×−³½−Ý¸=šÞş²=fl¹₣š˝−¼=◊₣−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=ýžÞĆýˇ½−²I=Šš˝½š=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTK

Òžýš˝ğ³ž
≥ ÌÐ=¸₣−Ð=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=

ˇ×−³½ˇÝ−ĆÞ=ğ²=³¼Þžýý˚Þˇ=³š=˚Þˇ=ý¸Þ¼ýˇI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=
×ˇ¹˙Š−³ž²K



131

Ú−=¼ÝÐðş=ý−¼

ı¹¸³ž=½ğÞ=fl¹₣š˝ğÞ
Í×−¹š˝½š=Þˇ=ˇÞ½Ðł¹˙Ğš½šI=Þˇ=ýš½ˇðÐÞ¸³š½šI=Þˇ=½ˇþÐÞ−ý¸³š½šI=Þˇ=ýš½−Þ−ý˙³š½š=ðˇÐ=
Þˇ=ŠÐˇł¹˙Ğš½š=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=ˇ¹₣š˝ˇ=¸₣−¼K

?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K

„×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šI=ˇÞ˙Ý−łˇ=ýš=½Ð²=ˇÞ˙łðš²=³ˇ²K
?Íš½ˇð˝Þž³ž?W Íš½ˇðÐÞš˝=½ˇ=ˇ¹₣š˝ˇ=³š=˚ÞˇÞ=˙ÝÝ−=¾˙ðšÝ−K=„×ÐÝ˚þ½š=½−=

¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=ýš½ˇðÐÞ¸³š½šK
?flÞ½Ðł¹ˇ¾¸?W Ú−=ˇ¹₣š˝−=ˇÞ½Ðł¹˙¾š½ˇÐK=„×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=

ˇÞ½Ðł¹˙Ğš½šK
?‚žýK=Ùˇð˚Ý−¼?W ‚žýÐ−¼¹łš˝=˚Þˇ=Þ˚−=¾˙ðšÝ−K

ı¹¸³ž=Ó−ÝÝˇ×Ý¸²=„×ÐÝ−ł¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=×ˇ¹ˇ×˙Þğ=ˇ×ş=˚Þˇ=ˇ¹₣š˝−=łÐˇ=ýš½ˇð˝Þž³žI=ˇÞ½Ðł¹ˇ¾¸=¸=
ŠÐˇł¹ˇ¾¸K
Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=

šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=Þ˚ˇ²?K

?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?Ó−ÝÝˇ×Ý¸=
„×ÐÝK?
NK „×ÐÝ˚þ½š=½ˇ=−Þşýˇ½ˇ=ˇ¹₣š˝ğÞ=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK

„˙Þ=š×ÐÝ˚þš½š=?‚Ðˇł¹ˇ¾¸?I=šý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²K
Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ˇ¾ˇÐ¹˚³š½š=½−=½³šð˙¹Ð³ýˇI=š×ÐÝ˚þ½š=þˇÞ˙=½−=ˇ¹₣š˝−=¸=š×ÐÝ˚þ½š=

?fl×−š×ÐÝ−ł¸?=³½−=Ł¸ýˇ=OK
≥ „˙Þ=¦˚Ýš½š=Þˇ=š×ÐÝ˚þš½š=şÝˇ=½ˇ=ˇ¹₣š˝ˇI=š×ÐÝ˚þ½š=?„×ÐÝ−ł¸=⁄ÝğÞ?=³½−=Ł¸ýˇ=OK=·Ðˇ=

Þˇ=ˇð¼¹ć³š½š=½žÞ=š×ÐÝ−ł¸=şÝğÞ=½ğÞ=ˇ¹₣š˝ğÞI=š×ÐÝ˚þ½š=?fl×−š×ÐÝ−ł¸=⁄ÝğÞ?K=Ò½ž=
³¼Þ˚₣šÐˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK
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Ú−=¼ÝÐðş=ý−¼

ÚˇþÐÞşýž³ž=½ğÞ=fl¹₣š˝ğÞ
Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=

šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=Þ˚ˇ²?K

?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?=→=x„×ÐÝKz=→=?„ÐŠÐð˚²=Ô¼¦ýK?=→=?ÚˇþÐÞşýK=
È˝³½ˇ²?
NK „×ÐÝ˚þ½š=½ž=³šÐ¹˙=×−¼=š×Ð¦¼ýš˝½šK

Íš½−Þ−ýˇ³˝ˇ=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½−Þ−ýˇ³˝ˇ?K

‚Ðˇł¹ˇ¾¸=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=◊₣−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=Šš˝½š=ˇÞˇÝ¼½Ðð˚²=×Ýž¹−¾−¹˝š²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Èš×½−ýK?K
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Ú−=¼ÝÐðş=ý−¼

Ùş¹½ğ³ž=fl¹₣š˝ğÞ=◊₣−¼
Í×−¹š˝½š=Þˇ=¾−¹½ć³š½š=½−¼²=¸₣−¼²=³ˇ²=³½−=jjp=mÜçíç=^äÄìãK

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=ˇ×ş=−¹Ð³ý˚Þ−¼²=×ˇ¹−₣š˝²=ŠÐð½ĆğÞK=·Ðˇ=

×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
ŠÐð½Ć−¼=³ˇ²K

?Ú−=¼ÝÐðş=ý−¼?→=?◊₣−²=C=Ë−¼Š−¼ÞK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¾−¹½ć³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=?jjp=mÜçíç=^äÄìã?K

Òžýš˝ğ³ž
≥ ÌÐ=¸₣−Ð=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=

¾−¹½ğ¦−ĆÞI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=×ˇ¹˙Š−³ž²K

Ùş¹½ğ³ž=fl¹₣š˝ğÞ=◊₣−¼
?Ú−=¼ÝÐðş=ý−¼?→=?◊₣−²=C=Ë−¼Š−¼ÞK?=→=?È¸Ğž=Þ˚ˇ²?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=¾ş¹½ğ³ž²=ˇ¹₣š˝ğÞ=¸₣−¼K
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Ú−=¼ÝÐðş=ý−¼

È¸ĞšÐ²=g~î~∑
ÍˇŽ˝=ýš=½žÞ=×¹−šłðˇ½š³½žý˚Þž=š¾ˇ¹ý−ł¸I=¼×˙¹₣−¼Þ=ˇ×−¦žðš¼ý˚Þš²=ðˇÐ=
š¾ˇ¹ý−ł˚²=×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?=ˇ×−¦žðš¼ý˚Þš²=³½Ð²=g~î~∑=„¾ˇ¹ý−ł˚²K
ı¹¸³ž=g~î~∑=„¾ˇ¹ý−łćÞ
Ò∞=ˇ¼½ş=½−=½žÝ˚¾ğÞ−I=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ŠÐ˙¾−¹š²=š¾ˇ¹ý−ł˚²=½ž²=
sçÇ~ÑçåÉK
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=š¾ˇ¹ý−ł˚²I=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=?ðˇ½šŁ˙³š½š?=½Ð²=
š¾ˇ¹ý−ł˚²=ˇ×ş=½−=ãçÄáäÉ=fåíÉêåÉíK
Ì¹Ð³ý˚Þš²=š¾ˇ¹ý−ł˚²=×¹−³¾˚¹−¼Þ=½ž=Š¼Þˇ½ş½ž½ˇ=³ĆÞŠš³ž²=³š=ð˙×−Ð−=Š˝ð½¼−=
ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=šÞş²=×ˇÐ₣ÞÐŠÐ−Ć=¸=ý˝ˇ²=š¾ˇ¹ý−ł¸²=×−¼=¼×−³½ž¹˝ŽšÐ=ÝšÐ½−¼¹ł˝š²=
ŠÐð½Ć−¼K
Òžýš˝ğ³ž
≥ ÌÐ=š¾ˇ¹ý−ł˚²=šÞŠ˚₣š½ˇÐ=Þˇ=š˝ÞˇÐ=½−×Ðð˚²=E₣ğ¹˝²=Š¼Þˇ½ş½ž½š²=³ĆÞŠš³ž²F=¸=Þˇ=

¼×−³½ž¹˝Ž−¼Þ=ÝšÐ½−¼¹ł˝š²=ŠÐð½Ć−¼=Eð˙Þ−Þ½ˇ²=₣¹¸³ž=½−¼=ãçÄáäÉ=fåíÉêåÉí=łÐˇ=
šÞžý˚¹ğ³ž=×Ýž¹−¾−¹ÐćÞL×ˇÐ₣Þ˝ŠÐˇFK=Û×˙¹₣šÐ=×š¹˝×½ğ³ž=½−=Š˝ð½¼−=Þˇ=³ˇ²=₣¹šćÞšÐ=
×¹ş³¦š½ˇ=łÐˇ=½ž=₣¹¸³ž=š¾ˇ¹ý−łćÞ=×−¼=¼×−³½ž¹˝Ž−¼Þ=ÝšÐ½−¼¹ł˝š²=JŠÐð½Ć−¼K=·Ðˇ=
×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

Ùş¹½ğ³ž=„¾ˇ¹ý−łćÞ=Eaçïåäç~ÇáåÖF
Ì¦şÞž=„×ÐŁšŁˇ˝ğ³ž²
Ó¹ÐÞ=?ðˇ½šŁ˙³š½š?=ý˝ˇ=š¾ˇ¹ý−ł¸I=¦ˇ=³ˇ²=Žž½ž¦š˝=Þˇ=š×ÐŁšŁˇÐć³š½š=½žÞ=š¾ˇ¹ý−ł¸=
×−¼=×¹şðšÐ½ˇÐ=Þˇ=Ý˙Łš½šK
fl¾−Ć=šÝ˚łþš½š=½Ð²=×Ýž¹−¾−¹˝š²=³½žÞ=−¦şÞž=š×ÐŁšŁˇ˝ğ³ž²I=ý×−¹š˝½š=Þˇ=
?ðˇ½šŁ˙³š½š?=½žÞ=š¾ˇ¹ý−ł¸K

Òžýš˝ğ³ž
≥ Òš=−¹Ð³ý˚Þš²=−¦şÞš²=×Ýž¹−¾−¹ÐćÞI=š˝ÞˇÐ=×Ð¦ˇÞş=Þˇ=ˇ×ˇÐ½š˝½ˇÐ=×Ð³½−×−˝ž³ž=
₣¹¸³½ž=×¹ÐÞ=½ž=¾ş¹½ğ³ž=½ž²=š¾ˇ¹ý−ł¸²K

=Ej=SJQF
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Ú−=¼ÝÐðş=ý−¼

„ð½˚Ýš³ž=„¾ˇ¹ý−łćÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?È¸ĞšÐ²=g~î~∑?
ÌÐ=š¾ˇ¹ý−ł˚²=×−¼=̊ ₣š½š=?ðˇ½šŁ˙³šÐ?=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=½ž=³šÐ¹˙I=þšðÐÞćÞ½ˇ²=̌ ×ş=½žÞ=
×Ð−=×¹ş³¾ˇ½žK

NK „×ÐÝ˚þ½š=½−Þ=½˝½Ý−=½ž²=š¾ˇ¹ý−ł¸²=×−¼=¦˚Ýš½š=Þˇ=šð½šÝ˚³š½šK
Â=š×ÐÝšłý˚Þž=š¾ˇ¹ý−ł¸=šð½šÝš˝½ˇÐK=⁄½ˇÞ=₣¹ž³Ðý−×−Ðš˝½š=š¾ˇ¹ý−ł˚²=×−¼=
¼×−³½ž¹˝Ž−¼Þ=³ĆÞŠš³ž=³š=Š˝ð½¼−I=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½ž=³ĆÞŠš³ž=³½−=
Š˝ð½¼−K

OK ·Ðˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=š¾ˇ¹ý−ł¸=×Ð˚³½š=F=ðˇÐ=š×ÐÝ˚þ½š=?Ú˚Ý−²?K

ÔĆ¦ýÐ³ž=Í˝ˇ²=„¾ˇ¹ý−ł¸²=pÅêÉÉåë~îÉê
?Ú−=¼ÝÐðş=ý−¼?=→=?È¸ĞšÐ²=g~î~∑?
NK Íˇ¹ð˙¹š½š=½žÞ=š¾ˇ¹ý−ł¸=ëÅêÉÉåë~îÉê=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š= K
„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=š×ÐŁšŁˇ˝ğ³ž²=łÐˇ=½ž=¹Ć¦ýÐ³ž=½−¼=ëÅêÉÉåë~îÉêK

PK „×ÐÝ˚þ½š=xÎˇÐzK
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Ú−=¼ÝÐðş=ý−¼

Ùş¹½ğ³ž=˙ÝÝğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?È¸ĞšÐ²=g~î~∑?=→=?Ùş¹½ğ³ž=˙ÝÝğÞ?
NK „×ÐÝ˚þ½š=½žÞ=š¾ˇ¹ý−ł¸=×−¼=¦˚Ýš½š=Þˇ=?ðˇ½šŁ˙³š½š?K

Â=−¦şÞž=š×ÐŁšŁˇ˝ğ³ž²=šý¾ˇÞ˝Žš½ˇÐ=ýš½˙=ˇ×ş=−¹Ð³ý˚Þš²=−¦şÞš²=½−¼=t^m=
ÄêçïëÉêK

OK ÓÐ˚³½š= =łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=¾ş¹½ğ³žK

PK ÓÐ˚³½š= =ş½ˇÞ=½šÝšÐć³š½šK

„Þš¹ł−×−˝ž³ž=fl¹₣š˝ğÞ=ýš=Ó¹−³½ˇ³˝ˇ=ÓÞš¼ýˇ½ÐðćÞ=‚ÐðˇÐğý˙½ğÞ=EaojF
Ì¹Ð³ý˚Þˇ=ˇ¹₣š˝ˇ=šÐðşÞğÞI=¸₣−¼=ðˇÐ=îáÇÉç=Åäáé=ŠÐˇ¦˚½−¼Þ=˚Þˇ=×¹şł¹ˇýýˇ=Ğž¾Ðˇð¸²=
×¹−³½ˇ³˝ˇ²=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞI=½−=−×−˝−=−Þ−ý˙Žš½ˇÐ=aoj=EaáÖáí~ä=oáÖÜíë=
j~å~ÖÉãÉåíI=ˆž¾Ðˇð¸=‚Ðˇ₣š˝¹Ð³ž=‚ÐðˇÐğý˙½ğÞFK=·Ðˇ=Þˇ=ˇÞ−˝þš½š=½˚½−Ðˇ=ˇ¹₣š˝ˇI=¦ˇ=
×¹˚×šÐ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½žÞ=Ğž¾Ðˇð¸=˙ŠšÐˇK=Úˇ=ˇ¹₣š˝ˇ=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ýš=
aoj=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=½žÞ=š×Ð³¸ýˇÞ³ž= K

?Ú−=¼ÝÐðş=ý−¼?
NK „×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šI=?Ùğ½−ł¹ˇ¾˝š²?I=?◊₣−²=C=Ë−¼Š−¼ÞK?=¸=?sáÇÉçë?K
OK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=šÞš¹ł−×−Ð¸³š½šK
PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„Þš¹ł−×−˝ž³ž?K
Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²=ýš=×¹−³½ˇ³˝ˇ=aoj=š˝ÞˇÐ=×Ð¦ˇÞş=Þˇ=ýž=ý×−¹−ĆÞ=Þˇ=

ˇÞ−Ð₣½−ĆÞ=ˇðşýž=ðˇÐ=³½žÞ=×š¹˝×½ğ³ž=×−¼=š×Ð₣šÐ¹¸³š½š=Þˇ=½Ð²=šÞš¹ł−×−Ð¸³š½šK
≥ ÌÐ=¾ğ½−ł¹ˇ¾˝š²=ýš=aoj=ŠšÞ=ý×−¹−ĆÞ=Þˇ=ˇ×−³½ˇÝ−ĆÞ=ğ²=³¼Þžýý˚Þˇ=³š=˚Þˇ=

ý¸Þ¼ýˇI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=×ˇ¹˙Š−³ž²K
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Ú−=¼ÝÐðş=ý−¼

fl×−³½−Ý¸=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
„×ÐÝ˚þ½š=½−=ðˇ½˙ÝÝžÝ−=ýšÞ−ĆK

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−²=C=Ë−¼Š−¼ÞK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K
PK „×ÐÝ˚þ½š=?Íš=_äìÉíççíÜ?=¸=?Íš=Û×˚¹¼¦¹š²?K
·Ðˇ=?Íš=_äìÉíççíÜ?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ OMSK
·Ðˇ=?Íš=Û×˚¹¼¦¹š²?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ ONOK

Òžýš˝ğ³ž
≥ ÌÐ=Ùğ½−ł¹ˇ¾˝š²L◊₣−ÐLsáÇÉç=Åäáéë=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=

ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=ˇ×−³½ˇÝ−ĆÞI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=
×ˇ¹˙Š−³ž²

≥ ·Ðˇ=½ž=³ĆÞŠš³ž=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=šÐ³˙łš½š=½−Þ=ðğŠÐðş=×¹ş³Łˇ³ž²=ş½ˇÞ=
š×Ðð−ÐÞğÞš˝½š=łÐˇ=×¹ć½ž=¾−¹˙=ýš=ý˝ˇ=³¼³ðš¼¸=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=
_äìÉíççíÜK
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Ú−=¼ÝÐðş=ý−¼

È¸Ğž=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=ÝˇýŁ˙ÞšÐ=ŠšŠ−ý˚Þˇ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼I=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²K

NK ÓÐ˚³½š=xÎˇÐzK
Úˇ=Ýž¾¦˚Þ½ˇ=ŠšŠ−ý˚Þˇ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−Þ=ˇÞ½˝³½−Ð₣−=¾˙ðšÝ−I=Ú−=¼ÝÐðş=ý−¼K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=¼×˚¹¼¦¹ğÞ=¸=

ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=_äìÉíççíÜI=Šš˝½š=?Ò¼ÞŠš³Ðýş½ž½ˇ?=³½ž=³šÝ˝Šˇ OMSK

ÒšÝÐŠ−Šš˝ð½š²
Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=½Ð²=³šÝ˝Šš²=EŠÐš¼¦ĆÞ³šÐ²F=×−¼=š×Ð¦¼ýš˝½š=E¸=ˇ¼½˚²=×−¼=
₣¹ž³Ðý−×−Ðš˝½š=³¼₣Þş½š¹ˇF=³½−¼²=ÒšÝÐŠ−Šš˝ð½š²K=Êˇ=šþ−Ðð−Þ−ý¸³š½š=₣¹şÞ−=ðˇ½˙=
½žÞ=×¹ş³Łˇ³ž=³š=³šÝ˝Šš²=t^mK=·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=?sçÇ~ÑçåÉ=
äáîÉ>?=³½ž=³šÝ˝Šˇ NMRK

?Ú−=¼ÝÐðş=ý−¼?=→=?ÒšÝÐŠ−Šš˝ð½š²?
NK „×ÐÝ˚þ½š=½ž=³šÝ˝Šˇ=×−¼=¦˚Ýš½š=Þˇ=š×Ð³ðš¾¦š˝½šK

ÌÐ=fl×−¦žðš¼ý˚Þš²=ÒšÝ˝Šš²=ý−¼
Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=½ž=³šÝ˝Šˇ=t^m=ğ²=³½ÐłýÐş½¼×−K

?Ú−=¼ÝÐðş=ý−¼?=→=?fl×−¦K=ÒšÝ˝Šš²=Í−¼?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=×¹−Ł˙Ýš½šK

=Ej=SJRF

=Ej=SJSF
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Ú−=¼ÝÐðş=ý−¼

Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=̊ ğ²=ðˇÐ=RM ×¹ş½¼×ˇ=ðš˝ýšÞˇ=łÐˇ=Þˇ=½ˇ=₣¹ž³Ðý−×−Ð¸³š½š=
³š=ł¹ˇ×½˙=ýžÞĆýˇ½ˇ=¸=ýžÞĆýˇ½ˇ=×−Ý¼ý˚³ğÞK=Â=ý˚łÐ³½ž=₣ğ¹ž½Ððş½ž½ˇ=½ğÞ=
×¹ş½¼×ğÞ=ðšÐý˚ÞğÞ=š˝ÞˇÐ=NMM h_K

Ó¹−³¦¸ðž=Ù¹˙³šğÞ=³š=Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?=→=?Ó¹−³¦K=Î˚−¼=Ó¹−½Ć×K?
NK „Ð³ˇł˙łš½š=½−=ðš˝ýšÞ−=ðˇÐ=×Ð˚³½š= K

„×šþš¹łˇ³˝ˇ=Ó¹−½Ć×ğÞ=ËšÐý˚ÞğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK Ú¹−×−×−Ð¸³½š=½−=ðš˝ýšÞ−=ðˇÐ=×Ð˚³½š= K

Ó¹−Ł−Ý¸=Ó¹−½Ć×ğÞ=ËšÐý˚ÞğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?
„ý¾ˇÞ˝Žš½ˇÐ=ž=Ý˝³½ˇ=Ó¹−½Ć×ğÞ=ËšÐý˚ÞğÞK

NK Íˇ¹ð˙¹š½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=¦˚Ýš½š=Þˇ=Šš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−Ł−Ý¸?K

‚Ðˇł¹ˇ¾¸=Ó¹−½Ć×ğÞ=ËšÐý˚ÞğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=¦˚Ýš½š=Þˇ=ŠÐˇł¹˙Ğš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

=Ej=SJTF
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Ú−=¼ÝÐðş=ý−¼

fl×−³½−Ý¸=Ó¹ş½¼×ğÞ=ËšÐý˚ÞğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸=pjp?K

¿ÝÝˇ=÷łł¹ˇ¾ˇ
Ì¹Ð³ý˚Þ−Ð=½Ć×−Ð=ˇ¹₣š˝ğÞI=šð½ş²=½ğÞ=ˇ¹₣š˝ğÞ=¾ğ½−ł¹ˇ¾˝ˇ²I=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=
¾˙ðšÝ−=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?=½−¼=½žÝš¾ćÞ−¼K=Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=ðˇÐ=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½˙=½ˇ=ˇ¹₣š˝ˇ=ğ²=ŠšŠ−ý˚Þˇ=½−¼=¾ˇð˚Ý−¼=?Ú−=¼ÝÐðş=ý−¼?K

¿Þ−Ðłýˇ=½−¼=fl¹₣š˝−¼=„łł¹˙¾−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

fl×−³½−Ý¸=½−¼=fl¹₣š˝−¼=„łł¹˙¾−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

=Ej=SJUF
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Ú−=¼ÝÐðş=ý−¼

ı¹¸³ž=½ğÞ=fl¹₣š˝ğÞ
Í×−¹š˝½š=Þˇ=ˇÞ½Ðł¹˙Ğš½šI=Þˇ=ýš½ˇðÐÞ¸³š½šI=Þˇ=½ˇþÐÞ−ý¸³š½šI=Þˇ=ýš½−Þ−ý˙³š½š=ðˇÐ=
Þˇ=ŠÐˇł¹˙Ğš½š=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=˚łł¹ˇ¾ˇK

?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−žłý˚Þš²?K

„×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šI=ˇÞ˙Ý−łˇ=ýš=½Ð²=ˇÞ˙łðš²=³ˇ²K
?Íš½ˇð˝Þž³ž?W Íš½ˇðÐÞš˝=½ˇ=ˇ¹₣š˝ˇ=³š=˚ÞˇÞ=˙ÝÝ−=¾˙ðšÝ−K=„×ÐÝ˚þ½š=½−=

¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=ýš½ˇðÐÞ¸³š½šK
?flÞ½Ðł¹ˇ¾¸?W Ú−=ˇ¹₣š˝−=ˇÞ½Ðł¹˙¾š½ˇÐK=„×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=¦˚Ýš½š=Þˇ=

ˇÞ½Ðł¹˙Ğš½šK
?‚žýK=Ùˇð˚Ý−¼?W ‚žýÐ−¼¹łš˝=˚ÞˇÞ=Þ˚−=¾˙ðšÝ−K

ı¹¸³ž=Ó−ÝÝˇ×Ý¸²=„×ÐÝ−ł¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=×ˇ¹ˇ×˙Þğ=ˇ×ş=˚Þˇ=ˇ¹₣š˝−=łÐˇ=ýš½ˇð˝Þž³žI=ˇÞ½Ðł¹ˇ¾¸=¸=
ŠÐˇł¹ˇ¾¸K

?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?=→=x„×ÐÝKz=→=?Ó¹−žłý˚Þš²?=→=?Ó−ÝÝˇ×Ý¸=
„×ÐÝK?
NK „×ÐÝ˚þ½š=½ˇ=−Þşýˇ½ˇ=ˇ¹₣š˝ğÞ=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK

„˙Þ=š×ÐÝ˚þš½š=?‚Ðˇł¹ˇ¾¸?I=šý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²K
Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ˇ¾ˇÐ¹˚³š½š=½−=½³šð˙¹Ð³ýˇI=š×ÐÝ˚þ½š=þˇÞ˙=½−=ˇ¹₣š˝−=¸=š×ÐÝ˚þ½š=

?fl×−š×ÐÝ−ł¸?=³½−=Ł¸ýˇ=OK
≥ „˙Þ=¦˚Ýš½š=Þˇ=š×ÐÝ˚þš½š=şÝˇ=½ˇ=ˇ¹₣š˝ˇI=š×ÐÝ˚þ½š=?„×ÐÝ−ł¸=⁄ÝğÞ?=³½−=Ł¸ýˇ=OK=·Ðˇ=

Þˇ=ˇð¼¹ć³š½š=½žÞ=š×ÐÝ−ł¸=şÝğÞ=½ğÞ=ˇ¹₣š˝ğÞI=š×ÐÝ˚þ½š=?fl×−š×ÐÝ−ł¸=⁄ÝğÞ?K=Ò½ž=
³¼Þ˚₣šÐˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½−=ýšÞ−Ć=×−¼=¦˚Ýš½šK
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Ú−=¼ÝÐðş=ý−¼

ÚˇþÐÞşýž³ž=½ğÞ=fl¹₣š˝ğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?=→=x„×ÐÝKz=→=?Ó¹−žłý˚Þš²?=→=?ÚˇþÐÞşýK=
È˝³½ˇ²?
NK „×ÐÝ˚þ½š=½ž=³šÐ¹˙=×−¼=š×Ð¦¼ýš˝½šK

Íš½−Þ−ýˇ³˝ˇ=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½−Þ−ýˇ³˝ˇ?K

‚Ðˇł¹ˇ¾¸=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=„łł¹˙¾−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=Šš˝½š=ˇÞˇÝ¼½Ðð˚²=×Ýž¹−¾−¹˝š²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Èš×½−ýK?K
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È¸ĞšÐ²=g~î~∑=Ej=NF

d~ãÉë
„ý¾ˇÞ˝Žš½ˇÐ=ž=Ý˝³½ˇ=š¾ˇ¹ý−łćÞ=g~î~∑K
ÌÐ=š¾ˇ¹ý−ł˚²=×−¼=̊ ₣š½š=?ðˇ½šŁ˙³šÐ?=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=½ž=³šÐ¹˙I=þšðÐÞćÞ½ˇ²=̌ ×ş=½žÞ=
×Ð−=×¹ş³¾ˇ½žK

„ð½˚Ýš³ž=„¾ˇ¹ý−łćÞ
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=šð½˚Ýš³ž=š¾ˇ¹ý−łćÞI=Šš˝½š=?„ð½˚Ýš³ž=
„¾ˇ¹ý−łćÞ?=³½ž=³šÝ˝Šˇ NPRK

ÔĆ¦ýÐ³ž=„×Ð×˚Š−¼=fl³¾ˇÝš˝ˇ²
Í×−¹š˝½š=Þˇ=−¹˝³š½š=½−=š×˝×šŠ−=ˇ³¾ˇÝš˝ˇ²=łÐˇ=š×ÐÝšłý˚Þš²=š¾ˇ¹ý−ł˚²=g~î~∑K
?È¸ĞšÐ²=g~î~∑?=→=?d~ãÉë?
NK Íˇ¹ð˙¹š½š=½žÞ=š¾ˇ¹ý−ł¸=g~î~∑=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×˝×šŠ−=fl³¾˙ÝK?K
PK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W

?Ó¹ş³ŁK=³½−=‚˝ð½¼−?W Ì¹˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=łÐˇ=½žÞ=×¹ş³Łˇ³ž=³½−=Š˝ð½¼−K
?ÍžÞĆýˇ½ˇ?W Ì¹˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=łÐˇ=½Ð²=ÝšÐ½−¼¹ł˝š²=ýžÞ¼ý˙½ğÞ=

jjp=ðˇÐ=pjpK
?^ìíç=oìå?W Ì¹˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=łÐˇ=½ž=ÝšÐ½−¼¹ł˝ˇ=fl¼½şýˇ½ž²=

„ð½˚Ýš³ž²K
?Ú−×Ðð¸=³ĆÞŠš³ž?W Ì¹˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=łÐˇ=½žÞ=×¹ş³Łˇ³ž=³š=½−×Ðð˙=

×š¹Ðš₣şýšÞˇK
?flÞ˙łÞK=‚šŠ−ýK=ı¹¸³½ž?WÔ¼¦ý˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=ˇÞ˙łÞğ³ž²=½ğÞ=ŠšŠ−ý˚ÞğÞ=

₣¹¸³½žI=ş×ğ²=½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=š×ˇ¾ćÞI=½ž²=
¦¼¹˝Šˇ²=ˇÝÝžÝ−ł¹ˇ¾˝ˇ²=E„Ð³š¹₣şýšÞˇF=ðˇÐ=½ğÞ=
ŠšŠ−ý˚ÞğÞ=×−¼=×š¹Ð˚₣−Þ½ˇÐ=³½−=ÛÝÐðş=Í−¼K

=Ej=NJNF
ËÞøåéò Java™

Games
Screensavers
Ñõèìßóåéò
Ðëçñïö. Java™

ÅðéëïãÞ Ðßóù
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È¸ĞšÐ²=g~î~∑

?„łł¹KK=‚šŠ−ýK=ı¹¸³½ž?W Ì¹˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=łÐˇ=½žÞ=šłł¹ˇ¾¸=ðˇ½ˇ₣ğ¹¸³šğÞ=
³½−=½žÝ˚¾ğÞş=³ˇ²=ş×ğ²=ðˇ½ˇ₣ğ¹¸³šÐ²=È˝³½ˇ²I=„×ˇ¾ćÞ=
ýžÞĆýˇ½ˇ=E„Ð³š¹₣şýšÞˇF=ðˇÐ=³½−Ð₣š˝ˇ=ˇ×ş=Ú−=ÛÝÐðş=ý−¼K

?ı¹¸³ž=Ó−Ý¼ý˚³ğÞ?W Ô¼¦ý˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=łÐˇ=½ž=₣¹¸³ž=½ž²=ÝšÐ½−¼¹ł˝ˇ²=
³˙¹ğ³ž²=ł¹ˇýýÐðćÞ=ðğŠÐðćÞK

?Ó¹ş³Łˇ³ž=³š=¦˚³ž?W Ô¼¦ý˝ŽšÐ=½žÞ=ˇ³¾˙ÝšÐˇ=łÐˇ=½ž=šÞžý˚¹ğ³ž=½ž²=
ÝšÐ½−¼¹ł˝ˇ²=×¹−³ŠÐ−¹Ð³ý−Ć=¦˚³ž²K

?„×ˇÞˇ¾−¹˙?W flð¼¹ćÞšÐ=şÝš²=½Ð²=×ˇ¹ˇ×˙Þğ=¹¼¦ý˝³šÐ²K

QK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W
?ÒĆÞ−Š−²?W Ú−=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=ý˚₣¹Ð=Þˇ=

½š¹ýˇ½˝³š½š=½žÞ=š¾ˇ¹ý−ł¸I=ş½ˇÞ=ž=šð½˚Ýš³ž=½−¼=^mf=½ž²=
³¼łðšð¹Ðý˚Þž²=−ý˙Šˇ²=ÝšÐ½−¼¹łÐćÞ=˚₣šÐ=šłð¹Ð¦š˝K

?ÍÐˇ=¾−¹˙?W Ú−=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=šý¾ˇÞ˝Žš½ˇÐ=ð˙¦š=¾−¹˙=×−¼=
šð½šÝš˝½ˇÐ=½−=^mf=½ž²=³¼łðšð¹Ðý˚Þžë=−ý˙Šˇ²=ÝšÐ½−¼¹łÐćÞK

?Ë˙Ý¼ýýˇ?W Ú−=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=ý˚₣¹Ð=Þˇ=
ŠÐˇł¹ˇ¾š˝=ž=š¾ˇ¹ý−ł¸=¸=ý˚₣¹Ð=Þˇ=ˇÝÝ˙þš½š=½Ð²=¹¼¦ý˝³šÐ²I=
ş½ˇÞ=ž=šð½˚Ýš³ž=½−¼=^mf=½ž²=³¼łðšð¹Ðý˚Þž²=−ý˙Šˇ²=
ÝšÐ½−¼¹łÐćÞ=˚₣šÐ=šłð¹Ð¦š˝K

?⁄₣Ð?W ‚šÞ=š×Ð½¹˚×š½ˇÐ=ž=šð½˚Ýš³ž=½−¼=^mf=½ž²=³¼łðšð¹Ðý˚Þž²=
−ý˙Šˇ²=ÝšÐ½−¼¹łÐćÞK

ÔĆ¦ýÐ³ž=Ó¹ş³Łˇ³ž²=³½−=‚˝ð½¼−
·Ðˇ=Þˇ=ý×−¹˚³š½š=Þˇ=?ðˇ½šŁ˙³š½š?=š¾ˇ¹ý−ł˚²=g~î~∑I=¦ˇ=×¹˚×šÐ=Þˇ=¹¼¦ý˝³š½š=½žÞ=
×¹ş³Łˇ³ž=³½−=Š˝ð½¼−K

?È¸ĞšÐ²=g~î~∑?=→=?d~ãÉë?=→=x„×ÐÝKz=→=?„×˝×šŠ−=fl³¾˙ÝK?=→=?Ó¹ş³ŁK=³½−=
‚˝ð½¼−?
NK „×ÐÝ˚þ½š=?ÒĆÞ−Š−²?I=?låÉëÜçí?I=?_ä~åâÉí?=¸=?⁄₣Ð?K
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È¸ĞšÐ²=g~î~∑

Ó¹−Ł−Ý¸=ÓÝž¹−¾−¹ÐćÞ=„¾ˇ¹ý−ł¸²
Í×−¹š˝½š=Þˇ=šÝ˚łþš½š=½Ð²=×Ýž¹−¾−¹˝š²=½ğÞ=š¾ˇ¹ý−łćÞ=g~î~∑K

?È¸ĞšÐ²=g~î~∑?=→=?d~ãÉë?
NK Íˇ¹ð˙¹š½š=½žÞ=š¾ˇ¹ý−ł¸=g~î~∑=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÓÝž¹−¾−¹˝š²?K

‚Ðˇł¹ˇ¾¸=ý˝ˇ²=„¾ˇ¹ý−ł¸²
Í×−¹š˝½š=Þˇ=ŠÐˇł¹˙Ğš½š=ý˝ˇ=š¾ˇ¹ý−ł¸=ˇ×ş=½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K
?È¸ĞšÐ²=g~î~∑?=→=?d~ãÉë?
NK Íˇ¹ð˙¹š½š=½žÞ=š¾ˇ¹ý−ł¸=g~î~∑=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

pÅêÉÉåë~îÉêë
Í×−¹š˝½š=Þˇ=?ðˇ½šŁ˙³š½š?=š¾ˇ¹ý−ł˚²=ëÅêÉÉåë~îÉê=łÐˇ=½žÞ=−¦şÞž=ˇÞˇý−Þ¸²K

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=½−¼=pÅêÉÉåë~îÉê
?È¸ĞšÐ²=g~î~∑?=→=?pÅêÉÉåë~îÉêë?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?„Þš¹łş?=ðˇÐ=ŠšÞ=˚₣š½š=−¹˝³šÐ=ý˝ˇ=š¾ˇ¹ý−ł¸=ëÅêÉÉåë~îÉêI=¦ˇ=

×¹−ŁÝž¦š˝=ý˝ˇ=Ý˝³½ˇ=ýš=şÝ−¼²=½−¼²=ŠÐˇ¦˚³Ðý−¼²=ëÅêÉÉåë~îÉêëI=×¹−½¹˚×−Þ½˙²=³ˇ²=
Þˇ=×¹−₣ğ¹¸³š½š=³½žÞ=š×ÐÝ−ł¸=³ˇ²K

Ej=NJOF
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È¸ĞšÐ²=g~î~∑

Ì¹Ð³ýş²=„¾ˇ¹ý−ł¸²
?È¸ĞšÐ²=g~î~∑?=→=?pÅêÉÉåë~îÉêë?=→=?Ì¹Ð³ýş²=„¾ˇ¹ý−ł¸²?
„ý¾ˇÞ˝Ž−Þ½ˇÐ=−Ð=š¾ˇ¹ý−ł˚²=×−¼=˚₣š½š=ðˇ½šŁ˙³šÐK

NK „×ÐÝ˚þ½š=½žÞ=š¾ˇ¹ý−ł¸=ëÅêÉÉåë~îÉê=×−¼=š×Ð¦¼ýš˝½šK

Ô¼¦ý˝³šÐ²
÷Þ½ˇ³ž=◊₣−¼=„¾ˇ¹ý−ł¸²
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=¸₣−¼=½ž²=š¾ˇ¹ý−ł¸²I=ş×ğ²=×K₣K=˚Þˇ=ž₣ž½Ððş=
š¾¾˚I=³š=̊ Þˇ=̌ ×ş=½ˇ=×˚Þ½š=š×˝×šŠˇ=̧ =³½−=³Ðğ×žÝşK=⁄½ˇÞ=½−=³½−Ð₣š˝−=ýšÞ−Ć=?÷Þ½ˇ³ž?=
š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þ−=³½−=?ÒÐğ×žÝş?I=½ş½š=ˇ¼½¸=ž=¹Ć¦ýÐ³ž=˚₣šÐ=×¹−½š¹ˇÐş½ž½ˇK
?È¸ĞšÐ²=g~î~∑?=→=?Ô¼¦ý˝³šÐ²?=→=?÷Þ½ˇ³ž=„¾ˇ¹ý−ł¸²?
Ú−=½¹˚₣−Þ=š×˝×šŠ−=˚Þ½ˇ³ž²=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK
NK ÓÐ˚³½š=a=E¸=dF=łÐˇ=Þˇ=ˇ¼þ¸³š½š=½žÞ=̊ Þ½ˇ³ž=̧ =×Ð˚³½š=b=E¸=cF=łÐˇ=Þˇ=ýšÐć³š½š=

½žÞ=˚Þ½ˇ³ž=ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= K

Ùğ½Ð³ýş²
?È¸ĞšÐ²=g~î~∑?=→=?Ô¼¦ý˝³šÐ²?=→=?Ùğ½Ð³ýş²?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?I=?Ó˙Þ½ˇ=ðÝšÐ³½ş²?=¸=?ËˇÞ−ÞK=Ô¼¦”K?K

?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?W Íš=¾ğ½Ð³ýş=ðˇ½˙=½žÞ=šð½˚Ýš³ž=½ž²=š¾ˇ¹ý−ł¸²K=
Ú¹šý−×ˇ˝ŽšÐ=ş½ˇÞ=˚₣šÐ=šÞš¹ł−×−Ðž¦š˝=ž=¹Ć¦ýÐ³ž=
½¹šý−×ˇ˝łýˇ½−²K

?Ó˙Þ½ˇ=ðÝšÐ³½ş²?W ığ¹˝²=¾ğ½Ð³ýş=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=šð½˚Ýš³ž²=½ž²=
š¾ˇ¹ý−ł¸²=ˇðşýž=ðˇÐ=š˙Þ=×Ðš³½š˝=ð˙×−Ð−=×Ý¸ð½¹−K

?ËˇÞ−ÞK=Ô¼¦”K?W ÈšÐ½−¼¹ł˝ˇ=ýš=½žÞ=ðĆ¹Ðˇ=¹Ć¦ýÐ³ž=¾ğ½Ð³ý−Ć=E³šÝK NUNFK=
Ú¹šý−×ˇ˝ŽšÐ=ş½ˇÞ=˚₣šÐ=šÞš¹ł−×−Ðž¦š˝=ž=¹Ć¦ýÐ³ž=
½¹šý−×ˇ˝łýˇ½−²K

=Ej=NJPF
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È¸ĞšÐ²=g~î~∑

„Þš¹ł−×−˝ž³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=‚Ðˇðšð−ýý˚Þ−¼=Ùğ½Ð³ý−Ć
Íš=ˇ¼½¸=½ž=¹Ć¦ýÐ³žI=ž=šÞš¹ł−×−˝ž³ž=½−¼=¾ğ½Ð³ý−Ć=šÝ˚ł₣š½ˇÐ=ˇ×ş=½žÞ=š¾ˇ¹ý−ł¸K=
„˙Þ=−¹Ð³½š˝=³š=?Íž=šÞš¹łş?I=½ş½š=−=¾ğ½Ð³ýş²=ŠšÞ=ý×−¹š˝=Þˇ=šÞš¹ł−×−Ðž¦š˝=̌ ×ş=½žÞ=
š¾ˇ¹ý−ł¸K

?È¸ĞšÐ²=g~î~∑?=→=?Ô¼¦ý˝³šÐ²?=→=?Ùğ½Ð³ýş²?=→=?Ú¹šýş×ˇÐłýˇ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

‚şÞž³ž
⁄½ˇÞ=ž=š¾ˇ¹ý−ł¸=×š¹ÐÝˇýŁ˙ÞšÐ=ÝšÐ½−¼¹ł˝ˇ=ŠşÞž³ž²I=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=š˙Þ=
ˇ¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=¦ˇ=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þž=¸=ˇ×šÞš¹ł−×−Ðžý˚ÞžK
„˙Þ=×¹−ŠÐˇł¹˙¾š½ˇÐ=ş½Ð=ž=š¾ˇ¹ý−ł¸=₣¹ž³Ðý−×−Ðš˝=˚Þˇ=ˇ¹₣š˝−=pj^cI=ý×−¹š˝½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=ŠşÞž³ž²=×−¼=˚₣šÐ=−¹Ð³½š˝=³½−=ˇ¹₣š˝−=pj^cK

Òžýš˝ğ³ž
≥ Ú−=pj^c=EpóåíÜÉíáÅ=ãìëáÅ=jçÄáäÉ=̂ ééäáÅ~íáçå=cçêã~íF=š˝ÞˇÐ=̊ Þˇ=¾−¹ý˙=ŠšŠ−ý˚ÞğÞ=

ý−¼³Ðð¸²=łÐˇ=ðÐÞž½˙=½žÝ˚¾ğÞˇK
?È¸ĞšÐ²=g~î~∑?=→=?Ô¼¦ý˝³šÐ²?=→=?‚şÞž³ž?
NK „×ÐÝ˚þ½š=?„Þš¹łş?I=?iáåâ=íç=ëçìåÇ?=¸=?Íž=šÞš¹łş?K

„˙Þ=š×ÐÝ˚þš½š=?iáåâ=íç=ëçìåÇ?I=½ş½š=ž=ŠşÞž³ž=³¼ł₣¹−Þ˝Žš½ˇÐ=ýš=½−Þ=¸₣−=½−¼=
ˇ¹₣š˝−¼=pj^c=½ž²=š¾ˇ¹ý−ł¸²K
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È¸ĞšÐ²=g~î~∑

ËÝ¸³šÐ²=C=Ï¼×Þž½¸¹Ðˇ
Í×−¹š˝½š=Þˇ=−¹˝³š½š=½žÞ=×¹−½š¹ˇÐş½ž½ˇ=łÐˇ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=ðˇÐ=½−=
þ¼×Þž½¸¹Ð=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=šð½˚Ýš³ž²=ý˝ˇ²=š¾ˇ¹ý−ł¸²K

?È¸ĞšÐ²=g~î~∑?=→=?Ô¼¦ý˝³šÐ²?=→=?ËÝ¸³šÐ²=C=Ï¼×Þž½K?
NK „×ÐÝ˚þ½š=?„Ð³š¹₣şýšÞž?I=?ËÝ¸³ž=sáÇÉç?I=?„Ð³š¹₣K=Í¸Þ¼ýˇ?=¸=?Ï¼×Þž½¸¹Ð?K

OK „×ÐÝ˚þ½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK
≥ ?Ó¹−½š¹K=ËÝ¸³ž²?I=?Ó¹−½š¹K=ÍžÞĆýK?=¸=?Ó¹−½š¹K=Ï¼×Þž½K?W

Â=š¾ˇ¹ý−ł¸=½˝¦š½ˇÐ=ˇ¼½şýˇ½ˇ=³š=ˇÞˇý−Þ¸=ðˇÐ=ý×−¹š˝½š=Þˇ=ˇ×ˇÞ½¸³š½š=³š=ý˝ˇ=
ðÝ¸³ž=̧ =̊ Þˇ=ý¸Þ¼ýˇI=̧ =¦ˇ=̌ ð−¼³½š˝=½−=þ¼×Þž½¸¹ÐI=̌ Þ½˝³½−Ð₣ˇK=fl¾−Ć=½š¹ýˇ½Ð³½š˝=ž=
ðÝ¸³žI=½−=ý¸Þ¼ýˇ=¸=½−=þ¼×Þž½¸¹ÐI=šý¾ˇÞ˝Žš½ˇÐ=½−=šÐð−Þ˝ŠÐ−=ˇÞˇý−Þ¸²=E F=łÐˇ=Þˇ=
łÞğ¹˝Žš½š=ş½Ð=˚₣šÐ=½š¦š˝=³š=ˇÞˇý−Þ¸=ý˝ˇ=š¾ˇ¹ý−ł¸K

≥ ?„ÐŠ−×K=ËÝ¸³ž²?I=?„ÐŠş×K=ÍžÞĆýK?=¸=?„ÐŠ−×K=Ï¼×Þž½K?W
Ò½žÞ=×¹ć½ž=ł¹ˇýý¸=½ž²=−¦şÞž²=šý¾ˇÞ˝Žš½ˇÐ=ýÐˇ=?ýˇ¹ð˝Žˇ?=Eð¼ÝÐşýšÞ−Ð=
₣ˇ¹ˇð½¸¹š²F=šÞć=³¼Þš₣˝Žš½ˇÐ=ž=šð½˚Ýš³ž=½ž²=š¾ˇ¹ý−ł¸²K=„˙Þ=×Ð˚³š½š=DI=ž=
š¾ˇ¹ý−ł¸=½˝¦š½ˇÐ=³š=ˇÞˇý−Þ¸=ðˇÐ=ý×−¹š˝½š=Þˇ=Šš₣½š˝½š=ýÐˇ=šÐ³š¹₣şýšÞž=ðÝ¸³ž=¸=
˚Þˇ=ý¸Þ¼ýˇK=fl¾−Ć=½š¹ýˇ½Ð³½š˝=ž=ðÝ¸³ž=¸=½−=ý¸Þ¼ýˇI=šý¾ˇÞ˝Žš½ˇÐ=½−=šÐð−Þ˝ŠÐ−=
ˇÞˇý−Þ¸²=E F=łÐˇ=Þˇ=łÞğ¹˝Žš½š=ş½Ð=˚₣šÐ=½š¦š˝=³š=ˇÞˇý−Þ¸=ý˝ˇ=š¾ˇ¹ý−ł¸K

ÓÝž¹−¾−¹˝ˇ=g~î~∑
Ó¹−Ł˙ÝÝ−Þ½ˇÐ=−Ð=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½Ð²=˙ŠšÐš²=₣¹¸³ž²=½−¼=g~î~∑K

=Ej=NJQF
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„¾ˇ¹ý−ł˚²=Ej=TF

Âýš¹−ÝşłÐ−
Ú−=Âýš¹−ÝşłÐ−=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=−¹łˇÞć³š½š=šĆð−Ýˇ=½Ð²=³¼ÞˇÞ½¸³šÐ²=ðˇÐ=½Ð²=
šðŠžÝć³šÐ²I=×−¼=˚₣−¼Þ=−¹Ð³½š˝=łÐˇ=³¼łðšð¹Ðý˚Þž=žýš¹−ýžÞ˝ˇ=ðˇÐ=ć¹ˇK

fl¼½˚²=−Ð=ðˇ½ˇ₣ğ¹¸³šÐ²=ý×−¹−ĆÞ=Þˇ=³½ˇÝ−ĆÞ=ý˚³ğ=¼×˚¹¼¦¹ğÞ=¸=ý˚³ğ=ˇ³Ć¹ýˇ½ž²=
½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=³š=̊ ÞˇÞ=žÝšð½¹−ÞÐðş=¼×−Ý−łÐ³½¸=ć³½š=Þˇ=ý−Ð¹˙Žš³½š=½ˇ=̋ ŠÐˇ=
₣¹−Þ−ŠÐˇł¹˙ýýˇ½ˇK=⁄½ˇÞ=ˇÞ½ˇÝÝ˙³³š½š=ðˇ½ˇ₣ğ¹¸³šÐ²=ýš=˙ÝÝš²=³¼³ðš¼˚²I=ž=
žýš¹−ýžÞ˝ˇ=ðˇÐ=ž=ć¹ˇ=×−¼=šý¾ˇÞ˝Ž−Þ½ˇÐ=šÞŠ˚₣š½ˇÐ=Þˇ=ŠÐˇ¾˚¹−¼Þ=ˇ×ş=½Ð²=
×¹ˇłýˇ½Ðð˚²=ˇÞ˙Ý−łˇ=ýš=½−Þ=½Ć×−=ŠšŠ−ý˚ÞğÞ=½ž²=³¼³ðš¼¸²=Ý¸Ğž²K

‚žýÐ−¼¹ł˝ˇ=ý˝ˇ²=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²
?„¾ˇ¹ý−ł˚²?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=³½žÞ=−×−˝ˇ=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=˚Þˇ=³¼ýŁ˙ÞK

OK „×ÐÝ˚þ½š=?Ó¹−³¦K=Ëˇ½ˇ₣ć¹K?K

PK „Ð³˙łš½š=½−=¦˚ýˇK

QK „Ð³˙łš½š=½žÞ=½−×−¦š³˝ˇK

RK „×ÐÝ˚þ½š=½žÞ=ðˇ½žł−¹˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

SK „Ð³˙łš½š=½žÞ=žýš¹−ýžÞ˝ˇ=˚Þˇ¹þž²=ðˇÐI=ðˇ½ş×ÐÞI=šÐ³˙łš½š=½žÞ=ć¹ˇ=˚Þˇ¹þž²K

TK „×ÐÝ˚þ½š=½ž=ŠÐ˙¹ðšÐˇK

UK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=¸=½žÞ=žýš¹−ýžÞ˝ˇ=¼×šÞ¦ĆýÐ³ž²K

=Ej=TJNF
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„¾ˇ¹ý−ł˚²

VK „×ÐÝ˚þ½š=?„×ˇÞ˙ÝžĞž?=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šK
NMK „×ÐÝ˚þ½š=?Óš¹Ðł¹ˇ¾¸?=ðˇÐ=šÐ³˙łš½š=ý˝ˇ=³žýš˝ğ³ž=łÐˇ=½žÞ=ðˇ½ˇ₣ć¹ž³ž=

₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²K
NNK „×ÐÝ˚þ½š=?Í¼³½Ððş?=ðˇÐ=š×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?=łÐˇ=Þˇ=ð˙Þš½š=½ˇ=

³½−Ð₣š˝ˇ=ˇ×ş¹¹ž½ˇK
NOK ÓÐ˚³½š=xfl×−¦¸ðš¼³žzK

Òžýš˝ğ³ž
≥ „˙Þ=ŠšÞ=˚₣−¼Þ=×¹ˇłýˇ½−×−Ðž¦š˝=−Ð=¹¼¦ý˝³šÐ²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=ć¹ˇ²I=

šý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=šÐ³ˇłğł¸²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=ć¹ˇ²=E³šÝK NURFK
≥ Â=¼×šÞ¦ĆýÐ³ž=ŠšÞ=šÞš¹ł−×−Ðš˝½ˇÐ=ş½ˇÞ=ž=?÷Þ½ˇ³ž=Ë−¼Š−¼ÞÐ−Ć?=E³šÝK NTOF=

¹¼¦ýÐ³½š˝=³š=?ÒÐğ×žÝş?K

fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
?„¾ˇ¹ý−ł˚²?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=×−¼=×š¹ÐÝˇýŁ˙ÞšÐ=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=

×−¼=¦˚Ýš½š=Þˇ=ˇ×−³½š˝Ýš½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K
PK „×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?I=?Íš=_äìÉíççíÜ?=¸=?Íš=Û×˚¹¼¦¹š²?K

·Ðˇ=?Íš=_äìÉíççíÜ?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ OMSK

·Ðˇ=?Íš=Û×˚¹¼¦¹š²?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ ONOK

Òžýš˝ğ³ž
≥ ·Ðˇ=½ž=³ĆÞŠš³ž=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=šÐ³˙łš½š=½−Þ=ðğŠÐðş=×¹ş³Łˇ³ž²=ş½ˇÞ=

š×Ðð−ÐÞğÞš˝½š=łÐˇ=×¹ć½ž=¾−¹˙=ýš=ý˝ˇ=³¼³ðš¼¸=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=
_äìÉíççíÜK
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„¾ˇ¹ý−ł˚²

È¸Ğž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=ÝˇýŁ˙ÞšÐ=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²I=šý¾ˇÞ˝Žš½ˇÐ=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²K

NK ÓÐ˚³½š=xÎˇÐzK
Â=Ýž¾¦š˝³ˇ=ðˇ½ˇ₣ć¹ž³ž=ˇ×−¦žðšĆš½ˇÐ=³½−=Âýš¹−ÝşłÐ−K
ÓÐ˚³½š=x⁄₣Ðz=łÐˇ=ˇ×ş¹¹ÐĞžK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=½ž²=ˇ³Ć¹ýˇ½ž²=

³ĆÞŠš³ž²=ý˚³ğ=¼×˚¹¼¦¹ğÞ=¸=_äìÉíççíÜI=ˇÞˇ½¹˚þ½š=³½ž=?Ò¼ÞŠš³Ðýş½ž½ˇ?=³½ž=
³šÝ˝Šˇ OMSK

Ó¹−Ł−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
?„¾ˇ¹ý−ł˚²?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=×−¼=¦˚Ýš½š=Þˇ=×¹−Ł˙Ýš½šK

„ý¾ˇÞ˝Žš½ˇÐ=ž=×¹−Ł−Ý¸=žý˚¹ˇ²K

flÞˇŽ¸½ž³ž=Ëˇ½˙=Âýš¹−ýžÞ˝ˇ
NK Ò½ž=ýžÞÐˇ˝ˇ=¸=žýš¹¸³Ðˇ=×¹−Ł−Ý¸I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½˙Łˇ³ž?K

OK „×ÐÝ˚þ½š=?Ò¸ýš¹ˇ?=łÐˇ=Þˇ=šý¾ˇÞ˝³š½š=½ž=³žýš¹ÐÞ¸=žý˚¹ˇ=¸=?„Ð³ˇłK=žýš¹−ýK?=łÐˇ=
Þˇ=šÐ³˙łš½š=½žÞ=žýš¹−ýžÞ˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

„×šþš¹łˇ³˝ˇ=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
?„¾ˇ¹ý−ł˚²?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK

„ý¾ˇÞ˝Žš½ˇÐ=ž=×¹−Ł−Ý¸=žý˚¹ˇ²K

20.02.2005

ÅðéëïãÞ Ðßóù

Åðéë.

ÅðéëïãÞ
Åðåîåñãáóßá
Ðñïóè. Êáôá÷þñ.
ÁðïóôïëÞ
ÌåôÜâáóç
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„¾ˇ¹ý−ł˚²

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=ðˇÐ=½¹−×−×−Ð¸³½š=½žÞ=ðˇ½ˇ₣ć¹ž³žK

QK ÓÐ˚³½š=xfl×−¦¸ðš¼³žzK

‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
NK Ò½žÞ=ýžÞÐˇ˝ˇ=¸=žýš¹¸³Ðˇ=×¹−Ł−Ý¸=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

OK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
?fl¼½ş=½−=ı¹−Þ−ŠK?=EýşÞ−Þ=³½žÞ=×¹−Ł−Ý¸=žý˚¹ˇ²FW

‚Ðˇł¹˙¾šÐ=½žÞ=š×ÐÝšłý˚Þž=³¼Þ˙Þ½ž³žK

?lÝşðÝK=Âý˚¹ˇ²?W ‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=š×ÐÝšłý˚Þž²=
žý˚¹ˇ²K

?⁄Ýˇ=½−¼=Í¸Þˇ?=EýşÞ−=×¹−Ł−Ý¸=ý¸ÞˇFW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½−¼=š×ÐÝšłý˚Þ−¼=ý¸ÞˇK

?÷ğ²=ÚšÝš¼½=Í¸Þˇ?=EýşÞ−=×¹−Ł−Ý¸=ý¸ÞˇFW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=×¹ÐÞ=ˇ×ş=ˇ¼½ş=½−Þ=
ý¸ÞˇK

?⁄Ýš²=−Ð=Ò¼ÞˇÞ½K?=EýşÞ−=×¹−Ł−Ý¸=ý¸ÞˇFW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=ˇ¼½¸²=½ž²=š¾ˇ¹ý−ł¸²K

Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²
NK Ò½žÞ=ýžÞÐˇ˝ˇ=¸=žýš¹¸³Ðˇ=×¹−Ł−Ý¸=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ëˇ½˙³½ˇ³ž=

ÍÞ¸ýž²?K
„ý¾ˇÞ˝Žš½ˇÐ=ž=½¹˚₣−¼³ˇ=ðˇ½˙³½ˇ³ž=½ž²=ýÞ¸ýž²K
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„¾ˇ¹ý−ł˚²

Ï¼×Þž½¸¹Ðˇ
ÔĆ¦ýÐ³ž=½ğÞ=Ï¼×Þž½ž¹ÐćÞ
Ú−=þ¼×Þž½¸¹Ð=³ˇ²=šÐŠ−×−Ðš˝=ý˝ˇ=³¼łðšð¹Ðý˚Þž=ć¹ˇ=×−¼=˚₣š½š=−¹˝³šÐK

ÒžýšÐć³½š=ş½Ð=×¹˚×šÐ=Þˇ=¹¼¦ý˝³š½š=½žÞ=½¹˚₣−¼³ˇ=žýš¹−ýžÞ˝ˇ=ðˇÐ=ć¹ˇ=Jš¾ş³−Þ=ŠšÞ=
½−=˚₣š½š=ð˙ÞšÐ=¸ŠžJ=×¹ÐÞ=¹¼¦ý˝³š½š=½−=þ¼×Þž½¸¹ÐK

Òžýš˝ğ³ž
≥ Â=šÐŠ−×−˝ž³ž=ŠšÞ=šÞš¹ł−×−Ðš˝½ˇÐ=ş½ˇÞ=ž=?÷Þ½ˇ³ž=Ë−¼Š−¼ÞÐ−Ć?=E³šÝK NTOF=

¹¼¦ýÐ³½š˝=³š=?ÒÐğ×žÝş?K

?„¾ˇ¹ý−ł˚²?=→=?Ï¼×Þž½¸¹Ðˇ?
NK „×ÐÝ˚þ½š=½žÞ=ðšÞ¸=¹Ć¦ýÐ³žK

OK „Ð³ˇł˙łš½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=š×ˇÞ˙ÝžĞž²K

flÝÝˇł¸=½−¼=ÚĆ×−¼=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K

OK „×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼=Ï¼×ÞK?K

PK „×ÐÝ˚þ½š=?Ó¹−¹¼¦”Ð³”K=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=j−¼?K

QK „×ÐÝ˚þ½š=½−Þ=½şÞ−=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼I=Šš˝½š=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ NTPK

=Ej=TJOF
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„¾ˇ¹ý−ł˚²

flÝÝˇł¸=½−¼=ÚĆ×−¼=½−¼=sáÇÉç
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K

OK „×ÐÝ˚þ½š=?flÞ½Ð³½K=sáÇÉç=Ï¼×ÞK?K

PK „×ÐÝ˚þ½š=½−=îáÇÉç=×−¼=š×Ð¦¼ýš˝½šK

flÝÝˇł¸=½ž²=„×ˇÞ˙ÝžĞž²=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?„×ˇÞ˙ÝžĞž?K

OK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=š×ˇÞ˙ÝžĞž²=×−¼=š×Ð¦¼ýš˝½šK

flÝÝˇł¸=÷Þ½ˇ³ž²=½−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?÷Þ½ˇ³ž=Ï¼×Þž½ž¹Ð−Ć?K

OK ÓÐ˚³½š=a=E¸=dF=łÐˇ=Þˇ=ˇ¼þ¸³š½š=½žÞ=̊ Þ½ˇ³ž=̧ =×Ð˚³½š=b=E¸=cF=łÐˇ=Þˇ=ýšÐć³š½š=
½žÞ=˚Þ½ˇ³žK

flÝÝˇł¸=½ž²=‚şÞž³ž²=łÐˇ=½−Þ=◊₣−=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?‚şÞž³ž?K

OK „×ÐÝ˚þ½š=?„Þš¹łş?I=?iáåâ=íç=pçìåÇ?=¸=?Íž=šÞš¹łş?K
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=ŠşÞž³ž²=Šš˝½š=
?‚şÞž³ž?=³½ž=³šÝ˝Šˇ NTSK

flÝÝˇł¸=½ž²=‚Ð˙¹ðšÐˇ²=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?‚Ð˙¹ðšÐˇ?K

OK „×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=ŠÐ˙¹ðšÐˇK
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„¾ˇ¹ý−ł˚²

„×ˇÞˇ¾−¹˙=ýÐˇ²=ÔĆ¦ýÐ³ž²=Ï¼×Þž½ž¹Ð−Ć
?„¾ˇ¹ý−ł˚²?=→=?Ï¼×Þž½¸¹Ðˇ?
NK Íˇ¹ð˙¹š½š=½−=þ¼×Þž½¸¹Ð=×−¼=¦˚Ýš½š=Þˇ=š×ˇÞˇ¾˚¹š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×ˇÞˇ¾K=Ï¼×Þž½K?K

„×ˇÞˇ¾−¹˙=½ğÞ=Ô¼¦ý˝³šğÞ=⁄ÝğÞ=½ğÞ=Ï¼×Þž½ž¹ÐćÞ
?„¾ˇ¹ý−ł˚²?=→=?Ï¼×Þž½¸¹Ðˇ?=→=?‚Ðˇł¹ˇ¾¸=⁄ÝğÞ?

fl¹Ð¦ý−ýž₣ˇÞ¸
Íš=½žÞ=ˇ¹Ð¦ý−ýž₣ˇÞ¸I=ý×−¹š˝½š=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=½Ð²=Q=ˇ¹Ð¦ýž½Ðð˚²=×¹˙þšÐ²=
₣¹ž³Ðý−×−ÐćÞ½ˇ²=˚ğ²=ðˇÐ=NO=Ğž¾˝ˇK
?„¾ˇ¹ý−ł˚²?=→=?fl¹Ð¦ý−ýž₣ˇÞ¸?
Ò½žÞ=−¦şÞž=šý¾ˇÞ˝Žš½ˇÐ=ž=ˇ¹Ð¦ý−ýž₣ˇÞ¸K
ÌÐ=ÝšÐ½−¼¹ł˝š²=½ğÞ=×Ý¸ð½¹ğÞ=łÐˇ=½Ð²=ˇ¹Ð¦ýž½Ðð˚²=×¹˙þšÐ²=˚₣−¼Þ=ğ²=šþ¸²W

·Ðˇ=Þˇ=šÐ³ˇł˙łš½š=¼×−ŠÐˇ³½−Ý¸I=×Ð˚³½š=PK
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=˚ÞˇÞ=ˇ¹Ð¦ýş=¸=ý˝ˇ=ˇ¹Ð¦ýž½Ðð¸=×¹˙þž=×−¼=˚₣š½š=šÐ³˙łšÐI=×Ð˚³½š=
UK
·Ðˇ=Þˇ=šð½šÝ˚³š½š=½Ð²=ˇ¹Ð¦ýž½Ðð˚²=×¹˙þšÐ²I=×Ð˚³½š= K
·Ðˇ=Þˇ=þšðÐÞ¸³š½š=ý˝ˇ=Þ˚ˇ=ˇ¹Ð¦ýž½Ðð¸=×¹˙þžI=×Ð˚³½š=UK

=Ej=TJPF
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„¾ˇ¹ý−ł˚²

Íš½ˇ½¹−×¸=k−ýÐ³ý˙½ğÞ
Í×−¹š˝½šI=š×˝³ž²I=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½žÞ=ˇ¹Ð¦ý−ýž₣ˇÞ¸=ğ²=ýš½ˇ½¹−×˚ˇ=
Þ−ýÐ³ý˙½ğÞ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=ý˝ˇ=Ð³−½Ðý˝ˇ=×−¼=šÐ³˙łš½šK

Ì¹Ð³ýş²=ýÐˇ²=Á³−½Ðý˝ˇ²=Î−ý˝³ýˇ½−²
?„¾ˇ¹ý−ł˚²?=→=?fl¹Ð¦ý−ýž₣ˇÞ¸?=→=x„×ÐÝKz=→=?Íš½ˇ½¹K=Î−ý˝³ýˇ½K?=→=?Á³−½Ðý˝ˇ?
NK „×ÐÝ˚þ½š=?Ú−×Ððş?=¸=?Ï˚Þ−?K
OK „Ð³˙łš½š=½žÞ=Ð³−½Ðý˝ˇ=Þ−ý˝³ýˇ½−²K

·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=˚Þˇ=Ğž¾˝−I=×Ð˚³½š=UK

Íš½ˇ½¹−×¸=ý˝ˇ²=ÚÐý¸²
?„¾ˇ¹ý−ł˚²?=→=?fl¹Ð¦ý−ýž₣ˇÞ¸?
NK „Ð³˙łš½š=½žÞ=½Ðý¸=×−¼=¦˚Ýš½š=Þˇ=ýš½ˇ½¹˚Ğš½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½ˇ½¹K=Î−ý˝³ýˇ½K?K
PK „×ÐÝ˚þ½š=?Íš½ˇ½¹K=³š=Ú−×Ððş?=¸=?Íš½ˇ½¹K=³š=Ï˚Þ−?K

„ý¾ˇÞ˝Žš½ˇÐ=½−=ˇ×−½˚Ýš³ýˇK
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„¾ˇ¹ý−ł˚²

Â₣−ł¹˙¾ž³ž=ÙğÞ¸²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=ž₣−ł¹ˇ¾¸³š½š=˚Þˇ=¾ğÞž½Ððş=ˇ×ş³×ˇ³ýˇI=½−=
−×−˝−=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ğ²=¼×šÞ¦ĆýÐ³ž=łÐˇ=ðˇ½ˇ₣ğ¹¸³šÐ²=½−¼=
₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=¸=Þˇ=³½š˝Ýš½š=ýš=˚Þˇ=ý¸Þ¼ýˇ=×−Ý¼ý˚³ğÞ=EjjpFK=Ú−=
ž₣−ł¹ˇ¾žý˚Þ−=¾ğÞž½Ððş=ˇ×ş³×ˇ³ýˇ=ˇ×−¦žðšĆš½ˇÐ=³½−¼²=fl×−¦žðš¼ý˚Þ−¼²=
◊₣−¼²K=Úˇ=¾ğÞž½Ðð˙=ˇ×−³×˙³ýˇ½ˇ=ˇ×−¦žðšĆ−Þ½ˇÐ=ýš=¾−¹ý˙=K~ãêK
„łł¹ˇ¾¸=šÞş²=ÙğÞž½Ðð−Ć=fl×−³×˙³ýˇ½−²
?„¾ˇ¹ý−ł˚²?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

·Ðˇ=Þˇ=ŠÐˇðşĞš½š=½žÞ=ž₣−ł¹˙¾ž³ž=×¹ÐÞ=½šÝšÐć³šÐ=−=₣¹şÞ−²=ž₣−ł¹˙¾ž³ž²I=
×Ð˚³½š= K

OK „×ÐÝ˚þ½š=?fl×−¦¸ðš¼³ž?=łÐˇ=Þˇ=ˇ×−¦žðšĆ³š½š=½−=¾ğÞž½Ððş=ˇ×ş³×ˇ³ýˇK

Òžýš˝ğ³ž
≥ ÓÐ˚³½š=a=E¸=½−=š×˙Þğ=×Ýš¼¹Ððş=×Ý¸ð½¹−F=¸=b=E¸=½−=ð˙½ğ=×Ýš¼¹Ððş=×Ý¸ð½¹−F=łÐˇ=

Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=¸₣−¼=łÐˇ=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=½−¼=ˇ¹₣š˝−¼=×−¼=˚₣šÐ=
šłł¹ˇ¾š˝K

fl×−³½−Ý¸=ÙğÞž½Ðð−Ć=fl×−³×˙³ýˇ½−²
?„¾ˇ¹ý−ł˚²?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

OK ÓÐ˚³½š= =łÐˇ=Þˇ=³½ˇýˇ½¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

PK „×ÐÝ˚þ½š=?fl×−¦¸ðK=C=fl×−³½−Ý¸?K
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=ýžÞĆýˇ½−²I=Šš˝½š=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTK

=Ej=TJQF
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„¾ˇ¹ý−ł˚²

Ó¹−Ł−Ý¸=ı¹şÞ−¼=„łł¹ˇ¾¸²
?„¾ˇ¹ý−ł˚²?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?=→=x„×ÐÝKz=→=?ı¹şÞ−²=„łł¹ˇ¾¸²?
NK „×ÐÝ˚þ½š=?·Ðˇ=fl×−³½K=ÍžÞ?=¸=?ÍšłK=ŠÐ˙¹ðšÐˇ²?K

⁄½ˇÞ=š×ÐÝ˚łš½š=?ÍšłK=ŠÐ˙¹ðšÐˇ²?I=ý×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=ˇ¼½şýˇ½ˇ=˚Þˇ=
ž₣ž½Ððş=Åäáé=ýşÞ−=³½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K

„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²
?„¾ˇ¹ý−ł˚²?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?=→=x„×ÐÝKz=→=?fl×−¦K=Â₣−ł¹K=Òš?
NK „×ÐÝ˚þ½š=½ž=¦˚³ž=×−¼=š×Ð¦¼ýš˝½šK

„˙Þ=š×ÐÝ˚þš½š=?„×ÐÝ−ł¸?I=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½ž=¦˚³ž=ˇ×−¦¸ðš¼³ž²=šÞş²=
¾ğÞž½Ðð−Ć=ˇ×−³×˙³ýˇ½−²K

Òˇ¹ğ½¸²=EpÅ~ååÉêF
Íš=½žÞ=šÞ³ğýˇ½ğý˚Þž=Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸I=ý×−¹š˝½š=Þˇ=³ˇ¹ć³š½š=
ðš˝ýšÞˇ=ðˇÐ=Ä~êÅçÇÉë=³š=ý−¹¾¸=g~åI=ˇÝÝ˙=ðˇÐ=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ðğŠÐð−Ć²=noK=Úˇ=
³ˇ¹ğý˚Þˇ=ŠšŠ−ý˚Þˇ=ý×−¹−ĆÞ=Þˇ=ˇ×−¦žðš¼½−ĆÞ=ğ²=ðˇ½ˇ₣ć¹ž³ž=³½ž=È˝³½ˇ=
„×ˇ¾ćÞI=ğ²=roiI=ğ²=ŠÐšĆ¦¼Þ³ž=ÉJã~áä=ðˇÐ=ğ²=ðš˝ýšÞ−K
Òžýš˝ğ³ž
≥ „˙Þ=ž=³˙¹ğ³ž=ˇ×−½Ć₣šÐI=˝³ğ²=Þˇ=−¾š˝Ýš½ˇÐ=³½−¼²=×ˇ¹ˇð˙½ğ=Ýşł−¼²W=½Ć×−²=¸=

ý˚łš¦−²=½−¼=ł¹ˇýýÐð−Ć=ðćŠÐðˇI=ł¹ˇ½³−¼ÞÐ˚²I=³ðşÞžI=¾¦−¹˙I=×−Ðş½ž½ˇ=
šð½Ć×ğ³ž²I=ˇÞ½ˇÞ˙ðÝˇ³ž=½−¼=¾ğ½ş²=ðÝ×K

flÞ˙łÞğ³ž=ł¹ˇýýÐð−Ć=ðćŠÐðˇ
?„¾ˇ¹ý−ł˚²?=→=?Òˇ¹ğ½¸²?=→=?Ò˙¹ğ³ž=_~êÅçÇÉ?
NK Ó¹−Ł−Ý¸=½−¼=ł¹ˇýýÐð−Ć=ðćŠÐðˇ=ýš=½ž=₣¹¸³ž=½ž²=šþğ½š¹Ðð¸²=¾ğ½−ł¹ˇ¾Ðð¸²=

ýž₣ˇÞ¸²K

OK ÓÐ˚³½š= K
Â=³˙¹ğ³ž=þšðÐÞ˙=ðˇÐ=šý¾ˇÞ˝Žš½ˇÐ=½−=ˇ×−½˚Ýš³ýˇ=½ž²=³˙¹ğ³ž²K

=Ej=TJRF
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„¾ˇ¹ý−ł˚²

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
ÌÁ=š×ÐÝ−ł˚²=ŠÐˇ¾˚¹−¼Þ=ˇÞ˙Ý−łˇ=ýš=½ˇ=ŠšŠ−ý˚Þˇ=³˙¹ğ³ž²K
?¿Þ−Ðłýˇ=iáåâ?W Ì=ÄêçïëÉê=ˇÞ−˝łšÐ=½ž=ŠÐšĆ¦¼Þ³ž=roiK
?flÞ½Ðł¹ˇ¾¸=roi?W Â=roi=ˇÞ½Ðł¹˙¾š½ˇÐK
?fl×−³½K=ÍžÞĆýK?W Ú−=ˇ×−½˚Ýš³ýˇ=ˇ×−³½˚ÝÝš½ˇÐ=ğ²=ý¸Þ¼ýˇ=pjp=¸=jjpK
?flÞ½Ðł¹ˇ¾¸?W Ú−=ˇ×−½˚Ýš³ýˇ=ˇÞ½Ðł¹˙¾š½ˇÐK

ı¹¸³ž=½ğÞ=„×ÐÝ−łćÞ=Ò˙¹ğ³ž²
NK Ò½ž=ÝšÐ½−¼¹ł˝ˇ=³˙¹ğ³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?Ò˙¹ğ³ž?W „ð½šÝš˝½ˇÐ=³˙¹ğ³žK
?fl×−¦žðK=fl¹₣š˝ˇ?W „ý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=ˇ¹₣š˝ˇK
?fl¼½şýˇ½ž=„³½˝ˇ³ž?W „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=š³½˝ˇ³ž²I=?ËˇÞ−ÞÐðş?I=

?Ë−Þ½ÐÞ¸=È¸Ğž?=¸=?ıšÐ¹−ðK=„³½˝ˇ³ž?K
?Ò¼Þš₣¸²=Ò˙¹ğ³ž?W Â=³¼Þš₣¸²=³˙¹ğ³ž=˚₣šÐ=šÞš¹ł−×−Ðž¦š˝K
?Ùğ²=ËÐÞž½−Ć?W Ú−=¾ğ²=ðÐÞž½−Ć=ˇÞ˙ŁšÐ=¸=³Ł¸ÞšÐK
?÷ð¦š³ž?W Â=˚ð¦š³ž=¹¼¦ý˝Žš½ˇÐ=³½ˇ=×ˇ¹ˇð˙½ğ=š×˝×šŠˇKW=+OI=

+NI=MI=−NI=−OK
?‡−¸¦šÐˇ?W „ý¾ˇÞ˝Žš½ˇÐ=ž=‡−¸¦šÐˇ=łÐˇ=½ž=₣¹¸³ž=½ž²=

ÝšÐ½−¼¹ł˝ˇ²=³˙¹ğ³ž²K
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„¾ˇ¹ý−ł˚²

‚žýÐ−¼¹ł˝ˇ=ðğŠÐðćÞ=no
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ðğŠÐð−Ć²=no=₣¹ž³Ðý−×−ÐćÞ½ˇ²=ðš˝ýšÞ−=¸=ŠšŠ−ý˚Þˇ=ˇ×ş=
Ú−=ÛÝÐðş=ý−¼K

?„¾ˇ¹ý−ł˚²?=→=?Òˇ¹ğ½¸²?=→=?‚žýK=ËğŠÐð−Ć=no?
NK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?„Ð³ˇłK=ËšÐý˚Þ−¼?W ‚žýÐ−¼¹ł¸³½š=˚ÞˇÞ=ðğŠÐðş=no=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=ðš˝ýšÞ−=
×−¼=šÐ³˙łˇ½šK

?Ú−=¼ÝÐðş=ý−¼?W ‚žýÐ−¼¹ł¸³½š=˚ÞˇÞ=ðğŠÐðş=no=₣¹ž³Ðý−×−ÐćÞ½ˇ²=ŠšŠ−ý˚Þˇ=ˇ×ş=
Ú−=¼ÝÐðş=ý−¼K

OK ÓÐ˚³½š= K
Â=ŠžýÐ−¼¹ł˝ˇ=½−¼=ł¹ˇýýÐð−Ć=ðćŠÐðˇ=þšðÐÞ˙=ðˇÐ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK

PK ÓÐ˚³½š= K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=½−Þ=ðğŠÐðş=no=³š=¾−¹ý˙=mkdK=ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?fl×−¦¸ðš¼³ž?K

Ò˙¹ğ³ž=ËšÐý˚ÞğÞ
?„¾ˇ¹ý−ł˚²?=→=?Òˇ¹ğ½¸²?=→=?pÅ~ååÉê=ðšÐý˚Þ−¼?
NK Ó¹−Ł−Ý¸=½−¼=ðšÐý˚Þ−¼=ýš=½ž=₣¹¸³ž=½ž²=šþğ½š¹Ðð¸²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K

OK ⁄½ˇÞ=ž=ý×˙¹ˇ=ð˙½ğ=ˇ×ş=½−=³ˇ¹ğý˚Þ−=ðš˝ýšÞ−=š˝ÞˇÐ=ý×ÝšI=×Ð˚³½š= K
Â=³˙¹ğ³ž=þšðÐÞ˙=ðˇÐ=šý¾ˇÞ˝Žš½ˇÐ=½−=ˇ×−½˚Ýš³ýˇ=½ž²=³˙¹ğ³ž²K

PK ÓÐ˚³½š=a=¸=b=łÐˇ=Þˇ=š×ÐÝ˚þš½š=½−=ðš˝ýšÞ−=×−¼=¦˚Ýš½šK

QK ÓÐ˚³½š= K

ÓáñùôÞò

ÓÜñùóç Barcode
¢íïéãìá Barcode
Äçì. Êùäéêïý QR
ÓÜñùóç ÊåéìÝíïõ
Áðïôåë. ÓÜñùóçò

ÅðéëïãÞ Ðßóù
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„¾ˇ¹ý−ł˚²

RK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šK
?lh?W Ú−=ˇ×−½˚Ýš³ýˇ=½ž²=³˙¹ğ³ž²=Ł¹˝³ðš½ˇÐ=³½žÞ=−¦şÞž=

šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
?„×ÐÝ−ł¸L„×šþš¹łK?W Ú−=ˇ×−½˚Ýš³ýˇ=½ž²=³˙¹ğ³ž²=ý×−¹š˝=Þˇ=½¹−×−×−Ðž¦š˝K
?flÝÝˇł¸=ÈšÐ½−¼¹łK?W Ú−=ˇ×−½˚Ýš³ýˇ=½ž²=³˙¹ğ³ž²=ý×−¹š˝=Þˇ=ýš½ˇ½¹ˇ×š˝=³š=

ŠÐšĆ¦¼Þ³ž=Ð³½−³šÝ˝Šˇ²I=ŠÐšĆ¦¼Þ³ž=ˇÝÝžÝ−ł¹ˇ¾˝ˇ²I=
ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=¸=ðš˝ýšÞ−K

ı¹¸³ž=½ğÞ=„×ÐÝ−łćÞ=Ò˙¹ğ³ž²
NK Ò½ž=ÝšÐ½−¼¹ł˝ˇ=³˙¹ğ³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?Ò˙¹ğ³ž?W „ð½šÝš˝½ˇÐ=³˙¹ğ³žK
?fl×−¦žðK=fl¹₣š˝ˇ?W „ý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=ˇ¹₣š˝ˇK
?fl¼½şýˇ½ž=„³½˝ˇ³ž?W= „×ÐÝ˚þ½š=½žÞ=š³½˝ˇ³ž=ˇ×ş=?ËˇÞ−ÞÐðş?I=?Ë−Þ½ÐÞ¸=È¸Ğž?=

¸=?ıšÐ¹−ðK=„³½˝ˇ³ž?K
?flÞ˙×−Š−=Ëš˝ýšÞ−?W= „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½š=ˇ×ş=?fl¼½şýˇ½−?I=

?ËˇÞ−ÞÐðş?=¸=?flÞ½š³½¹ˇýý˚Þ−?K
?Ùğ²=ËÐÞž½−Ć?W Ú−=¾ğ²=ðÐÞž½−Ć=ˇÞ˙ŁšÐ=¸=³Ł¸ÞšÐK
?÷ð¦š³ž?W Â=¾ğ½šÐÞş½ž½ˇ=ý×−¹š˝=Þˇ=¹¼¦ýÐ³½š˝=³½Ð²=ˇðşÝ−¼¦š²=

Łˇ¦ý˝Šš²W=+OI=+NI=MI=−NI=−OK
?‡−¸¦šÐˇ?W „ý¾ˇÞ˝Žš½ˇÐ=ž=‡−¸¦šÐˇ=łÐˇ=½ž=₣¹¸³ž=½ž²=ÝšÐ½−¼¹ł˝ˇ²=

³˙¹ğ³ž²K

‚Ðˇł¹ˇ¾¸=Òˇ¹ğý˚ÞğÞ=‚šŠ−ý˚ÞğÞ
?„¾ˇ¹ý−ł˚²?=→=?Òˇ¹ğ½¸²?=→=?fl×−½šÝK=Ò˙¹ğ³ž²?
NK Íˇ¹ð˙¹š½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=ŠÐˇł¹˙Ğš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K
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„¾ˇ¹ý−ł˚²

Íš½−Þ−ýˇ³˝ˇ=½ğÞ=Òˇ¹ğý˚ÞğÞ=‚šŠ−ý˚ÞğÞ
?„¾ˇ¹ý−ł˚²?=→=?Òˇ¹ğ½¸²?=→=?fl×−½šÝK=Ò˙¹ğ³ž²?
NK Íˇ¹ð˙¹š½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=ýš½−Þ−ý˙³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=ÌÞşýˇ½−²?K

÷Ýšł₣−²=ÓÝž¹−¾−¹˝ˇ²=½ğÞ=Òˇ¹ğý˚ÞğÞ=‚šŠ−ý˚ÞğÞ
?„¾ˇ¹ý−ł˚²?=→=?Òˇ¹ğ½¸²?=→=?fl×−½šÝK=Ò˙¹ğ³ž²?
NK Íˇ¹ð˙¹š½š=½ˇ=ŠšŠ−ý˚ÞˇI=½žÞ=×Ýž¹−¾−¹˝ˇ=½ğÞ=−×−˝ğÞ=¦˚Ýš½š=Þˇ=šÝ˚łþš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÓÝž¹−¾−¹˝š²?K

ı¹−Þşýš½¹−
Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=˚ğ²=ðˇÐ=Q=₣¹şÞ−¼²=łĆ¹−¼=š˙Þ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=
ÝšÐ½−¼¹ł˝ˇ=₣¹−Þ−ý˚½¹−¼K
?„¾ˇ¹ý−ł˚²?=→=?ı¹−Þşýš½¹−?
NK ÓÐ˚³½š= =łÐˇ=½žÞ=˚Þˇ¹þžK

ÓÐ˚³½š=xi^mz=łÐˇ=Þˇ=Šš˝½š=½−=₣¹şÞ−=½−¼=łĆ¹−¼=×¹ÐÞ=³½ˇýˇ½¸³šÐ=½−=₣¹−Þşýš½¹−K=
fl×−¦žðšĆ−Þ½ˇÐ=−Ð=₣¹şÞ−Ð=½ğÞ=Q=½šÝš¼½ˇ˝ğÞ=łĆ¹ğÞK

OK ÓÐ˚³½š= =łÐˇ=×ˇĆ³žK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=½−=¹šðş¹=šÞş²=₣¹şÞ−¼=łĆ¹−¼=ðˇÐ=½ž=₣¹−Þ−ý˚½¹ž³ž=

³½ˇ=Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ=×Ð˚Ž−Þ½ˇ²=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚ł−Þ½ˇ²=?fl×−¦K=³½ˇ=Ó¹ş½¼×K?K

ÍžŠšÞÐ³ýş²=₣¹şÞ−¼
NK Íš½˙=½žÞ=×ˇĆ³ž=½−¼=₣¹−Þ−ý˚½¹−¼I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×ˇÞˇ¾−¹˙?K

=Ej=TJSF
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„¾ˇ¹ý−ł˚²

„¹łˇ³˝š²
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=½−=₣¹−Þ−ŠÐ˙ł¹ˇýý˙=³ˇ²=ğ²=ðˇ½ˇ₣ğ¹¸³šÐ²=š¹łˇ³ÐćÞ=−Ð=
−×−˝š²=¦ˇ=³¼Þ−ŠšĆ−Þ½ˇÐ=ˇ×ş=½žÞ=žýš¹−ýžÞ˝ˇ=ðˇÐ=½žÞ=ć¹ˇK

‚žýÐ−¼¹ł˝ˇ=ý˝ˇ²=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²
?„¾ˇ¹ý−ł˚²?=→=?„¹łˇ³˝š²?
NK „×ÐÝ˚þ½š=?Ó¹−³¦K=Ëˇ½ˇ₣ć¹K?K
OK „Ð³˙łš½š=½−=¦˚ýˇK
PK „Ð³˙łš½š=½žÞ=žýš¹−ýžÞ˝ˇ=ðˇÐ=½žÞ=ć¹ˇ=½ž²=×¹−¦š³ý˝ˇ²K
QK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=¼×šÞ¦ĆýÐ³ž²K

„˙Þ=š×ÐÝ˚þš½š=?¿ÝÝš²?I=šÐ³˙łš½š=½žÞ=ć¹ˇ=ðˇÐ=½žÞ=žýš¹−ýžÞ˝ˇ=¼×šÞ¦ĆýÐ³ž²=×−¼=
¦˚Ýš½šK

RK „×ÐÝ˚þ½š=?Óš¹Ðł¹ˇ¾¸?=ðˇÐ=šÐ³˙łš½š=ý˝ˇ=³žýš˝ğ³ž=łÐˇ=½žÞ=ðˇ½ˇ₣ć¹ž³ž=š¹łˇ³˝ˇ²K
SK „×ÐÝ˚þ½š=?Í¼³½Ððş?=ðˇÐ=š×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?=łÐˇ=Þˇ=ð˙Þš½š=½ˇ=

³½−Ð₣š˝ˇ=ˇ×ş¹¹ž½ˇK
TK ÓÐ˚³½š=xfl×−¦¸ðš¼³žzK

Òžýš˝ğ³ž
≥ „˙Þ=ŠšÞ=˚₣−¼Þ=×¹ˇłýˇ½−×−Ðž¦š˝=−Ð=¹¼¦ý˝³šÐ²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=ć¹ˇ²I=

šý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=šÐ³ˇłğł¸²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=ć¹ˇ²=E³šÝK NURFK

ÔĆ¦ýÐ³ž=½ğÞ=Ï¼×Þž½ž¹ÐćÞ
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½−=þ¼×Þž½¸¹Ð=łÐˇ=ý˝ˇ=³¼łðšð¹Ðý˚Þž=ć¹ˇ=½ž²=ðˇ½ˇ₣ć¹ž³ž²K

?„¾ˇ¹ý−ł˚²?=→=?„¹łˇ³˝š²?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K
PK „×ÐÝ˚þ½š=?Û×šÞ¦ĆýÐ³ž?=ðˇÐ=š×ÐÝ˚þ½š=?›¹ˇ=Û×šÞ¦ĆýÐ³ž²?K
QK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=¼×šÞ¦ĆýÐ³ž²=×−¼=¦˚Ýš½šK

=Ej=TJTF
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„¾ˇ¹ý−ł˚²

flÝÝˇł¸=½−¼=ÚĆ×−¼=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=½ž²=Û×šÞ¦ĆýÐ³ž²I=š×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K

OK „×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼=Ï¼×ÞK?K

PK „×ÐÝ˚þ½š=?Ó¹−¹¼¦”Ð³”K=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=j−¼?K

QK „×ÐÝ˚þ½š=½−Þ=½şÞ−=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼I=Šš˝½š=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ NTPK

flÝÝˇł¸=½−¼=ÚĆ×−¼=½−¼=sáÇÉç
NK Ò½žÞ=−¦şÞž=½ž²=Û×šÞ¦ĆýÐ³ž²I=š×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K

OK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=sáÇÉç?K

PK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=îáÇÉç=Åäáé=×−¼=š×Ð¦¼ýš˝½šK

flÝÝˇł¸=½ž²=‚Ð˙¹ðšÐˇ²=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć=¸=½−¼=sáÇÉç
NK Ò½žÞ=−¦şÞž=Û×šÞ¦ĆýÐ³ž²I=š×ÐÝ˚þ½š=?‚Ð˙¹ðšÐˇ?K

OK „×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=ŠÐ˙¹ðšÐˇK

„×šþš¹łˇ³˝ˇ=½ž²=Ëˇ½ˇ₣ć¹ž³ž²=„¹łˇ³˝ˇ²
?„¾ˇ¹ý−ł˚²?=→=?„¹łˇ³˝š²?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK Ú¹−×−×−Ð¸³½š=½žÞ=ðˇ½ˇ₣ć¹ž³žK
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„¾ˇ¹ý−ł˚²

fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=„¹łˇ³˝ˇ²
?„¾ˇ¹ý−ł˚²?=→=?„¹łˇ³˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
?˜²=Í¸Þ¼ýˇ?W fl×−³½˚ÝÝšÐ=½žÞ=ðˇ½ˇ₣ć¹ž³ž=ğ²=ý¸Þ¼ýˇK
?Íš=_äìÉíççíÜ?W fl×−³½˚ÝÝšÐ=½žÞ=ðˇ½ˇ₣ć¹ž³ž=ý˚³ğ=³ĆÞŠš³ž²=_äìÉíççíÜK
?Íš=Û×˚¹¼¦¹š²?W fl×−³½˚ÝÝšÐ=½žÞ=ðˇ½ˇ₣ć¹ž³ž=ý˚³ğ=³ĆÞŠš³ž²=¼×˚¹¼¦¹ğÞK

·Ðˇ=?Íš=_äìÉíççíÜ?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ OMSK

·Ðˇ=?Íš=Û×˚¹¼¦¹š²?
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ ONOK

Òžýš˝ğ³ž
≥ ·Ðˇ=½ž=³ĆÞŠš³ž=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=šÐ³˙łš½š=½−Þ=ðğŠÐðş=×¹ş³Łˇ³ž²=ş½ˇÞ=

š×Ðð−ÐÞğÞš˝½š=łÐˇ=×¹ć½ž=¾−¹˙=ýš=ý˝ˇ=³¼³ðš¼¸=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=
_äìÉíççíÜK

Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²
?„¾ˇ¹ý−ł˚²?=→=?„¹łˇ³˝š²?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=š¹łˇ³˝ˇ²=łÐˇ=½žÞ=−×−˝ˇ=¦˚Ýš½š=Þˇ=Šš˝½š=½žÞ=

ðˇ½˙³½ˇ³ž=ˇ×−¦¸ðš¼³ž²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²?K
„ý¾ˇÞ˝Žš½ˇÐ=ž=½¹˚₣−¼³ˇ=ðˇ½˙³½ˇ³ž=½ž²=ýÞ¸ýž²K
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„¾ˇ¹ý−ł˚²

‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ
?„¾ˇ¹ý−ł˚²?=→=?„¹łˇ³˝š²?=→=x„×ÐÝKz=→=?‚Ðˇł¹ˇ¾¸?
NK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?fl¼½¸=ž=„¹łˇ³˝ˇ?W ‚Ðˇł¹˙¾šÐ=½žÞ=š×ÐÝšłý˚Þž=ðˇ½ˇ₣ć¹ž³žK
?ÌÝ−ðÝž¹K=„¹łˇ³˝š²?W ‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ýˇ¹ðˇ¹Ð³ý˚Þš²=ðˇ½ˇ₣ğ¹¸³šÐ²K
?⁄Ýš²=−Ð=„¹łˇ³˝š²?W ‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²K

Óˇłðş³ýÐ−=Ô−ÝşÐ
ÔĆ¦ýÐ³ž=½ž²=‰ćÞž²=›¹ˇ²
?„¾ˇ¹ý−ł˚²?=→=?Óˇłðş³ýÐˇ=›¹ˇ?
NK ÓÐ˚³½š=x„×šþš¹łˇ³˝ˇzK

OK „×ÐÝ˚þ½š=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?K
Â=½¹˚₣−¼³ˇ=ŽćÞž=ć¹ˇ²=š×Ð³žýˇ˝Þš½ˇÐ=³½−Þ=×ˇłðş³ýÐ−=₣˙¹½žK

PK ÓÐ˚³½š=c=¸=d=łÐˇ=Þˇ=ˇÝÝ˙þš½š=½ž=ŽćÞž=ć¹ˇ²K

QK ÓÐ˚³½š= K

=Ej=TJUF
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„¾ˇ¹ý−ł˚²

ÔĆ¦ýÐ³ž=Ó¹−³ğ×Ðð¸²=‰ćÞž²=›¹ˇ²
?„¾ˇ¹ý−ł˚²?=→=?Óˇłðş³ýÐˇ=›¹ˇ?
NK ÓÐ˚³½š=x„×šþš¹łˇ³˝ˇzK

OK „×ÐÝ˚þ½š=½ž=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?K
Â=½¹˚₣−¼³ˇ=ŽćÞž=ć¹ˇ²=š×Ð³žýˇ˝Þš½ˇÐ=³½−Þ=×ˇłðş³ýÐ−=₣˙¹½žK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=Ó¹−³K‰ćÞž²?K

QK „Ð³˙łš½š=½−=şÞ−ýˇ=×şÝž²=×−¼=š×Ð¦¼ýš˝½š=ðˇÐ=½žÞ=ć¹ˇK

ÔĆ¦ýÐ³ž=Êš¹ÐÞ¸²=›¹ˇ²
?„¾ˇ¹ý−ł˚²?=→=?Óˇłðş³ýÐˇ=›¹ˇ?
NK ÓÐ˚³½š=x„×šþš¹łˇ³˝ˇzK

OK „×ÐÝ˚þ½š=?Êš¹ÐÞ¸=›¹ˇ?K

PK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

ı¹−Þşýš½¹−=flÞ½˝³½¹−¾ž²=Í˚½¹ž³ž²
?„¾ˇ¹ý−ł˚²?=→=?flÞ½˝³½¹K=Íš½¹ž½K?
NK „Ð³˙łš½š=½žÞ=ć¹ˇ=łÐˇ=½ž=ý˚½¹ž³žK

Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=ć¹ˇ=ˇ×ş=˚Þˇ=Šš¼½š¹şÝš×½−=˚ğ²=šþ¸Þ½ˇ=Ýš×½˙K

OK ÓÐ˚³½š= =łÐˇ=½žÞ=˚Þˇ¹þž=½ž²=ý˚½¹ž³ž²K

PK ÓÐ˚³½š= =łÐˇ=×ˇĆ³žK
ÓÐ˚³½š=×˙ÝÐ= =łÐˇ=½ž=³¼Þ˚₣šÐˇ=½ž²=ý˚½¹ž³ž²K

=Ej=TJVF
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„¾ˇ¹ý−ł˚²

QK ⁄½ˇÞ=½šÝšÐć³šÐ=ž=ˇÞ½˝³½¹−¾ž=ý˚½¹ž³žI=×Ð˚³½š=xflðĆ¹ğ³žz=ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=
×Ð˚³½š= =łÐˇ=Þˇ=½žÞ=þšðÐÞ¸³š½š=×˙ÝÐK

„×šþš¹łˇ³˝ˇ=½−¼=ı¹şÞ−¼=flÞ½˝³½¹−¾ž²=Í˚½¹ž³ž²
NK Ò½žÞ=−¦şÞž=˚Þˇ¹þž²=½ž²=ˇÞ½˝³½¹−¾ž²=ý˚½¹ž³ž²=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?„×šþK?K

OK Ú¹−×−×−Ð¸³½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž=„þşŠğÞ
Í×−¹š˝½š=Þˇ=ðˇ½ˇł¹˙Ğš½š=ý˝ˇ=³žýš˝ğ³ž=šþşŠğÞ=ýš=×¹−š×ÐÝšłý˚Þš²=¸=
š×šþš¹łˇ³ý˚Þš²=ðˇ½žł−¹˝š²K

Ëˇ½ˇł¹ˇ¾¸=³½ž=Òžýš˝ğ³ž=„þşŠğÞ
?„¾ˇ¹ý−ł˚²?=→=?Òžýš˝ğ³ž=„þşŠğÞ?=→=?Ó¹−³¦K=Î˚−¼=÷þ−Š−¼?
NK „Ð³˙łš½š=½ˇ=˚þ−Šˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK

OK „×ÐÝ˚þ½š=½žÞ=ðˇ½žł−¹˝ˇ=×−¼=š×Ð¦¼ýš˝½šK
Â=³žýš˝ğ³ž=šþşŠğÞ=ðˇ½ˇ₣ğ¹š˝½ˇÐK

Ó¹−Ł−Ý¸=Ò¼ÞşÝğÞ
?„¾ˇ¹ý−ł˚²?=→=?Òžýš˝ğ³ž=„þşŠğÞ?=→=?ÌÝÐðş?
Ò½žÞ=−¦şÞž=šý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=ðˇ½ˇ₣ğ¹žý˚Þˇ=˚þ−ŠˇK

flÝÝˇł¸=Ó−³−Ć
NK Ò½ž=łšÞÐð¸=×¹−Ł−Ý¸I=š×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=Ó−³−Ć?K

PK „Ð³˙łš½š=½−=×−³ş=×−¼=š×Ð¦¼ýš˝½š=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK

=Ej=TJNMF
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„¾ˇ¹ý−ł˚²

‚Ðˇł¹ˇ¾¸=šÞş²=Ëˇ½ˇ₣ğ¹žý˚Þ−¼=Ò½−Ð₣š˝−¼
NK Ò½ž=łšÞÐð¸=×¹−Ł−Ý¸I=š×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹K=flÞ½ÐðšÐýK?K
Ú−=š×ÐÝšłý˚Þ−=³½−Ð₣š˝−=ŠÐˇł¹˙¾š½ˇÐ=ˇ×ş=½ž=Ý˝³½ˇK

‚Ðˇł¹ˇ¾¸=⁄ÝğÞ=½ğÞ=Ò½−Ð₣š˝ğÞ
NK Ò½ž=łšÞÐð¸=×¹−Ł−Ý¸I=š×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸=⁄ÝğÞ?K

„×šþš¹łˇ³˝ˇ=½−¼=ÌÞşýˇ½−²=Ëˇ½žł−¹˝ˇ²K
?„¾ˇ¹ý−ł˚²?=→=?Òžýš˝ğ³ž=„þşŠğÞ?=→=?„×šþK=Ëˇ½žł−¹˝ˇ²?
NK „×ÐÝ˚þ½š=½−=şÞ−ýˇ=ðˇ½žł−¹˝ˇ²=×−¼=š×Ð¦¼ýš˝½šK

OK flÝÝ˙þ½š=½−=şÞ−ýˇK

‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼
Í×−¹š˝½š=Þˇ=×¹−Ł˙ÝÝš½š=½ž=Ý˝³½ˇ=Ł−¸¦šÐˇ²=ðˇÐ=Þˇ=½ž=₣¹ž³Ðý−×−Ð¸³š½š=ğ²=−Šžłş=łÐˇ=
½Ð²=ÝšÐ½−¼¹ł˝š²=½−¼=½žÝš¾ćÞ−¼K
?„¾ˇ¹ý−ł˚²?=→=?‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼?
NK ÓÐ˚³½š=a=¸=bK

=Ej=TJNNF
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„¾ˇ¹ý−ł˚²=pfj=Ej=VF

Í×−¹š˝½š=Þˇ=ˇÞˇ½¹˚þš½š=³½Ð²=×Ýž¹−¾−¹˝š²=×−¼=×š¹Ð˚₣−Þ½ˇÐ=³½žÞ=ð˙¹½ˇ=pfjLrpfjK=
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²K
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Ô¼¦ý˝³šÐ²=Ej=NOF

Ó¹−¾˝Ý
Òš=ð˙¦š=×¹−¾˝ÝI=ý×−¹š˝½š=Þˇ=ŠÐˇý−¹¾ć³š½š=½Ð²=¹¼¦ý˝³šÐ²=¸₣−¼=ðˇÐ=ŠşÞž³ž²=
ˇÞ˙Ý−łˇ=ýš=½−=×š¹ÐŁ˙ÝÝ−Þ=³½−=−×−˝−=Ł¹˝³ðš³½šK

Û×˙¹₣−¼Þ=S=×¹−¾˝ÝW=?ËˇÞ−ÞÐðş?I=?Ò¼Þ˙Þ½ž³ž?I=?‚¹ˇ³½ž¹Ðş½ž½ˇ?I=?fl¼½−ð˝Þž½−?I=
?flð−¼³½Ððş?=ðˇÐ=?ÒÐğ×žÝş?K

„Þš¹ł−×−˝ž³ž=šÞş²=Ó¹−¾˝Ý
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK „×ÐÝ˚þ½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ ⁄½ˇÞ=−¹Ð³½š˝=ð˙×−Ð−=×¹−¾˝ÝI=½ş½š=ž=ˇÞ½˝³½−Ð₣ž=˚ÞŠšÐþž=×−¼=×š¹Ðł¹˙¾š½ˇÐ=³½ž=

³šÝ˝Šˇ OVI=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

Ò¼ýŁ−¼Ý¸
≥ ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=R=łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=½ğÞ=¹¼¦ý˝³šğÞ=½−¼=

Ó¹−¾˝Ý=×−¼=šÞš¹ł−×−Ð¸¦žðš=×Ð−=×¹ş³¾ˇ½ˇ=ðˇÐ=½−¼=×¹−¾˝Ý=ÒÐğ×žÝş=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

Ó¹−³ˇ¹ý−ł¸=½ğÞ=Ó¹−¾˝Ý
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=½ž=¹Ć¦ýÐ³ž=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½š=ðˇÐ=ˇÝÝ˙þ½š=½žÞ=ˇÞ˙Ý−łˇ=ýš=
½Ð²=š×Ð¦¼ý˝š²=³ˇ²K
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²I=Šš˝½š=³šÝ˝Šˇ NTO=˚ğ²=
NTTK

=Ej=NOJNF
Ñõèìßóåéò

Ðñïößë
Ñõèìßóåéò Ïèüíçò
Ñõèìßóåéò ¹÷ïõ
¿ñá & Çìåñ/íßá
Ãëþóóá
Ñõèì. ÊëÞóåùí
Ñõèì. ÊëÞóçò Video

ÅðéëïãÞ Ðßóù

¿ñá & Çìåñ/íßá
Ãëþóóá
Ñõèì. ÊëÞóåùí
Ñõèì. ÊëÞóçò Video
Ñõèìßó. ÁóöÜëåéáò
Ñõèìßóåéò ÌíÞìçò
Åðáíáö. Ñõèì.

Ñõèìßóåéò

ÅðéëïãÞ Ðßóù
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Ô¼¦ý˝³šÐ²

„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ=½ğÞ=Ó¹−¾˝Ý
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=š×ˇÞˇ¾˚¹š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ýK=ğ²=Ó¹−š×K?K
PK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK

÷Þ½ˇ³ž=Ë−¼Š−¼ÞÐ−Ć
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=ð−¼Š−¼ÞÐ−Ć=³š=˚Þˇ=ˇ×ş=½ˇ=˚þÐ=ŠÐˇ¦˚³Ðýˇ=
š×˝×šŠˇ=¸=Þˇ=š×ÐÝ˚þš½š=½žÞ=ˇ¼þˇÞşýšÞž=˚Þ½ˇ³žK

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K
PK „×ÐÝ˚þ½š=?÷Þ½ˇ³ž?K

Ú−=½¹˚₣−Þ=š×˝×šŠ−=˚Þ½ˇ³ž²=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK
QK ÓÐ˚³½š=a=E¸=dF=łÐˇ=Þˇ=̌ ¼þ¸³š½š=½žÞ=̊ Þ½ˇ³ž=½−¼=ð−¼Š−¼ÞÐ−Ć=̧ =×Ð˚³½š=b=E¸=cF=

łÐˇ=Þˇ=ýšÐć³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=ð−¼Š−¼ÞÐ−Ć=ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= K
·Ðˇ=Þˇ=š×ÐÝ˚þš½š=?fl¼þˇÞşýšÞž=÷Þ½ˇ³ž?I=×Ð˚³½š=a=E¸=dF=³½−=š×˝×šŠ−=RK
·Ðˇ=Þˇ=š×ÐÝ˚þš½š=?ÒÐğ×žÝş?I=×Ð˚³½š=b=E¸=cF=³½−=š×˝×šŠ−=NK
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Ô¼¦ý˝³šÐ²

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=ˇ×ş=½ˇ=ŠĆ−=š×˝×šŠˇ=¸=½žÞ=ˇ¼þˇÞşýšÞž=˚Þ½ˇ³žI=ş½ˇÞ=

š×ÐÝ˚łš½š=½−=×¹−¾˝Ý=?ÒÐğ×žÝş?K

flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²
˜²=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚ÞˇÞ=ˇ×ş=½−¼²=OU=¸₣−¼²I=³½−¼²=
−×−˝−¼²=×š¹ÐÝˇýŁ˙Þ−Þ½ˇÐ=ðˇÐ=R=ý−½˝ŁˇI=NP=ž₣ž½Ðð˙=š¾¾˚=ðˇÐ=NM=ýšÝğŠ˝š²K=Í×−¹š˝½šI=
š×˝³ž²=Þˇ=š×ÐÝ˚þš½š=̊ ÞˇÞ=¸₣−=ˇ×ş=½−¼²=fl×−¦žðš¼ý˚Þ−¼²=◊₣−¼²=ğ²=×¹−š×ÐÝšłý˚Þ−=
¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²I=šð½ş²=ˇ×ş=½−¼²=¸₣−¼²=ýš=¾−¹ý˙=^jo=¸=t^sbK
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?Ë−¼ŠKLË−¼ŠK=sáÇÉç?K

QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?=¸=?·Ðˇ=ËÝ¸³ž=sáÇÉç?K

RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?K

SK „×ÐÝ˚þ½š=?Ó¹−¹¼¦”Ð³”K=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=j−¼?K

TK Íˇ¹ð˙¹š½š=½−Þ=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½šK
·Ðˇ=Þˇ=ˇð−Ć³š½š=½−=Šš˝łýˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇ×ˇ¹ˇłğł¸?K

UK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣ž³ž?K
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Òžýš˝ğ³ž
≥ flðşýž=ðÐ=ˇÞ=ŠÐˇł¹˙Ğš½š=˚ÞˇÞ=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=₣¹ž³Ðý−×−Ðš˝=˚ÞˇÞ=¸₣−=

ˇ×ş=½−¼²=fl×−¦žðš¼ý˚Þ−¼²=◊₣−¼²I=ž=¹Ć¦ýÐ³ž=×ˇ¹ˇý˚ÞšÐ=ğ²=˚₣šÐ=ðˇÐ=¦ˇ=ž₣š˝=−=
×¹−š×ÐÝšłý˚Þ−²=¸₣−²=ð−¼Š−¼Þ˝³ýˇ½−²K=„˙Þ=ŠÐˇł¹˙Ğš½š=˚ÞˇÞ=¸₣−=
ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=˚₣šÐ=−¹Ð³½š˝=łÐˇ=½−=ð−¼Š−ĆÞÐ³ýˇI=¦ˇ=šÞš¹ł−×−Ðž¦š˝=×˙ÝÐ=−=
×¹−š×ÐÝšłý˚Þ−²=¸₣−²=ð−¼Š−¼Þ˝³ýˇ½−²K

flÞ½Ð³½−˝₣ž³ž=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=ˇ¹₣š˝−=îáÇÉç=Åäáé=ˇ×ş=½ˇ=fl×−¦žðš¼ý˚Þˇ=sáÇÉç=ğ²=
×¹−š×ÐÝšłý˚Þ−=ˇ¹₣š˝−=îáÇÉç=Åäáé=łÐˇ=½−=ð−¼Š−ĆÞÐ³ýˇK
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?Ë−¼ŠKLË−¼ŠK=sáÇÉç?K

QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?=¸=?·Ðˇ=ËÝ¸³ž=sáÇÉç?K

RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=sáÇÉç?K

SK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½šK
·Ðˇ=Þˇ=ð˙Þš½š=×¹−š×Ð³ðş×ž³ž=ˇ¼½−Ć=½−¼=ˇ¹₣š˝−¼I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?flÞˇ×ˇ¹ˇłğł¸?K

TK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣ž³ž?K
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„ÐŠ−×−˝ž³ž=ÍžÞĆýˇ½−²
⁄½ˇÞ=ÝˇýŁ˙Þš½š=ýžÞĆýˇ½ˇI=½−=½žÝ˚¾ğÞş=³ˇ²=¦ˇ=³˙²=šÐŠ−×−Ðš˝=łÐˇ=½žÞ=˙¾Ðþ¸=½−¼²=
ýš=½−Þ=½şÞ−=¸=½−=îáÇÉç=ð−¼Š−¼ÞÐ−Ć=×−¼=˚₣š½š=−¹˝³šÐK

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K
PK „×ÐÝ˚þ½š=?Ë−¼ŠKLË−¼ŠK=sáÇÉç?K
QK „×ÐÝ˚þ½š=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?K
RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=¸=?flÞ½Ð³½−˝₣K=sáÇÉç?K

„˙Þ=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=ÍšÝğŠ˝ˇ²?I=š×ÐÝ˚þ½š=?Ó¹−¹¼¦”Ð³”K=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=
Í−¼?K

SK Íˇ¹ð˙¹š½š=½−Þ=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=¦˚Ýš½š=¸=½−=îáÇÉç=Åäáé=
ð−¼Š−¼Þ˝³ýˇ½−²K
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=̧ ₣−¼=ð−¼Š−¼Þ˝³ýˇ½−²=̧ =
šÞş²=îáÇÉç=ð−¼Š−¼Þ˝³ýˇ½−²=Šš˝½š=?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=
³½ž=³šÝ˝Šˇ NTP=¸=?flÞ½Ð³½−˝₣ž³ž=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=
³šÝ˝Šˇ NTQK

TK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣ž³ž?=EłÐˇ=˚ÞˇÞ=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²F=¸=
?„×ÐÝ−ł¸?=EłÐˇ=˚Þˇ=îáÇÉç=ÅäáéFK

UK „×ÐÝ˚þ½š=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?=ðˇÐ=š×ÐÝ˚þ½š=?‚Ð˙¹ðšÐˇ?K
VK „Ð³ˇł˙łš½š=½ž=ŠÐ˙¹ðšÐˇ=×−¼=š×Ð¦¼ýš˝½šK

ÚşÞ−Ð=ÓÝžð½¹−Ý−ł˝−¼
⁄½ˇÞ=−Ð=½şÞ−Ð=×Ýžð½¹−Ý−ł˝−¼=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þ−ÐI=¦ˇ=ˇð−Ć½š=˚ÞˇÞ=¸₣−=
š×ÐŁšŁˇ˝ğ³ž²=ð˙¦š=¾−¹˙=×−¼=¦ˇ=×Ð˚Žš½š=˚Þˇ=ˇ¹Ð¦ýž½Ððş=×Ý¸ð½¹−K

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K
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PK „×ÐÝ˚þ½š=?◊₣−Ð=Ò¼³½¸ýK?K
QK „×ÐÝ˚þ½š=?ÚşÞ−Ð=ÓÝžð½¹K?K
RK Íˇ¹ð˙¹š½š=½−=ý−½˝Ł−=½şÞ−¼=×−¼=š×Ð¦¼ýš˝½šK

SK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣ž³ž?K

‚şÞž³ž
⁄½ˇÞ=ž=ÝšÐ½−¼¹ł˝ˇ=ŠşÞž³ž²=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚ÞžI=½−=½žÝ˚¾ğÞ−=³ˇ²=šÐŠ−×−Ðš˝=łÐˇ=
šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=ýš=ŠşÞž³žI=ˇÞšþ˙¹½ž½ˇ=ˇ×ş=½Ð²=¹¼¦ý˝³šÐ²=˚Þ½ˇ³ž²=
ð−¼Š−¼ÞÐ−Ć=ðˇÐ=¸₣−¼=ð−¼Š−¼Þ˝³ýˇ½−²K

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?‚şÞž³ž?K

QK „×ÐÝ˚þ½š=?„Þš¹łş?I=?iáåâ=íç=ëçìåÇ?=¸=?Íž=šÞš¹łş?K

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=˚₣š½š=š×ÐÝ˚þšÐ=?iáåâ=íç=ëçìåÇ?=³½−=Ł¸ýˇ=QI=ž=ŠşÞž³ž=³¼ł₣¹−Þ˝Žš½ˇÐ=ýš=½žÞ=

š×ÐÝšłý˚Þž=ýšÝğŠ˝ˇK=Óˇ¹ˇðˇÝć=Ý˙Łš½š=¼×şĞž=ş½Ð=ŠšÞ=¼×−³½ž¹˝Ž−¼Þ=şÝš²=−Ð=
ýšÝğŠ˝š²=½žÞ=š×ÐÝ−ł¸=?iáåâ=íç=ëçìåÇ?K

≥ ⁄½ˇÞ=š×ÐÝ˚łš½š=?„Þš¹łş?=̧ =?iáåâ=íç=ëçìåÇ?=³½−=Ł¸ýˇ=QI=³½žÞ=ðˇ½˙³½ˇ³ž=̌ Þˇý−Þ¸²=
šý¾ˇÞ˝Žš½ˇÐ=½−=? ?K
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„þğ½š¹Ððş=ı¹ćýˇ=Ùğ½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=ˇÞ˙ýš³ˇ=³š=T=₣¹ćýˇ½ˇ=ðˇÐ=N=ý−½˝Ł−=łÐˇ=ð˙¦š=×¹−¾˝ÝI=ðˇÐ=Þˇ=
½ˇ=ˇÝÝ˙þš½š=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=šÐ³š¹₣şýšÞž²=ðÝ¸³ž²K

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?„þğ½š¹Ððş=Ùğ²?K

QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?I=?·Ðˇ=ËÝ¸³ž=sáÇÉç?=¸=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?K

RK „×ÐÝ˚þ½š=½−=₣¹ćýˇ=×−¼=š×Ð¦¼ýš˝½š=¸=?Íž=šÞš¹łş?K

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=š×ÐÝ˚þš½š=?aáëÅç?=³½−=Ł¸ýˇ=RI=¦ˇ=šÞˇÝÝ˙³³−Þ½ˇÐ=ŠÐˇŠ−₣Ðð˙=ðˇÐ=½ˇ=T=₣¹ćýˇ½ˇ=

ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=šÐ³š¹₣şýšÞž²=ðÝ¸³ž²K

fl×˙Þ½ž³ž=ýš=Ë˙¦š=ÓÝ¸ð½¹−
Í×−¹š˝½š=Þˇ=ˇ×ˇÞ½¸³š½š=³š=ý˝ˇ=ðÝ¸³ž=×Ð˚Ž−Þ½ˇ²=−×−Ð−Š¸×−½š=×Ý¸ð½¹−=šð½ş²=ˇ×ş=
½ˇ=×Ý¸ð½¹ˇ=FI= I=U=ðˇÐ=xfl×ˇ³₣KzK=·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=
³šÝ˝Šˇ PUK

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?fl×˙Þ½K=ð˙¦š=ÓÝ¸ð½K?K

QK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K
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ÔĆ¦ýÐ³ž=½ž²=Ì¦şÞž²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½Ð²=¹¼¦ý˝³šÐ²=½ž²=ðĆ¹Ðˇ²=−¦şÞž²=ðˇÐ=½ž²=Ł−ž¦ž½Ðð¸²=−¦şÞž²K

ÔĆ¦ýÐ³ž=½ž²=ËĆ¹Ðˇ²=Ì¦şÞž²

ÙşÞ½−
·Ðˇ=½žÞ=−¦şÞž=½ž²=ðˇ½˙³½ˇ³ž²=ˇÞˇý−Þ¸²=×ˇ¹˚₣−Þ½ˇÐ=R=×¹−šłðˇ½š³½žý˚Þš²=
¾ğ½−ł¹ˇ¾˝š²K
˜²=¾şÞ½−=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ðˇÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=˚₣š½š=Łł˙ÝšÐ=ýš=½žÞ=
Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=¸=šÐðşÞš²=×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?=ˇ×ş=³šÝ˝Šš²=t^mK

„×ÐÝ˚þ½š=ÌÐ=Ùğ½−ł¹K=Í−¼
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?ÙşÞ½−?
NK „×ÐÝ˚þ½š=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

OK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

PK fl¾−Ć=šý¾ˇÞÐ³½š˝=ž=¾ğ½−ł¹ˇ¾˝ˇ=×Ð˚³½š= K

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²=ŠšÞ=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞI=šþˇÐ½˝ˇ²=½−¼=½Ć×−¼=

½−¼²=ðˇÐ=½−¼=½Ć×−¼=ŠšŠ−ý˚ÞğÞ=½−¼²K
≥ „˙Þ=ž=¾ğ½−ł¹ˇ¾˝ˇ=ˇ×ş=½−=ýšÞ−Ć=?ÌÐ=Ùğ½−ł¹K=Í−¼?=̊ ₣šÐ=̧ Šž=−¹Ð³½š˝I=šý¾ˇÞ˝Žš½ˇÐ=

³½−=Ł¸ýˇ=NK=ÓÐ˚³½š=xflÝÝˇł¸z=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=¾ğ½−ł¹ˇ¾˝ˇK

=Ej=NOJOF
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flÞ½Ð³½−˝₣ž³ž=Ùğ½−ł¹ˇ¾ÐćÞ
Ú−=½žÝ˚¾ğÞ−=ý×−¹š˝=Þˇ=šý¾ˇÞ˝ŽšÐ=¾ğ½−ł¹ˇ¾˝š²=ðˇ½˙=½žÞ=šÞš¹ł−×−˝ž³žL
ˇ×šÞš¹ł−×−˝ž³¸=½−¼I=ş½ˇÞ=Š˚₣š³½š=ý˝ˇ=šÐ³š¹₣şýšÞž=ðÝ¸³ž=¸=ş½ˇÞ=šÞš¹ł−×−Ðš˝½ˇÐ=
½−=þ¼×Þž½¸¹ÐK

Í×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ðˇÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=˚₣š½š=Łł˙ÝšÐ=ýš=½žÞ=Ğž¾Ðˇð¸=
¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=¸=šÐðşÞš²=×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?=ˇ×ş=³šÝ˝Šš²=t^mK

„×ÐÝ−ł¸=Ùğ½−ł¹ˇ¾˝ˇ²=ˇ×ş=½Ð²=Ó¹−šłðˇ½š³½žý˚Þš²=Ùğ½−ł¹ˇ¾˝š²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?·¹ˇ¾Ðð˙=Ò¼³½¸ýˇ½−²?
NK „×ÐÝ˚þ½š=½ž=³ðžÞ¸=łÐˇ=½žÞ=−×−˝ˇ=¦˚Ýš½š=Þˇ=šÞš¹ł−×−Ð¸³š½š=½ž=¾ğ½−ł¹ˇ¾˝ˇK

OK „×ÐÝ˚þ½š=?mêÉëÉí=̂ åáã~íáçå?=š˙Þ=š×ÐÝ˚þš½š=?„Þš¹ł−×−˝ž³ž?=̧ =?fl×šÞš¹ł−×−˝ž³ž?=
³½−=Ł¸ýˇ=NK
„×ÐÝ˚þ½š=?Ò₣˚ŠÐ−=N?I=?Ò₣˚ŠÐ−=O?=¸=?Ò₣˚ŠÐ−=P?=š˙Þ=š×ÐÝ˚þš½š=?„Ð³š¹₣şýšÞž?=¸=
?Ï¼×Þž½¸¹Ð?=³½−=Ł¸ýˇ=NK

„×ÐÝ−ł¸=Ùğ½−ł¹ˇ¾˝ˇ²=ˇ×ş=½−=Û×−ýšÞ−Ć=?ÌÐ=Ùğ½−ł¹ˇ¾˝š²=Í−¼?
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?·¹ˇ¾Ðð˙=Ò¼³½¸ýˇ½−²?
NK „×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=³ðžÞ¸=łÐˇ=Þˇ=½−×−¦š½¸³š½š=½ž=¾ğ½−ł¹ˇ¾˝ˇK

OK „×ÐÝ˚þ½š=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

PK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

QK fl¾−Ć=šý¾ˇÞÐ³½š˝=ž=¾ğ½−ł¹ˇ¾˝ˇ=×Ð˚³½š= K

RK Ëˇ¦−¹˝³½š=½žÞ=×š¹Ð−₣¸=×−¼=¦˚Ýš½š=Þˇ=šý¾ˇÞ˝Žš½ˇÐ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×Ý¸ð½¹ˇ=
×Ý−¸łž³ž²K
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Ô¼¦ý˝³šÐ²

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²=ŠšÞ=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞI=šþˇÐ½˝ˇ²=½−¼=½Ć×−¼=

½−¼²=ðˇÐ=½−¼=½Ć×−¼=ŠšŠ−ý˚ÞğÞ=½−¼²K
≥ „˙Þ=ž=¾ğ½−ł¹ˇ¾˝ˇ=ˇ×ş=½−=ýšÞ−Ć=?ÌÐ=Ùğ½−ł¹K=Í−¼?=̊ ₣šÐ=̧ Šž=−¹Ð³½š˝I=šý¾ˇÞ˝Žš½ˇÐ=

³½−=Ł¸ýˇ=OK=ÓÐ˚³½š=xflÝÝˇł¸z=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=¾ğ½−ł¹ˇ¾˝ˇK

ÔĆ¦ýÐ³ž=Ó˙₣−¼²=·¹ˇýýˇ½−³šÐ¹˙²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½−=×˙₣−²=½ž²=ł¹ˇýýˇ½−³šÐ¹˙²=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ô¼¦ý˝³K=·¹ˇýýˇ½−³K?
NK „×ÐÝ˚þ½š=?Èš×½ş?I=?ËˇÞ−ÞÐðş?I=?÷Þ½−Þ−?=¸=?ÓÐ−=˚Þ½−Þ−?K

Â=šÐðşÞˇ=×¹−š×Ð³ðş×ž³ž²=šý¾ˇÞ˝Žš½ˇÐ=³½−=š×ÐÝšłý˚Þ−=×˙₣−²K

Ëˇ¦−¹Ð³ýş²=½−¼=ÍžÞĆýˇ½−²=ıˇÐ¹š½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=−¹˝³š½š=˚Þˇ=ý¸Þ¼ýˇ=½−=−×−˝−=¦ˇ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞž=ş½ˇÞ=
šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Í¸Þ¼ýK=ıˇÐ¹š½Ð³ý−Ć?=→=?„Þš¹łKL
fl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

OK „×ÐÝ˚þ½š=?„×šþK=ÍžÞĆýˇ½−²?=ðˇÐ=šÐ³˙łš½š=½−=ý¸Þ¼ýˇ=š˙Þ=̊ ₣š½š=š×ÐÝ˚þšÐ=?„Þš¹łş?=
³½−=Ł¸ýˇ=NK
Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=˚ğ²=ðˇÐ=NM=₣ˇ¹ˇð½¸¹š²=łÐˇ=½−=ý¸Þ¼ýˇK
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Ô¼¦ý˝³šÐ²

„ý¾˙ÞÐ³ž=½−¼=Ô−Ý−łÐ−Ć
Í×−¹š˝½š=Þˇ=šý¾ˇÞ˝³š½š=½−=žýš¹−ÝşłÐ−=¸=½žÞ=½¹˚₣−¼³ˇ=žýš¹−ýžÞ˝ˇ=¸LðˇÐ=½žÞ=ć¹ˇ=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

ÔĆ¦ýÐ³ž=½ž²=„ý¾˙ÞÐ³ž²=½−¼=Ô−Ý−łÐ−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ô−ÝşÐ=C=Âýš¹−ÝşłÐ−?=→=?„ý¾˙ÞÐ³ž=
Ô−Ý−łÐ−Ć?
NK „×ÐÝ˚þ½š=½−Þ=½Ć×−=¹−Ý−łÐ−Ć=×−¼=š×Ð¦¼ýš˝½š=¸=?Íž=šÞš¹łş?=łÐˇ=Þˇ=

ˇ×šÞš¹ł−×−Ð¸³š½š=½žÞ=−¦şÞž=½−¼=¹−Ý−łÐ−ĆK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=š×ÐÝ˚þš½š=?Âýš¹−ÝşłÐ−?I=ý×−¹š˝½š=Þˇ=šý¾ˇÞ˝³š½š=˚Þˇ=¸=ŠĆ−=³¼Þš₣şýšÞˇ=

žýš¹−ÝşłÐˇ=š×ÐÝ˚ł−Þ½ˇ²=?N=ý¸Þˇ²?=¸=?O=Í¸Þš²?K

Ùğ½Ð³ýş²
Ì=¾ğ½Ð³ýş²=ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=š˙Þ=ŠšÞ=×Ð˚³š½š=½−=×Ýžð½¹−ÝşłÐ−=łÐˇ=ð˙×−Ð−=
³¼łðšð¹Ðý˚Þ−=₣¹−ÞÐðş=ŠÐ˙³½žýˇK==Í×−¹š˝½š=Þˇ=−¹˝³š½š=˚Þˇ=³¼łðšð¹Ðý˚Þ−=₣¹−ÞÐðş=
ŠÐ˙³½žýˇ=×−¼=¦ˇ=×š¹˙³šÐ=×¹ÐÞ=ˇ×šÞš¹ł−×−Ðž¦š˝=−=¾ğ½Ð³ýş²I=ć³½š=Þˇ=ýšÐć³š½š=½žÞ=
ðˇ½ˇÞ˙Ýğ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²K

Ò¼ýŁ−¼Ý¸
≥ Ò½−=½žÝ˚¾ğÞ−=ˇ¼½şI=−=Ùğ½Ð³ýş²=˚₣šÐ=¹¼¦ýÐ³½š˝=ˇ×ş=½−=š¹ł−³½˙³Ð−=Þˇ=

šÞš¹ł−×−Ðš˝½ˇÐ=ýš½˙=ˇ×ş=NR=Šš¼½š¹şÝš×½ˇK

„×ÐÝ−ł¸=‚Ð˙¹ðšÐˇ²=½−¼=Ùğ½Ð³ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ùğ½Ð³ýş²?
NK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=½−=ˇ×šÞš¹ł−×−Ð¸³š½šK
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Ô¼¦ý˝³šÐ²

ÔĆ¦ýÐ³ž=½ž²=Ùğ½šÐÞş½ž½ˇ²
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=¾ğ½Ð³ý−Ć=E¾ğ½šÐÞş½ž½ˇF=½ž²=−¦şÞž²=³š=Q=
š×˝×šŠˇK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ùğ½šÐÞş½ž½ˇ?
NK ÓÐ˚³½š=a=EÙğ½KF=ðˇÐ=b=EÒð−Ć¹−F=łÐˇ=ý˚łÐ³½ž=š¼ð¹˝ÞšÐˇK

OK ÓÐ˚³½š= K

ÔĆ¦ýÐ³ž=½ž²=Ó¹−³½ˇ³˝ˇ²=Ì¦şÞž²
Â=−¦şÞž=ˇ¼½−Ć=½−¼=½žÝš¾ćÞ−¼=ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=ˇ¼½şýˇ½ˇ=ýš½˙=ˇ×ş=˚Þˇ=
³¼łðšð¹Ðý˚Þ−=₣¹−ÞÐðş=ŠÐ˙³½žýˇK=Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½−=₣¹şÞ−=ýš½˙=½−Þ=−×−˝−=¦ˇ=
šÞš¹ł−×−Ðš˝½ˇÐ=ž=Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²I=×¹˙łýˇ=×−¼=³¼ýŁ˙ÝÝšÐ=³½žÞ=ŠÐˇ½¸¹ž³ž=½ž²=
ŠÐ˙¹ðšÐˇ²=Žğ¸²=½ž²=ý×ˇ½ˇ¹˝ˇ²K

Ò¼ýŁ−¼Ý¸
≥ Ò½−=½žÝ˚¾ğÞ−=ˇ¼½şI=ž=Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²=˚₣šÐ=¹¼¦ýÐ³½š˝=ˇ×ş=½−=š¹ł−³½˙³Ð−=Þˇ=

šÞš¹ł−×−Ðš˝½ˇÐ=ýš½˙=ˇ×ş=O=Ýš×½˙K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²?
NK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ Â=Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²=ŠšÞ=ÝšÐ½−¼¹łš˝=ş½ˇÞ=×¹ˇłýˇ½−×−Ðš˝½š=ðÝ¸³šÐ²I=
₣¹ž³Ðý−×−Ðš˝½š=½−=t^m=¸=šð½šÝš˝½š=ý˝ˇ=š¾ˇ¹ý−ł¸K

≥ flðĆ¹ğ³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=Ó¹−³½ˇ³˝ˇ²=Ì¦şÞž²W=Â=×¹−³½ˇ³˝ˇ=−¦şÞž²=×ˇ¹ˇý˚ÞšÐ=
šÞš¹ł¸=ý˚₣¹Ð=Þˇ=×Ð˚³š½š=ð˙×−Ð−=×Ý¸ð½¹−=¸=ý˚₣¹Ð=Þˇ=Šš₣¦š˝½š=ý˝ˇ=šÐ³š¹₣şýšÞž=
šÐŠ−×−˝ž³žK=ÓÐ˚Ž−Þ½ˇ²=˚Þˇ=×Ý¸ð½¹−=łÐˇ=×¹ć½ž=¾−¹˙I=ˇ×Ýć²=ˇð¼¹ćÞš½š=ˇ¼½¸=½ž=
ÝšÐ½−¼¹ł˝ˇK=Êˇ=×¹˚×šÐ=Þˇ=×Ð˚³š½š=þˇÞ˙=ð˙×−Ð−=×Ý¸ð½¹−=š˙Þ=¦˚Ýš½š=Þˇ=šÐ³ˇł˙łš½š=
˚Þˇ=ˇ¹Ð¦ýž½Ððş=Ğž¾˝−=¸=˚Þˇ=₣ˇ¹ˇð½¸¹ˇK
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Ô¼¦ý˝³šÐ²

ÔĆ¦ýÐ³ž=„þşŠ−¼=sáÇÉç=EsáÇÉç=lìíF
Íš=½−=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−=ý×−¹š˝½š=Þˇ=³¼ÞŠ˚³š½š=½−=½žÝ˚¾ğÞş=³ˇ²=³š=ý˝ˇ=˙ÝÝž=
³¼³ðš¼¸I=ş×ğ²=×K₣K=³š=½žÝšş¹ˇ³ž=¸=îáÇÉçI=ðˇÐ=Þˇ=×¹−Ł˙ÝÝš½š=¾ğ½−ł¹ˇ¾˝š²=¸=îáÇÉç=
Åäáéë=×−¼=˚₣−¼Þ=ˇ×−¦žðš¼½š˝=³½−=½žÝ˚¾ğÞş=³ˇ²K=flðşýžI=ý×−¹š˝½š=Þˇ=×¹−Ł˙Ýš½š=
ŠšŠ−ý˚Þˇ=×−¼=š˝ÞˇÐ=ˇ×−¦žðš¼ý˚Þˇ=³½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K

„Þš¹ł−×−˝ž³ž=ÈšÐ½−¼¹ł˝ˇ²=„þˇłğł¸²
Êˇ=₣¹šÐˇ³½š˝=Þˇ=³¼ÞŠ˚³š½š=×¹−žł−¼ý˚Þğ²=½−=½žÝ˚¾ğÞş=³ˇ²=³½žÞ=̇ ÝÝž=³¼³ðš¼¸=ýš=
½−=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=?÷þ−Š−²?=→=?„Þš¹łş?
„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=³½žÞ=−¦şÞž=šþˇłğł¸²=ş½ˇÞ=−Ý−ðÝž¹ć³š½š=½ž=ŠÐˇŠÐðˇ³˝ˇK

Òžýš˝ğ³ž
≥ „˙Þ=ðÝš˝³š½š=½−=½žÝ˚¾ğÞş=³ˇ²=ŠšÞ=¦ˇ=ý×−¹š˝½š=Þˇ=ýš½ˇ¾˚¹š½š=½ˇ=ŠšŠ−ý˚Þˇ=³½ž=

³¼ÞŠšý˚Þž=³¼³ðš¼¸K
≥ ‚šÞ=š˝ÞˇÐ=Š¼Þˇ½¸=ž=˚þ−Š−²=−¹Ð³ý˚ÞğÞ=¾ğ½−ł¹ˇ¾ÐćÞ=¸=îáÇÉç=ÅäáéëK

„×ÐÝ−ł¸=Íšł˚¦−¼²=Ì¦şÞž²
Í×−¹š˝½š=Þˇ=×¹−Ł˙ÝÝš½š=šÐðşÞš²=³š=ýšł˙Ý−=ý˚łš¦−²K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=?Í˚łš¦−²=Ì¦şÞž²?
NK „×ÐÝ˚þ½š=?Íšł˚¦¼Þ³ž?K

·Ðˇ=Þˇ=×¹−Ł˙ÝÝš½š=½−=ˇ¹₣Ððş=ý˚łš¦−²I=š×ÐÝ˚þ½š=?fl¹₣Ððş=Í˚łš¦−²?K

Óš¹Ð³½¹−¾¸=„ÐðşÞˇ²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=?Óš¹Ð³½¹−¾¸=„ÐðşÞˇ²?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

Â=šÐðşÞˇ=×−¼=×¹−Ł˙ÝÝš½ˇÐ=³½ž=³¼³ðš¼¸=¦ˇ=×š¹Ð³½¹ˇ¾š˝=ý˚₣¹Ð=½ž=łğÞ˝ˇ=×−¼=
˚₣š½š=−¹˝³šÐK
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Ô¼¦ý˝³šÐ²

„×ÐÝ−ł¸=Ò¼³½¸ýˇ½−²=qs
Êˇ=₣¹šÐˇ³½š˝=Þˇ=š×ÐÝ˚þš½š=½−=ðˇ½˙ÝÝžÝ−=³Ć³½žýˇ=qsK=flÞˇ½¹˚þ½š=³½−=šł₣šÐ¹˝ŠÐ−=
−ŠžłÐćÞ=½ž²=³¼ÞŠšý˚Þž²=³¼³ðš¼¸²=łÐˇ=Þˇ=š×ÐŁšŁˇÐć³š½š=½−=³Ć³½žýˇ=qsK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=?ÒĆ³½žýˇ=qs?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

ÔĆ¦ýÐ³ž=½ž²=‡−ž¦ž½Ðð¸²=Ì¦şÞž²

„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=½ž²=‡−ž¦ž½Ðð¸²=Ì¦şÞž²
Í×−¹š˝½š=Þˇ=šÞš¹ł−×−Ð¸³š½š=¸=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½ž=Ł−ž¦ž½Ðð¸=−¦şÞž=ş½ˇÞ=½−=
½žÝ˚¾ğÞ−=š˝ÞˇÐ=ðÝšÐ³½şK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Û×−−¦şÞž?=→=?Ì¦K=„Þš¹łKLÍž=šÞš¹K?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½ž=Ł−ž¦ž½Ðð¸=−¦şÞž=ž=?Íž=šÞš¹łş?=łÐˇ=

Þˇ=½žÞ=ˇ×šÞš¹ł−×−Ð¸³š½šK

„×ÐÝ−ł¸=‚Ð˙¹ðšÐˇ²=½−¼=Ùğ½Ð³ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Û×−−¦şÞž?=→=?Ùğ½Ð³ýş²?
NK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=½š¹ýˇ½Ð³ý−Ć=×−¼=š×Ð¦¼ýš˝½šK

„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½−=¾ğ½Ð³ýşK

ÔĆ¦ýÐ³ž²=½ž²=flÞ½˝¦š³ž²=i`a
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=ˇÞ½˝¦š³ž=i`a=łÐˇ=Þˇ=½žÞ=×¹−³ˇ¹ýş³š½š=³½Ð²=šð˙³½−½š=
³¼Þ¦¸ðš²=¾ğ½Ð³ý−ĆK
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Û×−−¦şÞž?=→=?flÞ½˝¦š³ž?
NK ÓÐ˚³½š=a=EÙğ½KF=¸=b=EÒð−Ć¹−F=łÐˇ=Þˇ=¹¼¦ý˝³š½š=½žÞ=ˇÞ½˝¦š³ž=ðˇÐ=×Ð˚³½š= K

Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=ˇÞ½˝¦š³ž=i`a=³š=V=š×˝×šŠˇK

Ñõèìßó. Ãñáììáôïó.
¸íôïíï

ÌÞíõì. ×áéñåôéóìïý
Ìç åíåñãü

Õðïïèüíç
Åíåñãü

Ñïëüé & Çìåñïëüãéï

Ñõèìßóåéò Ïèüíçò

ÅðéëïãÞ Ðßóù
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Ô¼¦ý˝³šÐ²

ÔĆ¦ýÐ³ž=„ÐŠ−×−˝ž³ž²=„Ð³š¹₣şýšÞğÞ
Ò½žÞ=šþğ½š¹Ðð¸=−¦şÞž=ý×−¹š˝=Þˇ=×¹−ŁÝž¦š˝=−=ˇ¹Ð¦ýş²=½−¼=ðˇÝ−ĆÞ½−²=¸=½−=
ðˇ½ˇ₣ğ¹žý˚Þ−=şÞ−ýˇ=½−¼=ş½ˇÞ=ÝˇýŁ˙Þš½š=ý˝ˇ=šÐ³š¹₣şýšÞž=ðÝ¸³žK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Û×−−¦şÞž?=→=?„ý¾˙ÞK=ËˇÝ−ĆÞ½ˇ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ô¼¦ý˝³šÐ²=◊₣−¼
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½ş=½−=ýšÞ−Ć=łÐˇ=Þˇ=šÝ˚łþš½š=¸=Þˇ=š×šþš¹łˇ³½š˝½š=
½Ð²=½¹˚₣−¼³š²=¹¼¦ý˝³šÐ²=½−¼=×¹−¾˝Ý=Ešð½ş²=ˇ×ş=½žÞ=š×ÐÝ−ł¸=?fl×˙Þ½K=ð˙¦š=ÓÝ¸ð½K?FK

›¹ˇ=C=Âýš¹−ýžÞ˝ˇ
·Ðˇ=Þˇ=šþˇ³¾ˇÝÐ³½š˝=ž=³ğ³½¸=ÝšÐ½−¼¹ł˝ˇ=½ğÞ=ŠÐ˙¾−¹ğÞ=ÝšÐ½−¼¹łÐćÞ=½−¼=½žÝš¾ćÞ−¼=
³ˇ²=×−¼=Łˇ³˝Ž−Þ½ˇÐ=³½žÞ=ć¹ˇI=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=¹¼¦ý˝³š½š=½ž=³ğ³½¸=ć¹ˇ=ðˇÐ=
žýš¹−ýžÞ˝ˇK
?Ô¼¦ý˝³šÐ²?=→=?›¹ˇ=C=Âýš¹LÞ˝ˇ?=→=?ÔĆ¦ýK=Âýš¹−ýKL›¹ˇ²?
NK „Ð³˙łš½š=½žÞ=žý˚¹ˇI=½−=ý¸Þˇ=ðˇÐ=½−=₣¹şÞ−=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=

×Ý¸ð½¹ˇK
OK „Ð³˙łš½š=½žÞ=ć¹ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK

Ò¼ýŁ−¼Ý¸
≥ ⁄½ˇÞ=šÐ³˙łš½š=½žÞ=ć¹ˇ=¼×ş=½ž=ý−¹¾¸=NOJğ¹ž²=˚ÞŠšÐþž²I=×Ð˚³½š=a=¸=b=łÐˇ=

šÞˇÝÝˇł¸=ýš½ˇþĆ=×ý=ðˇÐ=ýýK=Â=³šÐ¹˙=ýš=½žÞ=−×−˝ˇ=šý¾ˇÞ˝Ž−Þ½ˇÐ=ž=žýš¹−ýžÞ˝ˇ=ðˇÐ=
ž=ć¹ˇ=šþˇ¹½˙½ˇÐ=ˇ×ş=½ž=¹Ć¦ýÐ³ž=½ž²=ý−¹¾¸²=½−¼²K

=Ej=NOJPF

=Ej=NOJQF
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„×ÐÝ−ł¸=½ž²=Í−¹¾¸²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?›¹ˇ=C=Âýš¹LÞ˝ˇ?=→=?Í−¹¾¸=›¹ˇ²?
NK „×ÐÝ˚þ½š=?OQ=ć¹š²?=¸=?NO=ć¹š²?K

„×ÐÝ−ł¸=½ž²=Í−¹¾¸²=Âýš¹−ýžÞ˝ˇ²
?Ô¼¦ý˝³šÐ²?=→=?›¹ˇ=C=Âýš¹LÞ˝ˇ?=→=?Í−¹¾¸=Âýš¹−ýžÞ˝ˇ²?
NK „×ÐÝ˚þ½š=?ÂKjK„?I=?ÍJÂJ„?=¸=?„LÍLÂ?K

ÔĆ¦ýÐ³ž=Êš¹ÐÞ¸²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?›¹ˇ=C=Âýš¹LÞ˝ˇ?=→=?Êš¹ÐÞ¸=›¹ˇ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

ÔĆ¦ýÐ³ž=½ž²=‰ćÞž²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?›¹ˇ=C=Âýš¹LÞ˝ˇ?=→=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?
NK ÓÐ˚³½š=c=¸=d=łÐˇ=Þˇ=š×ÐÝ˚þš½š=½žÞ=×şÝž=³ˇ²=×−¼=¦˚Ýš½š=Þˇ=−¹˝³š½šK

OK ÓÐ˚³½š= K

Ó¹−³ˇ¹ý−ł¸=½ž²=‰ćÞž²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?D›¹ˇ=C=Âýš¹LÞ˝ˇ?=→=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?=→=x„×ÐÝKz=→=?ÔĆ¦ýK=
Ó¹−³K‰ćÞž²?
NK „Ð³ˇł˙łš½š=½−=şÞ−ýˇ=½ž²=×şÝž²K

OK „Ð³ˇł˙łš½š=½ž=ŠÐˇ¾−¹˙=ŽğÞćÞ=Jć¹ˇ²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK
ÓÐ˚³½š=a=¸=b=łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=J=ðˇÐ=HK

PK ÓÐ˚³½š= K
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ÔĆ¦ýÐ³ž=Í−¹¾¸²=Âýš¹−Ý−ł˝−¼
?Ô¼¦ý˝³šÐ²?=→=?›¹ˇ=C=Âýš¹LÞ˝ˇ?=→=?Í−¹¾¸=Âýš¹−Ý−ł˝−¼?
NK „×ÐÝ˚þ½š=?Ë¼¹Ðˇð¸JÒ˙ŁŁˇ½−?=¸=?‚š¼½˚¹ˇJË¼¹Ðˇð¸?K

ÔĆ¦ýÐ³ž=·Ýć³³ˇ²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½ž=łÝć³³ˇ=×−¼=₣¹ž³Ðý−×−Ðš˝½ˇÐ=ˇ×ş=½−=½žÝ˚¾ğÞ−=łÐˇ=½ˇ=
ýžÞĆýˇ½ˇ=−¦şÞž²K

?Ô¼¦ý˝³šÐ²?=→=?·Ýć³³ˇ?
NK „×ÐÝ˚þ½š=½ž=łÝć³³ˇ=×−¼=š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½šI=ˇðşýžI=Þˇ=ˇÝÝ˙þš½š=½ž=łÝć³³ˇ=šÐ³ˇłğł¸²=³½žÞ=−¦şÞž=šÐ³ˇłğł¸²=

ðšÐý˚Þ−¼=E³šÝK RRFK

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?fl¼½şýˇ½−?=³½−=Ł¸ýˇ=NI=š×ÐÝ˚łš½ˇÐ=ž=×¹−¹¹¼¦ýÐ³ý˚Þž=łÝć³³ˇ=½ž²=

ð˙¹½ˇ²=pfjLrpfjK
≥ „˙Þ=ŠšÞ=¼×−³½ž¹˝Žš½ˇÐ=ž=×¹−¹¹¼¦ýÐ³ý˚Þž=łÝć³³ˇ=½ž²=ð˙¹½ˇ²=pfjLrpfjI=½ş½š=

š×ÐÝ˚łš½ˇÐ=ž=×¹−š×ÐÝšłý˚Þž=łÝć³³ˇ=½−¼=½žÝš¾ćÞ−¼K

=Ej=NOJRF
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Ô¼¦ý˝³šÐ²

Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ
Ô¼¦ý˝³½š=½−¼²=ŠÐ˙¾−¹−¼²=½Ć×−¼²=ÝšÐ½−¼¹łÐćÞ=ðˇÐ=¼×ž¹š³ÐćÞ=łÐˇ=½Ð²=¾ğÞž½Ðð˚²=
ðÝ¸³šÐ²K

„ð½¹−×˚²

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=Š˝ð½¼ˇ=ðÐÞž½¸²=

½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=½−¼=
ŠÐð½Ć−¼=³ˇ²K

fl¼½¸=ž=¼×ž¹š³˝ˇ=₣¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½žÞ=šð½¹−×¸=½ğÞ=šÐ³š¹₣şýšÞğÞ=ðÝ¸³šğÞ=×¹−²=
½−=³Ć³½žýˇ=½žÝš¾ğÞž½¸=³ˇ²=¸=×¹−²=˚ÞˇÞ=˙ÝÝ−=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼I=ˇÞ˙Ý−łˇ=ýš=½Ð²=
šð˙³½−½š=³¼Þ¦¸ðš²=×−¼=ŠšÞ=³ˇ²=š×Ð½¹˚×−¼Þ=Þˇ=ˇ×ˇÞ½¸³š½š=³½Ð²=ðÝ¸³šÐ²K

„ð½¹−×¸=ËÝ¸³šğÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?„ð½¹−×˚²?
NK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W

?⁄Ýš²=−Ð=ðÝ¸³K?W „ð½¹˚×šÐ=şÝš²=½Ð²=ðÝ¸³šÐ²=₣ğ¹˝²=ð−¼Š−ĆÞÐ³ýˇK
?⁄½ˇÞ=š˝ÞˇÐ=ðˇ½K?W „ð½¹˚×šÐ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=ş½ˇÞ=ýÐÝ˙½š=³½−=

½žÝ˚¾ğÞ−K
?‚šÞ=fl×ˇÞ½˙?W „ð½¹˚×šÐ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=š˙Þ=ŠšÞ=ˇ×ˇÞ½¸³š½š=

šÞ½ş²=šÞş²=³¼łðšð¹Ðý˚Þ−¼=₣¹−ÞÐð−Ć=ŠÐˇ³½¸ýˇ½−²K
?„ð½ş²=‚Ðð½Ć−¼?W „ð½¹˚×šÐ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=ş½ˇÞ=½−=½žÝ˚¾ğÞş=³ˇ²=

Ł¹˝³ðš½ˇÐ=šð½ş²=½ž²=×š¹Ð−₣¸²=ð˙Ý¼Ğž²=½−¼=ŠÐð½Ć−¼=̧ =ş½ˇÞ=
š˝ÞˇÐ=ˇ×šÞš¹ł−×−Ðžý˚Þ−K

?flðĆ¹ğ³ž=⁄ÝğÞ?W flð¼¹ćÞšÐ=şÝš²=½Ð²=×ˇ¹ˇ×˙Þğ=¹¼¦ý˝³šÐ²K
„˙Þ=š×ÐÝ˚þš½š=?‚šÞ=fl×ˇÞ½˙?I=ýš½ˇŁš˝½š=³½−=Ł¸ýˇ=RK

OK „×ÐÝ˚þ½š=?„Þš¹łş?K

=Ej=NOJSF
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PK „Ð³˙łš½š=˚ÞˇÞ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×¹−²=½−Þ=−×−˝−=¦˚Ýš½š=Þˇ=šð½¹˚Ğš½š=½Ð²=
ðÝ¸³šÐ²=¸=ˇÞˇŽž½¸³½š=½−Þ=ˇ¹Ð¦ýş=³½ž=È˝³½ˇ=„×ˇ¾ćÞ=E³šÝK SPFK

QK ÓÐ˚³½š= K

RK „×ÐÝ˚þ½š=½ž=₣¹−ÞÐð¸=×š¹˝−Š−=ýš½ˇþĆ=S=š×Ð×˚ŠğÞ=EMR=˚ğ²=PM=Šš¼½š¹şÝš×½ˇFK

Òžýš˝ğ³ž
≥ ⁄½ˇÞ=ýÐˇ=šð½¹−×¸=¹¼¦ýÐ³½š˝=³½žÞ=š×ÐÝ−ł¸=?ÙğÞž½K=ËÝ¸³šÐ²?=³š=?⁄Ýš²=−Ð=ðÝ¸³šÐ²?I=

šý¾ˇÞ˝Žš½ˇÐ=½−=šÐð−Þ˝ŠÐ−=? ?=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K
Ò¼ýŁ−¼Ý¸
≥ „˙Þ=š×ÐÝ˚þš½š=?flÞ˙=Û×ž¹š³˝ˇ?=³½−=Ł¸ýˇ=OI=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=×¹ş³¦š½š²=

Š¼Þˇ½ş½ž½š²=šð½¹−×¸²K

÷Ýšł₣−²=½ž²=Ëˇ½˙³½ˇ³ž²=„ð½¹−×ćÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?„ð½¹−×˚²?
NK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=šð½¹−×¸²=×−¼=¦˚Ýš½š=Þˇ=šÝ˚łþš½šK

OK „×ÐÝ˚þ½š=?Ëˇ½˙³½K?K
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Ô¼¦ý˝³šÐ²

flÞˇý−Þ¸=ËÝ¸³ž²
Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=Š˝ð½¼ˇ=ðÐÞž½¸²=

½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=½−¼=
ŠÐð½Ć−¼=³ˇ²K

„˙Þ=¦˚Ýš½š=Þˇ=Š˚₣š³½š=ý˝ˇ=ŠšĆ½š¹ž=šÐ³š¹₣şýšÞž=ðÝ¸³ž=šÞć=˚₣š½š=¸Šž=³š=šþ˚ÝÐþž=
ý˝ˇ=˙ÝÝž=ðÝ¸³žI=¦ˇ=×¹˚×šÐ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½žÞ=¼×ž¹š³˝ˇ=flÞˇý−Þ¸²=ËÝ¸³ž²K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?flÞˇý−Þ¸=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Íž=šÞš¹łş?=¸=?Ëˇ½˙³½K?K

„ý¾˙ÞÐ³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=Òˇ²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=šý¾ˇÞ˝Žš½š=¸=ş₣Ð=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=³ˇ²=
ş½ˇÞ=ðˇÝš˝½š=˙ÝÝˇ=˙½−ýˇK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?„ý¾K=fl¹Ð¦ý−Ć=³ˇ²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Íž=šÞš¹łş?=¸=?Ëˇ½˙³½K?K

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þˇ=Š˝ð½¼ˇ=ŠšÞ=¼×−³½ž¹˝Ž−¼Þ=ˇ¼½¸=½žÞ=¼×ž¹š³˝ˇK=Óˇ¹ˇðˇÝ−ĆýšI=

š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=Þˇ=šÝ˚łþš½š=š˙Þ=š˝ÞˇÐ=
ŠÐˇ¦˚³Ðýž=ž=¼×ž¹š³˝ˇK
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ÓÝž¹−¾−¹˝ˇ=ËÝ¸³ž²
„˙Þ=šÞš¹ł−×−Ðž¦š˝=ˇ¼½¸=½ž=¹Ć¦ýÐ³žI=šý¾ˇÞ˝Ž−Þ½ˇÐ=³½žÞ=−¦şÞž=½ˇ=³½−Ð₣š˝ˇ=½ž²=
šÐ³š¹₣şýšÞž²=ðÝ¸³ž²K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?„ý¾˙ÞK=ÓÝž¹K=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Óš¹Ð−¹Ð³ýş²=ËÝ¸³šğÞ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=−¹˝³š½š=×š¹Ð−¹Ð³ý−Ć²=łÐˇ=½Ð²=šÐ³š¹₣şýšÞš²=ðˇÐ=
šþš¹₣şýšÞš²=ðÝ¸³šÐ²K=·Ðˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=̌ ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=¦ˇ=₣¹šÐˇ³½š˝½š=½−Þ=
ˇÞ½˝³½−Ð₣−=ðğŠÐðşI=½−Þ=−×−˝−=³ˇ²=Š˝ÞšÐ=−=×ˇ¹−₣˚ˇ²=¼×ž¹š³ÐćÞK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?
NK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W

?„þš¹₣şýK=ËÝ¸³šÐ²?W fl×ˇł−¹šĆšÐ=½Ð²=šþš¹₣şýšÞš²=ðÝ¸³šÐ²K
?fl¹Ð¦ýK=Ò½ˇ¦K=ËÝK?W Óš¹Ð−¹˝ŽšÐ=½Ð²=ðÝ¸³šÐ²=ýš=ˇ¹Ð¦ý−Ć²=³½ˇ¦š¹¸²=ðÝ¸³ž²=

³½ž=È˝³½ˇ=„×ˇ¾ćÞK
?„Ð³š¹₣şýšÞž?W fl×ˇł−¹šĆšÐ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²K
?fl×ş¹¹Ð¾¦K=fl¹Ð¦ý−˝?W Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=ˇ¹Ð¦ý−Ć²=½žÝš¾ćÞ−¼=ğ²=

ˇ×−¹¹Ð×½˚−¼²K
?Óš¹Ð−¹Ð³ý˚Þž=ËÝ¸³ž?W fl×ˇł−¹šĆšÐ=½Ð²=×š¹Ð−¹Ð³ý˚Þš²=ðÝ¸³šÐ²K=
?flÝÝˇł¸=ËğŠK=‚Ðð½Ć−¼?W flÝÝ˙ŽšÐ=½−Þ=ðğŠÐðş=ŠÐð½Ć−¼K

OK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W
E·Ðˇ=?„þš¹₣şýK=ËÝ¸³šÐ²?F

?Ù¹ˇł¸=⁄ÝğÞ=„þš¹₣K?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=šþš¹₣şýšÞš²=ðÝ¸³šÐ²=šð½ş²=ˇ×ş=
½Ð²=ðÝ¸³šÐ²=˚ð½ˇð½ž²=ˇÞ˙łðž²K

?Ù¹ˇK=ËÝK=ˇ×ş=„þğ½K?W Óš¹Ð−¹˝ŽšÐ=şÝš²=½Ð²=šþš¹₣şýšÞš²=ŠÐš¦Þš˝²=ðÝ¸³šÐ²K
?ÍşÞ−=Ú−×Ððş=C=Ò×˝½Ð?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=šþš¹₣şýšÞš²=ŠÐš¦Þš˝²=ðÝ¸³šÐ²=

šð½ş²=ˇ¼½˚²=×¹−²=½ž=₣ć¹ˇ=³ˇ²K
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EÒ½ž=?„Ð³š¹₣şýšÞž?F

?Ù¹ˇł¸=⁄ÝğÞ=„Ð³š¹₣K?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²K
?Ù¹ˇł¸=š˙Þ=³½−=„þğ½K?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=ş½ˇÞ=

Ł¹˝³ðš³½š=šð½ş²=×š¹Ð−₣¸²=ð˙Ý¼Ğž²=½−¼=−Ððš˝−¼=
ŠÐð½Ć−¼=³ˇ²K

PK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W
E·Ðˇ=?„þš¹₣şýK=ËÝ¸³šÐ²?=ðˇÐ=?„Ð³š¹₣şýšÞž?F

?⁄Ýš²=−Ð=Û×ž¹K?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=¼×ž¹š³˝š²K
?ÙğÞž½K=ËÝ¸³šÐ²?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=¾ğÞž½Ðð˚²=ðÝ¸³šÐ²K
?ËÝ¸³šÐ²=sáÇÉç?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=ðÝ¸³šÐ²=îáÇÉçK
?c~ñ?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=ðÝ¸³šÐ²=Ñ~ñK
?ÍžÞĆýˇ½ˇ?W= fl×ˇł−¹šĆšÐ=şÝˇ=½ˇ=ýžÞĆýˇ½ˇK
?⁄Ýˇ=šð½ş²=ÍžÞK?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=¼×ž¹š³˝š²=šð½ş²=ˇ×ş=½ˇ=

ýžÞĆýˇ½ˇK
QK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Íž=šÞš¹łş?=¸=?Ëˇ½˙³½K?K

RK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=ŠÐð½Ć−¼K

flðĆ¹ğ³ž=Ô¼¦ý˝³šğÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„þš¹₣şýK=ËÝ¸³šÐ²?=¸=?„Ð³š¹₣şýšÞž?K

OK „×ÐÝ˚þ½š=?flðĆ¹ğ³ž=⁄ÝğÞ?K

PK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=ŠÐð½Ć−¼K
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Ô¼¦ý˝³šÐ²

fl¹Ð¦ý−˝=Ò½ˇ¦š¹¸²=ËÝ¸³ž²
⁄½ˇÞ=šÞš¹ł−×−Ðž¦š˝=ž=ÝšÐ½−¼¹ł˝ˇ=fl¹Ð¦ýćÞ=Ò½ˇ¦š¹¸²=ËÝ¸³ž²I=ý×−¹š˝½š=Þˇ=ðˇÝš˝½š=
ýşÞ−Þ=×¹−Jðˇ½ˇ₣ğ¹žý˚Þ−¼²=ˇ¹Ð¦ý−Ć²K

„Þš¹ł−×−˝ž³ž=fl¹Ð¦ýćÞ=Ò½ˇ¦š¹¸²=ËÝ¸³ž²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=?fl¹Ð¦ýK=Ò½ˇ¦K=ËÝK?=→=
?„Þ˚¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇK

Ó¹−³¦¸ðž=Î˚−¼=ÌÞşýˇ½−²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=?fl¹Ð¦ýK=Ò½ˇ¦K=ËÝK?=→=
?„×˚þK=È˝³½K=ËÝ¸³šğÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðšÞ¸=ðˇ½ˇ₣ć¹ž³žI=×Ð˚³½š=x„×ÐÝKzK=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Î˚ˇ²=

ËÝK?K
OK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=mfkOK

PK Ó¹−³¦˚³½š=˚Þˇ=şÞ−ýˇ=ðˇÐ=˚ÞˇÞ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=×¹−³¦¸ðž=šÞş²=−Þşýˇ½−²=ðˇÐ=šÞş²=ˇ¹Ð¦ý−Ć=
½žÝš¾ćÞ−¼I=Šš˝½š=?Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²?=³½ž=³šÝ˝Šˇ SNK

QK ÓÐ˚³½š=xfl×−¦¸ðš¼³žzK

fl×ş¹¹ÐĞž=„Ð³š¹₣şýšÞž²=ËÝ¸³ž²
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=ˇ¹Ð¦ý−Ć²=½žÝš¾ćÞ−¼I=³½−¼²=−×−˝−¼²=Šš=¦˚Ýš½š=Þˇ=
ˇ×ˇÞ½˙½šK

fl×ş¹¹ÐĞž=½−¼=Ëˇ½ˇ₣ğ¹žý˚Þ−¼=fl¹Ð¦ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=?fl×−¹¹Ð¾¦K=fl¹Ð¦ý−˝?=
→=?„Þ˚¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K
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Ô¼¦ý˝³šÐ²

Ëˇ½ˇ₣ć¹ž³ž=fl×−¹¹Ð¾¦˚Þ½−²=fl¹Ð¦ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=?fl×−¹¹Ð¾¦K=fl¹Ð¦ý−˝?=
→=?ÔĆ¦ýK=fl×ş¹¹K=fl¹Ð¦ýK?
NK „×ÐÝ˚þ½š=˚Þˇ=ðšÞş=×šŠ˝−K
OK „Ð³ˇł˙łš½š=½−Þ=ˇ¹Ð¦ýş=×−¼=š×Ð¦¼ýš˝½šK

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=Ó¹ş³Łˇ³ž²=³½−=‚˝ð½¼−
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=?flÝÝK=ËğŠK=Ó¹ş³ŁK?
NK „Ð³ˇł˙łš½š=½−Þ=×ˇÝÐş=ðğŠÐðş=ŠÐð½Ć−¼K

OK „Ð³ˇł˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=ŠÐð½Ć−¼K

PK „Ð³ˇł˙łš½š=×˙ÝÐ=½−Þ=Þ˚−=ðğŠÐðş=ŠÐð½Ć−¼K
„˙Þ=šÐ³ˇł˙łš½š=˚Þˇ=ÝˇÞ¦ˇ³ý˚Þ−=ðğŠÐðş=¦ˇ=³ˇ²=Žž½ž¦š˝=Þˇ=šÐ³˙łš½š=×˙ÝÐ=½−Þ=
ðğŠÐðş=×¹ş³Łˇ³ž²K

QK ÓÐ˚³½š= K

Û×šÞ¦ĆýÐ³ž=Èš×½ćÞ
Â=ÝšÐ½−¼¹ł˝ˇ=Û×šÞ¦ĆýÐ³ž²=Èš×½ćÞ=³˙²=šÞžýš¹ćÞšÐ=łÐˇ=½−=₣¹şÞ−=³¼Þ−ýÐÝ˝ˇ²=ýš=̊ ÞˇÞ=
¸₣−=ð˙¦š=Ýš×½şK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Û×šÞ¦K=Èš×½ćÞ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

„ý¾˙ÞÐ³ž=Íš½¹ž½ćÞ=ËÝ¸³ž²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?„ý¾˙ÞK=Íš½¹K=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

fl¼½şýˇ½ž=„×ˇÞ˙ðÝž³ž
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?fl¼½K=„×ˇÞ˙ðÝK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K
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Ô¼¦ý˝³šÐ²

Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç
Ô¼¦ý˝ŽšÐ=½−¼²=ŠÐ˙¾−¹−¼²=½Ć×−¼²=ÝšÐ½−¼¹łÐćÞ=ðˇÐ=¼×ž¹š³ÐćÞ=łÐˇ=½Ð²=ðÝ¸³šÐ²=îáÇÉçK

„×ÐÝ−ł¸=ýÐˇ²=„ÐðşÞˇ²=łÐˇ=½žÞ=„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=šÐðşÞˇ=³ˇ²=×−¼=¦˚Ýš½š=Þˇ=³½˚ÝÞš½ˇÐ=ˇ×ş=½žÞ=š³ğ½š¹Ðð¸=
¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸I=ˇ×ş=½ˇ=ˇ¹₣š˝ˇ=ˇ×−¦žðš¼ý˚ÞğÞ=¾ğ½−ł¹ˇ¾ÐćÞK

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=½ğÞ=Â₣š˝ğÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?
NK „×ÐÝ˚þ½š=?Íšł˙¾ğÞ−=„Þš¹łş?=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½ˇ=ýšł˙¾ğÞˇ=³½−=×˝³ğ=

ý˚¹−²=½−¼=½žÝš¾ćÞ−¼=¸=š×ÐÝ˚þ½š=?Íšł˙¾K=Íž=„Þš¹ł?=łÐˇ=Þˇ=½ˇ=
ˇ×šÞš¹ł−×−Ð¸³š½šK

„×ÐÝ−ł¸=½ž²=Ó−Ðş½ž½ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²
„×ÐÝ˚þ½š=½−=¾−¹ý˙=šÐ³š¹₣−ý˚ÞğÞ=ŠšŠ−ý˚ÞğÞ=×−¼=š×Ð¦¼ýš˝½š=łÐˇ=½−=×š¹ÐŁ˙ÝÝ−Þ=
³ˇ²K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ó−Ðş½K=Ùğ½−ł¹K?
NK „×ÐÝ˚þ½š=ˇ×ş=?ËˇÞ−ÞÐðş?I=?Ó−Ðş½ž½ˇ=„ÐðşÞK?=¸=?·¹¸ł−¹ˇ=Ëˇ¹˚?K

„×ÐÝ˚þ½š=?·¹¸ł−¹ˇ=Ëˇ¹˚?=łÐˇ=Þˇ=šþˇ³¾ˇÝ˝³š½š=½ˇ₣Ć½š¹ž=š×Ðð−ÐÞğÞ˝ˇK

Ùğ½Ð³ýş²
⁄½ˇÞ=ˇ¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þž=³š=?„Þš¹łş?I=−=¾ğ½Ð³ýş²=½−¼=½žÝš¾ćÞ−¼=
šÞš¹ł−×−Ðš˝½ˇÐ=ş½ˇÞ=×¹ˇłýˇ½−×−Ðš˝½š=ý˝ˇ=ðÝ¸³ž=îáÇÉçK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ùğ½Ð³ýş²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?I=?˜²=ËˇÞ−ÞK=ÔĆ¦ýK?=¸=?Íž=šÞš¹łş?K

Â=š×ÐÝ−ł¸=?˜²=ËˇÞ−ÞK=ÔĆ¦ýK?=šþˇ¹½˙½ˇÐ=ˇ×ş=½ž=¹Ć¦ýÐ³ž=½−¼=¾ğ½Ð³ý−Ć=½ž²=
ðĆ¹Ðˇ²=−¦şÞž²=E³šÝK NUNFK

=Ej=NOJTF
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Ô¼¦ý˝³šÐ²

Ò˝łˇ³ž
Í×−¹š˝½š=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½−=ýÐð¹ş¾ğÞ−=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉçK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?ÍÐð¹ş¾K=ËÝšÐ³½ş?
NK „×ÐÝ˚þ½š=?flðĆ¹K=Ò˝łˇ³ž²?=łÐˇ=Þˇ=ðˇ½ˇ¹ł¸³š½š=½ž=³˝łˇ³žK

flÞ½Ð³½−˝₣ž³ž=Ùğ½−ł¹ˇ¾˝ˇ²=Ëˇ¦−Š¸łž³ž²=flÞˇý−Þ¸²
Í×−¹š˝½š=Þˇ=×¹−Ł˙Ýš½š=³½žÞ=ðĆ¹Ðˇ=−¦şÞž=³ˇ²=ýÐˇ=šÐðşÞˇ=×−¼=Ł¹˝³ðš½ˇÐ=
ˇ×−¦žðš¼ý˚Þž=³½−=½žÝ˚¾ğÞş=³ˇ²I=Ł˙Ž−Þ½ˇ²=ýÐˇ=ðÝ¸³ž=³š=ˇÞˇý−Þ¸K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ùğ½−ł¹K=flÞˇý−Þ¸²?
NK „×ÐÝ˚þ½š=?Ó¹−ðˇ¦K=Ùğ½−ł¹K?=¸=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

OK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK
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fl³¾˙ÝšÐˇ
„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=½−¼=ËğŠÐð−Ć=mfk
„˙Þ=˚₣š½š=šÞš¹ł−×−Ð¸³šÐ=½−Þ=ðğŠÐðş=ÔÁÎI=½−=½žÝ˚¾ğÞ−=³ˇ²=Žž½˙=Þˇ=½−Þ=šÐ³ˇł˙łš½š=
ð˙¦š=¾−¹˙=×−¼=½−=¦˚½š½š=³š=ÝšÐ½−¼¹ł˝ˇK=Ì=ðğŠÐðş²=mfk=š˝ÞˇÐ=ðˇ½ˇ₣ğ¹žý˚Þ−²=³½žÞ=
ð˙¹½ˇ=pfjLrpfj=ðˇÐ=½−Þ=ýˇ¦ˇ˝Þš½š=ðˇ½˙=½žÞ=ˇ×şð½ž³ž=½ž²=ð˙¹½ˇ²=³ˇ²=pfjLrpfjK=
„×Ðð−ÐÞğÞ¸³½š=ýš=½−=¾−¹˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³K=fl³¾˙ÝšÐˇ²?=→=?„Ð³ˇłğł¸=mfk?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½−Þ=ðğŠÐðş=mfk=¸=?Íž=šÞš¹łş?=łÐˇ=Þˇ=

½−Þ=ˇ×šÞš¹ł−×−Ð¸³š½šK

OK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=ÔÁÎK

Òžýš˝ğ³ž
≥ „˙Þ=×Ýžð½¹−Ý−ł¸³š½š=½¹šÐ²=¾−¹˚²=ÝˇÞ¦ˇ³ý˚Þ−=ðğŠÐðş=ÔÁÎ=³½−=Ł¸ýˇ=OI=ž=ð˙¹½ˇ=

pfjLrpfj=ðÝšÐŠćÞš½ˇÐK=„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞL½ž²=ð˙¹½ˇ²=
pfjLrpfjI=łÐˇ=Þˇ=þšðÝšÐŠć³š½š=½žÞ=ð˙¹½ˇK

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=mfk
fl¼½ş=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ˇÝÝ˙þš½š=½žÞ=ðğŠÐðş=mfk=×−¼=˚₣šÐ=ðˇ½ˇ₣ğ¹ž¦š˝=³½žÞ=ð˙¹½ˇ=
pfjLrpfjK=Ó¹ÐÞ=ˇÝÝ˙þš½š=½−Þ=ðğŠÐðş=mfkI=š×ÐÝ˚þ½š=?„Þš¹łş?=³½−=Ł¸ýˇ=N=³½žÞ=
?„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=½−¼=ËğŠÐð−Ć=mfk?K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³K=fl³¾˙ÝšÐˇ²?=→=?„Ð³ˇłğł¸=mfk?=→=?flÝÝˇł¸=mfk?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=mfkK

OK „Ð³ˇł˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=ÔÁÎK

PK „Ð³ˇł˙łš½š=×˙ÝÐ=½−=Þ˚−=ðğŠÐðş=ÔÁÎK

=Ej=NOJUF
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Ô¼¦ý˝³šÐ²

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=mfkO
Ì=ðğŠÐðş²=mfkO=₣¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½žÞ=×¹−³½ˇ³˝ˇ=³¼łðšð¹Ðý˚ÞğÞ=ÝšÐ½−¼¹łÐćÞ=½−¼=
½žÝš¾ćÞ−¼=ş×ğ²=×K₣K=š˝ÞˇÐ=−Ð=fl¹Ð¦ý−˝=Ò½ˇ¦š¹ćÞ=ËÝ¸³šğÞ=¸=½−=⁄¹Ð−=Ëş³½−¼²=
ËÝ¸³šğÞK=Óˇ¹ˇð˙½ğI=×ˇ¹−¼³Ð˙Žš½ˇÐ=−=½¹ş×−²=ˇÝÝˇł¸²=½−¼=ðğŠÐð−Ć=mfkOK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³K=fl³¾˙ÝšÐˇ²?=→=?flÝÝˇł¸=mfkO?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=mfkOK

OK „Ð³ˇł˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=ÔÁÎOK

PK „Ð³ˇł˙łš½š=×˙ÝÐ=½−=Þ˚−=ðğŠÐðş=ÔÁÎOK

ËÝš˝Šğýˇ=Ò¼³ðš¼¸²
Ú−=ËÝš˝Šğýˇ=Ò¼³ðš¼¸²=š˝ÞˇÐ=ýÐˇ=×¹ş³¦š½ž=ÝšÐ½−¼¹ł˝ˇ=ˇ³¾ˇÝš˝ˇ²=×−¼=ˇ×−½¹˚×šÐ=½ž=
ýž=šþ−¼³Ð−Š−½žý˚Þž=₣¹¸³ž=½−¼=½žÝš¾ćÞ−¼=¸=³¼łðšð¹Ðý˚ÞğÞ=ÝšÐ½−¼¹łÐćÞ=½−¼K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³K=fl³¾˙ÝšÐˇ²?=→=?ËÝš˝Šğýˇ=Ò¼³ðK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

OK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K
Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK
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Ô¼¦ý˝³šÐ²

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=Ò¼³ðš¼¸²
Ó¹ÐÞ=ˇÝÝ˙þš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²I=š×ÐÝ˚þ½š=?„Þš¹łş?=³½−=Ł¸ýˇ=N=½ž²=
×ˇ¹ˇł¹˙¾−¼=?ËÝš˝Šğýˇ=Ò¼³ðK?K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³K=fl³¾˙ÝšÐˇ²?=→=?flÝÝK=ËğŠK=Ò¼³ðš¼¸²?
NK „Ð³ˇł˙łš½š=½−Þ=×ˇÝÐş=ðğŠÐðş=³¼³ðš¼¸²K

OK „Ð³ˇł˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=³¼³ðš¼¸²K

PK „Ð³ˇł˙łš½š=×˙ÝÐ=˚Þˇ=Þ˚−=ðğŠÐðş=³¼³ðš¼¸²K

ËÝš˝Šğýˇ=ÚžÝš¾ćÞ−¼
„Þš¹ł−×−ÐćÞ½ˇ²=ˇ¼½¸=½ž=¹Ć¦ýÐ³žI=½−=½žÝ˚¾ğÞş=³ˇ²=¦ˇ=ðÝšÐŠć³šÐ=ˇ¼½şýˇ½ˇ=½−=
×Ýžð½¹−ÝşłÐ−=ý˚₣¹Ð=Þˇ=šÐ³˙łš½š=½−=³ğ³½ş=ðğŠÐðş=³¼³ðš¼¸²K
?ÔĆ¦ýÐ³ž?=→=?Ô¼¦ý˝³K=fl³¾ˇÝš˝ˇ²?=→=?ËÝš˝Šğýˇ=ÚžÝš¾ćÞK?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?K

fl×šÞš¹ł−×−˝ž³ž=½−¼=ËÝšÐŠćýˇ½−²=ÚžÝš¾ćÞ−¼
„Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²=³½žÞ=ðˇ½˙³½ˇ³ž=̌ Þˇý−Þ¸²=łÐˇ=Þˇ=̌ ×šÞš¹ł−×−Ð¸³š½š=
½−=ËÝš˝Šğýˇ=ÚžÝš¾ćÞ−¼K
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Ô¼¦ý˝³šÐ²

„ý¾˙ÞÐ³ž=fl×−¹¹¸½ğÞ=Ò½−Ð₣š˝ğÞ
„Þš¹ł−×−ÐćÞ½ˇ²=ˇ¼½¸=½žÞ=š×ÐÝ−ł¸I=¦ˇ=šý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=ˇ×ş¹¹ž½ˇ=³½−Ð₣š˝ˇK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³K=fl³¾˙ÝšÐˇ²?=→=?„ý¾˙ÞK=Í¼³½K=‚šŠ−ýK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=šý¾˙ÞÐ³ž=¸=?Íž=šÞš¹łş?=łÐˇ=ˇ×şð¹¼ĞžK

Ô¼¦ý˝³šÐ²=ÍÞ¸ýž²
Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=ÍÞ¸ýž²?=→=?Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²?
NK „×ÐÝ˚þ½š=?Ò¼³ðš¼¸?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

„ý¾ˇÞ˝Žš½ˇÐ=ž=ðˇ½˙³½ˇ³ž=ýÞ¸ýž²=½−¼=š×ÐÝšłý˚Þ−¼=³½−Ð₣š˝−¼K

‚Ðˇýş¹¾ğ³ž=Ë˙¹½ˇ²=ÍÞ¸ýž²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=ÍÞ¸ýž²?=→=?Í−¹¾−×−˝ž³ž=Ë˙¹½ˇ²?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK

OK ÓÐ˚³½š=xÎˇÐz=łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=ŠÐˇýş¹¾ğ³žK

=Ej=NOJVF
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Ô¼¦ý˝³šÐ²

„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ
Í×−¹š˝½š=Þˇ=š×ˇÞˇ¾˚¹š½š=½Ð²=¹¼¦ý˝³šÐ²=ÍR=ðˇÐ=jNO=¸=şÝš²=½Ð²=¹¼¦ý˝³šÐ²=ˇ×ş=jN=
˚ğ²=jNO=ðˇÐ=şÝˇ=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=ŠžýÐ−¼¹ł¸¦žðˇÞK

„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ=ÍR=ðˇÐ=jNO
?Ô¼¦ý˝³šÐ²?=→=?„×ˇÞˇ¾K=Ô¼¦ýK?=→=?„×ˇÞˇ¾K=Ô¼¦ý˝³šğÞ?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=
½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NVVK

„×ˇÞˇ¾−¹˙=⁄ÝğÞ=½ğÞ=Ô¼¦ý˝³šğÞ=ˇ×ş=jN=˚ğ²=jNO
?Ô¼¦ý˝³šÐ²?=→=?„×ˇÞˇ¾K=Ô¼¦ýK?=→=?ÍžŠšÞÐ³ýş²=⁄ÝğÞ?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=
½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NVVK

=Ej=NOJNMF
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fl¹₣š˝−=ËÝ¸³šğÞ=Ej=NNF

Ú−=½žÝ˚¾ğÞ−=ðˇ½ˇł¹˙¾šÐ=½Ð²=½šÝš¼½ˇ˝š²=Š˚ðˇ=ˇÞˇ×˙Þ½ž½š²I=šÐ³š¹₣şýšÞš²=ðˇÐ=
šþš¹₣şýšÞš²=ðÝ¸³šÐ²K

Ó¹−Ł−Ý¸=½−¼=fl¹₣š˝−¼=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?
NK „×ÐÝ˚þ½š=ˇ×ş=?⁄Ýš²=−Ð=ðÝ¸³K?I=?ËÝž¦K=fl¹Ð¦ý−˝?I=?flÞˇ×K=ËÝ¸³šÐ²?=¸=

?„Ð³š¹₣şýšÞš²?K
„×ÐÝ˚þ½š=ˇ×ş=?⁄Ýš²=−Ð=ðÝ¸³K?I=?ËÝž¦K=fl¹Ð¦ý−˝?I=?flÞˇ×K=ËÝ¸³šÐ²?=¸=
?„Ð³š¹₣şýšÞš²?K

OK „×ÐÝ˚þ½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=×¹−Ł˙Ýš½šK
„˙Þ=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½š=½−Þ=ˇ¹Ð¦ýşI=×Ð˚³½š= K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½šI=š×˝³ž²I=Þˇ=š×ÐŁšŁˇÐć³š½š=½ˇ=ˇ¹₣š˝ˇ=ðÝ¸³šğÞ=×Ð˚Ž−Þ½ˇ²=D=³½žÞ=

ðˇ½˙³½ˇ³žJˇÞˇý−Þ¸²K

fl×−³½−Ý¸=ÍžÞ¼ý˙½ğÞ
NK Ò½ž=Ý˝³½ˇ=ˇ¹₣š˝−¼=ðÝ¸³šğÞ=ýˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=ðÝ¸³ž²=³½−=−×−˝−=¦˚Ýš½š=Þˇ=

³½š˝Ýš½š=˚Þˇ=ý¸Þ¼ýˇK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚žýK=ÍžÞĆýˇ½−²?K
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=ýžÞĆýˇ½−²I=Šš˝½š=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ UTK

Áñ÷åßï êëÞóåùí

¼ëåò ïé ÊëÞóåéò
ÁíáðÜíô. ÊëÞóåéò
Åéóåñ÷üìåíåò
ÊëçèÝíôåò Áñéèìïß
ÌåôñçôÝò ÊëÞó.
Êüóôïò ÊëÞóåùí

ÐßóùÅðéëïãÞ
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fl¹₣š˝−=ËÝ¸³šğÞ

‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=ˇ×ş=½−=fl¹₣š˝−=ËÝ¸³ž²
NK Ò½ž=Ý˝³½ˇ=ˇ¹₣š˝−¼=ðÝ¸³šğÞ=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

Íš½¹ž½˚²=ËÝ¸³šğÞ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=šÝ˚łþš½š=½ž=ŠÐ˙¹ðšÐˇ=½ğÞ=ðÝ¸³šćÞ=³ˇ²K

÷Ýšł₣−²=½ž²=‚Ð˙¹ðšÐˇ²=½ž²=ÚšÝš¼½ˇ˝ˇ²=ËÝ¸³ž²=ðˇÐ=⁄ÝğÞ=½ğÞ=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Íš½¹ž½˚²=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„Ð³š¹₣şýšÞš²?=¸=?„þš¹₣şýšÞš²?K

„ý¾ˇÞ˝Žš½ˇÐ=ž=ŠÐ˙¹ðšÐˇ=½ž²=½šÝš¼½ˇ˝ˇ²=ðÝ¸³ž²=ðˇÐ=ž=ŠÐ˙¹ðšÐˇ=şÝğÞ=½ğÞ=
ðÝ¸³šğÞK

ÍžŠšÞÐ³ýş²=Íš½¹ž½ćÞ=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Íš½¹ž½˚²=ËÝ¸³K?=→=?ÍžŠšÞÐ³ýK=Íš½¹ž½ćÞ?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK

=Ej=NNJRF
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fl¹₣š˝−=ËÝ¸³šğÞ

Ëş³½−²=ËÝ¸³šğÞ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=šÝ˚ł₣š½š=½Ð²=₣¹šć³šÐ²=½ğÞ=ðÝ¸³šćÞ=³ˇ²K=Â=
Û×ž¹š³˝ˇ=ı¹šć³šğÞ=ŠšÞ=¼×−³½ž¹˝Žš½ˇÐ=ˇ×ş=şÝˇ=½ˇ=Š˝ð½¼ˇK=Óˇ¹ˇðˇÝ−ĆýšI=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=Þˇ=šÝ˚łþš½š=š˙Þ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=
ž=¼×ž¹š³˝ˇK

÷Ýšł₣−²=½−¼=Ëş³½−¼²=½ž²=ÚšÝš¼½ˇ˝ˇ²=ËÝ¸³ž²
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?ÚšÝš¼½K=ËÝ¸³ž?
„ý¾ˇÞ˝Žš½ˇÐ=½−=ðş³½−²=½ž²=½šÝš¼½ˇ˝ˇ²=ðÝ¸³ž²K

÷Ýšł₣−²=½−¼=Ò¼Þ−ÝÐð−Ć=Ëş³½−¼²=½ğÞ=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?⁄Ýš²=−Ð=ðÝ¸³K?
„ý¾ˇÞ˝Žš½ˇÐ=½−=ðş³½−²=şÝğÞ=½ğÞ=ðÝ¸³šğÞK

ÔĆ¦ýÐ³ž=½ž²=ı¹˚ğ³ž²
Ô¼¦ý˝³½š=½ž=₣¹˚ğ³ž=łÐˇ=Þˇ=¼×−Ý−ł˝³š½š=½−=ðş³½−²=ðÝ¸³ž²=ðˇÐ=−¹˝³½š=½−=ˇÞć½ˇ½−=
ş¹Ð−=½−¼=ðş³½−¼²=ðÝ¸³ž²K

?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?Í−Þ˙Šš²=Ëş³½−¼²?=→=?ÔĆ¦ýÐ³ž=
Í−Þ˙ŠğÞ?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=mfkOK

OK „Ð³ˇł˙łš½š=ý˝ˇ=ý−Þ˙Šˇ=Þ−ý˝³ýˇ½−²=E˚ğ²=P=₣ˇ¹ˇð½¸¹š²FK

PK „Ð³ˇł˙łš½š=½−=ðş³½−²=ˇÞ˙=ý−Þ˙ŠˇK
·Ðˇ=Þˇ=šÐ³ˇł˙łš½š=¼×−ŠÐˇ³½−Ý¸I=×Ð˚³½š=RK

=Ej=NNJSF
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fl¹₣š˝−=ËÝ¸³šğÞ

ÔĆ¦ýÐ³ž=½−¼=Ì¹˝−¼=ı¹˚ğ³ž²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=ˇ×−ŠšÐðÞĆš½ˇÐ=₣¹¸³Ðýž=š˙Þ=¦˚Ýš½š=Þˇ=ŁšŁˇÐğ¦š˝½š=ş½Ð=ŠšÞ=˚₣š½š=
¼×š¹Łš˝=˚Þˇ=³¼łðšð¹Ðý˚Þ−=ş¹Ð−=₣¹˚ğ³ž²K

?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?ðş³½−²=ËÝ¸³šğÞ?=→=?ÍšłK=Ëş³½−²?=→=?ÔĆ¦ýÐ³ž=−¹˝−¼?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=mfkOK

OK „Ð³˙łš½š=ý˝ˇ=½Ðý¸K

÷Ýšł₣−²=½−¼=Û×şÝ−Ð×−¼=ÓÐ³½ğ½Ðð−Ć=Ì¹˝−¼
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?Û×−ÝK=ÓÐ³½K=Ì¹˝−¼?

ÍžŠšÞÐ³ýş²=½−¼=Ëş³½−¼²=⁄ÝğÞ=½ğÞ=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?ðş³½−²=ËÝ¸³šğÞ?=→=?‚Ðˇł¹K=Ëş³½−¼²?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=mfkOK
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Ò¼ÞŠš³Ðýş½ž½ˇ=Ej=NMF

Ó¹−³ˇ¹ýşŽ−Þ½ˇ²=½Ð²=¹¼¦ý˝³šÐ²=³š=ˇ¼½ş=½−=ýšÞ−ĆI=ý×−¹š˝½š=Þˇ=³¼ÞŠš¦š˝½š=ýš=
³¼³ðš¼˚²=ýš=ˇ³Ć¹ýˇ½ž=½š₣Þ−Ý−ł˝ˇ=_äìÉíççíÜ=¸=ýš=¼×˚¹¼¦¹š²=ý˚³ğ=ˇ¼½ćÞ=½ğÞ=
³¼ÞŠ˚³šğÞI=ðˇ¦ć²=ðˇÐ=ýš=žÝšð½¹−ÞÐð−Ć²=¼×−Ý−łÐ³½˚²I=ý˚³ğ=ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=
_äìÉíççíÜ=¸=ý˚³ğ=¼×˚¹¼¦¹ğÞK

_äìÉíççíÜ
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½žÞ=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜI=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=
ˇÞˇŽž½¸³š½š=³¼³ðš¼˚²=ýš=₣ˇ¹ˇð½ž¹Ð³½Ðð˙=̌ ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=łÐˇ=Þˇ=
×¹ˇłýˇ½−×−Ðž¦š˝=ž=³ĆÞŠš³ž=ýš=½−=½žÝ˚¾ğÞş=³ˇ²K=Ë¹ˇ½¸³½š=½−=½žÝ˚¾ğÞş=³ˇ²=³š=
ˇ×ş³½ˇ³ž=˚ğ²=NM=ý˚½¹ˇ=×¹ÐÞ=½žÞ=ˇÞˇŽ¸½ž³žK

ı¹¸³ž=½ž²=fl³Ć¹ýˇ½ž²=ÈšÐ½−¼¹ł˝ˇ²=_äìÉíççíÜ

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Â=¹Ć¦ýÐ³ž=_äìÉíççíÜ=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þž=ðˇÐ=³½žÞ=−¦şÞž=ˇÞˇý−Þ¸²=
šý¾ˇÞ˝Žš½ˇÐ=? ?K

„ý¾˙ÞÐ³ž=¸=fl×şð¹¼Ğž=½−¼=ÚžÝš¾ćÞ−¼=Òˇ²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?„ý¾˙ÞÐ³ž?
NK „×ÐÝ˚þ½š=½Ð²=¹¼¦ý˝³šÐ²=šý¾˙ÞÐ³ž²=×−¼=š×Ð¦¼ýš˝½šK

?flÞÐ₣ÞšĆ³Ðý−?W „×Ð½¹˚×šÐ=³š=˙ÝÝš²=³¼³ðš¼˚²=Þˇ=ˇÞˇłÞğ¹˝Ž−¼Þ=½−=
½žÝ˚¾ğÞş=³ˇ²K

?Í¸=ˇÞÐ₣ÞšĆ³Ðý−?W fl×−ð¹Ć×½šÐ=½−=½žÝ˚¾ğÞş=³ˇ²=ˇ×ş=˙ÝÝš²=³¼³ðš¼˚²K

=Ej=NMJNF

Óõíäåóéìüôçôá

Bluetooth
ÕðÝñõèñåò
Ñõèìßóåéò Äéêôýïõ
Ñõèìßóåéò Internet
Backup/ÁíÜêôçóç

ÅðéëïãÞ Ðßóù
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Ò¼ÞŠš³Ðýş½ž½ˇ

flÞˇŽ¸½ž³ž=Ò¼³ðš¼ćÞ=łÐˇ=ÒĆÞŠš³ž
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?flÞˇŽ¸½K=Ò¼³ðš¼ćÞ?
Ú−=½žÝ˚¾ğÞ−=þšðÐÞ˙=½žÞ=ˇÞˇŽ¸½ž³ž=łÐˇ=³¼³ðš¼˚²=×−¼=Ł¹˝³ð−Þ½ˇÐ=³š=ˇð½˝Þˇ=NM=
ý˚½¹ğÞK=Í×−¹−ĆÞ=Þˇ=ˇÞˇŽž½ž¦−ĆÞ=ðˇÐ=Þˇ=šý¾ˇÞÐ³½−ĆÞ=³½žÞ=−¦şÞž=˚ğ²=ðˇÐ=NS=
³¼³ðš¼˚²I=½−=ý˚łÐ³½−K

NK „×ÐÝ˚þ½š=½ž=³¼³ðš¼¸=×−¼=š×Ð¦¼ýš˝½š=łÐˇ=³ĆÞŠš³žK

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=½ž²=³¼³ðš¼¸²K

Òžýš˝ğ³ž
≥ „˙Þ=ž=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=š˝ÞˇÐ=ˇ×šÞš¹ł−×−Ðžý˚Þž=×¹ÐÞ=½žÞ=

ˇÞˇŽ¸½ž³žI=½−=½žÝ˚¾ğÞş=šÞš¹ł−×−Ðš˝=ˇ¼½şýˇ½ˇ=½žÞ=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=
_äìÉíççíÜ=ðˇÐ=þšðÐÞ˙=½žÞ=ˇÞˇŽ¸½ž³žK

≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=ýşÞ−Þ=ý˝ˇ=³¼³ðš¼¸=łÐˇ=³ĆÞŠš³žK=·Ðˇ=Þˇ=ˇÝÝ˙þš½š=½ž=
³¼ÞŠšŠšý˚Þž=³¼³ðš¼¸I=Šš˝½š=?Ò¼³ðš¼˚²=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞ?K

Ò¼³ðš¼˚²=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞ
Í×−¹š˝½š=Þˇ=šÞš¹ł−×−Ð¸³š½šI=Þˇ=ýš½−Þ−ý˙³š½š=ðˇÐ=Þˇ=ŠÐˇł¹˙Ğš½š=½Ð²=³¼ÞŠšý˚Þš²=
³¼³ðš¼˚²=×−¼=šý¾ˇÞ˝Ž−Þ½ˇÐ=³½ž=Ý˝³½ˇK

„Þš¹ł−×−˝ž³ž=ý˝ˇ²=Ò¼³ðš¼¸²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ò¼³ðš¼˚²=e~åÇëÑêÉÉ?
NK „×ÐÝ˚þ½š=½ž=³¼³ðš¼¸=×−¼=¦˚Ýš½š=Þˇ=šÞš¹ł−×−Ð¸³š½šK
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Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=ýšÐć³š½š=½žÞ=ðˇ½ˇÞ˙Ýğ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²=š˙Þ=̌ ×šÞš¹ł−×−Ð¸³š½š=½žÞ=

ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=ş½ˇÞ=ŠšÞ=½žÞ=₣¹ž³Ðý−×−Ðš˝½šK=fl×šÞš¹ł−×−Ð¸³½š=
½žÞ=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=³½žÞ=?„Þš¹ł−×−˝ž³ž=̧ =fl×šÞš¹ł−×−˝ž³ž?=³½ž=
³šÝ˝Šˇ OMS=¸=³½žÞ=?fl¼½şýˇ½ž=fl×šÞš¹ł−×−˝ž³ž?=³½ž=³šÝ˝Šˇ ONNK

≥ Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=ý×−¹š˝½š=Þˇ=šð½¹˚Ğš½š=¾ğÞž½Ðð˚²=ðÝ¸³šÐ²=³š=
³¼ÞŠšŠšý˚Þš²=³¼³ðš¼˚²K=ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„Þš¹łK=_äìÉíççíÜ?=¸=?fl×šÞK=
_äìÉíççíÜ?K=„˙Þ=¦˚Ýš½š=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½ž=³¼ÞŠšŠšý˚Þž=³¼³ðš¼¸=š×ÐÝ˚þ½š=
?Íž=šÞš¹łş?K

Íš½−Þ−ýˇ³˝ˇ=ý˝ˇ²=Ò¼³ðš¼¸²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ò¼³ðš¼˚²=e~åÇëÑêÉÉ?
NK Íˇ¹ð˙¹š½š=½ž=³¼³ðš¼¸=×−¼=¦˚Ýš½š=Þˇ=ýš½−Þ−ý˙³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=ÌÞşýˇ½−²?K
PK Íš½−Þ−ý˙³½š=½ž=³¼³ðš¼¸K

‚Ðˇł¹ˇ¾¸=šÞş²=ÌÞşýˇ½−²=Ò¼³ðš¼¸²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ò¼³ðš¼˚²=e~åÇëÑêÉÉ?
NK Íˇ¹ð˙¹š½š=½ž=³¼³ðš¼¸=×−¼=¦˚Ýš½š=Þˇ=ŠÐˇł¹˙Ğš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K
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Ò¼ÞŠšŠšý˚Þš²=Ò¼³ðš¼˚²
Í×−¹š˝½š=Þˇ=ýš½−Þ−ý˙³š½š=ðˇÐ=Þˇ=ŠÐˇł¹˙Ğš½š=½Ð²=³¼ÞŠšý˚Þš²=³¼³ðš¼˚²=×−¼=
šý¾ˇÞ˝Ž−Þ½ˇÐ=³½ž=Ý˝³½ˇK

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ò¼ÞŠšŠšýK=Ò¼³ðš¼¸?
NK Íˇ¹ð˙¹š½š=½ž=³¼³ðš¼¸=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKzK

PK „×ÐÝ˚þ½š=?flÝÝˇł¸=ÌÞşýˇ½−²?=¸=?‚Ðˇł¹ˇ¾¸?K
Í×−¹š˝½š=Þˇ=ýš½−Þ−ý˙³š½š=¸=Þˇ=ŠÐˇł¹˙Ğš½š=×Ð˚Ž−Þ½ˇ²= =ˇ¾−Ć=
×¹−žł−¼ý˚Þğ²=š×ÐÝ˚þš½š=½ž=³¼³ðš¼¸=×−¼=š×Ð¦¼ýš˝½šK

fl×−³½−Ý¸=⁄ÝğÞ=½ğÞ=‚šŠ−ý˚ÞğÞ=³š=¿ÝÝš²=Ò¼³ðš¼˚²
Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=şÝˇ=½ˇ=ŠšŠ−ý˚Þˇ=š¾ˇ¹ý−łćÞ=ş×ğ²=ž=È˝³½ˇ=š×ˇ¾ćÞI=½−=
Âýš¹−ÝşłÐ−I=−Ð=„¹łˇ³˝š²=ðÝ×K=³š=š×ÐÝšłý˚Þš²=³¼³ðš¼˚²K
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?fl×−³½−Ý¸=⁄Ýˇ?
NK „×ÐÝ˚þ½š=½žÞ=³¼³ðš¼¸=×−¼=š×Ð¦¼ýš˝½šK

„˙Þ=ŠšÞ=−¹Ð³½š˝=ð˙×−Ðˇ=³¼³ðš¼¸=½ş½š=ž=ˇÞˇŽ¸½ž³ž=þšðÐÞ˙=ˇ¼½şýˇ½ˇK

OK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K
Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK
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PK „Ð³˙łš½š=½−Þ=ðğŠÐðş=½ž²=³¼³ðš¼¸²=łÐˇ=ýž=³¼ÞŠšŠšý˚Þš²=³¼³ðš¼˚²K
QK „×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

Òžýš˝ğ³ž
≥ „˙Þ=˚₣šÐ=³¼ÞŠš¦š˝=ý˝ˇ=³¼³ðš¼¸=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞI=¦ˇ=šý¾ˇÞÐ³½š˝=ž=−¦şÞž=

š×ÐŁšŁˇ˝ğ³ž²=łÐˇ=½žÞ=ˇ×šÞš¹ł−×−˝ž³ž=½ž²=ÝšÐ½−¼¹ł˝ˇ²=½ğÞ=ˇð−¼³½ÐðćÞK=ÓÐ˚³½š=
xÎˇÐz=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½šK

Ô¼¦ý˝³šÐ²=fl³Ć¹ýˇ½ž²=Úš₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ
Íš=̌ ¼½¸=½ž=¹Ć¦ýÐ³ž=ý×−¹š˝½š=Þˇ=ýš½−Þ−ý˙³š½š=½−=½žÝ˚¾ğÞş=³ˇ²I=Þˇ=̌ ×ˇł−¹šĆ³š½š=
³š=˙ÝÝš²=³¼³ðš¼˚²=Þˇ=ˇÞˇłÞğ¹˝³−¼Þ=½−=½žÝ˚¾ğÞş=³ˇ²=¸=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=
ˇ¼½şýˇ½ˇ=½žÞ=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=łÐˇ=Þˇ=ýšÐć³š½š=½žÞ=ðˇ½ˇÞ˙Ýğ³ž=
šÞ˚¹łšÐˇ²=½ž²=ý×ˇ½ˇ¹˝ˇ²=ðÝ×K

Íš½−Þ−ýˇ³˝ˇ=½−¼=ÚžÝš¾ćÞ−¼=Òˇ²
Í×−¹š˝½š=Þˇ=ýš½−Þ−ý˙³š½š=½−=½žÝ˚¾ğÞş=³ˇ²K=Ú−=şÞ−ýˇ=½−¼=½žÝš¾ćÞ−¼=³ˇ²=
šý¾ˇÞ˝Žš½ˇÐ=³š=˙ÝÝš²=³¼³ðš¼˚²=ş½ˇÞ=ˇÞÐ₣Þš¼¦š˝=ˇ×ş=ˇ¼½˚²K

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=?⁄Þ−ýˇ=Ò¼³ðš¼¸²?
NK „Ð³ˇł˙łš½š=½−=Þ˚−=şÞ−ýˇ=³¼³ðš¼¸²K
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fl¼½şýˇ½ž=fl×šÞš¹ł−×−˝ž³ž
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=?È¸þž=ı¹şÞK=
_äìÉíççíÜ?
NK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

Ú−=½žÝ˚¾ğÞş=³ˇ²=šÞš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=ˇ¼½şýˇ½ˇ=½ž=ÝšÐ½−¼¹ł˝ˇ=łÐˇ=½−=
₣¹−ÞÐðş=ŠÐ˙³½žýˇ=×−¼=˚₣š½š=−¹˝³šÐK

flÝÝˇł¸=½ğÞ=Ô¼¦ý˝³šğÞ=e~åÇëÑêÉÉ
Í×−¹š˝½š=Þˇ=šÞˇÝÝ˙³³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=½−¼=ðÐ½=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞ=EÜ~åÇëÑêÉÉFI=
ýš½ˇþĆ=½ğÞ=šþ¸²=ŠĆ−=½¹ş×ğÞW=−ýÐÝ˝ˇ=ýš=½−=ðÐ½=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞ=¸=−ýÐÝ˝ˇ=ýš=½−=
½žÝ˚¾ğÞ−K
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=?ÔĆ¦ýÐ³ž=
e~åÇëÑêÉÉ?
NK „×ÐÝ˚þ½š=?Ó¹−³ğ×K=ÈšÐ½K?=¸=?ÈšÐ½K=e~åÇëÑêÉÉ?K

?Ó¹−³ğ×K=ÈšÐ½K?W= ·Ðˇ=−ýÐÝ˝ˇ=ýš=½ž=³¼³ðš¼¸
?ÈšÐ½K=e~åÇëÑêÉÉ?W= ·Ðˇ=−ýÐÝ˝ˇ=ýš=½−=ðÐ½=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞ
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Û×˚¹¼¦¹š²
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=¼×˚¹¼¦¹ğÞI=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=ˇÞˇŽž½¸³š½š=
³¼³ðš¼˚²=ýš=½ž=ÝšÐ½−¼¹ł˝ˇ=¼×˚¹¼¦¹ğÞ=šÞš¹ł−×−Ðžý˚Þž=łÐˇ=Þˇ=×¹ˇłýˇ½−×−Ðž¦š˝=ž=
³ĆÞŠš³ž=ýš=½−=½žÝ˚¾ğÞş=³ˇ²K=Ë¹ˇ½¸³½š=½−=½žÝ˚¾ğÞş=³ˇ²=ˇ×ş³½ˇ³ž=OM=šðˇ½−³½ćÞ=
×¹ÐÞ=½žÞ=ˇÞˇŽ¸½ž³žK=Â=¹Ć¦ýÐ³ž=½ğÞ=¼×˚¹¼¦¹ğÞ=¦ˇ=š×Ð³½¹˚ĞšÐ=³½žÞ=ˇÞšÞš¹ł¸=
ðˇ½˙³½ˇ³ž=š˙Þ=ŠšÞ=ł˝Þš½ˇÐ=ýš½˙Š−³žLÝ¸Ğž=ŠšŠ−ý˚ÞğÞ=ý˚³ğ=¼×˚¹¼¦¹ž²=
š×Ðð−ÐÞğÞ˝ˇ²K

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Û×˚¹¼¦¹š²?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Â=¹Ć¦ýÐ³ž=¼×˚¹¼¦¹ğÞ=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þž=ðˇÐ=³½žÞ=−¦şÞž=ˇÞˇý−Þ¸²=
šý¾ˇÞ˝Žš½ˇÐ=ž=˚ÞŠšÐþž=? ?K

fl×−³½−Ý¸=⁄ÝğÞ=½ğÞ=‚šŠ−ý˚ÞğÞ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Û×˚¹¼¦¹š²?=→=?fl×−³½−Ý¸=⁄Ýˇ?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK

OK „×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

PK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=šþ−¼³Ð−Šş½ž³ž²K

=Ej=NMJOF
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Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼
Ô¼¦ý˝³šÐ²=Ò¼³½¸ýˇ½−²

fl¼½şýˇ½ž=„×ÐÝ−ł¸=Ò¼³½¸ýˇ½−²
Ë˙¦š=¾−¹˙=×−¼=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−I=ˇ¼½ş=×˙Þ½−½š=₣¹ž³Ðý−×−Ðš˝=½−=
š×ÐÝšłý˚Þ−=³Ć³½žýˇK
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³K=Ò¼³½¸ýˇ½−²?
NK „×ÐÝ˚þ½š=?fl¼½şýˇ½−?K

ıšÐ¹−ð˝Þž½ž=„×ÐÝ−ł¸=Ò¼³½¸ýˇ½−²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³K=Ò¼³½¸ýˇ½−²?
NK „×ÐÝ˚þ½š=?dpj?K

Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼

fl¼½şýˇ½ž=„×ÐÝ−ł¸=‚Ðð½Ć−¼
Ë˙¦š=¾−¹˙=×−¼=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−I=ˇ¼½ş=×˙Þ½−½š=×¹−³×ˇ¦š˝=Þˇ=³¼ÞŠš¦š˝=
ýš=½−=×¹−½ÐýćýšÞ−=Š˝ð½¼−K

„˙Þ=½−=½žÝ˚¾ğÞş=³ˇ²=Šš=³¼ÞŠš¦š˝=ýš=½−=Š˝ð½¼−I=ý×−¹š˝½š=˙ýš³ˇ=Þˇ=
×¹ˇłýˇ½−×−Ð¸³š½š=½ˇ=ˇðşÝ−¼¦ˇ=łÐˇ=Þˇ=³¼ÞŠš¦š˝½š=ýš=½−=×¹−½ÐýćýšÞ−=Š˝ð½¼−K
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?fl¼½şýˇ½−?

=Ej=NMJPF
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ıšÐ¹−ð˝Þž½ž=„×ÐÝ−ł¸=‚Ðð½Ć−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?ıšÐ¹−ð˝Þž½−?
NK „×ÐÝ˚þ½š=½−=Š˝ð½¼−=×−¼=š×Ð¦¼ýš˝½šK

Ó¹−³¦¸ðž=šÞş²=Î˚−¼=‚Ðð½Ć−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?Ó¹−³¦¸ðž=‚Ðð½K?
„˙Þ=ŠšÞ=¼×˙¹₣šÐ=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=×Ð˚³½š= =ðˇÐ=ýš½ˇŁš˝½š=³½−=Ł¸ýˇ=OK

„˙Þ=¼×˙¹₣šÐ=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=×Ð˚³½š= =ðˇÐ=šð½šÝ˚³½š=½ˇ=×ˇ¹ˇð˙½ğ=Ł¸ýˇ½ˇK
NK „×ÐÝ˚þ½š=?Ó¹−³¦¸ðž?K

OK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=₣ć¹ˇ²K
Í×−¹š˝½š=Þˇ=šÐ³˙łš½š=ðğŠÐð−Ć²=ýš=˚ğ²=ðˇÐ=P=Ğž¾˝ˇK

PK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=ŠÐð½Ć−¼K
Í×−¹š˝½š=Þˇ=šÐ³˙łš½š=ðğŠÐð−Ć²=ýš=˚ğ²=ðˇÐ=P=Ğž¾˝ˇK

QK „Ð³ˇł˙łš½š=˚Þˇ=Þ˚−=şÞ−ýˇ=ŠÐð½Ć−¼K
Í×−¹š˝½š=Þˇ=šÐ³ˇł˙łš½š=ý˚₣¹Ð=ðˇÐ=OR=₣ˇ¹ˇð½¸¹š²K

RK „×ÐÝ˚þ½š=?„×ÐÝK=½Ć×−=ŠÐð½Ć−¼?K

SK „×ÐÝ˚þ½š=½−=Š˝ð½¼−=×−¼=š×Ð¦¼ýš˝½šK
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flÝÝˇł¸=½ž²=Ê˚³ž²=šÞş²=‚Ðð½Ć−¼=³½ž=È˝³½ˇ=Ó¹−½ÐýćýšÞğÞ=‚Ðð½ĆğÞ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?Ô¼¦ýK=Ó¹−½ÐýK?
NK „×ÐÝ˚þ½š=½−=şÞ−ýˇ=½−¼=ŠÐð½Ć−¼=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=ˇÝÝ˙þš½š=¦˚³ž=³½ž=Ý˝³½ˇK

OK „×ÐÝ˚þ½š=?„Ð³ˇłğł¸?=łÐˇ=Þˇ=šÐ³˙łš½š=³½žÞ=š×ÐÝšłý˚Þž=¦˚³ž=̧ =?Ó¹−³¦K=³½−=½˚Ý−²?=
łÐˇ=Þˇ=šÐ³˙łš½š=³½−=½˚Ý−²K

‚Ðˇł¹ˇ¾¸=šÞş²=‚Ðð½Ć−¼=ˇ×ş=½ž=È˝³½ˇ=Ó¹−½ÐýćýšÞğÞ=‚Ðð½ĆğÞ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?Ô¼¦ýK=Ó¹−½ÐýK?
NK „×ÐÝ˚þ½š=½−=şÞ−ýˇ=½−¼=ŠÐð½Ć−¼=×−¼=¦˚Ýš½š=Þˇ=ŠÐˇł¹˙Ğš½šK

OK „×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

‚Ðˇð−×¸=½ž²=ÒĆÞŠš³ž²=‚Ðð½Ć−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?ÈšÐ½−¼¹ł˝ˇ=
lÑÑJäáåÉ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

„ý¾˙ÞÐ³ž=ÓÝž¹−¾−¹ÐćÞ=‚Ðð½Ć−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?ÓÝž¹−¾K=
ŠÐð½Ć−¼?
„ý¾ˇÞ˝Ž−Þ½ˇÐ=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½−=şÞ−ýˇ=½−¼=¾−¹˚ˇ=ŠÐð½Ć−¼I=½ˇ=×ˇð˚½ˇ=
ŠšŠ−ý˚ÞğÞ=ðˇÐ=½Ð²=¼×ž¹š³˝š²K
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Ô¼¦ý˝³šÐ²=fåíÉêåÉí
Òžýš˝ğ³ž
≥ ·Ðˇ=½žÞ=ðˇÞ−ÞÐð¸=ÝšÐ½−¼¹ł˝ˇI=ŠšÞ=₣¹šÐ˙Žš½ˇÐ=Þˇ=½¹−×−×−Ð¸³š½š=ˇ¼½˚²=½Ð²=

¹¼¦ý˝³šÐ²K
≥ ÌÐ=¹¼¦ý˝³šÐ²=fåíÉêåÉí=̊ ₣−¼Þ=̧ Šž=×¹ˇłýˇ½−×−Ðž¦š˝=³½−=½žÝ˚¾ğÞş=³ˇ²I=̌ Þ˙Ý−łˇ=ýš=

½−=Š˝ð½¼−K=ÿ³ğ²=˚₣−¼Þ=½š¦š˝=×š¹Ð−¹Ð³ý−˝=³½žÞ=×¹−Ł−Ý¸I=ŠÐˇł¹ˇ¾¸I=ˇÞ½Ðł¹ˇ¾¸=¸=
½¹−×−×−˝ž³ž=ˇ¼½ćÞ=½ğÞ=¹¼¦ý˝³šğÞK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=½−¼=ŠÐð½Ć−¼=³ˇ²K

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?mêçñó?

mêçñó
?⁄Þ−ýˇ=mêçñó?W= ⁄Þ−ýˇ=éêçñó=EÍ−ÞˇŠÐðş=şÞ−ýˇF
?‚ÐšĆ¦¼Þ³ž=mêçñó?W ‚ÐšĆ¦¼Þ³ž=mêçñó
?Òžýš˝−=Ó¹ş³Łˇ³ž²?W Òžýš˝−=×¹ş³Łˇ³ž²
?fl¹₣Ðð¸?W roi=ˇ¹₣Ðð¸²=³šÝ˝Šˇ²
?fl¹Ð¦ýş²=ÊĆ¹ˇ²?W fl¹Ð¦ýş²=¦Ć¹ˇ²=ENJSRRPRF
?ÚĆ×−²=Úˇ¼½−×−˝ž³ž²?W ÚĆ×−²=½ˇ¼½−×−˝ž³ž²=E?eqqmJ_~ëáÅ?=¸=

?eqqmJafdbpq?F
?⁄Þ−ýˇ=ı¹¸³½ž?W Ú−=şÞ−ýˇ=½−¼=₣¹¸³½ž=łÐˇ=½ˇ¼½−×−˝ž³ž
?ËğŠÐðş²=Ó¹ş³Łˇ³ž²?W ËğŠÐðş²=×¹ş³Łˇ³ž²=łÐˇ=½ˇ¼½−×−˝ž³ž

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?Òžýš˝−=Ó¹ş³Łˇ³ž²?

Ô¼¦ý˝³šÐ²=flÔÎ
?⁄Þ−ýˇ=ÒžýK=Ó¹ş³ŁK?W ⁄Þ−ýˇ=³žýš˝−¼=×¹ş³Łˇ³ž²=EÍ−ÞˇŠÐðş=şÞ−ýˇF
?^mk?W Ô¼¦ý˝³šÐ²=^mk
?ÚĆ×−²=Úˇ¼½−×−˝ž³ž²?W ÚĆ×−²=šÝ˚ł₣−¼=½ˇ¼½ş½ž½ˇ²=E?ËˇÞ˚Þˇ?I=?m^m?=¸=?`e^m?F
?⁄Þ−ýˇ=ı¹¸³½ž?W ⁄Þ−ýˇ=₣¹¸³½ž=łÐˇ=½−=³žýš˝−=×¹ş³Łˇ³ž²
?ËğŠÐðş²=Ó¹ş³Łˇ³ž²?W ËğŠÐðş²=×¹ş³Łˇ³ž²=łÐˇ=½−=³žýš˝−=×¹ş³Łˇ³ž²
?akp?W ÔĆ¦ýÐ³ž=akp
?ı¹şÞ−²=Û³½˚¹ž³ž²?W ÔĆ¦ýÐ³ž=₣¹şÞ−¼=¼³½˚¹ž³ž²

=Ej=NMJQF
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?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?„×ˇÞK=ˇ¼½şýK=¹¼¦ý˝³K?
fl¼½şýˇ½š²=¹¼¦ý˝³šÐ²

?È¸Ğž=ÚšÝš¼½ˇ˝ğÞ?W ÈˇýŁ˙ÞšÐ=½ˇ=½šÝš¼½ˇ˝ˇ=ŠšŠ−ý˚Þˇ=¹¼¦ý˝³šğÞ=ˇ×ş=
½−=ŠÐˇð−ýÐ³½¸K

?flÞˇý−Þ¸=„ð½˚Ýš³ž²?W „Þžýš¹ćÞšÐ=½ˇ=ŠšŠ−ý˚Þˇ=¹¼¦ý˝³šğÞK

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?‚Ðˇł¹ˇ¾¸=akp=`~ÅÜÉ?
‚Ðˇł¹ˇ¾¸=akp=`~ÅÜÉW ‚Ðˇł¹˙¾šÐ=½ž=ýÞ¸ýž=akp=Å~ÅÜÉK

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?Èš¼ð¸=È˝³½ˇ?

Èš¼ð¸=È˝³½ˇW
?‚ÐšĆ¦¼Þ³ž=pjp`?W ‚ÐšĆ¦¼Þ³ž=pjp`
?fl¹₣Ðð¸=‚ÐšĆ¦K=pj?W ‚ÐšĆ¦¼Þ³ž=×¹−−¹Ð³ý−Ć=pj

Ô¼¦ý˝³šÐ²=„¾ˇ¹ý−ł¸²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?„¾ˇ¹ý−ł¸?
Ô¼¦ý˝³šÐ²=t^m

?⁄Þ−ýˇ=Ó¹−¾˝Ý?W= ⁄Þ−ýˇ=×¹−¾˝Ý=t^m=EÍ−ÞˇŠÐðş=şÞ−ýˇF
?mêçñó?W= ÔĆ¦ýÐ³ž=éêçñó=łÐˇ=½−=t^m

Ô¼¦ý˝³šÐ²=jjp
?⁄Þ−ýˇ=Ó¹−¾˝Ý?W= ⁄Þ−ýˇ=×¹−¾˝Ý=jjp=EÍ−ÞˇŠÐðş=şÞ−ýˇF
?mêçñó?W= ÔĆ¦ýÐ³ž=éêçñó=łÐˇ=½−=jjp
?roi=„¾šŠ¹K=pÉêîÉê?W= b¾šŠ¹Ððş²=ëÉêîÉê=Íjp
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Ô¼¦ý˝³šÐ²=bã~áä
?⁄Þ−ýˇ=È−łˇ¹Ðˇ³ý−Ć?W= ⁄Þ−ýˇ=Ý−łˇ¹Ðˇ³ý−Ć=bã~áä=EÍ−ÞˇŠÐðş=şÞ−ýˇF
?mlmP?W ⁄Þ−ýˇ=ëÉêîÉêI=½ˇ¼½ş½ž½ˇ=₣¹¸³½žI=ðğŠÐðş²=

×¹ş³Łˇ³ž²=ðˇÐ=ˇ¹Ð¦ýş²=¦Ć¹ˇ²=łÐˇ=½−Þ=mlmP=ëÉêîÉê
?pjqm?W= ⁄Þ−ýˇ=ëÉêîÉêI=½ˇ¼½ş½ž½ˇ=₣¹¸³½žI=ðğŠÐðş²=

×¹ş³Łˇ³ž²I=ˇ¹Ð¦ýş²=¦Ć¹ˇ²=łÐˇ=½−Þ=pjqm=ðˇÐ=
ÝšÐ½−¼¹ł˝ˇ=„Ý˚ł₣−¼=½ˇ¼½ş½ž½ˇ²=pjqm

?Òžýš˝−=Ó¹ş³Łˇ³ž²?W= Òžýš˝−=×¹ş³Łˇ³ž²=łÐˇ=½−=ÉJã~áä
?‚ÐšĆ¦K=bJã~áä?W ‚ÐšĆ¦¼Þ³ž=bã~áä

Ô¼¦ý˝³šÐ²=píêÉ~ãáåÖ
?⁄Þ−ýˇ=Ó¹−¾˝Ý?W ⁄Þ−ýˇ=×¹−¾˝Ý=łÐˇ=½ž=¹−¸=ŠšŠ−ý˚ÞğÞ=EÍ−ÞˇŠÐðş=

şÞ−ýˇF
?‚ÐšĆ¦¼Þ³ž=mêçñó?W ‚ÐšĆ¦¼Þ³ž=éêçñó
?fl¹Ð¦ýş²=ÊĆ¹ˇ²?W fl¹Ð¦ýş²=¦Ć¹ˇ²=ENJSRRPRF
?Òžýš˝−=Ó¹ş³Łˇ³ž²?W Òžýš˝−=×¹ş³Łˇ³ž²

„Þš¹ł−×−˝ž³ž=Ó¹−¾˝Ý=t^mLjjpLbã~áäLpíêÉ~ãáåÖ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?„¾ˇ¹ý−ł¸?
NK „×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²=t^m?I=?Ô¼¦ý˝³šÐ²=jjp?I=?Ô¼¦ý˝³šÐ²=bã~áä?=¸=?Ô¼¦ý˝³šÐ²=

píêÉ~ãáåÖ?K

OK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?„Þš¹ł−×−˝ž³ž?K
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„×šþš¹łˇ³˝ˇ=Ó¹−¾˝Ý=t^mLjjpLbã~áäLpíêÉ~ãáåÖ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?„¾ˇ¹ý−ł¸?
NK „×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²=t^m?I=?Ô¼¦ý˝³šÐ²=jjp?I=?Ô¼¦ý˝³šÐ²=bã~áä?=¸=?Ô¼¦ý˝³šÐ²=

píêÉ~ãáåÖ?K

OK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?„×šþK?K

QK „×šþš¹łˇ³½š˝½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

flÞ½Ðł¹ˇ¾¸=Ó¹−¾˝Ý=t^mLjjpLbã~áäLpíêÉ~ãáåÖ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?„¾ˇ¹ý−ł¸?
NK „×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²=t^m?I=?Ô¼¦ý˝³šÐ²=Íjp?I=?Ô¼¦ý˝³šÐ²=bã~áä?=¸=?Ô¼¦ý˝³šÐ²=

píêÉ~ãáåÖ?K

OK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ðł¹ˇ¾¸?K

QK „×šþš¹łˇ³½š˝½š=½−=Þ˚−=şÞ−ýˇ=×¹−¾˝ÝK

‚Ðˇł¹ˇ¾¸=Ó¹−¾˝Ý=t^mLjjpLbã~áäLpíêÉ~ãáåÖ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?„¾ˇ¹ý−ł¸?
NK „×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²=t^m?I=?Ô¼¦ý˝³šÐ²=Íjp?I=?Ô¼¦ý˝³šÐ²=bã~áä?=¸=?Ô¼¦ý˝³šÐ²=

píêÉ~ãáåÖ?K

OK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝ−ł˚²z=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

QK ÓÐ˚³½š=xÎˇÐzK
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_~ÅâìéLflÞ˙ð½ž³ž
Íš=ýÐˇ=ð˙¹½ˇ=ýÞ¸ýž²=½−×−¦š½žý˚Þž=³½−=½žÝ˚¾ğÞş=³ˇ²I=ý×−¹š˝½š=Þˇ=
ŠžýÐ−¼¹ł¸³š½š=ˇÞ½˝ł¹ˇ¾ˇ=ˇ³¾ˇÝš˝ˇ²=łÐˇ=½−¼²=ÒšÝÐŠ−Šš˝ð½š²I=½ˇ=Ëš˝ýšÞˇI=½Ð²=
„×ˇ¾˚²I=½−=Âýš¹−ÝşłÐ−=ðˇÐ=½Ð²=„¹łˇ³˝š²=ˇ×ş=½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²=³½žÞ=ð˙¹½ˇ=
ýÞ¸ýž²K=Í×−¹š˝½šI=š×˝³ž²I=Þˇ=š×ˇÞˇ¾˚¹š½š=½ˇ=̌ Þ½˝ł¹ˇ¾ˇ=̌ ³¾ˇÝš˝ˇ²=̌ ×ş=½žÞ=ð˙¹½ˇ=
ýÞ¸ýž²K

‚žýÐ−¼¹ł˝ˇ=flÞ½Ðł¹˙¾−¼=fl³¾ˇÝš˝ˇ²=³½žÞ=Ë˙¹½ˇ=ÍÞ¸ýž²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_~ÅâìéLflÞ˙ð½ž³ž?=→=?flÞ½˝ł¹ˇ¾−?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=½−¼=
ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NVVK

OK ÓÐ˚³½š=xlhzK

PK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=˚Þˇ=ˇÞ½˝ł¹ˇ¾−=
ˇ³¾ˇÝš˝ˇ²K

flÞ½˝ł¹ˇ¾ˇ=fl³¾ˇÝš˝ˇ²=⁄ÝğÞ=½ğÞ=fl¹₣š˝ğÞ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_~ÅâìéLflÞ˙ð½ž³ž?=→=?flÞ½˝ł¹ˇ¾−?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

OK ÓÐ˚³½š=xlhzK

PK „×ÐÝ˚þ½š=?„×ÐÝ−ł¸=⁄ÝğÞ?K

=Ej=NMJRF
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„×ˇÞˇ¾−¹˙=šÞş²=flÞ½Ðł¹˙¾−¼=fl³¾ˇÝš˝ˇ²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_~ÅâìéLflÞ˙ð½ž³ž?=→=?„×ˇÞˇ¾−¹˙?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

OK ÓÐ˚³½š=xlhzK

PK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

QK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=š×ˇÞˇ¾˚¹š½šK
÷Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=×−¼=š×Ð³žýˇ˝ÞšÐ=½ž=ŠÐˇł¹ˇ¾¸=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=
šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK

RK ÓÐ˚³½š=xÎˇÐzK

„×ˇÞˇ¾−¹˙=⁄ÝğÞ=½ğÞ=fl¹₣š˝ğÞ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_~ÅâìéLflÞ˙ð½ž³ž?=→=?„×ˇÞˇ¾−¹˙?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

OK ÓÐ˚³½š=xlhzK

PK „×ÐÝ˚þ½š=?„×ÐÝ−ł¸=⁄ÝğÞ?K
÷Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=×−¼=š×Ð³žýˇ˝ÞšÐ=½ž=ŠÐˇł¹ˇ¾¸=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=
šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK

QK ÓÐ˚³½š=xÎˇÐzK
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‚Ðˇł¹ˇ¾¸=šÞş²=flÞ½Ðł¹˙¾−¼=fl³¾ˇÝš˝ˇ²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_~ÅâìéLflÞ˙ð½ž³ž?=→=?„×ˇÞˇ¾−¹˙?
NK „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

OK ÓÐ˚³½š=xlhzK

PK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

QK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

RK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K
Ò½žÞ=−¦şÞž=šý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=łÐˇ=½ž=ŠÐˇł¹ˇ¾¸=½−¼=
š×ÐÝšłý˚Þ−¼=ˇ¹₣š˝−¼K

SK ÓÐ˚³½š=xÎˇÐzK
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ÒĆÞŠš³ž=½−¼=VMOpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ²

Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=×ˇ¹ˇð˙½ğ=ÝšÐ½−¼¹ł˝š²=³¼ÞŠ˚−Þ½ˇ²=½−=VMOpe=ýš=
½−Þ=¼×−Ý−łÐ³½¸=³ˇ²=ý˚³ğ=¦Ć¹ˇ²=¼×˚¹¼¦¹ğÞI=ý˚³ğ=¦Ć¹ˇ²=rp_G=¸=ý˚³ğ=½ž²=¦Ć¹ˇ²=
ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜW

≥ ÍşÞ½šý=dmop=PdLdpj
≥ e~åÇëÉí=j~å~ÖÉê=łÐˇ=½−=VMOpe
G fl×ˇÐ½š˝½ˇÐ=˚Þˇ=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−=ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=rp_=ukJNa`PM=łÐˇ=

³ĆÞŠš³ž=ý˚³ğ=¦Ć¹ˇ²=rp_K

fl×ˇÐ½¸³šÐ²=Ò¼³½¸ýˇ½−²
ÈšÐ½−¼¹łÐðş=ÒĆ³½žýˇW

táåÇçïëÃ=VUGI=táåÇçïëÃ=jÉI=táåÇçïëÃ=OMMMGGI=táåÇçïëÃ=umGGG
G táåÇçïëÃ=VU=pÉÅçåÇ=bÇáíáçåI=táåÇçïëÃ=VU=pÉêîáÅÉ=m~Åâ=N=ðˇÐ=fåíÉêåÉí=bñéäçêÉê=

RKMN=¸=Þšş½š¹−
GG pÉêîáÅÉ=m~Åâ=Q
GGG pÉêîáÅÉ=m~Åâ=N~

Û×−³½ž¹ÐŽşýšÞ−=È−łÐ³ýÐðşW
jáÅêçëçÑíÃ=lìíäççâLlìíäççâ=bñéêÉëë

‚Ðˇ³ĆÞŠš³žW
ÊĆ¹ˇ=¼×˚¹¼¦¹ğÞI=¦Ć¹ˇ=rp_=¸=¦Ć¹ˇ=ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=_äìÉíççíÜ

Í−Þ˙Šˇ=Š˝³ð−¼=`aJolj
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ÒĆÞŠš³ž=½−¼=VMOpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ²

ÍşÞ½šý=dmop=PdLdpj
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½−=VMOpe=ğ²=ýşÞ½šý=dmop=PdLdpj=łÐˇ=Þˇ=˚₣š½š=
×¹ş³Łˇ³ž=³½−=fåíÉêåÉí=ˇ×ş=½−Þ=¼×−Ý−łÐ³½¸=³ˇ²K=Ò¼ÞŠ˚³½š=½−=½žÝ˚¾ğÞş=³ˇ²=ýš=½−Þ=
¼×−Ý−łÐ³½¸=³ˇ²=ý˚³ğ=½ž²=ˇ³Ć¹ýˇ½ž²=š×Ðð−ÐÞğÞ˝ˇ²=_äìÉíççíÜ=¸=ý˚³ğ=½ž²=
ŠÐˇ³ĆÞŠš³ž²=rp_K=fl×ˇÐ½š˝½ˇÐ=ž=šłðˇ½˙³½ˇ³ž=Ý−łÐ³ýÐð−Ć=³½−Þ=žÝšð½¹−ÞÐðş=
¼×−Ý−łÐ³½¸=³ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−”˚¹šÐš²I=Šš˝½š=?„łðˇ½˙³½ˇ³ž=È−łÐ³ýÐð−Ć?=
³½ž=³šÝ˝Šˇ OORK

ÍşÞ½šý=ý˚³ğ=ËˇÝğŠ˝−¼=rp_
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=ýşÞ½šý=ý˚³ğ=ðˇÝğŠ˝−¼=rp_=¦ˇ=×¹˚×šÐ=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=½−=×¹−ˇÞˇ¾š¹şýšÞ−=ðˇÝćŠÐ−=ðˇÐ=Þˇ=Šš˝½š=½Ð²=−Šžł˝š²=×−¼=½−=
³¼Þ−ŠšĆ−¼ÞK

ÍşÞ½šý=ý˚³ğ=³ĆÞŠš³ž²=_äìÉíççíÜ
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=ýşÞ½šý=ý˚³ğ=½ž²=¦Ć¹ˇ²=ˇ³Ć¹ýˇ½ž²=
½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜI=Šš˝½š=½ž=?ı¹¸³ž=½ž²=fl³Ć¹ýˇ½ž²=ÈšÐ½−¼¹ł˝ˇ²=_äìÉíççíÜ?=³½ž=
³šÝ˝Šˇ OMS=ðˇÐ=šÞš¹ł−×−Ð¸³½š=½ž=ÝšÐ½−¼¹ł˝ˇ=½−¼=ýşÞ½šýK

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=¼×−³½¸¹Ðþž=Ý−łÐ³ýÐð−ĆI=
š×Ð³ðš¾¦š˝½š=½žÞ=ˇðşÝ−¼¦ž=Ð³½−³šÝ˝ŠˇW

ÜííéWLLïïïKëÜ~êéJãçÄáäÉKÅçã

Òžýš˝ğ³ž
≥ Â=š×Ðð−ÐÞğÞ˝ˇ=ý˚³ğ=ýşÞ½šý=ŠšÞ=š˝ÞˇÐ=š¾Ðð½¸=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=š×Ðð−ÐÞğÞ˝ˇ²=ýš=½−=

e~åÇëÉí=j~å~ÖÉê=ý˚³ğ=½ž²=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜI=ý˚³ğ=Û×˚¹¼¦¹ğÞ=
¸=ý˚³ğ=¦Ć¹ˇ²=rp_K

≥ Ú−=½žÝ˚¾ğÞ−=ðˇ½ˇÞˇÝćÞšÐ=šÞ˚¹łšÐˇ=ˇ×ş=½žÞ=ý×ˇ½ˇ¹˝ˇ=ş½ˇÞ=š˝ÞˇÐ=³¼ÞŠšý˚Þ−=ýš=
˚ÞˇÞ=¼×−Ý−łÐ³½¸I=ˇðşýž=ðˇÐ=ş½ˇÞ=ŠšÞ=š×Ðð−ÐÞğÞš˝=ýD=ˇ¼½şÞK
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e~åÇëÉí=j~å~ÖÉê
Í×−¹š˝½š=Þˇ=ˇÞ½ˇÝÝ˙³³š½š=½ˇ=×ˇ¹ˇð˙½ğ=³½−Ð₣š˝ˇ=ýš½ˇþĆ=½−¼=½žÝš¾ćÞ−¼=ðˇÐ=½−¼=
¼×−Ý−łÐ³½¸I=ý×−¹š˝½š=ˇðşýž=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=
„×ˇ¾ćÞ=³½−Þ=¼×−Ý−łÐ³½¸W
≥ fl¹₣š˝ˇ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼=EŠšŠ−ý˚Þˇ=ˇ×ş=¾ğ½−ł¹ˇ¾˝š²L¸₣−¼²LîáÇÉç=ÅäáéëL¿ÝÝˇ=

÷łł¹ˇ¾ˇF
≥ Ëˇ½ˇ₣ğ¹¸³šÐ²=È˝³½ˇ²=„×ˇ¾ćÞ
≥ Ëˇ½ˇ₣ğ¹¸³šÐ²=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=e~åÇëÉí=j~å~ÖÉê=Šš˝½š=?ÒĆÞŠš³ž=½−¼=VMOpe=
ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ²?=³½ž=³šÝ˝Šˇ OOP=ðˇÐ=¹¼¦ý˝³½š=³½−=½žÝ˚¾ğÞş=³ˇ²=½ž=
ÝšÐ½−¼¹ł˝ˇ=Íš½ˇ¾−¹˙²=‚šŠ−ý˚ÞğÞK
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=¼×−³½¸¹Ðþž=Ý−łÐ³ýÐð−ĆI=
š×Ð³ðš¾¦š˝½š=½žÞ=ˇðşÝ−¼¦ž=Ð³½−³šÝ˝ŠˇW

ÜííéWLLïïïKëÜ~êéJãçÄáäÉKÅçã

„łðˇ½˙³½ˇ³ž=È−łÐ³ýÐð−Ć
NK „Ð³ˇł˙łš½š=½−=×ˇ¹š₣şýšÞ−=`aJolj=³½ž=ý−Þ˙Šˇ=Š˝³ð−¼=`aJoljK

„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=`aJolj=½−¼=VMOpeK
„˙Þ=ŠšÞ=šý¾ˇÞÐ³½š˝=ž=−¦şÞž=`aJolj=½−¼=VMOpeI=ð˙Þ½š=ŠÐ×Ýş=JðÝÐð=³½−=
xi~ìåÅÜÉêKÉñÉz=³½−=`aJolj=³ˇ²K

OK ÓÐ˚³½š=½−=ð−¼ý×˝=×−¼=¦˚Ýš½šK
Â=šłðˇ½˙³½ˇ³ž=þšðÐÞ˙K

PK flð−Ý−¼¦¸³½š=½Ð²=−Šžł˝š²=³½žÞ=−¦şÞž=łÐˇ=Þˇ=−Ý−ðÝž¹ć³š½š=½žÞ=šłðˇ½˙³½ˇ³žK
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Òžýš˝ğ³ž
≥ Ú−=½žÝ˚¾ğÞ−=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=̌ ÞˇłÞğ¹˝³šÐ=½−=ðˇÝćŠÐ−=ŠšŠ−ý˚ÞğÞ=rp_=š˙Þ=̌ ¼½ş=

˚₣šÐ=³¼ÞŠš¦š˝=šÞć=šð½šÝš˝½ˇÐ=ý˝ˇ=š¾ˇ¹ý−ł¸=E¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸I=Ú−=ÛÝÐðş=ý−¼=
ðÝ×KFK=Ò¼ÞŠ˚³½š=½−=ðˇÝćŠÐ−=ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=rp_=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K

„×Ðð−ÐÞğÞ˝ˇ=ýš=¼×˚¹¼¦¹š²
≥ ÌÐ=¦Ć¹š²=¼×˚¹¼¦¹ğÞ=×¹˚×šÐ=Þˇ=š˝ÞˇÐ=š¼¦¼ł¹ˇýýÐ³ý˚Þš²=ýš½ˇþĆ=½−¼²K

≥ ÌÐ=¦Ć¹š²=¼×˚¹¼¦¹ğÞ=×¹˚×šÐ=Þˇ=š˝ÞˇÐ=½−×−¦š½žý˚Þš²=³š=ˇ×ş³½ˇ³ž=ý˚₣¹Ð=ðˇÐ=OM=
Åã=ž=ý˝ˇ=ˇ×ş=½žÞ=˙ÝÝž=ðˇÐ=³š=łğÞ˝ˇ=ý˚₣¹Ð=PMŒK

ÍşÞ½šý=dmop=PdLdpj
≥ Òˇ²=³¼ÞÐ³½−Ćýš=Þˇ=ˇ×−¾šĆłš½š=Þˇ=×¹ˇłýˇ½−×−Ðš˝½š=¸=Þˇ=ˇ×ˇÞ½˙½š=³š=ðÝ¸³šÐ²=

šÞć=₣¹ž³Ðý−×−Ðš˝½š=½−=VMOpe=ğ²=ýşÞ½šý=dmop=PdLdpjK=Â=ÝšÐ½−¼¹ł˝ˇ=ý×−¹š˝=Þˇ=
ŠÐˇð−×š˝K

e~åÇëÉí=j~å~ÖÉê
≥ Ì¹Ð³ý˚Þˇ=ýšł˙Ýˇ=ˇ¹₣š˝ˇ=ý×−¹š˝=Þˇ=ýžÞ=š˝ÞˇÐ=Š¼Þˇ½ş=Þˇ=ýš½ˇ¾š¹¦−ĆÞ=ˇ×ş=½−Þ=

¼×−Ý−łÐ³½¸=³½−=½žÝ˚¾ğÞ−K
≥ ÌÐ=š¾ˇ¹ý−ł˚²=EÙğ½−ł¹ˇ¾K=Íž₣ˇÞ¸I=Ú−=¼ÝÐðş=ý−¼I=ðÝ×KF=Šš=ÝšÐ½−¼¹ł−ĆÞ=ş½ˇÞ=½−=

½žÝ˚¾ğÞ−=š˝ÞˇÐ=³¼ÞŠšý˚Þ−=ýš=½−Þ=¼×−Ý−łÐ³½¸=ý˚³ğ=¦Ć¹ˇ²=ˇ³Ć¹ýˇ½ž²=
½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜI=ý˚³ğ=¦Ć¹ˇ²=¼×˚¹¼¦¹ğÞ=¸=ý˚³ğ=ðˇÝğŠ˝−¼=ýš½ˇ¾−¹˙²=
ŠšŠ−ý˚ÞğÞ=rp_K

ÊĆ¹ˇ=¼×˚¹¼¦¹ğÞ
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Ó¹şŁÝžýˇ ÈĆ³ž
Ú−=½žÝ˚¾ğÞ−=ŠšÞ=šÞš¹ł−×−Ðš˝½ˇÐK ≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=ž=ý×ˇ½ˇ¹˝ˇ=˚₣šÐ=½−×−¦š½ž¦š˝=³ğ³½˙=ðˇÐ=ş½Ð=š˝ÞˇÐ=¾−¹½Ð³ý˚ÞžK

ÌÐ=ðğŠÐð−˝=mfk=¸=mfkO=ˇ×−¹¹˝×½−Þ½ˇÐK
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=×Ýžð½¹−Ý−ł¸³ˇ½š=½−=³ğ³½ş=ðğŠÐðş=EQ=˚ğ²=U=Ğž¾˝ğÞFK
≥ Â=ð˙¹½ˇ=pfjLrpfj=−Ð=×¹−³½ˇ½š¼şýšÞš²=ÝšÐ½−¼¹ł˝š²=³ˇ²=ðÝšÐŠćÞ−Þ½ˇÐ=ýš½˙=ˇ×ş=½¹šÐ²=ˇÞš×Ð½¼₣š˝²=×¹−³×˙¦šÐš²K
≥ „×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=½ž²=ð˙¹½ˇ²=pfjLrpfj=š˙Þ=ŠšÞ=ŠÐˇ¦˚½š½š=½−=³ğ³½ş=ðğŠÐðş=mfkK

Â=ð˙¹½ˇ=pfjLrpfj=˚₣šÐ=ðÝšÐŠğ¦š˝K
≥ „Ð³ˇł˙łš½š=½−Þ=ðğŠÐðş=mrh=EU=Ğž¾˝ˇF=×−¼=³ˇ²=̊ ₣šÐ=Šć³šÐ=−=×ˇ¹−₣˚ˇ²=¼×ž¹š³ÐćÞ=Eš˙Þ=¼×−³½ž¹˝Žš½ˇÐFK
≥ „˙Þ=ž=×¹−³×˙¦šÐˇ=¸½ˇÞ=š×Ð½¼₣¸²I=šÐ³ˇł˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=mfk=ðˇÐ=š×ÐŁšŁˇÐć³½š=ş½Ð=½−=½žÝ˚¾ğÞş=

³ˇ²=ÝšÐ½−¼¹łš˝=ş×ğ²=×¹ÐÞK=Òš=ŠÐˇ¾−¹š½Ðð¸=×š¹˝×½ğ³žI=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=ˇÞ½Ð×¹ş³ğ×−K
‚¼³ð−Ý˝ˇ=³½žÞ=ˇÞ˙łÞğ³ž=½ž²=−¦şÞž²K ≥ Ô¼¦ý˝³½š=½ž=¾ğ½šÐÞş½ž½ˇ=½−¼=¾ğ½Ð³ý−Ć=½ž²=−¦şÞž²K

ÌÐ=ÝšÐ½−¼¹ł˝š²=½−¼=½žÝš¾ćÞ−¼=ŠšÞ=
ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ş½ˇÞ=
ˇ¼½ş=šÞš¹ł−×−Ðš˝½ˇÐK

≥ „Ý˚łþ½š=½žÞ=Ð³₣Ć=½−¼=³¸ýˇ½−²=Ý¸Ğž²I=ðˇ¦ć²=šÞŠ˚₣š½ˇÐ=Þˇ=Ł¹˝³ðš³½š=šð½ş²=šýŁ˚ÝšÐˇ²=½−¼=ŠÐð½Ć−¼K
≥ „Ý˚łþ½š=š˙Þ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞž=ð˙×−Ð−=ý¸Þ¼ýˇ=³¾˙Ýýˇ½−²=ş½ˇÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−K=

„˙Þ=³¼ýŁˇ˝ÞšÐ=ˇ¼½şI=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=³ˇ²=ˇÞ½Ð×¹ş³ğ×−K
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=ž=ð˙¹½ˇ=pfjLrpfj=˚₣šÐ=½−×−¦š½ž¦š˝=³ğ³½˙K

‚šÞ=ý×−¹š˝½š=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=¸=
Þˇ=Šš₣¦š˝½š=ðÝ¸³šÐ²K

≥ „˙Þ=šý¾ˇÞÐ³½š˝=½−=ý¸Þ¼ýˇ=?Ò¾˙Ýýˇ=ð˙¹½ˇ²=pfj?=ðˇ½˙=½žÞ=šÞš¹ł−×−˝ž³ž=½−¼=½žÝš¾ćÞ−¼I=½ş½š=ŠšÞ=
ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=³¼łðšð¹Ðý˚Þž=ð˙¹½ˇ=pfjLrpfj=¸=ž=ð˙¹½ˇ=pfjLrpfj=˚₣šÐ=¼×−³½š˝=
ŽžýÐ˙K=„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=ˇÞ½Ð×¹ş³ğ×−=¸=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

≥ „Ý˚łþ½š=½Ð²=¾¹ˇł˚²=ðÝ¸³šğÞI=½Ð²=¹¼¦ý˝³šÐ²=ˇ¹Ð¦ýćÞ=³½ˇ¦š¹¸²=ðÝ¸³ž²I=½žÞ=¼×−ÝšÐ×şýšÞž=¾ş¹½Ð³ž=
½ž²=ý×ˇ½ˇ¹˝ˇ²=ðˇÐ=½Ð²=¹¼¦ý˝³šÐ²=×¹−ć¦ž³ž²=ðÝ¸³ž²K

≥ „Ý˚łþ½š=š˙Þ=½−=½žÝ˚¾ğÞş=³ˇ²=×¹ˇłýˇ½−×−Ðš˝=ˇ¼½¸=½ž=³½Ðłý¸=ýš½ˇ¾−¹˙=ŠšŠ−ý˚ÞğÞ=ý˚³ğ=
¼×˚¹¼¦¹ğÞ=Efêa^FI=ý˚³ğ=¦Ć¹ˇ²=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=¸=ý˚³ğ=ðˇÝğŠ˝−¼=ýš½ˇ¾−¹˙²=
rp_K

≥ „Ý˚łþ½š=½−=ŠÐˇ¦˚³Ðý−=¼×şÝ−Ð×−=š˙Þ=₣¹ž³Ðý−×−Ðš˝½š=ý˝ˇ=×¹−J×Ýž¹ğý˚Þž=ð˙¹½ˇ=pfjLrpfjK

Â=×−Ðş½ž½ˇ=³¼Þ−ýÐÝ˝ˇ²=š˝ÞˇÐ=₣ˇýžÝ¸K ≥ Â=½−×−¦š³˝ˇ=×−¼=Ł¹˝³ðš³½š=ˇ¼½¸=½ž=³½Ðłý¸=ŠšÞ=×¹−³¾˚¹šÐ=ðˇÝ¸=×−Ðş½ž½ˇ=³¼Þ−ýÐÝ˝ˇ²=E×K₣K=ý˚³ˇ=³š=
ˇ¼½−ð˝Þž½−=¸=½¹˚Þ−FK=Íš½ˇðÐÞž¦š˝½š=³š=˚Þˇ=³žýš˝−=ş×−¼=½−=³¸ýˇ=Ý¸Ğž²=š˝ÞˇÐ=Ð³₣¼¹ş½š¹−K



228

flÞ½Ðýš½ć×Ð³ž=Ó¹−ŁÝžý˙½ğÞ

‚šÞ=ý×−¹š˝½š=Þˇ=ˇ×−ð½¸³š½š=×¹ş³Łˇ³ž=
³½Ð²=¼×ž¹š³˝š²=ŠÐð½Ć−¼K

≥ „Ý˚łþ½š=š˙Þ=−=Ý−łˇ¹Ðˇ³ýş²=³ĆÞŠš³¸²=³ˇ²=̊ ₣šÐ=šłł¹ˇ¾š˝=łÐˇ=½Ð²=¼×ž¹š³˝š²=ðˇÐ=š˙Þ=̌ ¼½˚²=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýš²K

‚šÞ=ý×−¹š˝½š=Þˇ=³½š˝Ýš½š=¸=Þˇ=Ý˙Łš½š=
ł¹ˇ×½˙=ýžÞĆýˇ½ˇK

≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=˚₣š½š=šłł¹ˇ¾š˝=³ğ³½˙=³½žÞ=¼×ž¹š³˝ˇ=pjpI=ş½Ð=½−=Š˝ð½¼ş=³ˇ²=¼×−³½ž¹˝ŽšÐ=ˇ¼½¸=½žÞ=¼×ž¹š³˝ˇ=ðˇÐ=
ş½Ð=˚₣š½š=ðˇ½ˇ₣ğ¹¸³šÐ=½−=³ğ³½ş=̌ ¹Ð¦ýş=½−¼=ð˚Þ½¹−¼=¼×ž¹š³ÐćÞK=„˙Þ=ş₣ÐI=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

‚šÞ=ý×−¹š˝½š=Þˇ=³¼ÞŠš¦š˝½š=ýš=½−Þ=
×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=ÍžÞ¼ý˙½ğÞ=
Ó−Ý¼ý˚³ğÞK

≥ ÌÐ=¹¼¦ý˝³šÐ²=ðˇÐ=ž=ŠÐˇýş¹¾ğ³ž=jjp=ý×−¹š˝=Þˇ=ýžÞ=š˝ÞˇÐ=šłðˇ½š³½žý˚Þš²=̧ =Þˇ=š˝ÞˇÐ=š³¾ˇÝý˚Þš²=̧ =ž=¼×ž¹š³˝ˇ=
Þˇ=ýžÞ=¼×−³½ž¹˝Žš½ˇÐ=ˇ×ş=½−=Š˝ð½¼−K=„Ý˚łþ½š=½−Þ=ˇ¹Ð¦ýş=³žýš˝−¼=×¹ş³Łˇ³ž²=½−¼=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK
„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=łÐˇ=Þˇ=š×ÐŁšŁˇÐć³š½š=½Ð²=³ğ³½˚²=¹¼¦ý˝³šÐ²K

Óš¹Ð−¹Ð³ý˚Þž=ŠÐˇ¦˚³Ðýž=ýÞ¸ýžK ≥ ‚Ðˇł¹˙Ğ½š=ŠšŠ−ý˚Þˇ=×−¼=ŠšÞ=₣¹šÐ˙Žš³½š=×Ý˚−ÞK

Â=ðÝ¸³ž=½š¹ýˇ½˝Žš½ˇÐ=ˇ×¹ş³ýšÞˇK
≥ ÍˇłÞž½Ð³ý˚Þˇ=ˇÞ½Ððš˝ýšÞˇI=ş×ğ²=¦š¹ˇ×š¼½Ðð˙=×š¹ÐÝˇ˝ýÐˇI=×−¼=Ł¹˝³ð−Þ½ˇÐ=ð−Þ½˙=³½−=½žÝ˚¾ğÞ−=

šÞŠ˚₣š½ˇÐ=Þˇ=˚₣−¼Þ=ğ²=³¼Þ˚×šÐˇ=½−Þ=½š¹ýˇ½Ð³ýş=ýÐˇ²=ðÝ¸³ž²K=Ù¼Ý˙þ½š=½−=½žÝ˚¾ğÞ−=ýˇð¹Ð˙=ˇ×ş=
½˚½−Ðˇ=ˇÞ½Ððš˝ýšÞˇK

Ëˇý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=³½ž=
È˝³½ˇ=„×ˇ¾ćÞ

≥ „×ÐŁšŁˇÐć³½š=ş½Ð=ž=¹Ć¦ýÐ³ž=Ê˚³šğÞ=„×ˇ¾ćÞ=EÒ¼³ðš¼¸=¸=pfjLrpfjF=˚₣šÐ=ł˝ÞšÐ=³ğ³½˙K

fl×−½¼₣˝ˇ=ýš½˙Š−³ž²=Ñ~ñ

≥ Ó¹ÐÞ=½ž=ýš½˙Š−³ž=ŠšŠ−ý˚ÞğÞ=Ñ~ñI=ŠÐˇý−¹¾ć³½š=½−=Ý−łÐ³ýÐðş=Ñ~ñ=˚½³Ð=ć³½š=Þˇ=₣¹ž³Ðý−×−Ðš˝=˚Ýšł₣−=
¹−¸²=ˇ×ş=½−=Ý−łÐ³ýÐðşK

≥ Òˇ²=³¼ÞÐ³½−Ćýš=Þˇ=₣¹ž³Ðý−×−Ðš˝½š=½−=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−=ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=łÐˇ=½ž=ýš½˙Š−³ž=
ŠšŠ−ý˚ÞğÞ=Ñ~ñK

‚šÞ=š˝ÞˇÐ=Š¼Þˇ½¸=ž=Ý¸Ğž=ŠšŠ−ý˚ÞğÞ=
l_buK

≥ Úˇ=ŠšŠ−ý˚Þˇ=l_bu=ý×−¹−ĆÞ=Þˇ=Ýž¾¦−ĆÞ=ýşÞ−Þ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K=„ý¾ˇÞ˝Žš½ˇÐ=½−=ý¸Þ¼ýˇ=
?„×Ð³½¹ç¾¸=³š=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²?K

Ó¹şŁÝžýˇ ÈĆ³ž
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Ú−=½žÝ˚¾ğÞş=³ˇ²=×Ýž¹−˝=½−¼²=ŠÐš¦Þš˝²=ðˇÞ−ÞÐ³ý−Ć²=š¾D=ş³−Þ=₣¹ž³Ðý−×−Ðš˝½ˇÐ=¼×ş=
¾¼³Ð−Ý−łÐð˚²=³¼Þ¦¸ðš²=ðˇÐ=³Ćý¾ğÞˇ=ýš=½Ð²=−Šžł˝š²=×−¼=ˇð−Ý−¼¦−ĆÞK

ÌÔÌÁ=ıÔÂÒÂÒ
ÂÝšð½¹−ýˇłÞž½Ðð¸=ˇð½ÐÞ−Ł−Ý˝ˇ
≥ ÍžÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ş½ˇÞ=Ł¹˝³ðš³½š=ý˚³ˇ=³š=ˇš¹−³ð˙¾ž=E½−=

½žÝ˚¾ğÞş=³ˇ²=šÞŠ˚₣š½ˇÐ=Þˇ=ŠžýÐ−¼¹ł¸³šÐ=×ˇ¹šýŁ−Ý˚²=³½ˇ=žÝšð½¹−ÞÐð˙=
³¼³½¸ýˇ½ˇ=½−¼=̌ š¹−³ð˙¾−¼²FK=Â=Ð³₣Ć−¼³ˇ=Þ−ý−¦š³˝ˇ=̌ ×ˇł−¹šĆšÐ=̌ ¼½¸=½ž=₣¹¸³ž=
ðˇÐ=ð˙¦š=×ˇ¹˙Łˇ³ž=ŠÐćðš½ˇÐ=×−ÐÞÐð˙K

≥ ÍžÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ý˚³ˇ=³š=Þ−³−ð−ýš˝ˇK=„þˇÐ¹−ĆÞ½ˇÐ=−Ð=₣ć¹−Ð=
×−¼=˚₣−¼Þ=³žýˇÞ¦š˝=ðˇ½˙ÝÝžÝˇK

≥ Â=₣¹¸³ž=½−¼=½žÝš¾ćÞ−¼=ý×−¹š˝=Þˇ=š×ž¹š˙³šÐ=½ž=ÝšÐ½−¼¹ł˝ˇ=žÝšð½¹−ÞÐðćÞ=
Ðˇ½¹ÐðćÞ=ýž₣ˇÞžý˙½ğÞ=EŁžýˇ½−Šş½š²I=ˇð−¼³½Ðð˙=Łˇ¹žð−fiˇ²I=ˇÞ½Ý˝š²=ÐÞ³−¼Ý˝Þž²=
ðÝ×KFK=⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þ−I=ýžÞ=×Ýž³Ð˙Žš½š=ð−Þ½˙=³š=Ðˇ½¹Ððş=
šþ−×ÝÐ³ýş=¸=³š=×š¹Ð−₣˚²=×−¼=₣¹ž³Ðý−×−Ðš˝½ˇÐ=Ðˇ½¹Ððş²=šþ−×ÝÐ³ýş²K=„˙Þ=
₣¹ž³Ðý−×−Ðš˝½š=ˇð−¼³½Ððş=Łˇ¹žð−fiˇ²=¸=Łžýˇ½−Šş½žI=₣¹ž³Ðý−×−Ð¸³½š=½−=
½žÝ˚¾ğÞ−=³½žÞ=˙ÝÝž=×Ýš¼¹˙=½−¼=³ćýˇ½ş²=³ˇ²=ˇ×ş=ˇ¼½¸=×−¼=¼×˙¹₣šÐ=½−=
ˇÞ½˝³½−Ð₣−=Ðˇ½¹Ððş=Ł−¸¦žýˇK=Ú−=½žÝ˚¾ğÞ−=¦ˇ=×¹˚×šÐ=Þˇ=ŠÐˇ½ž¹š˝½ˇÐ=³š=̌ ×ş³½ˇ³ž=
½−¼Ý˙₣Ð³½−Þ=NRIOQ=Åã=ˇ×ş=½−=Łžýˇ½−Šş½ž=ÓflÎÚÌÚ„I=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=
šÞš¹ł−×−Ðžý˚Þ−K

≥ ÍžÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ð−Þ½˙=³š=ˇ˚¹Ðˇ=¸=šĆ¾Ýšð½ˇ=¼ÝÐð˙K
≥ Úž¹š˝½š=½−¼²=ðˇÞ−ÞÐ³ý−Ć²=łÐˇ=½ž=₣¹¸³ž=ðÐÞž½ćÞ=½žÝš¾ćÞğÞ=³š=×¹ˇ½¸¹Ðˇ=

ðˇ¼³˝ýğÞI=₣žýÐð˙=š¹ł−³½˙³Ðˇ=ðˇÐ=³š=şÝš²=½Ð²=×š¹Ð−₣˚²=ýš=ˇ¼þžý˚Þ−=ð˝ÞŠ¼Þ−=
šð¹¸þšğÞK
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Ù¹−Þ½˝Šˇ=½−¼=½žÝš¾ćÞ−¼=³ˇ²
≥ ÍžÞ=š×Ð½¹˚×š½š=³½ˇ=×ˇÐŠÐ˙=Þˇ=₣¹ž³Ðý−×−Ð−ĆÞ=½−=½žÝ˚¾ğÞş=³ˇ²=₣ğ¹˝²=š×−×½š˝ˇK
≥ ÍžÞ=ˇÞ−˝łš½š=ðˇÐ=ýžÞ=×¹−³×ˇ¦š˝½š=Þˇ=š×Ð³ðš¼˙³š½š=ýşÞ−Ð=³ˇ²=½−=½žÝ˚¾ğÞ−K=Ú−=

×¹−İşÞ=ý×−¹š˝=Þˇ=š×Ð³ðš¼ˇ³½š˝=ýşÞ−Þ=ˇ×ş=šþ−¼³Ð−Š−½žý˚Þ−=×¹−³ğ×Ððş=³˚¹ŁÐ²K
≥ ÍžÞ=ˇ¾¸Þš½š=½−=½žÝ˚¾ğÞ−=Þˇ=×˚³šÐ=ð˙½ğ=ðˇÐ=ýžÞ=½−=¼×−Ł˙Ýš½š=³š=Ð³₣¼¹˙=
₣½¼×¸ýˇ½ˇK=Ú−=×˙½žýˇ=½ž²=−¦şÞž²=¸=½ğÞ=×Ý¸ð½¹ğÞ=ýš=ýšł˙Ýž=ŠĆÞˇýž=ðˇÐ=ž=
ð˙ýĞž=½−¼=×š¹ÐŁÝ¸ýˇ½−²=ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³−¼Þ=³žýˇÞ½Ðð˚²=ŁÝ˙Łš²=³½−=
½žÝ˚¾ğÞ−K

≥ Íž=₣¹ž³Ðý−×−Ðš˝½š=ŠÐˇÝ¼½Ðð˙=łÐˇ=Þˇ=ðˇ¦ˇ¹˝³š½š=½−=½žÝ˚¾ğÞş=³ˇ²K=
ı¹ž³Ðý−×−Ð¸³½š=ýşÞ−Þ=˚Þˇ=ýˇÝˇðşI=³½šłÞş=×ˇÞ˝K

≥ Íž=ýš½ˇ¾˚¹š½š=½−=½žÝ˚¾ğÞş=³ˇ²=³½žÞ=×˝³ğ=½³˚×ž=½−¼=×ˇÞ½šÝ−ÞÐ−ĆI=ðˇ¦ć²=̌ ¼½ş=
ý×−¹š˝=Þˇ=¼×−³½š˝=ŽžýÐ˚²=š˙Þ=ðˇ¦˝³š½šK=Â=−¦şÞž=š˝ÞˇÐ=ðˇ½ˇ³ðš¼ˇ³ý˚Þž=̌ ×ş=ł¼ˇÝ˝=
ðˇÐ=š˝ÞˇÐ=ÐŠÐˇ˝½š¹ˇ=šĆ¦¹ˇ¼³½žK

≥ fl×−¾Ćłš½š=½žÞ=š×ˇ¾¸=ýš=½žÞ=šþğ½š¹Ðð¸=¼×−Š−₣¸=³ĆÞŠš³ž²=³½−=ð˙½ğ=ý˚¹−²=½−¼=
½žÝš¾ćÞ−¼I=ðˇ¦ć²=¼×˙¹₣šÐ=×Ð¦ˇÞş½ž½ˇ=Þˇ=×¹−ðˇÝ˚³š½š=ŽžýÐ˙=³½ˇ=š¼ˇ˝³¦ž½ˇ=
š³ğ½š¹Ðð˙=šþˇ¹½¸ýˇ½ˇ=Ýşłğ=³½ˇ½Ðð−Ć=žÝšð½¹Ð³ý−ĆK
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Í×ˇ½ˇ¹˝ˇ
≥ ı¹ž³Ðý−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ýşÞ−Þ=ýš=½Ð²=ý×ˇ½ˇ¹˝š²I=½−¼²=¾−¹½Ð³½˚²=ðˇÐ=½ˇ=

ˇþš³−¼˙¹=×−¼=×¹−½š˝ÞšÐ=−=ðˇ½ˇ³ðš¼ˇ³½¸²K=Ì=ðˇ½ˇ³ðš¼ˇ³½¸²=Šš=¾˚¹šÐ=ðˇý˝ˇ=
š¼¦ĆÞž=łÐˇ=¾¦−¹˚²=̧ =ŁÝ˙Łš²=×−¼=¦ˇ=×¹−ðÝž¦−ĆÞ=̌ ×ş=½ž=₣¹¸³ž=̇ ÝÝğÞ=¾−¹½Ð³½ćÞI=
ý×ˇ½ˇ¹ÐćÞ=¸=ˇþš³−¼˙¹K

≥ Â=ŠÐˇýş¹¾ğ³ž=½−¼=ŠÐð½Ć−¼=ðˇÐ=ž=³¼₣Þş½ž½ˇ=₣¹¸³ž²=½−¼=½žÝš¾ćÞ−¼=š×ž¹š˙Ž−¼Þ=
½−=₣¹şÞ−=−ýÐÝ˝ˇ²=ðˇÐ=½−=₣¹şÞ−=ˇÞˇý−Þ¸²K
Â=₣¹¸³ž=½ğÞ=×ˇÐ₣ÞÐŠÐćÞ=¸=½ž²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ˇ¼þ˙ÞšÐ=³žýˇÞ½Ðð˙=½žÞ=
ðˇ½ˇÞ˙Ýğ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²K

≥ Ù−¹½˝³½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=½−=³¼Þ½−ýş½š¹−=Š¼Þˇ½şÞI=ş½ˇÞ=šý¾ˇÞÐ³½š˝=³½žÞ=−¦şÞž=ž=
×¹−šÐŠ−×−˝ž³ž=¾ş¹½Ð³ž²=½ž²=ý×ˇ½ˇ¹˝ˇ²K „˙Þ=³¼Þš₣˝³š½š=Þˇ=½−=₣¹ž³Ðý−×−Ðš˝½š=
ˇłÞ−ćÞ½ˇ²=½ž=³₣š½Ðð¸=×¹−šÐŠ−×−˝ž³žI=½−=½žÝ˚¾ğÞ−=ˇÞ˙=×˙³ˇ=³½Ðłý¸=ý×−¹š˝=Þˇ=
³½ˇýˇ½¸³šÐ=Þˇ=ÝšÐ½−¼¹łš˝=ðˇÐ=Þˇ=₣ˇ¦−ĆÞ=şÝˇ=½ˇ=ŠšŠ−ý˚Þˇ=¸=−Ð=¹¼¦ý˝³šÐ²=×−¼=
˚₣š½š=ˇ×−¦žðšĆ³šÐ=³š=ˇ¼½şK

≥ Ó¹ÐÞ=ˇ¾ˇÐ¹˚³š½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=ˇ×ş=½−=½žÝ˚¾ğÞ−I=ŁšŁˇÐğ¦š˝½š=ş½Ð=½−=˚₣š½š=
ˇ×šÞš¹ł−×−Ð¸³šÐK

≥ flÞ½Ððˇ½ˇ³½¸³½š=ðˇÐ=¾−¹½˝³½š=½ž=Þ˚ˇ=ý×ˇ½ˇ¹˝ˇ=½−=³¼Þ½−ýş½š¹−=Š¼Þˇ½şÞ=ýš½˙=½žÞ=
ˇ¾ˇ˝¹š³ž=½ž²=×ˇÝÐ˙²=ý×ˇ½ˇ¹˝ˇ²K

≥ ÍžÞ=ˇð−¼ý×˙½š=½−¼²=ˇð¹−Š˚ð½š²=½ž²=ý×ˇ½ˇ¹˝ˇ²K=ÌÐ=ý×ˇ½ˇ¹˝š²=ý×−¹š˝=Þˇ=
×¹−ðˇÝ˚³−¼Þ=¼ÝÐð˚²=ŽžýÐ˚²I=½¹ˇ¼ýˇ½Ð³ýş=̧ =šłðˇĆýˇ½ˇI=š˙Þ=ð˙×−Ð−=̌ łćłÐý−=¼ÝÐðş=
˚¹¦šÐ=³š=š×ˇ¾¸=ýš=½−¼²=ˇð¹−Š˚ð½š²K=⁄½ˇÞ=ž=ý×ˇ½ˇ¹˝ˇ=ˇ¾ˇÐ¹š¦š˝=ˇ×ş=½−=
½žÝ˚¾ğÞ−I=₣¹ž³Ðý−×−Ð¸³½š=˚Þˇ=ð˙Ý¼ýýˇ=ˇ×ş=ýž=ˇłćłÐý−=¼ÝÐðş=łÐˇ=Þˇ=½ž=
¾¼Ý˙þš½š=¸=Þˇ=½ž=ýš½ˇ¾˚¹š½š=ýš=ˇ³¾˙ÝšÐˇK

≥ Â=³¼ÞÐ³½ćýšÞž=¦š¹ý−ð¹ˇ³˝ˇ=łÐˇ=½ž=₣¹¸³ž=ðˇÐ=½ž=¾ĆÝˇþž=½ğÞ=ý×ˇ½ˇ¹ÐćÞ=š˝ÞˇÐ=
×š¹˝×−¼=OMŒ`K

≥ Â=ˇ×şŠ−³ž=½ğÞ=ý×ˇ½ˇ¹ÐćÞ=×š¹Ð−¹˝Žš½ˇÐ=³½Ð²=₣ˇýžÝ˚²=¦š¹ý−ð¹ˇ³˝š²I=ÐŠÐˇ˝½š¹ˇ=
ð˙½ğ=½−¼=MŒ`I=ðˇÐ=½−=½žÝ˚¾ğÞ−=ý×−¹š˝=Þˇ=ýž=ÝšÐ½−¼¹ł¸³šÐ=×¹−³ğ¹ÐÞ˙I=
ˇÞšþ˙¹½ž½ˇ=ˇ×ş=½žÞ=¼×−ÝšÐ×şýšÞž=šÞ˚¹łšÐˇ=½ž²=ý×ˇ½ˇ¹˝ˇ²K

≥ Â=̊ ð¦š³ž=½−¼=½žÝš¾ćÞ−¼=³š=̌ ð¹ˇ˝š²=¦š¹ý−ð¹ˇ³˝š²=ýšÐćÞšÐ=½ž=ŠÐ˙¹ðšÐˇ=Žğ¸²=½ž²=
ý×ˇ½ˇ¹˝ˇ²K
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≥ Â=ý×ˇ½ˇ¹˝ˇ=ý×−¹š˝=Þˇ=šð¾−¹½Ð³½š˝=ðˇÐ=Þˇ=š×ˇÞˇ¾−¹½Ð³½š˝=šðˇ½−Þ½˙Šš²=¾−¹˚²=
ˇÝÝ˙=ˇ¼½ş=˚₣šÐ=ğ²=³¼Þ˚×šÐˇ=½ž=³½ˇŠÐˇð¸=ýš˝ğ³ž=½ž²=ˇ×şŠ−³¸²=½ž²K=⁄½ˇÞ=−=
₣¹şÞ−²=₣¹¸³ž²=½ž²=ý×ˇ½ˇ¹˝ˇ²=E₣¹şÞ−²=−ýÐÝ˝ˇ²=ðˇÐ=₣¹şÞ−²=ˇÞˇý−Þ¸²F=ýšÐğ¦š˝=
ˇÐ³¦ž½˙=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=ˇł−¹˙³š½š=ý˝ˇ=Þ˚ˇ=ý×ˇ½ˇ¹˝ˇK

ÓÔÌÒÌıÂ

ËÁÎ‚ÛÎÌÒ=„ËÔÂÏÂÒ=Ò„=Ó„ÔÁÓÚ˜ÒÂ=flÎÚÁËflÚflÒÚflÒÂÒ=ÚÂÒ=ÍÓflÚflÔÁflÒ
flÓÌ=flÈÈÂ=ÍÓflÚflÔÁflI=ÍÂ=„Î‚„‚„Á·Í„ÎÌÛ=ÚÛÓÌÛ

flÓÌÔÔÁˆÚ„=ÚÁÒ=ıÔÂÒÁÍÌÓÌÁÂÍ„Î„Ò=ÍÓflÚflÔÁ„Ò=ÒÛÍÙ˜Îfl=Í„
ÚÁÒ=Òı„ÚÁË„Ò=Ì‚Â·Á„Ò

‚š˝½š=?fl×ş¹¹ÐĞž=½ž²=Í×ˇ½ˇ¹˝ˇ²?=³½ž=³šÝ˝Šˇ ONK

Ù¹−Þ½˝Šˇ=Ëš¹ˇ˝ˇ²
≥ ÍžÞ=ðˇÝĆ×½š½š=½−=š×˙Þğ=ý˚¹−²=½−¼=½žÝš¾ćÞ−¼=E³šÝK NTI=ˇ¹K ONF=ýš=½−=₣˚¹Ð=³ˇ²=ş½ˇÞ=½−=

₣¹ž³Ðý−×−Ðš˝½š=łÐˇ½˝=ý×−¹š˝=Þˇ=š×ž¹š˙³šÐ=½žÞ=ˇ×şŠ−³ž=½ž²=šÞ³ğýˇ½ğý˚Þž²Jðš¹ˇ˝ˇ²K=Â=
×−Ðş½ž½ˇ=³¼Þ−ýÐÝ˝ˇ²=šÞŠ˚₣š½ˇÐ=Þˇ=×š¹Ð−¹Ð³½š˝=ðˇÐ=ˇ¼½ş=¦ˇ=˚₣šÐ=³ˇÞ=ˇ×−½˚Ýš³ýˇ=
ýšÐğý˚Þ−¼²=₣¹şÞ−¼²=−ýÐÝ˝ˇ²=ðˇÐ=ˇÞˇý−Þ¸²=š×šÐŠ¸=½−=ðÐÞž½ş=½žÝ˚¾ğÞ−=šÞŠš₣−ý˚Þğ²=Þˇ=
₣¹šÐˇ³½š˝=Þˇ=ÝšÐ½−¼¹ł¸³šÐ=ýš=×š¹Ð³³ş½š¹ž=Ð³₣Ć=ˇ×ş=½žÞ=ˇ×ˇÐ½−ĆýšÞžK
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≥ ı¹ž³Ðý−×−Ð¸³½š=ýşÞ−Þ=½žÞ=ðš¹ˇ˝ˇ=×−¼=×ˇ¹ˇŠ˝Šš½ˇÐ=ýš=½ž=³¼³ðš¼¸=¸=ý˝ˇ=ðš¹ˇ˝ˇ=
šłðšð¹Ðý˚Þž=ˇ×ş=½ž=pÜ~êé=łÐˇ=½ž=₣¹¸³ž=ýš=½−=ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−K=Â=₣¹¸³ž=
½¹−×−×−Ðžý˚ÞğÞ=¸=ýž=šłðšð¹Ðý˚ÞğÞ=ðš¹ˇÐćÞ=ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³šÐ=ŁÝ˙Łš²=³½−=
ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−K=„×Ð×¹ş³¦š½ˇI=šÞŠ˚₣š½ˇÐ=Þˇ=×ˇ¹ˇŁÐˇ³½−ĆÞ=−Ð=Ð³₣Ć−Þ½š²=
ðˇÞ−ÞÐ³ý−˝I=Þˇ=ýšÐğ¦š˝=ž=ˇ×şŠ−³ž=½−¼=ðÐÞž½−Ć=½žÝš¾ćÞ−¼=¸=ˇ¼½ş=Þˇ=¼×š¹Łš˝=½Ð²=
−¹Ðˇð˚²=½Ðý˚²=p^oK

≥ ·Ðˇ=Þˇ=ˇ×−¾Ćłš½š=½ž=ýšÐğý˚Þž=ˇ×şŠ−³žI=ýžÞ=×¹−ðˇÝš˝½š=ŽžýÐ˚²=³½žÞ=ðš¹ˇ˝ˇ=½−¼=
ðÐÞž½−Ć=³ˇ²=½žÝš¾ćÞ−¼K

≥ ⁄½ˇÞ=ýÐÝ˙½š=ˇ×š¼¦š˝ˇ²=³½−=ýÐð¹ş¾ğÞ−I=ð¹ˇ½¸³½š=½−=ðÐÞž½ş=½žÝ˚¾ğÞ−=˚½³Ð=ć³½š=ž=
ðš¹ˇ˝ˇ=Þˇ=˚₣šÐ=ðˇ½šĆ¦¼Þ³ž=š×˙Þğ=ˇ×ş=½−Þ=ćý−=³ˇ²K

≥ ·Ðˇ=Þˇ=ˇ×−¾Ćłš½š=½¼₣şÞ=×ˇ¹šýŁ−Ý˚²=³š=₣ć¹−¼²=ş×−¼=×¹ˇłýˇ½−×−Ð−ĆÞ½ˇÐ=
₣šÐ¹Ð³ý−˝=šð¹žð½ÐðćÞ=¸=³š=×š¹Ð−₣˚²=ş×−¼=¼×˙¹₣šÐ=³¸ýˇÞ³ž=?¼×−₣¹šğ½Ðð¸²=
ˇ×šÞš¹ł−×−˝ž³ž²=J×−ý×−Ššð½ćÞ?=×ˇ¹ˇðˇÝ−Ćýš=ˇ×šÞš¹ł−×−Ð¸³½š=½−=ðÐÞž½ş=³ˇ²=
½žÝ˚¾ğÞ−K
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ÈšÐ½−¼¹ł˝ˇ=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²
≥ Í˙¦š½š=łÐˇ=½žÞ=×−Ðş½ž½ˇ=½ğÞ=¾ğ½−ł¹ˇ¾ÐćÞI=½ˇ=¾−¹ý˙=ˇ¹₣š˝ğÞ=ðÝ×K

ÌÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=Ý¸¾¦žðˇÞ=ý×−¹−ĆÞ=Þˇ=ˇ×−¦žðš¼½−ĆÞ=³š=¾−¹ý˙=gmbdK
≥ Ë¹ˇ½¸³½š=³½ˇ¦š¹ş=½−=₣˚¹Ð=³ˇ²=ş½ˇÞ=¾ğ½−ł¹ˇ¾˝Žš½šK

„˙Þ=½−=½žÝ˚¾ğÞ−=ð−¼Þž¦š˝=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=½ž²=¾ğ½−ł¹˙¾ž³ž²I=ž=¾ğ½−ł¹ˇ¾˝ˇ=
¦ˇ=š˝ÞˇÐ=¦−Ý¸K=⁄½ˇÞ=¾ğ½−ł¹ˇ¾˝Žš½šI=ð¹ˇ½¸³½š=³½ˇ¦š¹˙=½−=½žÝ˚¾ğÞ−=¸=
₣¹ž³Ðý−×−Ð¸³½š=½−=₣¹−Þ−ŠÐˇðş×½ž=ðˇ¦¼³½˚¹ž³ž²K

≥ Ëˇ¦ˇ¹˝³½š=½−=ð˙Ý¼ýýˇ=½−¼=¾ˇð−Ć=×¹ÐÞ=½¹ˇŁ¸þš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇK
Úˇ=Šˇð½¼ÝÐð˙=ˇ×−½¼×ćýˇ½ˇI=−Ð=ÝÐ×ˇ¹−˝=Ýšð˚Šš²=ðÝ×K=š×˙Þğ=³½−=ð˙Ý¼ýýˇ=½−¼=
¾ˇð−Ć=šý×−Š˝Ž−¼Þ=½ž=³ğ³½¸=š³½˝ˇ³žK=Ëˇ¦ˇ¹˝³½š=½−=ð˙Ý¼ýýˇ=½−¼=¾ˇð−Ć=ýš=˚Þˇ=
ýˇÝˇðş=×ˇÞ˝=×¹ÐÞ=½¹ˇŁ¸þš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇK

‚Ð˙¾−¹ˇ
≥ ⁄×ğ²=³¼ýŁˇ˝ÞšÐ=ðˇÐ=³š=ð˙¦š=žÝšð½¹−ÞÐð¸=³¼³ðš¼¸=̌ ×−¦¸ðš¼³ž²=ŠšŠ−ý˚ÞğÞ=̊ ½³Ð=

ðˇÐ=šŠćI=¼×˙¹₣šÐ=×š¹˝×½ğ³ž=Þˇ=₣ˇ¦−ĆÞ=¸=Þˇ=ðˇ½ˇ³½¹ˇ¾−ĆÞ=ŠšŠ−ý˚Þˇ=¼×ş=
−¹Ð³ý˚Þš²=³¼Þ¦¸ðš²K
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≥ Ó¹ÐÞ=³¼ÞŠ˚³š½š=½−=½žÝ˚¾ğÞ−=ýš=˚ÞˇÞ=¼×−Ý−łÐ³½¸=¸=ý˝ˇ=×š¹Ð¾š¹šÐˇð¸=ý−Þ˙ŠˇI=
ŠÐˇŁ˙³½š=½Ð²=−Šžł˝š²=ÝšÐ½−¼¹ł˝ˇ²=½ž²=˙ÝÝž²=³¼³ðš¼¸²K

≥ „˙Þ=ž=ý×ˇ½ˇ¹˝ˇ=̌ ¾ˇÐ¹˚¦žðš=̌ ×ş=½−=½žÝ˚¾ğÞ−=łÐˇ=̌ ¹ðš½ş=₣¹−ÞÐðş=ŠÐ˙³½žýˇI=̧ =š˙Þ=
×¹ˇłýˇ½−×−Ð¸¦žðš=š×ˇÞˇ¾−¹˙=½ğÞ=¹¼¦ý˝³šğÞ=½−¼=½žÝš¾ćÞ−¼=×Ð¦ˇÞşÞ=Þˇ=
ˇ×ˇÐ½š˝½ˇÐ=š×ˇÞˇ¹¹Ć¦ýÐ³ž=½−¼=¹−Ý−łÐ−Ć=ðˇÐ=½−¼=žýš¹−Ý−ł˝−¼K=Òš=ˇ¼½¸=½žÞ=
×š¹˝×½ğ³žI=¦ˇ=×¹˚×šÐ=Þˇ=šÞžýš¹ğ¦š˝=ž=žýš¹−ýžÞ˝ˇ=ðˇÐ=ž=ć¹ˇK

Ó„ÔÁ‡flÈÈÌÎ
≥ Ù¼Ý˙þ½š=½−=½žÝ˚¾ğÞ−=ýˇð¹Ð˙=ˇ×ş=×žł˚²=˚Þ½−Þž²=¦š¹ýş½ž½ˇ²K=ÍžÞ=½−=ˇ¾¸Þš½š=

³½−=½ˇý×Ýş=ˇ¼½−ðÐÞ¸½−¼=¸=ð−Þ½˙=³š=˚Þˇ=¦š¹ýˇÞ½Ððş=³ćýˇK=ÍžÞ=½−=ˇ¾¸Þš½š=³š=
₣ć¹−¼²=ýš=¼×š¹Ł−ÝÐð¸=¼ł¹ˇ³˝ˇ=¸=³ðşÞžK

≥ Ú−=×¹−İşÞ=ŠšÞ=š˝ÞˇÐ=ˇŠÐ˙Ł¹−₣−K=·Ðˇ=½−=Ýşł−=ˇ¼½şI=ýžÞ=½−=₣¹ž³Ðý−×−Ðš˝½š=ðˇÐ=ýžÞ=
½−=¾¼Ý˙³³š½š=³š=³žýš˝ˇ=ş×−¼=ý×−¹š˝=Þˇ=˚¹¦šÐ=³š=š×ˇ¾¸=ýš=¼ł¹˙I=×K₣K=Þˇ=Ł¹ˇ₣š˝=
ýš=Þš¹şK=ÌÐ=³½ˇłşÞš²=Ł¹−₣¸²I=½ˇ=³½ˇł−Þ˝ŠÐˇ=Þš¹−ĆI=−=₣¼ýş²I=−=ðˇ¾˚²I=−Ð=
¼Š¹ˇ½ý−˝I=½ˇ=³×¹˚Ð=ðÝ×K=ý×−¹−ĆÞI=š×˝³ž²I=Þˇ=×¹−ðˇÝ˚³−¼Þ=Š¼³ÝšÐ½−¼¹ł˝š²=½ž²=
³¼³ðš¼¸²K
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ÓÔÌÙÛÈflÏ„ÁÒ=Òı„ÚÁËfl=Í„=ÚÂ=ıÔÂÒÂ=Ò„=ÌıÂÍflÚfl
≥ fl×−½šÝš˝=š¼¦ĆÞž=½−¼=₣¹¸³½ž=Þˇ=šÝ˚łþšÐ=½Ð²=ðˇ½˙=½ş×−¼²=Þ−ý−¦š³˝š²=×−¼=ŠÐ˚×−¼Þ=

½ž=₣¹¸³ž=½−¼=½žÝš¾ćÞ−¼=ý˚³ˇ=³š=−₣¸ýˇ½ˇK=‚ć³½š=½ž=ý˚łÐ³½ž=×¹−³−₣¸=³½žÞ=
−Š¸łž³žK=Ò½ˇýˇ½¸³½š=³½žÞ=˙ð¹ž=½−¼=Š¹şý−¼I=³½ˇ¦ýšĆ³½š=½−=ş₣žýˇI=³Ł¸³½š=½−Þ=
ðÐÞž½¸¹ˇ=×¹ÐÞ=ˇ×ˇÞ½¸³š½š=¸=×¹ˇłýˇ½−×−Ð¸³š½š=ð˙×−Ðˇ=ðÝ¸³žK

≥ Â=₣¹¸³ž=½−¼=½žÝš¾ćÞ−¼=ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³šÐ=×ˇ¹šýŁ−Ý˚²=³½ˇ=žÝšð½¹−ÞÐð˙=
³¼³½¸ýˇ½ˇ=½−¼=−₣¸ýˇ½−²=ş×ğ²=š˝ÞˇÐ=×K₣K=½−=³Ć³½žýˇ=^_p=¸=−=ˇš¹ş³ˇð−²K=·Ðˇ=Þˇ=
ŁšŁˇÐğ¦š˝½š=ş½Ð=ŠšÞ=¦ˇ=×ˇ¹−¼³Ðˇ³½š˝=ð˙×−Ð−=×¹şŁÝžýˇI=×ˇ¹ˇðˇÝ−Ćýš=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=ˇÞ½Ð×¹ş³ğ×−=¸=½−Þ=ðˇ½ˇ³ðš¼ˇ³½¸=½−¼=−₣¸ýˇ½−²=
×¹ÐÞ=³¼ÞŠ˚³š½š=½−=½žÝ˚¾ğÞ−K

≥ flÞˇ¦˚³½š=½žÞ=šłðˇ½˙³½ˇ³ž=½ğÞ=ˇþš³−¼˙¹=ˇ¼½−ðÐÞ¸½−¼=ýşÞ−=³š=
šþ−¼³Ð−Š−½žý˚Þ−=ðˇÐ=ðˇ½˙ÝÝžÝˇ=šð×ˇÐŠš¼ý˚Þ−=½š₣ÞÐðş=×¹−³ğ×ÐðşK

Ì=ðˇ½ˇ³ðš¼ˇ³½¸²=Šš=¾˚¹šÐ=ðˇý˝ˇ=š¼¦ĆÞž=łÐˇ=¾¦−¹˚²=¸=ŁÝ˙Łš²=×−¼=¦ˇ=×¹−ðÝž¦−ĆÞ=
ˇ×ş=½ž=ýž=×¹−ŁÝš×şýšÞž=₣¹¸³ž=¸=½ž=ýž=½¸¹ž³ž=½ğÞ=¼×−Šš˝þšğÞ=×−¼=ˇÞˇ¾˚¹−Þ½ˇÐ=
³½Ð²=×ˇ¹−Ć³š²=−Šžł˝š²K
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p^o
Ú−=ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−=pÜ~êé=³₣šŠÐ˙³½žðšI=ðˇ½ˇ³ðš¼˙³½žðš=ðˇÐ=šÝ˚ł₣¦žðš=˚½³Ð=
ć³½š=Þˇ=ýžÞ=¼×š¹Łˇ˝ÞšÐ=½ˇ=ş¹Ðˇ=˚ð¦š³ž²=³š=žÝšð½¹−ýˇłÞž½Ðð¸=ˇð½ÐÞ−Ł−Ý˝ˇ=×−¼=
³¼ÞÐ³½˙=ž=„¼¹ğ×ˇİð¸=„×Ð½¹−×¸K=Úˇ=ş¹Ðˇ=ˇ¼½˙=ˇ×−½šÝ−ĆÞ=ý˚¹−²=½ğÞ=š¼¹Ć½š¹ğÞ=
ðˇÞ−ÞÐ³ýćÞ=×−¼=¦š³×˝³½žðˇÞ=ˇ×ş=ˇÞšþ˙¹½ž½−¼²=š×Ð³½žý−ÞÐð−Ć²=−¹łˇÞÐ³ý−Ć²K=ÌÐ=
ðˇÞ−ÞÐ³ý−˝=ˇ¼½−˝=×š¹ÐÝˇýŁ˙Þ−¼Þ=−¼³Ðˇ³½Ðð˚²=¼×−Šš˝þšÐ²=×−¼=³₣šŠÐ˙³½žðˇÞ=šÐŠÐð˙=
łÐˇ=½žÞ=×¹−³½ˇ³˝ˇ=½−¼=₣¹¸³½ž=ðˇÐ=½ğÞ=˙ÝÝğÞ=×¹−³ć×ğÞI=ÝˇýŁ˙Þ−Þ½ˇ²=¼×D=şĞÐÞ=½Ð²=
ŠÐˇ¾−¹˚²=žÝÐð˝ˇ²=ðˇÐ=¼łš˝ˇ²I=½Ð²=×¹−³ğ×Ðð˚²=š¼ˇÐ³¦ž³˝š²=½ğÞ=×¹−³ć×ğÞ=ðˇÐ=½Ð²=
×š¹ÐŁˇÝÝ−Þ½−Ý−łÐð˚²=³¼Þ¦¸ðš²K=Úˇ=š¼¹ğ×ˇİð˙=×¹ş½¼×ˇ=−¹˝Ž−¼Þ=ş½Ð=ž=ý˚½¹ž³ž=½ž²=
×−³ş½ž½ˇ²=žÝšð½¹−ýˇłÞž½Ðð¸²=šÞ˚¹łšÐˇ²=³š=¹ˇŠÐ−¾ğÞÐð˚²=³¼₣Þş½ž½š²=×−¼=
ˇ×−¹¹−¾−ĆÞ½ˇÐ=ˇ×ş=½−=ˇÞ¦¹ć×ÐÞ−=³ćýˇ=ðˇ½˙=½ž=₣¹¸³ž=ðÐÞž½−Ć=½žÝš¾ćÞ−¼=¦ˇ=
×¹ˇłýˇ½−×−Ðš˝½ˇÐ=³Ćý¾ğÞˇ=ýš=½−Þ=³¼Þ½šÝš³½¸=p^o=EpéÉÅáÑáÅ=^Äëçêéíáçå=o~íÉFK=Ú−=
ş¹Ð−=p^o=−¹˝Žš½ˇÐ=³½ˇ=O=t~ííLâÖ=łÐˇ=ð˙¦š=NM=ł¹ˇýý˙¹Ðˇ=Ð³½−ĆK=Â=½Ðý¸=p^o=³½−=ðÐÞž½ş=
³ˇ²=½žÝ˚¾ğÞ−=pÜ~êé=ˇÞ˚¹₣š½ˇÐ=³š=MISPU=tLhÖK=Íš=½−Þ=ˇÞ½˝³½−Ð₣−=˚Ýšł₣−I=
ŁšŁˇÐćÞš½ˇÐ=ş½Ð=ŠšÞ=ł˝Þš½ˇÐ=¼×˚¹Łˇ³ž=½−¼=−¹˝−¼=ˇðşýž=ðˇÐ=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=
ÝšÐ½−¼¹łš˝=ýš=½ž=ý˚łÐ³½ž=×Ð³½−×−Ðžý˚Þž=šÞ˚¹łšÐˇK=̃ ³½ş³−=½−=ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−=
pÜ~êé=ý×−¹š˝=Þˇ=ÝšÐ½−¼¹łš˝=ýš=ýÐð¹ş½š¹ž=šÞ˚¹łšÐˇ=ˇ×ş=½ž=ý˚łÐ³½ž=×¹−ŁÝš×şýšÞž=
ˇ¾−Ć=˚₣šÐ=³₣šŠÐˇ³½š˝=˚½³Ð=ć³½š=Þˇ=₣¹ž³Ðý−×−Ðš˝=ýşÞ−Þ=½žÞ=ˇ×ˇÐ½−ĆýšÞž=šÞ˚¹łšÐˇ=
łÐˇ=½žÞ=š×Ðð−ÐÞğÞ˝ˇ=ýš=½−=Š˝ð½¼−K
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ÓÔÌÙÛÈflÏ„ÁÒ=·Áfl=ıÔÂÒÂ=ÒÚÁÒ=ÂÓfl
FCC Declaration of Conformity
This mobile phone 902SH with PC/Data interface cable XN-1DC30 complies with part 15 of 
the FCC Rules.
Operation is subject to the following two conditions:
(1) This device may not cause harmful interference, and
(2) this device must accept any interference received, including interference that may 

cause undesired operation.
Responsible Party:

SHARP ELECTRONICS CORPORATION
Sharp Plaza, Mahwah, New Jersey 07430
TEL: 1-800-BE-SHARP

Tested To Comply With FCC Standards
FOR HOME OR OFFICE USE

FCC Notice
The phone may cause TV or radio interference if used in close proximity to receiving 
equipment. The FCC can require you to stop using the phone if such interference cannot be 
eliminated.

Information To User
This equipment has been tested and found to comply with the limits of a Class B digital 
device, pursuant to Part 15 of the FCC Rules. These limits are designed to provide 
reasonable protection against harmful interference in a residential installation. This 
equipment generates, uses and can radiate radio frequency energy and, if not installed and 
used in accordance with the instructions, may cause harmful interference to radio 
communications.
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However, there is no guarantee that interference will not occur in a particular installation; if 
this equipment does cause harmful interference to radio or television reception, which can 
be determined by turning the equipment off and on, the user is encouraged to try to correct 
the interference by one or more of the following measures:
NK Reorient/Relocate the receiving antenna.

OK Increase the separation between the equipment and receiver.

PK Connect the equipment into an outlet on a circuit different from that to which the 
receiver is connected.

QK Consult the dealer or an experienced radio/TV technician for help.
CAUTION: Changes or modifications not expressly approved by the manufacturer 
responsible for compliance could void the user’s authority to operate the equipment.

Exposure to Radio Waves

THIS MODEL PHONE MEETS THE GOVERNMENT’S REQUIREMENTS FOR EXPOSURE 
TO RADIO WAVES.
Your wireless phone is a radio transmitter and receiver. It is designed and manufactured not 
to exceed the emission limits for exposure to radio frequency (RF) energy set by the Federal 
Communications Commission of the U.S. Government. These limits are part of 
comprehensive guidelines and establish permitted levels of RF energy for the general 
population. The guidelines are based on standards that were developed by independent 
scientific organizations through periodic and thorough evaluation of scientific studies. The 
standards include a substantial safety margin designed to assure the safety of all persons, 
regardless of age and health.
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The exposure standard for wireless mobile phones employs a unit of measurement known 
as the Specific Absorption Rate, or SAR. The SAR limit set by the FCC is 1.6W/kg.* Tests 
for SAR are conducted using standard operating positions specified by the FCC with the 
phone transmitting at its highest certified power level in all tested frequency bands. 
Although the SAR is determined at the highest certified power level, the actual SAR level of 
the phone while operating can be well below the maximum value. This is because the phone 
is designed to operate at multiple power levels so as to use only the power required to reach 
the network. In general, the closer you are to a wireless base station antenna, the lower the 
power output.
Before a phone model is available for sale to the public, it must be tested and certified to 
the FCC that it does not exceed the limit established by the government-adopted 
requirement for safe exposure. The tests are performed in positions and locations (e.g., at 
the ear and worn on the body) as required by the FCC for each model. The highest SAR value 
for this model phone when tested for use at the ear is 0.530 W/kg and when worn on the 
body, as described in this user guide, is 0.386 W/kg. Body-worn Operation; This device was 
tested for typical body-worn operations with the back of the phone kept 1.5 cm from the 
body. To maintain compliance with FCC RF exposure requirements, use accessories that 
maintain a 1.5 cm separation distance between the user’s body and the back of the phone. 
The use of belt-clips, holsters and similar accessories should not contain metallic 
components in its assembly.
The use of accessories that do not satisfy these requirements may not comply with FCC RF 
exposure requirements, and should be avoided. While there may be differences between 
the SAR levels of various phones and at various positions, they all meet the government 
requirement for safe exposure.
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The FCC has granted an Equipment Authorization for this model phone with all reported SAR 
levels evaluated as in compliance with the FCC RF emission guidelines. SAR information on 
this model phone is on file with the FCC and can be found under the Display Grant section 
of http://www.fcc.gov/oet/fccid after searching on FCC ID APYHRO00038.
Additional information on Specific Absorption Rates (SAR) can be found on the Cellular 
Telecommunications & Internet Association (CTIA) web-site at http://www.phonefacts.net.
* In the United States and Canada, the SAR limit for mobile phones used by the public is 

1.6 watts/kg (W/kg) averaged over one gram of tissue. The standard incorporates a 
substantial margin of safety to give additional protection for the public and to account for 
any variations in measurements.
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Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙=ðˇÐ=Ó¹−ˇÐ¹š½Ðð˙=ˇþš³−¼˙¹

Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙
‡˙¹−²W= Óš¹˝×−¼=NQV=ł¹K=Eýš=ý×ˇ½ˇ¹˝ˇF
‚Ðˇ³½˙³šÐ²=EÓ=×=Û=×=‡FW= Óš¹˝×−¼=RM=×=NMO=×=OS=ãã=E₣ğ¹˝²=½ˇ=ý˚¹ž=×−¼=

×¹−šþ˚₣−¼ÞF
Í×ˇ½ˇ¹˝ˇW= ÁşÞ½ğÞ=ÈÐ¦˝−¼I=PIT=sI=UTM=ã^Ü

Ó¹−ˇÐ¹š½Ðð˙=ˇþš³−¼˙¹
≥ Í×ˇ½ˇ¹˝ˇ=ÁşÞ½ğÞ=ÈÐ¦˝−¼=EukJN_qVMF
≥ Ù−¹½Ð³½¸²=ˇ¼½−ðÐÞ¸½−¼=EukJN`iPMF
≥ ËˇÝćŠÐ−=”š½ˇ¾−¹˙²=ŠšŠ−”˚ÞğÞ=rp_=EukJNa`PMF
≥ Ù−¹½Ð³½¸=šÞˇÝÝˇ³³ş”šÞ−¼=¹šĆ”ˇ½−²=E^`F=EukJNn`PNF
≥ ËˇÝćŠÐ−=„þğ½š¹Ðð¸²=Ëš¹ˇ˝ˇ²=EukJN^qVMF
≥ ÚžÝš₣šÐ¹Ð³½¸¹Ð−=◊₣−¼=EukJN^oVMF
≥ ‡˙³ž=fl¼½−ðÐÞ¸½−¼=EukJN`eVMF
≥ „×Ð½¹ˇ×˚ŽÐˇ=‡˙³ž=EukJNaeVMF
≥ Ò½š¹š−¾ğÞÐðş=flð−¼³½Ððş=EukJNepVMF
≥ Í−Þ˙Šˇ=ÍÐð¹−¾ćÞ−¼=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞ=EukJNerVMF
≥ ËˇÝćŠÐ−=sáÇÉç=EukJNs`VMF
Úˇ=×¹−ˇÞˇ¾š¹şýšÞˇ=ˇþš³−¼˙¹=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýˇ=³š=şÝš²=½Ð²=₣ć¹š²K

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=³ˇ²=ˇÞ½Ð×¹ş³ğ×−K



OQP

„¼¹š½¸¹Ð−

j
jÉÇá~=mä~óÉê=NNM

jìëáÅ=mä~óÉê=NNM
sáÇÉç=éä~óÉê=NNP
„ÞˇÝÝˇł¸=ýš½ˇþĆ=½−¼=jìëáÅ=mä~óÉê=ðˇÐ=

½−¼=sáÇÉç=mä~óÉê=NNM
jìëáÅ=mä~óÉê

píêÉ~ãáåÖ=NNO
flÞˇŽ¸½ž³ž=šÞş²=fl¹₣š˝−¼=·Ðˇ=

flÞˇ×ˇ¹ˇłğł¸=NNN
flÞˇ×ˇ¹ˇłğł¸=NNM
Ó¹−³¦¸ðž=fl¹₣š˝−¼=³½ž=È˝³½ˇ=

flÞˇ×ˇ¹ˇłğł¸²=NNN
Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=

flÞˇ×ˇ¹ˇłğł¸²=NNP

p
pÅêÉÉåë~îÉêë=NQR

Ì¹Ð³ýş²=„¾ˇ¹ý−ł¸²=NQS

s
sáÇÉç=`äáé

flÞˇ×ˇ¹ˇłğł¸=NOQ
fl×−³½−Ý¸=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=NOR
„ÞˇÝÝˇł¸=½ž²=Óžł¸²=ÍÞ¸ýž²=NOQ
È¸Ğž=NOU
Ùş¹½ğ³ž=NOU
ı¹¸³ž=NOR

sáÇÉç=mä~óÉê=NNP
flÞˇŽ¸½ž³ž=šÞş²=fl¹₣š˝−¼=·Ðˇ=

flÞˇ×ˇ¹ˇłğł¸=NNQ
flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=sáÇÉç=`äáé=NNP
‚žýÐ−¼¹ł˝ˇ=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=

flÞˇ×ˇ¹ˇłğł¸²=NNR

„×šþš¹łˇ³˝ˇ=fl¹₣š˝ğÞ=sáÇÉç=`äáé=NNS
Ó¹−³¦¸ðž=fl¹₣š˝−¼=³½ž=È˝³½ˇ=

flÞˇ×ˇ¹ˇłğł¸²=NNQ
Ô−¸=EëíêÉ~ãáåÖF=NNR
Ùğ½Ð³ýş²=NNS

sçÇ~ÑçåÉ=äáîÉ>=NMR
sçÇ~ÑçåÉ=jÉåì=NTM

t
t^m=_êçïëÉê

„ðð˝Þž³ž=NMS
ÍšÞ−Ć=_êçïëÉê=NMT
Óš¹Ð¸łž³ž=³š=ý˝ˇ=ÒšÝ˝Šˇ=t^m=NMS

fl
flð−¼³½Ððş=NQ
flÞ½˝ł¹ˇ¾−L„×ˇÞˇ¾−¹˙=OOM

flÞ½˝ł¹ˇ¾ˇ=fl³¾ˇÝš˝ˇ²=⁄ÝğÞ=½ğÞ=
fl¹₣š˝ğÞ=OOM

„×ˇÞˇ¾−¹˙=šÞş²=flÞ½Ðł¹˙¾−¼=
fl³¾ˇÝš˝ˇ²=OON

flÞ½Ðýš½ć×Ð³ž=×¹−ŁÝžý˙½ğÞ=OOT
flÞ½˝³½¹−¾ž=Í˚½¹ž³ž

„×šþš¹łˇ³˝ˇ=½−¼=ı¹şÞ−¼=flÞ½˝³½¹−¾ž²=
Í˚½¹ž³ž²=NSU

fl¹Ð¦ý−ýž₣ˇÞ¸=NRR
fl¹Ð³½š¹ş=ÓÝ¸ð½¹−=„Ý˚ł₣−¼=NQ
fl¹₣š˝−=ËÝ¸³šğÞ=OMO

fl×−³½−Ý¸=ÍžÞ¼ý˙½ğÞ=OMO
‚Ðˇł¹ˇ¾¸=OMP
Ó¹−Ł−Ý¸=OMO

fl³¾˙ÝšÐˇ=NVT
flÝÝˇł¸=½−¼=ËğŠÐð−Ć=mfkO=NVU
„ý¾˙ÞÐ³ž=fl×−¹¹¸½ğÞ=Ò½−Ð₣š˝ğÞ=OMM

„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=
ðğŠÐð−Ć=mfk=NVT

ËÝš˝Šğýˇ=ÚžÝš¾ćÞ−¼=NVV
fl½Ž˚Þ½ˇ=NQV

flÞ½˝³½¹−¾ž=Í˚½¹ž³ž=NST
fl¹Ð¦ý−ýž₣ˇÞ¸=NRR
‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼=NSV
„¹łˇ³˝š²=NSP
Âýš¹−ÝşłÐ−=NQV
Â₣−ł¹˙¾ž³ž=ÙğÞ¸²=NRT
Ï¼×Þž½¸¹Ðˇ=NRP
Óˇłðş³ýÐ−=Ô−ÝşÐ=NSS
Òˇ¹ğ½¸²=NRU
Òžýš˝ğ³ž=„þşŠğÞ=NSU
ı¹−Þşýš½¹−=NSO

‡
‡−ž¦ž½Ðð¸=Ì¦şÞž=NT
‡−ž¦ž½Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=
E„³ğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸F=NR
‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼=NSV

‚
‚šþ˝=ÓÝ¸ð½¹−=„Ý˚ł₣−¼=NR
‚Ðš¦Þš˝²=ðÝ¸³šÐ²=PT

„
„ð×−ý×¸=Ë¼Ğ˚Ýž²=VU

flÞ˙łÞğ³ž=VU
„łł¹ˇ¾¸=³½žÞ=Û×ž¹š³˝ˇ=VV
„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=

„ð×−ý×¸²=Ë¼Ğ˚Ýž²=VU
„×ÐÝ−ł¸=·Ýğ³³ćÞ=VU

„ÞŠš˝þšÐ²=−¦şÞž²=OV



OQQ

„¼¹š½¸¹Ð−

÷ÞŠšÐþž=³½˙¦ýž²=¾ş¹½Ð³ž²=ý×ˇ½ˇ¹˝ˇ²=OP
„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=½−¼=
pÅêÉÉåë~îÉê=NQR
„Þš¹ł−×−˝ž³ž=ðˇÐ=ˇ×šÞš¹ł−×−˝ž³ž=½−¼=
½žÝš¾ćÞ−¼=³ˇ²=OS
„Þ³ğýˇ½ğý˚Þž=Ëš¹ˇ˝ˇ=NT
÷Þ½ˇ³ž=ˇð−¼³½Ðð−Ć=QM
„þğ½š¹Ðð¸=Û×−Š−₣¸=NT
„þğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=NT
„×ˇÞ˙ðÝž³ž=PU
„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ=OMN
„×ÐÝ−ł¸=Ó−Ðş½ž½ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²=NVR
„¹łˇ³˝š²

fl×−³½−Ý¸=NSR
‚žýÐ−¼¹ł˝ˇ=NSP
‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=NSS
„×šþš¹łˇ³˝ˇ=NSQ
Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²=NSR
ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−Ć=NSP

„¾ˇ¹ý−ł˚²=g~î~∑=NQP

Â
Âýš¹−ÝşłÐ−

fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=
ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²=NRM

‚žýÐ−¼¹ł˝ˇ=NQV
‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=

ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²=NRO
„×šþš¹łˇ³˝ˇ=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=

ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²=NRN
È¸Ğž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=

ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²=NRN

Ó¹−Ł−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=
ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²=NRN

Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²=NRO
Â₣−ł¹˙¾ž³ž=ÙğÞ¸²=NRT

fl×−³½−Ý¸=NRT
„×ÐÝ−ł¸=Ê˚³ž²=fl×−¦¸ðš¼³ž²=NRU
Â₣−ł¹˙¾ž³ž=NRT
Ó¹−Ł−Ý¸=ı¹şÞ−¼=„łł¹ˇ¾¸²=NRU

◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýˇ½ˇ
flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=◊₣−¼=NOV
fl×−³½−Ý¸=šÞş²=fl¹₣š˝−¼=◊₣−¼=NPM
„ÞˇÝÝˇł¸=½ž²=Óžł¸²=ÍÞ¸ýž²=NOV
È¸Ğž=NPP
Ùş¹½ğ³ž=NPP
ı¹¸³ž=NPN
ı¹¸³ž=½ğÞ=◊₣ğÞ=ğ²=◊₣−¼²=

Ë−¼Š−¼Þ˝³ýˇ½−²=NPM

Ê
Ê˚³ž=Ì¦şÞž²

ËˇÞ−ÞÐð¸=Ê˚³ž=PP
ÊĆ¹ˇ=Û×˚¹¼¦¹ğÞ=NU

Ë
Ë˙Ý¼ýýˇ=Í×ˇ½ˇ¹˝ˇ²=NT
Ë˙Ý¼ýýˇ=Û×−Š−₣¸²=Ë˙¹½ˇ²=ÍÞ¸ýž²=NU
Ë˙¹½ˇ=pfj=OM

fl¾ˇ˝¹š³ž=ON
Ú−×−¦˚½ž³ž=OM

Ë˙¹½ˇ=ýÞ¸ýž²
fl¾ˇ˝¹š³ž=OS
Ú−×−¦˚½ž³ž=OR

ËšÞ½¹Ððş=ÓÝ¸ð½¹−=NQI=OV
ËÝš˝Šğýˇ=ÓÝžð½¹−Ý−ł˝−¼=OU

ËÝš˝Šğýˇ=Ò¼³ðš¼¸²=NVU
ËÝš˝Šğýˇ=Ò¼³ðš¼¸²=NVU

ËÝ¸³šÐ²=÷ð½ˇð½ž²=flÞ˙łðž²=PS
ËÝ¸³ž=sáÇÉç

fl×˙Þ½ž³ž=QS
fl×ş¹¹ÐĞž=QS
„ÞŠš˝þšÐ²=Ëˇ½˙³½ˇ³ž²=QR
„Þžý˚¹ğ³ž=½−¼=ËˇÝ−ĆÞ½−²=ş½Ð=š˝³½š=

fl×ˇ³₣−Ýžý˚Þ−²=QS
Ó¹ˇłýˇ½−×−˝ž³ž=QR

Ëş³½−²=ËÝ¸³šğÞ=OMQ
÷Ýšł₣−²=½−¼=Ëş³½−¼²=½ž²=ÚšÝš¼½ˇ˝ˇ²=

ËÝ¸³ž²=OMQ
÷Ýšł₣−²=½−¼=Ò¼Þ−ÝÐð−Ć=Ëş³½−¼²=

ËÝ¸³šğÞ=OMQ
÷Ýšł₣−²=½−¼=Û×şÝ−Ð×−¼=ÓÐ³½ğ½Ðð−Ć=

Ì¹˝−¼=OMR
ÍžŠšÞÐ³ýş²=½−¼=Ëş³½−¼²=⁄ÝğÞ=½ğÞ=

ËÝ¸³šğÞ=OMR
ÔĆ¦ýÐ³ž=½ž²=ı¹˚ğ³ž²=OMQ
ÔĆ¦ýÐ³ž=½−¼=Ì¹˝−¼=ı¹˚ğ³ž²=OMR

ËĆ¹Ðˇ=Ì¦şÞž=NR
ËğŠÐðş²=³¼³ðš¼¸²=NVV

È
ÈšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=OMS
ÈšÐ½−¼¹ł˝ˇ=¼×˚¹¼¦¹ğÞ=ONO
ÈšÐ½−¼¹ł˝š²

ÓÝ−¸łž³ž=PQ
ÈšÐ½−¼¹ł˝š²=ðÝ¸³ž²

flÞˇý−Þ¸=ðÝ¸³ž²=QO
È¸ĞšÐ²=g~î~∑=NQP

fl×−³½−Ý¸=NPT



OQR

„¼¹š½¸¹Ð−

‚Ðˇł¹ˇ¾¸=ý˝ˇ²=„¾ˇ¹ý−ł¸²=NQR
„ð½˚Ýš³ž=NPR
„Þš¹ł−×−˝ž³ž=fl¹₣š˝ğÞ=ýš=Ó¹−³½ˇ³˝ˇ=

ÓÞš¼ýˇ½ÐðćÞ=‚ÐðˇÐğý˙½ğÞ=
EaojF=NPS

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=½−¼=
pÅêÉÉåë~îÉê=NQR

È¸Ğž=NPU
È¸Ğž=EÇçïåäç~ÇáåÖF=NPQ
ÓÝž¹−¾−¹˝š²=g~î~∑=NQU
Ó¹−Ł−Ý¸=ÓÝž¹−¾−¹ÐćÞ=„¾ˇ¹ý−ł¸²=NQR
Ô¼¦ý˝³šÐ²=NQS
ÔĆ¦ýÐ³ž=„×Ð×˚Š−¼=fl³¾ˇÝš˝ˇ²=NQP
ÔĆ¦ýÐ³ž=Ó¹ş³Łˇ³ž²=‚Ðð½Ć−¼=NQQ
Ùş¹½ğ³ž=¿ÝÝğÞ=NPS
ı¹¸³ž=NPQ

È˝³½ˇ=„×ˇ¾ćÞ=RV
flÝÝˇł¸=Ëˇ½˙½ˇþž²=È˝³½ˇ²=„×ˇ¾ćÞ=SN
flÝÝˇł¸=³šÐ¹˙²=−Þ−ý˙½ğÞ=SM
flÝÝˇł¸=½ž²=Ý˝³½ˇ²=SM
flÞ½Ðł¹ˇ¾¸=SP
flÞ½Ð³½−˝₣ž³ž=šÞş²=¸₣−¼=

ð−¼Š−¼Þ˝³ýˇ½−²=¸=šÞş²=îáÇÉç=SS
fl×−³½−Ý¸=SU
‚žýÐ−¼¹ł˝ˇ=SN
‚Ðˇł¹ˇ¾¸=SQ
‚Ðˇ₣š˝¹Ð³ž=Ìý˙Šˇ²=SR
„×šþš¹łˇ³˝ˇ=SQ
„×ÐÝ−ł¸=½ž²=ýÞ¸ýž²=ˇ×−¦¸ðš¼³ž²=SN
„Ć¹š³ž=SP
Ëˇ½˙³½ˇ³ž=ýÞ¸ýž²=ST
ËÝ¸³ž=SP
È¸Ğž=ý˚³ğ=Û×˚¹¼¦¹ğÞ=¸=_äìÉíççíÜ=SV

È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²=ST
Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=³½Ð²=„×ˇ¾˚²=

ý−¼=SO
ÔĆ¦ýÐ³ž=³½ž=È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²=ST

È¼₣Þ˝ˇ=ËÐÞž½−Ć=NT

Í
ÍšÞ−Ć=ðˇÐ=³¼Þ½−ýšĆ³šÐ²=RN
ÍšÞ−Ć=ËÝ¸³šğÞ=EËÝ¸³ž=sáÇÉçF=QT

flÝÝˇł¸=½ž²=„ÐðşÞˇ²=Òˇ²=QT
„ÞˇÝÝˇł¸=„ÐðşÞğÞ=QT
„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½ğÞ=

Íšłˇ¾ćÞğÞ=QU
Ô¼¦ý˝³šÐ²=ËÝ¸³ž²=sáÇÉç=QV
Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼=QT
ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=Ì×½Ðð−Ć=wççã=

QU
ÍšÞ−Ć=ËÝ¸³šğÞ=EÙğÞž½Ðð¸=ËÝ¸³žF=QM

flÞˇý−Þ¸=ËÝ¸³ž²=QO
„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½ğÞ=

Íšłˇ¾ćÞğÞ=QN
ËÝ¸³ž=Ò¼ÞŠÐ˙³ðšĞž²=QO
Ó¹ş³Łˇ³ž=³½−=ÍšÞ−Ć=pjpLjjp=ðˇ½˙=

½ž=‚Ð˙¹ðšÐˇ=ý˝ˇ²=ËÝ¸³ž²=QN
ÔĆ¦ýÐ³ž=½ž²=÷Þ½ˇ³ž²=½−¼=flð−¼³½Ðð−Ć=

QM
Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼=QQ

Íš½¹ž½˚²=ËÝ¸³šğÞ=OMP
÷Ýšł₣−²=½ž²=‚Ð˙¹ðšÐˇ²=½ž²=ÚšÝš¼½ˇ˝ˇ²=

ËÝ¸³ž²=ðˇÐ=⁄ÝğÞ=½ğÞ=ËÝ¸³šğÞ=
OMP

ÍžŠšÞÐ³ýş²=Íš½¹ž½ćÞ=ËÝ¸³šğÞ=OMP

ÍžÞĆýˇ½ˇ=EjjpLpjpLbã~áäF
flÞ˙łÞğ³ž=jjp=VP
fl×˙Þ½ž³ž=VQ
fl×−¦¸ðš¼³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=

VP
fl×−ýˇð¹¼³ý˚Þž=Ó¹−ć¦ž³ž=VR
fl×−³½−Ý¸=ÍžÞĆýˇ½−²=̌ ×ş=½ˇ=Ó¹ş₣šÐ¹ˇ=

VO
·šÞÐð˚²=Ô¼¦ý˝³šÐ²=NMN
‚žýÐ−¼¹ł˝ˇ=UT
ËÝš˝Šğýˇ=¸=ÏšðÝš˝Šğýˇ=VS
ËÝ¸³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=VP
È¸Ğž=EÇçïåäç~ÇáåÖF=VQ
Ó¹−ć¦ž³ž=VR
Ô¼¦ý˝³šÐ²=bã~áä=NMQ
Ô¼¦ý˝³šÐ²=jjp=NMP
Ô¼¦ý˝³šÐ²=pjp=NMO
ÚˇþÐÞşýž³ž=½ğÞ=ÍžÞ¼ý˙½ğÞ=VS

ÍÐð¹¸=È¼₣Þ˝ˇ=NU
ÍÐð¹ş¾ğÞ−=NR
ÍşÞ½šý=dmop=PdLdpj=OOQ
Í×ˇ½ˇ¹˝ˇ=OM

fl×ş¹¹ÐĞž=ON
fl¾ˇ˝¹š³ž=ON
Ú−×−¦˚½ž³ž=OM
Ùş¹½Ð³ž=OO

Ï
Ï¼×Þž½¸¹Ðˇ=NRP

„×ˇÞˇ¾−¹˙=NRR
ÔĆ¦ýÐ³ž=NRP



OQS

„¼¹š½¸¹Ð−

Ì
Ì¦şÞž

flÞ½Ð³½−˝₣ž³ž=Ùğ½−ł¹ˇ¾ÐćÞ=NTV
„ý¾˙ÞÐ³ž=½−¼=Ô−Ý−łÐ−Ć=NUN
„×ÐÝ−ł¸=ˇ×ş=½Ð²=?Ùğ½−ł¹K=Í−¼?=NTU
Ëˇ¦−¹Ð³ýş²=½−¼=ÍžÞĆýˇ½−²=

ıˇÐ¹š½Ð³ý−Ć=NUM
ÔĆ¦ýÐ³ž=„þşŠ−¼=sáÇÉç=EsáÇÉç=lìíF=NUP
ÔĆ¦ýÐ³ž=Ó˙₣−¼²=·¹ˇýýˇ½−³šÐ¹˙²=NUM
ÔĆ¦ýÐ³ž=Ó¹−³½ˇ³˝ˇ²=Ì¦şÞž²=NUO
ÔĆ¦ýÐ³ž=½ž²=‡−ž¦ž½Ðð¸²=Ì¦şÞž²=NUQ
ÔĆ¦ýÐ³ž=½ž²=Ùğ½šÐÞş½ž½ˇ²=NUO
ÙşÞ½−=NTU
Ùğ½Ð³ýş²=NUN

⁄¹−Ð=ı¹¸³ž²=OOV

Ó
Óˇłðş³ýÐ−=Ô−ÝşÐ

ÔĆ¦ýÐ³ž=Êš¹ÐÞ¸²=›¹ˇ²=NST
ÔĆ¦ýÐ³ž=½ž²=‰ćÞž²=›¹ˇ²=NSS

ÓÝš¼¹Ðð˙=ÓÝ¸ð½¹ˇ=NU
ÓÝžð½¹−ÝşłÐ−=NS
ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²=NMM

„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=NMM
ÓÝ¸ð½¹ˇ=ÓÝ−¸łž³ž²=NQ
ÓÝ¸ð½¹−=@LÙÝˇ²=NS
ÓÝ¸ð½¹−=*L„ÞˇÝÝˇł¸²=NQ
ÓÝ¸ð½¹−=fl×−³½−Ý¸²L„×ˇÞ˙ðÝž³ž²=NQ
ÓÝ¸ð½¹−=‚Ðˇł¹ˇ¾¸²L„×Ð³½¹−¾¸²=NR
ÓÝ¸ð½¹−=Ó−Ý¼ý˚³ğÞ=NR
ÓÝ¸ð½¹−=Ò¼Þ½şýš¼³ž²=NQ
ÓÝ¸ð½¹−=Úš¹ýˇ½Ð³ý−Ć=ðˇÐ=„Þš¹ł−×−˝ž³ž²L
fl×šÞš¹ł−×−˝ž³ž²=NR

ÓÝ¸ð½¹−=ÚžÝš¾ğÞž½¸=NQ
ÓÝ¸ð½¹−=ÙÝˇ²=NS
Ó¹−¾˝Ý=NTN

flÞ½Ð³½−˝₣ž³ž=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=
³š=◊₣−=Ë−¼Š−¼Þ˝³ýˇ½−²=NTQ

flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=
Ë−¼Š−¼Þ˝³ýˇ½−²=NTP

fl×˙Þ½ž³ž=”š=Ë˙¦š=ÓÝ¸ð½¹−=NTT
‚şÞž³ž=NTS
„ÐŠ−×−˝ž³ž=ÍžÞĆýˇ½−²=NTR
„Þš¹ł−×−˝ž³ž=NTN
÷Þ½ˇ³ž=ð−¼Š−¼ÞÐ−Ć=NTO
„þğ½š¹Ððş=ı¹ćýˇ=Ùğ½Ð³ý−Ć=NTT
„×ˇÞˇ¾−¹˙=NTO
Ó¹−³ˇ¹ý−ł¸=NTN
ÚşÞ−Ð=×Ýžð½¹−Ý−ł˝−¼=NTR

Ó¹−¾¼Ý˙þšÐ²=fl³¾ˇÝš˝ˇ²=OOV

Ô
Ô¼¦ý˝³šÐ²=fåíÉêåÉí=ONS
Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼=ONP
Ô¼¦ý˝³šÐ²=◊₣−¼=NUR
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=NUU

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=Ó¹ş³Łˇ³ž²=³½−=
‚˝ð½¼−=NVQ

flÞˇý−Þ¸=ËÝ¸³šğÞ=NVM
fl×ş¹¹ÐĞž=ýÐˇ²=„Ð³š¹₣şýšÞž²=ËÝ¸³ž²=

NVP
fl¹Ð¦ý−˝=Ò½ˇ¦š¹¸²=ËÝ¸³ž²=NVP
fl¼½şýˇ½ž=„×ˇÞ˙ðÝž³ž=NVQ
„ð½¹−×˚²=NUU
„ý¾˙ÞÐ³ž=Íš½¹ž½ćÞ=ËÝ¸³šğÞ=NVQ

„ý¾˙ÞÐ³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=Òˇ²=
NVM

Óš¹Ð−¹Ð³ýş²=ËÝ¸³šğÞ=NVN
ÓÝž¹−¾−¹˝š²=ËÝ¸³šğÞ=NVN
Û×šÞ¦ĆýÐ³ž=Èš×½−Ć=NVQ

Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç=NVR
flÞ½Ð³½−˝₣ž₣ž=Ùğ½−ł¹ˇ¾˝ˇ²=

Ëˇ¦−Š¸łž³ž²=flÞˇý−Þ¸²=NVS
„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=½ğÞ=

Â₣š˝ğÞ=NVR
„×ÐÝ−ł¸=Ù−¹ý˙=„Ð³š¹₣şýšÞğÞ=NVR
Ò˝łˇ³ž=NVS
Ùğ½Ð³ýş²=NVR

Ô¼¦ý˝³šÐ²=ËÝ¸³ž²=sáÇÉç=QV
Ô¼¦ý˝³šÐ²=ÍÞ¸ýž²=OMM

‚Ðˇýş¹¾ğ³ž=Ë˙¹½ˇ²=ÍÞ¸ýž²=OMM
Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²=OMM

ÔĆ¦ýÐ³ž=·Ýć³³ˇ²=NUT

Ò
Òˇ¹ğ½¸²=NRU

flÞ˙łÞğ³ž=_~êÅçÇÉ=NRU
‚žýÐ−¼¹ł˝ˇ=ðğŠÐðćÞ=no=NSM
‚Ðˇł¹ˇ¾¸=Òˇ¹ğý˚ÞğÞ=‚šŠ−ý˚ÞğÞ=NSN
÷Ýšł₣−²=ÓÝž¹−¾−¹ÐćÞ=½ğÞ=

Òˇ¹ğý˚ÞğÞ=‚šŠ−ý˚ÞğÞ=NSO
Íš½−Þ−ýˇ³˝ˇ=Òˇ¹ğý˚ÞğÞ=‚šŠ−ý˚ÞğÞ=

NSO
Ò˙¹ğ³ž=ËšÐý˚ÞğÞ=NSM

Òžýš˝ğ³ž=„þşŠğÞ=NSU
„×šþš¹łˇ³˝ˇ=ÌÞşýˇ½−²=Ëˇ½žł−¹˝ˇ²=

NSV
Ëˇ½ˇł¹ˇ¾¸=NSU



OQT

„¼¹š½¸¹Ð−

Ó¹−Ł−Ý¸=Ò¼ÞşÝğÞ=NSU
Ò½š¹š−¾ğÞÐð˙=Â₣š˝ˇ=NT
Ò¼ÞŠš³Ðýş½ž½ˇ=OMS

_äìÉíççíÜ=OMS
Ô¼¦ý˝³šÐ²=fåíÉêåÉí=ONS
Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼=ONP
Û×˚¹¼¦¹š²=ONO

ÒĆÞŠš³ž=½−¼=VMOpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ²=
OOP

fl×ˇÐ½¸³šÐ²=Ò¼³½¸ýˇ½−²=OOPI=OOR
„łðˇ½˙³½ˇ³ž=È−łÐ³ýÐð−Ć=OOR

Ú
Úˇ₣š˝ˇ=ËÝ¸³ž=PT
Ú−=¼ÝÐðş=ý−¼=NNT

sáÇÉçë=NOQ
¿ÝÝˇ=÷łł¹ˇ¾ˇ=NQM
Â=fl×−¦žðš¼ý˚Þž=ÒšÝ˝Šˇ=ý−¼=NPU
◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýˇ½ˇ=NOV
È¸ĞšÐ²=g~î~∑=NPQ
Ó¹ş½¼×ˇ=NPV
ÒšÝÐŠ−Šš˝ð½š²=NPU
Ùğ½−ł¹ˇ¾˝š²=NNU

Û
Û×−Š−₣¸=sfabl=lrq=E÷þ−Š−²=îáÇÉçFL
ÒĆÞŠš³ž²=ÍÐð¹−¾ćÞ−¼=Ù−¹ž½ćÞ=
flð−¼³½ÐðćÞ=NT

Ù
ÙğÞž½Ðð¸=ðÝ¸³ž=PS

fl×˙Þ½ž³ž=PU
fl×ş¹¹ÐĞž=PV
÷Þ½ˇ³ž=ˇð−¼³½Ðð−Ć=QM

Ê˚³ž=³š=ˇÞˇý−Þ¸=QN
ËÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²=QO
Ó¹ˇłýˇ½−×−˝ž³ž=PS
Ò˝łˇ³ž=QQ
Úˇ₣š˝ˇ=ðÝ¸³ž=PT

Ùğ½−ł¹ˇ¾˝š²
fl×−¦¸ðš¼³ž=³½Ð²=Ëˇ½ˇ₣ğ¹¸³šÐ²=½ž²=

È˝³½ˇ²=„×ˇ¾ćÞ=NNV
fl×−³½−Ý¸=šÞş²=fl¹₣š˝−¼=Ùğ½−ł¹ˇ¾˝ˇ²=

NON
„ÞˇÝÝˇł¸=½ž²=Óžł¸²=ÍÞ¸ýž²=NNU
„×šþš¹łˇ³˝ˇ=NNV
È¸Ğž=NOQ
Ó¹−Ł−Ý¸=NNU
Ó¹−³ˇ¹ý−ł¸=½−¼=Íšł˚¦−¼²=NOM
Ùş¹½ğ³ž=NOP
ıšÐ¹Ð³ýş²=NON

Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=TM
flÝÝˇł¸=½−¼=Íšł˚¦−¼²=Ùğ½−ł¹ˇ¾˝ˇ²=UR
fl×−¦¸ðš¼³ž=UR
fl×−¦¸ðš¼³ž=½ğÞ=Ùğ½−ł¹ˇ¾ÐćÞ=TU
fl×−³½−Ý¸=TN
fl×−³½−Ý¸=sáÇÉç=`äáéë=UN
fl¼½şýˇ½ž=fl×−¦¸ðš¼³ž=TV
„łł¹ˇ¾¸=sáÇÉç=`äáéë=UM
„łł¹ˇ¾¸=ýš=◊₣−=UR
„ÞˇÝÝˇł¸=³½ž=ÈšÐ½−¼¹ł˝ˇ=

‡ÐÞ½š−ð˙ýš¹ˇ²=TS
„ÞˇÝÝˇł¸=³½ž=ÈšÐ½−¼¹ł˝ˇ=

Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²=UQ
„×ÐÝ−ł¸=šÞş²=ÓÝˇÐ³˝−¼=TS
„×ÐÝ−ł¸=½ž²=‚Ð˙¹ðšÐˇ²=„łł¹ˇ¾¸²=UP

„×ÐÝ−ł¸=½ž²=Ó−Ðş½ž½ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²=
TT

„×ÐÝ−ł¸=½ž²=ÒðžÞ¸²=TQ
„×ÐÝ−ł¸=½−¼=„Ðð−Þ−³ð−×˝−¼=TT
„×ÐÝ−ł¸=½−¼=◊₣−¼=ËÝš˝³½¹−¼=TT
„×ÐÝ−ł¸=½−¼=Íšł˚¦−¼²=Ùğ½−ł¹ˇ¾˝ˇ²=

TO
È¸Ğž=Ùğ½−ł¹ˇ¾ÐćÞ=TM
Ó−Ðş½ž½ˇ=sáÇÉç=UQ
Ó¹−Ł−Ý¸=UO
Ó¹−³ˇ¹ý−ł¸=½ž²=÷ð¦š³ž²=TPI=UO
Ô¼¦ý˝³šÐ²=„³½˝ˇ³ž²=TUI=US
Ò¼Þš₣¸²=È¸Ğž=TR
Ùğ²=ËÐÞž½−Ć=TPI=UP
ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=wççã=UN
ı¹¸³ž=½ž²=ÝšÐ½−¼¹ł˝ˇ²=wççã=TO
ı¹¸³ž=½−¼=ı¹−Þ−ŠÐˇðş×½ž=TQ

ı
ıˇ¹ˇð½¸¹š²=RP

flÝÝˇł¸=·Ýć³³ˇ²=„Ð³ˇłğł¸²=RR
flÝÝˇł¸=Íš¦şŠ−¼=„Ð³ˇłğł¸²=RR
ı¹¸³ž=Ó¹−½Ć×ğÞ=RT

ı¹−Þşýš½¹−=NSO

˜
›¹ˇ=C=Âýš¹−ýžÞ˝ˇ=NUR

„×ÐÝ−ł¸=½ž²=Í−¹¾¸²=Âýš¹−ýžÞ˝ˇ²=NUS
„×ÐÝ−ł¸=½ž²=Í−¹¾¸²=›¹ˇ²=NUS
Ó¹−³ˇ¹ý−ł¸=½ž²=‰ćÞž²=›¹ˇ²=NUS
ÔĆ¦ýÐ³ž=Êš¹ÐÞ¸²=›¹ˇ²=NUS
ÔĆ¦ýÐ³ž=½ž²=‰ćÞž²=›¹ˇ²=NUS
ÔĆ¦ýÐ³ž=½ž²=Í−¹¾¸²=½−¼=Âýš¹−Ý−ł˝−¼=

NUT



OQU

È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć

fl¹K=ÍšÞ−ĆL
ËĆ¹Ð−=ýšÞ−Ć

fl¹K=ÍšÞ−ĆL
Û×−ýšÞ−Ć=N

N È¸ĞšÐ²=g~î~∑

N d~ãÉë
O pÅêÉÉåë~îÉêë
P Ô¼¦ý˝³šÐ²
Q ÓÝž¹−¾K=g~î~∑

O sçÇ~ÑçåÉ=äáîÉ>
P jÉÇá~=mä~óÉê

Q ÍžÞĆýˇ½ˇ

N ‚žýÐ−¼¹ł˝ˇ=jžÞĆý
O „Ð³š¹₣şýšÞˇ
P Ó¹ş₣šÐ¹ˇ
Q Ó¹ş½¼×ˇ
R Ò½ˇÝý˚Þˇ
S „þš¹₣şýšÞˇ
T jjp=mÜçíç=^äÄìã
U jÉëëÉåÖÉê
V ÚžÝš¾ğÞž½¸²
NM „ð×−ý×¸=Ë¼Ğ˚Ýž²
NN ÓÝž¹K=Ë¼Ğ˚Ýž²
NO Ô¼¦ý˝³šÐ²
NP Ëˇ½˙³½K=ÍÞ¸ýž²

R Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸

S Ú−=¼ÝÐðş=ý−¼

N Ùğ½−ł¹ˇ¾˝š²
O sáÇÉçë
P ◊₣−²=C=Ë−¼Š−¼ÞK
Q È¸ĞšÐ²=g~î~∑
R ÒšÝÐŠ−Šš˝ð½š²
S Â=fl×−¦K=ÒšÝ˝Šˇ=Í−¼
T Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ
U ¿ÝÝˇ=÷łł¹ˇ¾ˇ

T „¾ˇ¹ý−ł˚²

N Âýš¹−ÝşłÐ−
O Ï¼×Þž½¸¹Ðˇ
P fl¹Ð¦ý−ýž₣ˇÞ¸
Q Â₣−ł¹˙¾ž³ž=ÙğÞ¸²
R Òˇ¹ğ½¸²
S ı¹−Þşýš½¹−
T „¹łˇ³˝š²
U Óˇłðş³ýÐˇ=›¹ˇ
V flÞ½˝³½¹K=Íš½¹ž½K
NM Òžýš˝ğ³ž=„þşŠğÞ
NN ‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼

U „×ˇ¾˚²

N È˝³½ˇ=„×ˇ¾ćÞ
O Ô¼¦ý˝³šÐ²=fåíÉêåÉí
P È˝³½ˇ=Ú̌ ₣K=ËÝ¸³
Q Ò½−Ð₣K=„×ˇ¾K=Í−¼
R „ÐŠÐð˚²=Ô¼¦ýK

V „¾ˇ¹ý−ł˚²=pfj

NM Ò¼ÞŠš³Ðýş½ž½ˇ

N _äìÉíççíÜ
O Û×˚¹¼¦¹š²
P Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼
Q Ô¼¦ý˝³šÐ²=fåíÉêåÉí
R _~ÅâìéLflÞ˙ð½ž³ž

fl¹K=ÍšÞ−ĆL
ËĆ¹Ð−=ýšÞ−Ć

fl¹K=ÍšÞ−ĆL
Û×−ýšÞ−Ć=N



OQV

È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć

fl¹K=ÍšÞ−ĆL
ËĆ¹Ð−=ýšÞ−Ć

fl¹K=ÍšÞ−ĆL
Û×−ýšÞ−Ć=N

NN fl¹₣š˝−=ðÝ¸³šğÞ

N ⁄Ýš²=−Ð=ËÝ¸³šÐ²
O flÞˇ×˙Þ½K=ËÝ¸³šÐ²
P „Ð³š¹₣şýšÞš²
Q ËÝž¦˚Þ½š²=fl¹Ð¦ý−˝
R Íš½¹ž½˚²=ËÝ¸³K
S Ëş³½−²=ËÝ¸³šğÞ

NO Ô¼¦ý˝³šÐ²

N Ó¹−¾˝Ý
O Ô¼¦ý˝³šÐ²=Ì¦şÞž²
P Ô¼¦ý˝³šÐ²=◊₣−¼
Q ›¹ˇ=C=Âýš¹LÞ˝ˇ
R ·Ýć³³ˇ
S Ô¼¦ýK=ËÝ¸³šğÞ
T Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç
U Ô¼¦ý˝³K=fl³¾˙ÝšÐˇ²
V Ô¼¦ý˝³šÐ²=ÍÞ¸ýž²
NM „×ˇÞˇ¾K=Ô¼¦ýK


